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���� ����� 
	
��
���	 � ���!� (�)� *��	��
�	��#&�
���	
 +��$	����� � �����$���� (,)� 
	��
��	 ��	���� ��	 
�����
�$ �� -����	��� ��
�
����	��&�� 
�����
�$ ���$	�	"	 �	������� �����&��	"	 ���������

.�'�� Ω � 	/��
������ 	/��
���

Ω1 = {(x1, x2) : 0 < x1 < a0, 0 < x2 < b}, Ω2 = {(x1, x2) : a0 < x1 < a, 0 < x2 < b}
� �	����� Γ = {(x1, x2) : x1 = a0, 0 < x2 < b}�

0	�"�����	 � !����
�� Q = Ω× (0;+∞) ��������

utt +
2∑

i,j,k,l=1

(
a
kl(m)
ij (x, t)uxkxl

)
xixj

−
2∑

i,j=1

(
b
(m)
ij (x, t)uxj

)
xi

+

+c(m)(x, t)ut + h(m)(x, t)u = f (m)(x, t), 1�2

x = (x1, x2) ∈ Ωm, t > 0, m = 1, 2� � �	&���	���� ��	����

u(x, 0) = u0(x), x ∈ Ω, 1,2

ut(x, 0) = u1(x), x ∈ Ω. 132

�© ������� ��	 
��




 
������ ������	

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

*������	� 4	 �	� �!����� �������� 1�2 ���	
��#�$
� ��� x2 = 0 :

am0 xαm
2

2∑
i,j=1

η2ij �
2∑

i,j,k,l=1

a
kl(m)
ij (x, t)ηijηkl � am1 xαm

2

2∑
i,j=1

η2ij , 152


� 0 < αm < 2, am0 > 0 
�� �
�' η ∈ R
4, (x, t) ∈ Q(m) = Ωm × (0;+∞), m = 1, 2�

6���!�� u �	����� ��
	�	�$���� ���� "����&�� ��	�� 1������	 ��
 ����&��� αm27

{
u(0, x2, t) = u(a, x2, t) = u(x1, 0, t) = u(x1, b, t) = 0,
ux1(0, x2, t) = ux1(a, x2, t) = ux2(x1, 0, t) = ux2(x1, b, t) = 0, 0 < αm < 1;

1�2

{
u(0, x2, t) = u(a, x2, t) = u(x1, 0, t) = u(x1, b, t) = 0,
ux1(0, x2, t) = ux1(a, x2, t) = ux2(x1, b, t) = 0, 1 � αm < 2, m = 1, 2.

��� 8����	9  ���!�9 u ��
��	 ��	�� 
��������

[u]Γ = 0, [ux1]Γ = 0,

2∑
i,k,l=1

(
a
kl(1)
i1 uxkxl

A1 − a
kl(2)
i1 uxkxl

A2

)∣∣∣
Γ
= 0, 1:2

2∑
j,k,l=1

(
(a

kl(1)
1j uxkxl

)xjA1 − (a
kl(2)
1j uxkxl

)xjA2

)∣∣∣∣
Γ

−
2∑

j=1

((
b
(1)
1j A1 − b

(2)
1j A2

)
uxj

)∣∣∣∣
Γ

= 0,


� t ∈ S = [0;+∞)� 
���	� [u] 	���&�� 
���/	�� ���� ���	���  ���!�� u ��� ����'	
�
&���� �	���� Γ, Am = Am(t), m = 1, 2� ; ��
���  ���!�9�

*��
��	 ��	
���
◦
H2

α(Ω) �� ��������� ��	���� 
��&� ���������	 
� ����!�%
�	���'  ���!��� ��� ��
	�	�$��#�$ ��	�� 1�2 �� �	��	#

‖v‖ ◦
H2

α(Ω)
=

( 2∑
m=1

∫
Ωm

xαm
2

2∑
i,j=1

v2xixj
dx

)1/2

.

<�������	� 4	 
�� 
	���$�	9  ���!�9 v ∈
◦
H2

α(Ω) ���	��#�$
� ������	
�� ����
6��
��'
�

∫
Ωm

v2dx � κ
m
0

∫
Ωm

xαm
2

2∑
i,j=1

v2xixj
dx,

∫
Ωm

2∑
i=1

v2xi
dx � κ

m
1

∫
Ωm

xαm
2

2∑
i,j=1

v2xixj
dx, 1�2

���&	��� κm
0 =

(5 − αm)b4−αm

3(2− αm)(4 − αm)
� κ

m
1 =

2b2−αm

2− αm
� m = 1, 2�

��������� �	 56�7�8������ �96�:�6�9� 6�;�<
 1�2!132= 1�2= 1:2 ��6���>���� ?����
@
� u= ��� 6�;9�98���> ��8A<����

u ∈ L∞
���

(S;
◦
H2

α(Ω)), ut ∈ L∞
���

(S;L2(Ω)), 1=2



&'�() *+,&(-,,.� /0),�+1* 1- +1*23�+1* 4- $.5&,�()' ���
���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� !

��9�� 1,2 
 1�2= � ���9B 
���7��8��� �9�9B�
���

2∑
m=1

∫
Q(m)

(
−utvtAm − utvAmt + c(m)utvAm +

2∑
i,j,k,l=1

a
kl(m)
ij uxkxl

vxixjAm+ 1�2

+

2∑
i,j=1

b
(m)
ij uxjvxiAm + h(m)uvAm − f (m)vAm

)
dx dt =

2∑
m=1

∫

D
(m)
0

u1v Amdx

;8� ;9�
8��9C v ∈ L2(S;
◦
H2

α(Ω)), vt ∈ L2(S;L2(Ω))= ��� ��> 9D��B���E �9�
E= ;�

D
(m)
τ = Q(m) ∩ {t = τ}= τ � 0, m = 1, 2�

>�	&���� ���
���	 ��	�� �
������� �� �
��	
�� !$	"	 �	�������� ?�
��	 ���%
��
����� 4	 
�� �	� �!������ �������� 1�2 ���	��#�$
� ���� ��	��7

(A)7 a
kl(m)
ij , a

kl(m)
ijt ∈ L∞(Q(m))� a

kl(m)
ij = a

ij(m)
kl � i, j, k, l = 1, 2� m = 1, 2@

(B)7 b
(m)
ij , b

(m)
ijt ∈ L∞(Q(m))� b

(m)
ij = b

(m)
ji � i, j = 1, 2� m = 1, 2@

2∑
i,j=1

b
(m)
ij (x, t)ξiξj � bm0

2∑
i=1

ξ2i , (x, t) ∈ Q(m), ξ ∈ R
2;

bm0 +
am
0 γ1

κ
m
1

> 0� γ1 > 0� m = 1, 2@

(C)7 c(m), c
(m)
t ∈ L∞(Q(m))@ c(m)(x, t) � c0 � 0� (x, t) ∈ Q(m)� m = 1, 2@

(H)7 h(m), h
(m)
t ∈ L∞(Q(m))@ h(m)(x, t) � h

(m)
0 � (x, t) ∈ Q(m)� h

(m)
0 +

am
1 γ2

κ
m
0

> 0�

γ2 > 0� γ1 + γ2 < 1� m = 1, 2�


����
� �	 F���E ���9��A���� ��9�� G
H= GIH= GJH= GKH= GLH= 
= ��
� �979=

0 < A0m � Am(t) � A1m, A ∈ C1(S), t ∈ S;

f (m) ∈ L2
���(S;L

2(Ωm)), m = 1, 2; u0 ∈
◦
H2

α(Ω), u1 ∈ L2(Ω).

M9;
 
���> �6�7�8�����E �96�:�69� 6�;�<
 1�2!132= 1�2= 1:2�

N9��;����� 0	�"�����	 � 	/��
�� Q
(m)
T = Ωm × (0;T ) �������� 1�2� 
� T ; 
	���$��


	
���� &�
�	� .�/������� �	�����	� 8��������	 � ��"��
�

uN(x, t) =
N∑
p=1

CN
p (t)ωp(x),


� {ωp(x)} ; /��� ��	
�	��
◦
H2

α(Ω)� � CN
p (t) ���'	
��	 � ���	9 ��
�&�7

2∑
m=1

∫
Ωm

(
uN
ttωpAm +

2∑
i,j,k,l=1

a
kl(m)
ij uN

xkxl
ωpxixjAm +

2∑
i,j=1

b
(m)
ij uN

xj
ωpxiAm+

+c(m)uN
t ωpAm + h(m)uNωpAm − f (m)ωpAm

)
dx = 0, 1�A2

CN
p (0) = uN

0p, CN
pt (0) = uN

1p, p = 1, ..., N. 1��2



"
������ ������	

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

* ��	��' 1��2 
���� uN
0p, uN

1p ��/�����	 ���� 4	/

uN
0 (x) =

N∑
p=1

uN
0pωp(x), uN

1 (x) =

N∑
p=1

uN
1pωp(x),

���&	��� uN
0 (x) → u0(x) �

◦
H2

α(Ω)� � uN
1 (x) → u1(x) � L2(Ω) ��� N → ∞�

�	��	���	 �	��� �������� 
�
���� 1�A2 �� ��
�	��
��  ���!�# CN
pt (t)� ��

�%

����	 �	 p ��
 1 
	 N � �����"����	 �	 t ��
 0 
	 T � B�
�� !�' 	����!�� 	�������	
�����
�$

2∑
m=1

∫

Q
(m)
T

(
uN
ttu

N
t Am +

2∑
i,j,k,l=1

a
kl(m)
ij uN

xkxl
uN
xixjtAm +

2∑
i,j=1

b
(m)
ij uN

xj
uN
xitAm+

+c(m)(uN
t )2Am + h(m)uNuN

t Am − f (m)uN
t Am

)
dx dt = 0.

*��	��
�	��#&� ����"������� &�
������ �� ��	�� ��	���� �� 	
������	 	!����

B1

2∑
m=1

∫

D
(m)
T

(
(uN

t )2 + xαm
2

2∑
i,j=1

(uN
xixj

)2
)
dx � 1�,2

� B2

2∑
m=1

( ∫

D
(m)
0

(
(uN

1 )2 + xαm
2

2∑
i,j=1

(uN
0xixj

)2
)
dx+

∫

Q
(m)
T

(f (m))2dx dt

)
+

+B3

2∑
m=1

∫

Q
(m)
T

(
(uN

t )2 + xαm
2

2∑
i,j=1

(uN
xixj

)2
)
dx dt,


� B1 = min
m=1,2

min{A0m;A0mam0 (1− γ1 − γ2)}�
B2 = max

m=1,2
max{A1m;A1m(am1 + bm1 κ

m
1 + hm

1 κ
m
0 )}�

B3 = max
m=1,2

max{A1m+2A2m;A2m(am1 + bm1 κ
m
1 +hm

1 κ
m
0 )+A1m(am2 + bm2 κ

m
1 +hm

2 κ
m
0 )}�

� 
	
���� 
���� am2 , bm1 , bm2 , hm
1 , hm

2 , A2m ����� 4	 
����
��#�$
� ��	��7

2∑
i,j,k,l=1

a
kl(m)
ijt (x, t) ηijηkl � am2 xαm

2

2∑
i,j=1

η2ij ,

2∑
i,j=1

b
(m)
ij (x, t) ξiξj � bm1

2∑
i=1

ξ2i ,
2∑

i,j=1

b
(m)
ijt (x, t) ξiξj � bm2

2∑
i=1

ξ2i

h(m)(x, t) � hm
1 , h

(m)
t � hm

2 , (x, t) ∈ Q(m),

|A′
m(t)| � A2m, t ∈ S, m = 1, 2,


�� �
�' η ∈ R
4, ξ ∈ R

2�



&'�() *+,&(-,,.� /0),�+1* 1- +1*23�+1* 4- $.5&,�()' ���
���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� #

<�
�	
	��#&� 
	 1�,2 ���� +�	��	���%?������� 	�������	

2∑
m=1

∫

D
(m)
T

(
(uN

t )2 + xαm
2

2∑
i,j=1

(uN
xixj

)2
)
dx � B4,


� B4 ; 
	
���� 
����� ��� �� �������$ ��
 N � C	��

‖uN‖
L∞((0;T );

◦
H2

α(Ω))
� B5, ‖uN

t ‖L∞((0;T );L2(Ω)) � B5. 1�32

.�'�� Sk = (0; k)� <"�
�	 � 	!������ 1�32 �	��� ��/���� ��
�	
��
	���
�$
{uN,N(x, t)} ����� 4	 
��  ��
	���	"	 k :

uN,N → vk ∗ − 
��/�	 � L∞(Sk;
◦
H2

α(Ω)),

uN,N
t → vkt ∗ − 
��/�	 � L∞(Sk;L

2(Ω)) ��� N → ∞.

B	���&��	 &���� u  ���!�#� ��� 
�� �	��	"	 k � Qk �/�"���$
� � v
k� D&���
%

�	� 4	 u ��
	�	�$��� ���#&���� 1=2� ���� �� 
'��	#� ����	�	�	���	# � (3)� ��"�	

	��
��� 4	 u /�
� ���"��$����� �	������	� ��
�&� 1�2;132� 1�2� 1:2� �

����
� �	 F���E ���9��A���� ��9�� G
H= GIH= GJH= GKH= GLH= 
= ��
� �979=

Am(t) > 0, A′′
m(t) ∈ L∞

���
(S), m = 1, 2, c0 � 0.

M9;
 6�;�<� 1�2!132= 1�2= 1:2 �� �9B� ���� D
8�O� 9;�979 �6�7�8����979 �96�:�6���

N9��;����� �	��
��	� 4	 ��
�	��
�� 	
�	��
�� ��
�&� � ���$	���� �	&���	����
��	���� ��� ��8� �������$��� �	�����	�� B������	

v(x, t) =

{ ∫ τ

t
u dθ, 0 � t � τ,
0, τ � t < ∞.

D&���
�	� 4	 v ∈ H1
���

(S;
◦
H2

α(Ω))� C	�� ������$�� �����
�$

2∑
m=1

∫

Q
(m)
τ

(
−utvtAm − utvA

′
m +

2∑
i,j,k,l=1

a
kl(m)
ij uxkxl

vxixjAm+

+

2∑
i,j=1

b
(m)
ij uxjvxiAm + h(m)uvAm + c(m)utvAm

)
dx dt = 0.

*��	��
�	��#&� ����"������� &�
������� 	
�����	

2∑
m=1

( ∫

D
(m)
τ

Amu2dx+

∫

D
(m)
0

( 2∑
i,j,k,l=1

a
kl(m)
ij zxkxl

(x, τ)zxixj (x, τ)+

+

2∑
i,j=1

b
(m)
ij zxj (x, τ)zxi(x, τ)

)
Amdx

)
=

=

2∑
m=1

(
−

∫

Q
(m)
τ

( 2∑
i,j,k,l=1

a
kl(m)
ijt Am(zxkxl

(x, τ) − zxkxl
(x, t))(zxixj (x, τ) − zxixj (x, t))+



$%
������ ������	

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

+

2∑
i,j=1

b
(m)
ijt Am(zxi(x, τ) − zxi(x, t))(zxj (x, τ) − zxj (x, t))+

+
2∑

i,j,k,l=1

a
kl(m)
ij A′

m(zxkxl
(x, τ) − zxkxl

(x, t))(zxixj (x, τ) − zxixj (x, t))+

+
2∑

i,j=1

b
(m)
ij A′

m(zxi(x, τ) − zxi(x, t))(zxj (x, τ) − zxj(x, t))

)
dx dt−

−2

∫

Q
(m)
τ

(c(m)Am −A′
m)u2dx dt+

+

∫

Q
(m)
τ

(c
(m)
t Am + c(m)A′

m −A′′
m − h(m))u(z(x, τ) − z(x, t))dx dt, 1�52


� z(x, t) =
∫ t

0
u(x, θ) dθ� >���� τ ��/����	 � ����' ��	�7

am0 γ1
κ
m
1

+ bm0 − 2τ(bm2 A1m + bm1 A2m) � 0,
am0 (1− γ1)

2κm
0

− 4τ � am0 (1− γ1)

4κm
0

,

am0 (1 − γ1)

2
− 2τ(am2 A1m + am1 A2m) � am0 (1− γ1)

4
, m = 1, 2.

C	
� �����
�$ 1�52 ������8��$
� � ��"��
�

2∑
m=1

∫

D
(m)
τ

(
u2 + xαm

2

2∑
i,j=1

z2xixj

)
dx � B6

B5

2∑
m=1

∫

Q
(m)
τ

(
u2 + xαm

2

2∑
i,j=1

z2xixj

)
dx dt,


� B5 = min
m=1,2

min

{
A1m; A1m

am0 (1− γ1)

2

}
�

B6 = max
m=1,2

max{(hm
1 )2 + 2A2m + 3(cm1 A2m)2 + 3(cm2 A1m)2 + 3(A3m)2;

2(am1 A2m + am2 A1m + (bm1 A2m + bm2 A1m)κm
1 + (hm

1 A2m + hm
2 A1m)κm

0 )},
� cm1 , cm2 , A3m ; ���� 
	
���� 
����� 4	 ��
	�	�$��#�$ ��	��

c(m)(x, t) � cm1 , c
(m)
t (x, t) � cm2 , |A′′

m(t)| � A3m, (x, t) ∈ Q(m), m = 1, 2.

<�
�	
	��#&� 
	 !��9 ������	
�� ���� 1(5)� 
�	�� ��,2� 	�������	� 4	

2∑
m=1

∫ T

0

∫

D
(m)
t

(
u2 + xαm

2

2∑
i,j=1

z2xixj

)
dx dt � 0


�� 
	���$�	"	 
	
���	"	 T � C	/�	 u(x, t) ≡ 0, (x, t) ∈ QT � D���� ��	���� , 
	��%

��	� �
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� $$

�	
��
��#&� 
�����
�$� ����������	� 4	 f (m) ≡ 0� � Q(m)� m = 1, 2� 0	�"��%

���$
� 
�����
�$ ���$	�	"	 �	�������� *��
��	 �	���&����

ρ(u) =

( 2∑
m=1

∫
Ωm

(
u2
t + xαm

2

2∑
i,j=1

u2
xixj

)
dx

)1/2

.

��������� �	 F�8�9��E �96�:�69� 6�;�<
 1�2!132= 1�2= 1:2 ��6���>���� ��
E���
6� �����9���= ��P9 ;8� ;9�
8��979 ε > 0 6��E;����� ���� δ > 0= P9 �� �
8���
���9��>���� ��9�� ρ(u(x, 0)) < δ= �9;
 ρ(u(x, t)) < ε ;8� ��EB� ��
� t ∈ S�


����
� �	 F���E ���9��A���� ��9�� 
�������� �� >;��9��
 �96�:�6�� @
>C 6�;�<

;8� f (m) ≡ 0 � Q(m)= m = 1, 2= 
= ��
� �979=

2∑
i,j,k,l=1

a
kl(m)
ijt ηijηkl � 0,

2∑
i,j=1

b
(m)
ijt ξiξj � 0, h

(m)
t � 0, A′

m � 0, 1��2

;8� ��
� η ∈ R
4, ξ ∈ R

2, (x, t) ∈ Q(m), m = 1, 2� M9;
 ��8�9��E �96�:�69� ��
E��E 6�
�����9���� Q�P9 B= ;9;���9�9

c0 > 0, 1�:2

�9 ρ(u(x, t)) � B10e
−μtρ(u(x, 0)) ;8� ��EB� ��
� t ∈ S= ;� μ 
 B10 ! ;9;���
 ���8
�

N9��;����� .�'�� c0 � 0� C	
� �"�
�	 � ��	���� ��	���� � ������	
�� 1�,2 	
�����	

B1ρ
2(uN (x, τ)) � B2ρ

2(uN
0 ),


� τ ∈ [0;T ]� E T ; 
	���$�� 
	
���� &�
�	� D���� 
�� 
	
����$	 ������' N 	���%
����	

ρ(uN (x, t)) � B7ρ(u
N
0 ) � 2B7ρ(u(x, 0)), t ∈ S.

B����8	�8� 
	 "����!� ��� N → ∞� 	�������	
ρ(u(x, t)) � 2B7ρ(u(x, 0))

����� 
�� �
�' t ∈ S� C	
� 
�� 
	���$�	"	 ε > 0 ��/�����	 δ = ε/2B7 � � ��	��
ρ(u(x, 0)) < δ ��������� 4	 ρ(u(x, t)) < ε 
�� ����� �
�' t ∈ S�

.�'�� c0 > 0� �	��� �������� 
�
���� 1�A2 �	��	���	 
�	&���� �� ��
�	��
��
 ���!�# CN

pte
μt� � �	��� �� CN

p μeμt � ��

�����	 �	 p ��
 1 
	 N � C	
� 	
�����	

2∑
m=1

∫
Ωm

(
(vtt − 2μvt + μ2v)vtAm +

2∑
i,j,k,l=1

a
kl(m)
ij vxkxl

vxixjtAm+

+
2∑

i,j=1

b
(m)
ij vxjvxitAm + h(m)vtvAm + c(m)(vt − μv)vtAm

)
dx = 0,


� v = uNeμt� μ ; 
	
���� 
����� <����"�����8� �	 t ��
 0 
	 τ � ���	��
�	��#&�
��	�� 1��2� 1�:2� 	�������	



$&
������ ������	

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

2∑
m=1

∫

D
(m)
τ

(
A1m(vt)

2 + A1m(am0 (1− γ1 − γ2)− cm1 μκ
m
0 )xαm

2

2∑
i,j=1

(vxixj )
2

)
dx �

� B8ρ
2(uN (x, 0)), 1��2


� B8 = max
m=1,2

max{A1m; A1m(am1 + bm1 κ
m
1 + (hm

1 + μ2 + μ)κm
0 )}� μ � c0

2
� B�����8��	

�������
�$ 1��2 
�� uN � ��/���8� � !$	�� ���� μ ����� ������ 4	/ ���	������
$
��	��

am0 (1− γ1 − γ2)− μκm
0 (c1 +

1

δ
) > 0, m = 1, 2; c0 − 2μ � 0.

D
�����	

2∑
m=1

∫

D
(m)
τ

(
A1m(1− μδ)(uN

t )2 +A1m(am1 (1− γ1 − γ2)−

−μ(c1 + 1/δ)κm
0 )xαm

2

2∑
i,j=1

(uN
xixj

)2
)
dx � B8ρ

2(uN
0 )e−2μτ .

.�'�� B9 = min
m=1,2

min{A1m(1 − μδ), A1m(am0 (1 − γ1 − γ2) − μ(c1 + 1/δ)κm
0 )}� 
� δ ;

���� 
	
���� 
����� 4	 1− μδ > 0� C	
� � 	
����$	9 ������	
�� 	�������	

ρ2(uN (x, t)) � B8

B9
ρ2(uN

0 )e−2μt � 2B8

B9
ρ2(u(x, 0))e−2μt,

t ∈ S 
�� 
	
����$	 ������' N � B����8	�8� 
	 "����!� ��� N → ∞� 	
�����	
ρ(u(x, t)) � B10ρ(u(x, 0))e

−μt


�� ����� �
�' t ∈ S� 
� B10 ; 
	
���� 
����� ��� �� �������$ ��
 t� D���� ��	����
3 
	��
��	� �

������ �������	
��� 
�	��
	���

6� �
���	-� /�0� �7 ��	�#�����	� ��������89 ����7
��# �	����� � ��	�8
 ��
�

: /�0� �
���	-� :: ,�����#�8� ��
����8� �
�
��� ; 6<<=� ; (��� >� ; +� ?= ?@�

=� 1	�2����. 3�4� +	�#���	� �
 $�������
 �������� 	��� �����
��� ��
�	���� � ��� 
�����
� ���������	

� : 3�4� 1	�2����. ::(���� $����� �� 	�� +��� 
�9� 

	� ; 6<<A�
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B� 1	�2����. 3�4� +	�#���	� �
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 �������� 	��� �����
��� ��
�	���� � ���	 
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 ��
�
 : 3�4� 1	�2����. ::0��� � 0,1C &��
"�� D=E=E� ; 6<<@�

>� �
567�	��
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�
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 ��
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�* ����0����� ��7�
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������ ��� 

��
��
�* 
������
�����������
�* ���
�
( ��/�* ��������� -��
�����.
/� ��� ���
�


� ��
 ��

� ����* ����0����� ����������� �����
�,�5 �
����� �
! �
������,�8 �� 9��(����
�� 	�7� ���,� ������)�(�� � ���* �����
:  �
�7�� �����
�
�+��� �(���
� ������ �� ��
��
�� �
� �(���. � � �� !�� % ��;� 
����
� ��
��
��
�
� �(����

�� 	
���
������ ������ �� 
��
��
�
 ����
������ 	
*�� n,m % 
�� �
���(
� ����� � M % ����
���
� �
���
� {0, 1, . . . , m} ����. /� {0,m} ⊂ M � 4��
�
����� �
�
� N ���(����( � �(���
�
���� ������
���� n "����������
�* 
������
α = (α1, . . . , αn) � ,���* 

���0)�
�* ���
�&. �����
� ���* "|α| = α1 + . . . + αn& )

�
�

���� �
���
� M . � �
�
� RN % ��
��
�� ������� ����������
�* 
������ � N

�© ������ ��	 
��




&'()*) �)#)+) #,- .,'/01+*2�/)�)32,'+*14 ���
���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� � 

����
�* ���
� ξ = (ξ
̂0 , . . . , ξα, . . .) ≡ (ξα : |α| ∈ M). �����


�� ���* ���
 �
����
�

� �(���
�
����� ������
���� n. /� ��5�( �����
� � M � ����������
� �
�����!���
+��
� ",
 ��
���). /� α = (α1, . . . , αn) �
�
� ) β = (β1, . . . , βn). ���� ��� |α| < |β|.
��� |α| = |β| � αk > βk. �
 k = min

{
j : αj �= βj

}
&� < � � ���� 0̂ % � �(���
�
��.

�����

�� � 
 ���� 4����
�� |ξ| :=
( ∑
|α|∈M

|ξα|2
) 1

2

��� �����(
�!� ξ ∈ RN �

	
*�� Ω % ���
�

� ������( � �������� Rn. 
�
�

���� ���!� ) ����������
�

����� ����
�* ���
� x = (x1, . . . , xn). 
� ���� ��
�

� 
���� |x| = (x21+. . .+x

2
n)

1/2�
=�������
��. /� �
�� Γ := ∂Ω ������� Ω � ������!�����. � ���
����� �
�
� ν
���
��
�� �
���� ���
�7
(�8 
������ �� Γ� 	
*�� T > 0 % ��
�

� �( +������


������ 4����
�� Q := Ω× (0, T ), Σ := Γ× (0, T )�

4��� �����. /�
(B) b : Ω → [0,+∞) % �����
� � ���
�

� + 
�,��. ������ Ω0 := {x ∈ Ω

∣∣
b(x) > 0} % ������(�

>��!��

�� 5�6�7� : �
���� + 
�,�5 u : Q → R. ��� �������(
�) "� �
�
�� 
�

��& ���
�

�

(b(x)u)t +
∑

|α|∈M

(−1)|α|Dαaα(x, t, δu) =
∑

|α|∈M

(−1)|α|Dαfα(x, t), (x, t) ∈ Q, "�&

�������  ����
∂ju

∂νj

∣∣∣
Σ
= 0 , j = 0,m− 1, "2&

�� ��������  ��� 

u(x, 0) = u0(x) , x ∈ Ω0, "?&

�
 aα : Q × RN → R, fα : Q → R (|α| ∈ M), u0 : Ω → R % ����
� + 
�,�8. ���
�������(
�5�( �
�
�  ����. ��� /� � �
 �����
� ���
�7
� < � � ���� ��� + 
�,�8

v : Ω → R ���
���)�� �
�
� δv ����������
�� 
���� � ��*��
�* Dαv ≡ ∂α1+...+αn

∂x
α1
1 ...∂xαn

n
v

+ 
�,�8 v �������� |α| ∈M "������� ������� ��

� ���
 ���
. �� ��� �����


���
�
������ ξ ∈ RN &�

'+��� �(���
 ��/
 �
8��� 5�6�7� 69� �
������ "�& 5 ���:;���� ��;����
"2& 
 �;7���;�;< ��;�;< "?& ������� 
��������
�� 5�6�7�< "�& "?&�

6� ��������
��  ��!��(


� ����0���� ������ "�&%"?&. � ��� ,(�!� ��
�
�� 

���
*��
� ���
��


� �� ������� ��������
� ���� /


� /��� ��*��
�* ��
�* ,�)8 �������

'������ ��
�
�� ������
� 
�� + 
�,��
� ��������� 	
*�� r ∈ L∞(Ω). ����
��� r(x) � 1 ��� ����
 ���* x ∈ Ω� 4�� Lr(·)(Ω) ��� �����
�� ���������� �����

��� L1(Ω). 
�
�

�� ���!� �������(
�5�(  ��� 
∫
Ω

|v(x)|r(x) dx < +∞. � 
����5

‖v‖Lr(·)(Ω) := inf{λ > 0 :
∫
Ω

|v(x)/λ|r(x) dx � 1}� 4������ Lr(·)(Ω) ) ��
�*���� � 
����

��)�(��  ��!��(


�� ��������� @
�
!� "�
���(
�7
 ����. 
��������. #1$&� =�
�
��
/
 ������� Wm

s (Ω) := {v ∈ Ls(Ω)
∣∣Dαv ∈ Ls(Ω) ∀α, |α| � m}. ���� ) ��
�*���� �


����5 ‖v‖Wm
s (Ω) :=

∑
|α|�m

‖Dαv‖Ls(Ω). �
 s � 1 % ��
�

� �( ������

	
*�� p = (pα : |α| ∈ M) % ����������
�� 
���� �����
�* 
� Ω + 
�,�� pα
"���
 �
����
�* ��� ����. �� 
�
�

�� ������� RN &. ��� ���* ����
 )�(��  ����
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� �
���� ���
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� ��������� ���	� ������ ��

(P) p−
̂0
:= ABB inf

x∈Ω0

p
̂0(x) � 2, p−α := ABB inf

x∈Ω
pα(x) > 1, p+α := ABB sup

x∈Ω
pα(x) < +∞�

C
�
� p′ = (p′α : |α| ∈ M) ���
������
�� ����������
�� 
���� + 
�,�� ����*. /�
1/pα(x) + 1/p′α(x) = 1 (|α| ∈M) ��� ���� x ∈ Ω�

	
*�� Wm
p(·)(Ω) := {v ∈ L1(Ω)

∣∣Dαv ∈ Lpα(·)(Ω) ∀α, |α| ∈ M} % ��
�*�� �������

� 
����5 ‖v‖Wm
p(·)(Ω) :=

∑
|α|∈M

‖Dαv‖Lpα(·)(Ω)� 4��
◦
Wm

p(·)(Ω) ��� ��)�� ������

� ����

���� C∞
0 (Ω) �� 
����5 ‖v‖Wm

p(·)(Ω)� ��� �� �
���� � ��
���� ������


� ���
���� 

���� �����
�� Vp :=
◦
Wm

p(·)(Ω)� =�
�
�� /
 ������� Wm,0
p(·) (Q) �� ���������� �������

� L1(Q). �����

�� � ��* + 
�,�� h. ��� ���* Dαh ∈ Lpα(·)(Q). ��/� |α| ∈ M .

� 
����5 ‖h‖Wm,0
p(·) (Q) :=

∑
|α|∈M

‖Dαh‖Lpα(·)(Q)� C
�
�
◦
W

m,0
p(·) (Q) ���
����� ������

�

������� 

C̃m,0(Q) := {h ∈ C(Q)
∣∣Dαh ∈ C(Q) ∀α, |α| � m; Dαh|Σ = 0 ∀α, |α| � m− 1}

�� 
����5 ‖v‖Wm,0
p(·) (Q)�

	
*�� b̃(x) = b(x), q(x) = 2. ��/� x ∈ Ω0. � b̃(x) = 1, q(x) = 1. ��/�
x ∈ Ω \ Ω0� 4��
����� �
�
� Hb(Ω) ��
��
�� �������. 
�
�

���� ���!� ) + 
�,�8

w ����. /� w = b̃−1/2v. �
 v ∈ Lq(·)(Ω)� 4������ Hb(Ω) � ���
����5 ‖w‖Hb(Ω) =

= (
∫
Ω b(x)|w(x)|2dx)1/2 ) ���
�� ���
������
�� ���������� @
!�� �
�
��
�����. /�

Hb(Ω) ) �����



�� ��
��
�!� ������� Vp �� ���
����5 ‖ · ‖Hb(Ω) "���� #2. D�?�?$&�

=�
�
�� ������� C([0, T ];Hb(Ω)) �� ��
��
�� ������� + 
�,�� h : [0, T ] → Hb(Ω)
����*. /� b1/2h ∈ C([0, T ];L2(Ω)). � ���
��� ‖h‖C([0,T ];Hb(Ω)) := max

t∈[0,T ]
‖h(·, t)‖Hb(Ω)


� 
(�� . � ���5 ��
 ) ���
�� ���
������
�� ����������
=��
����� �������

U
b
p :=

◦
W

m,0
p(·) (Q) ∩ C([0, T ];Hb(Ω))

� 
��� ‖h‖U b
p
:= ‖h‖Wm,0

p(·) (Q) + ‖h‖C([0,T ];Hb(Ω)) 
� 
(�� . � ���5 ��
 ) ��
�*�����

4�� Ap ��� �����
�� �
���
 . 
�
�

���� ���8 ) ����������
� 
����� (aα :
|α| ∈ M) ���
��

�* 
� Q × R

N ����
��
��
�* + 
�,��. ��� ���
 �
����
� ���
����. �� �����


�� 
�
�

��� ������� RN . � + 
�,�8 � � �(����!� ����!� 
���� 
�������(
�5�( ���� ������  ����:

(A1) ��� ���
�!� α (|α| ∈ M) + 
�,�� aα(x, t, ξ). (x, t, ξ) ∈ Q× RN . ) �����
�
�������(��5. �����. ��� ����
 ���* (x, t) ∈ Q + 
�,�� aα(x, t, · ) : RN → R )


�
�
��
�5 � ��� ���* ξ ∈ RN + 
�,�� aα(·, · , ξ) : Q→ R �����
� �� @
�
!��E

(A2) ��� ���
�!� α (|α| ∈ M). � �(����* ξ ∈ RN �� ����
 ���* (x, t) ∈ Q
������)��

|aα(x, t, ξ)| � hα(x, t)
∑

|β|∈M

|ξβ |pβ(x)/p
′
α(x) + gα(x, t),

�
 hα ∈ L∞(Q). gα ∈ Lp′
α( · )(Q)E
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� �"

(A3) ��� �����(
�* ξ, η ∈ R
N �� ����
 ���* (x, t) ∈ Q ����
 )�(�� 

���
���(∑

|α|∈M

(aα(x, t, ξ) − aα(x, t, η))(ξα − ηα) � 0,

������ � ,�� 

���
���� ���
� ����
��� �
�� F�G 
� �
�� F>G ��� ���� x ∈ Ω \Ω0.
��/� ξ

̂0 �= η
̂0E

(A4) ��
 5�( ����� K > 0 �� 

���0)�
� + 
�,�� g ∈ L1(Q) ����. /� ��� � �(�
���* ξ � RN �� ����
 ���* (x, t) ∈ Q ����
 )�(�� 

���
���(∑

|α|∈M

aα(x, t, ξ)ξα � K
∑

|α|∈M

|ξα|pα(x) − g(x, t).

	
*�� Fp′ % �
���
�. 
�
�

���� ���8 ) ����������
� 
����� (fα : |α| ∈M) � N
���
��

�* 
� Q ����
��
��
�* + 
�,��. ��� ���
 �
����
� ��� ����. �� 
�
�

��
������� R

N . � + 
�,�8 fα � � �(����!� ����!� 
���� 
��
���( ������� Lp′
α( · )(Q)

��� ���
�!� α, |α| ∈M �

��������� �� =���: (aα : |α| ∈ M) ∈ Ap> (fα : |α| ∈ M) ∈ Fp> u0 ∈ Hb(Ω)� ?5��
@�9������ �;5�A�5�;� 5�6�7
 "�& "?& ��5���B���� C���D
� u ∈ U b

p > ��� 5�6;�;9���B
E�;7���;��F ��;��

‖u(·, 0)− u0(·)‖Hb(Ω) = 0 "H&

�� �
��
���∫
Q

{ ∑
|α|∈M

aα(x, t, δu)D
αv ϕ− b(x)u v ϕ′

}
dxdt =

∫
Q

∑
|α|∈M

fα(x, t)D
αv ϕ dxdt "�&

69� G�6������ v ∈ Vp, ϕ ∈ C1
0 (0, T )�

I�
��
�� �
� �(����� 
�7�8 ���,� ) ���
 ��
���


��

��
���� �� =���: (aα : |α| ∈M) ∈ Ap> (fα : |α| ∈M) ∈ Fp> u0 ∈ Hb(Ω)� H;6
 5�6�7�
"�& "?& ��B B6���: �5�@�9�����: �;5�A�5;� 
 �
� 5�6;�;9���B ;D
���

max
t∈[0,T ]

∫
Ω

b(x)|u(x, t)|2 dx+

∫∫
Q

( ∑
|α|∈M

|Dαu(x, t)|pα(x)
)
dxdt �

� C1

( ∫∫
Q

(
g(x, t) +

∑
|α|∈M

|fα(x, t)|p′
α(x)

)
dxdt+

∫
Ω

b(x)|u0(x)|2 dx
)
, "J&

6� C1 > 0  ���9�> ��� 5�9�I��� �
9��� �
6 K 
 p−α (|α| ∈M)�

�� ������������� 
��
��
�
 ����
������ '������ �+��� �5)�� ������



�� �������

 ��
���


��

���� �� =���: b 5�6;�;9���B ��;�� EBF 
 w ∈ ◦
W

m,0
p(·) (Q) ����> J; ���;��B����

�;�;I�
���∫∫
Q

{( ∑
|α|∈M

gαD
αv

)
ϕ− bwvϕ′

}
dxdt = 0, v ∈ Vp, ϕ ∈ C1

0 (0, T ), "�&



�#
������ ��	
��

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

69� 6����� gα ∈ Lp′
α(·)(Q) E|α| ∈ MF� H;6
 w ∈ C

(
[0, T ];Hb(Ω)

)

 69� G�6������

θ ∈ C1([0, T ])> v ∈ Vp> �� t1, t2 ∈ [0, T ]> t1 < t2> ;�����B�;

θ(t2)

∫
Ω

b(x)w(x, t2)v(x) dx − θ(t1)

∫
Ω

b(x)w(x, t1)v(x) dx+

+

t2∫
t1

∫
Ω

{( ∑
|α|∈M

gαD
αv

)
θ − bwvθ′

}
dxdt = 0, "1&

1

2
θ(t2)‖w(·, t2)‖Hb(Ω) −

1

2
θ(t1)‖w(·, t1)‖2Hb(Ω) −

1

2

t2∫
t1

‖w(·, t)‖2Hb(Ω)θ
′(t) dt+

+

t2∫
t1

∫
Ω

( ∑
|α|∈M

gαD
αw

)
θ dxdt = 0. "�&

���
�


� ,�)8 �
�� �����

 �� ���
�


� �
�� � #�2$ � �� ��!� �� ���)���
���� ��� �� �
���� �� ������


� ������� � �
�� ���������� ���� ���
��


�

aα(w)(x, t) := aα(x, t, δw(x, t)), (x, t) ∈ Q, |α| ∈M.

K;��6���� ��;����� =��������)�� �����
�,�5 �
����� �
! ������,�8 �� K�
���
9��(����
�� 	
*�� {wj}∞j=1 % ���
� ��
��
� 

���
�
� ����
�� + 
�,��  ��������

Vp� ��� �����(
�!� k ∈ N ���
����� Vk := {d1w1 + . . . + dkwk

∣∣ d1, ..., dk ∈ R}� I�
�
���
�. /� ������

� ∪

k∈N

Vk �� 
����5 ������� Vp ���!�)�(�� � ,�� ���������. �

∪
k∈N

Vk ) /��(
�5 �
���
�5 � �������� Hb(Ω)�

=��
�
�� ��������
���(
{
u0,k

}∞
k=1

��� . /� u0,k ∈ Vk ∀k ∈ N �

‖u0 − u0,k‖Hb(Ω) −→
k→+∞

0. "�3&

-� ������. /� ��� ���
�* k ∈ N, η ∈ (0, 1] � ����
 ���* x ∈ Ω ��
�����∣∣∣b1/2(x)− (
b(x) + η

)1/2∣∣∣2∣∣∣u0,k(x)∣∣∣2 ≤ 4(b(x) + 1)
∣∣∣u0,k(x)∣∣∣2.

I���. ���*�� 5�� �
��
� ��� !��
��
�� �
�
*�� ��� �
���� �
�
!����. ��� ���
��
!� +������
�!� k ∈ N ���� ��)��∥∥∥b1/2u0,k − (

b+ η
)1/2

u0,k

∥∥∥
L2(Ω)

−→
η→0+

0.

-����� �������) ��
 ��

� ��������
���� �����
�* ���
�
{
ηk
}∞
k=1

����8. /�
ηk −→

k→+∞
0 �

∥∥b1/2u0,k − (
b + ηk

)1/2
u0,k

∥∥
L2(Ω)

−→
k→+∞

0. "��&

4����
��

bk(x) := b(x) + ηk, x ∈ Ω, k ∈ N. "�2&
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� �$

I���. 
� �������� "�3&%"�2& ������)��

∥∥b1/2u0 − b
1/2
k u0,k

∥∥∥
L2(Ω)

−→
k→+∞

0. "�?&

��� ���
�!� k ∈ N 7 ��)�� !��(����
�(�
 
�����


� uk  ��!����

uk(x, t) =

k∑
i=1

ck,i(t)wi(x), (x, t) ∈ Q, "�H&

�
 ck,1, ck,2, . . . , ck,k % �����5�
� 

�
�
��
� 
� [0, T ] + 
�,�8 ����. /� ������(
� ����

���� ∫

Ω

{
bk(x)uk,twj +

∑
|α|∈M

aα(uk)D
αwj

}
dx =

=

∫
Ω

∑
|α|∈M

fαD
αwj dx, t ∈ [0, T ], j = 1, k, "��&

uk(x, 0) = u0,k(x), x ∈ Ω. "�J&

'������
�7


� "��&. "�J& ���
� ����� ���� �� ����� ��7� ��� ����
�� �������

�* ��+
�

,���(
�* ���
�
( � 

�������� + 
�,���� ck,1, ck,2, . . . , ck,k� '���
� 
���
�
( "��& ���
� ��
��� �� 
�����(
�8 +����� I���. 
� �������� �
��
�� ���
��
 ��

�. )��
���( � �������


� ����0��� ,�)8 ������ ��7� "����. 
��������. #2�$&
��
 ) )��
�� !�����(
�� 88 ����0���� c1,k, . . . .., ck,k � ��
 ���
��

�� 
� �
���� ����
���� [0, Tk〉. �
 Tk ≤ T � < � � ���� � ��� F〉G ��
���) ��� F&G ��� F$G� I��
. + 
�,��
uk ���
��

� 
� �
���
� Ω × [0, Tk〉� 4��
�7
 �� ���
�
�� �,�
��. � ���* � �
 ���
������� ���
���( [0, Tk〉 = [0, T ]�

<
�
� ������)�� ��������
� �,�
�� ��

�� ��������
���� {uk}∞k=1� ���
�����
��� ���
�!� j ∈ {1, . . . , k} ���
���( ����
�� "��& � 
��
��� j 
� ck,j � ���� � )�� ,�
���
����� I�����
 ���
���( ����
�
!� )�� �� t ∈ [0, τ ] ⊂ [0, Tk〉 �. ���������� 5��
"�H&. (16) �� +��� � �
�
!� ��

� �����
���. ��
�����

1

2

∫
Ω

bk(x)|uk(x, τ)|2 dx− 1

2

∫
Ω

bk(x)|u0,k(x)|2 dx+

+

τ∫
0

∫
Ω

{ ∑
|α|∈M

aα(uk)D
αuk

}
dxdt =

τ∫
0

∫
Ω

{ ∑
|α|∈M

fαD
αuk

}
dxdt. "��&

���� 
�� � �
 ������
� 

���
���( L
!�  +����:

ab ≤ ε|a|r(x) + ε
− 1

r−−1 |b|r′(x), a, b ∈ R, ε ∈ (0, 1), "�1&

��� ����
 ���* x ∈ Ω. �
 r ∈ L∞(Ω). r− := ABB inf
x∈Ω

r(x) > 1. r′(x) := r(x)/(r(x) − 1)

��� ����
 ���* x ∈ Ω�



%&
������ ��	
��

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

- "��&. ���������� 5��  ��� (A4) � 

���
���( "�1& � ������
(� ����� ε ∈ (0, 1)
"
��������. ε = 1

2 min{1,K} > 0&. ������)��

∫
Ω

bk(x)|uk(x, τ)|2 dx +K

τ∫
0

∫
Ω

{ ∑
|α|∈M

|Dαuk(x, t)|pα(x)
}
dxdt ≤

≤ C2

τ∫
0

∫
Ω

{ ∑
|α|∈M

|fα(x, t)|p′
α(x)

}
dxdt+ 2

τ∫
0

∫
Ω

g(x, t) dxdt+

+

∫
Ω

bk(x)|u0,k(x)|2 dx, τ ∈ [0, Tk〉, "��&

�
 C2 > 0 % �����. ��� ���
���( ��7
 ��� K � p−α (|α| ∈M)�
	� �������� "�?& ���
� ������� ���
����. /� ��������
���({ ∫

Ω
bk(x)|u0,k(x)|2 dx

}+∞
k=1

) ���
�

�5� I��
. � "��& ��
����� ���� �,�
��∫
Ω

bk(x)|uk(x, τ)|2 dx ≤ C3, "23&

τ∫
0

∫
Ω

{ ∑
|α|∈M

|Dαuk(x, t)|pα(x)
}
dxdt ≤ C4, "2�&

�
 τ ∈ [0, Tk〉 % �����(

. � C3, C4 % �����
� �����. ��� 

 ���
���( ��� τ �� k� 	�
�������� "23& ������)��. ����
��. /� [0, Tk〉 = [0, T ]� I��
. �,�
�� "23&. "2�& ����
���(
� ��� ���
�!� τ ∈ [0, T ]�

-  ���� (A2) �� �,�
�� "2�&. ���������� 5�� 

���
���( 9
�(�
��. ������)��
�,�
� ∫∫

Q

|aα(uk)(x, t)|p′
α(x) dxdt ≤ C5, |α| ∈M, "22&

�
 C5 > 0 % �����. ��� 

 ���
���( ��� k�
I����(�� �������� Lpα(·)(Q). Lp′

α(·)(Q) "|α| ∈M& �
+�
����
� "���� #1. M� J33$&.
�� � �,�
�� "23&. "2�& � "22& ����� )�� ��
 ��

� �����������
���� ��������
����
{uk} ",5 �����������
���( ���
������
�� ��� ���� �� � ��5 ��������
���(&. + 
�,��

u ∈ ◦
W

m,0
p(·) (Q). ũ ∈ L∞(0, T ;L2(Ω)) � χα ∈ Lp′

α(·)(Q) "|α| ∈M& ����*. /�

b
1/2
k uk −→

k→∞
ũ ∗ −������ � L∞(0, T ;L2(Ω)), "2?&

uk −→
k→∞

u ������ �
◦
W

m,0
p(·) (Q), "2H&

aα(uk) −→
k→∞

χα ������ � Lp′
α(·)(Q), |α| ∈M. "2�&
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� %�

���
�
��. /� u )  ��!��(


�� ����0����� ������ "�&%"?&� ��� ,(�!� ������� 
���
�����. /�

b
1/2
k −→

k→∞
b1/2 ���(
� � L2(Ω) � ����
 ��5�� 
� Ω. "2J&

<
�
� ���
�
��. /�

ũ = b1/2u ����
 ��5�� 
� Q. "2�&

'������. ��� �����(
�8 + 
�,�8 ψ ∈ C(Q) 
� �������� "2?& ������)��∫∫
Q

b
1/2
k ukψdxdt −→

k→+∞

∫∫
Q

ũψ dxdt. "21&

N
� �� ��  ��!� "2J&. �
!�� ���
���. /� b
1/2
k ψ −→

k→+∞
b1/2ψ �O Lp

̂0
′(·)(Q)� I���. ����

*�� 5�� "2H&. ��
�����∫∫
Q

ukb
1/2
k ψ dxdt −→

k→+∞

∫∫
Q

ub1/2ψ dxdt. "2�&

'������
�7


� "21&. "2�& ��5�( ������� ���
��� ����. /� ��� � �(����8
ψ ∈ C(Q) ������(
� ���
���(∫∫

Q

ũψ dxdt =

∫∫
Q

b1/2uψ dxdt,

� ���
. ������(
�5 ) ���
���( "2�&�
=��
�
�� �����(
� � ��+��� )�� ����� j, k ∈ N ����. /� k ≥ j� ���
�����

���
���( ����
�� "��& � 
��
��� j 
� + 
�,�5 θ ∈ C1([0, T ]) ��� . /� θ(T ) = 0. �
����
�
!� )�� ������
 ���
���( �� t ∈ [0, T ]. ���������)�� +��� � �
�
!� ��

�
�����
���� <���. �
�
*����� �� !��
�,� ��� k → ∞ � ���*�� 5�� "�?&. "�J&. "2?&%
"2�&. ������)��

−θ(0)
∫
Q

b(x)u0(x)wj(x) dx−
∫∫
Q

(
buwj

)
θ′ dxdt+

+

∫∫
Q

( ∑
|α|∈M

(χα − fα)D
αwj

)
θ dxdt = 0. "?3&

- ,�)8 ���
���� �������). /� ��� ���
�* v ∈ Vp � θ ∈ C1([0, T ]). θ(T ) = 0. ������(
�
���
���(

−θ(0)
∫
Q

b(x)u0(x)v(x)dx −
∫∫
Q

(
buv

)
θ′dxdt+

∫∫
Q

( ∑
|α|∈M

(χα − fα)D
αv

)
θdxdt = 0. "?�&

-� ������ ���
: ��/� ����
��� θ = ϕ ∈ C1
0 (0, T ) � "?�&. �� ��
����� ���
���(∫∫

Q

{( ∑
|α|∈M

(χα − fα)D
αv

)
ϕ− (

buv
)
ϕ′
}
dxdt = 0 "?2&



%%
������ ��	
��

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

��� ���
�* v ∈ Vp � ϕ ∈ C1
0 (0, T )� 	� �������� �
�� � "?2& ������)��. /�

u ∈ C
(
[0, T ];Hb(Ω)

)
"??&

� ��� ���
�* v ∈ Vp � θ ∈ C1([0, T ]). θ(T ) = 0 ������(
� ���
���(

−θ(0)
∫
Ω

b(x)u(x, 0)v(x)dx −
∫∫
Q

buvθ′dxdt+
∫∫
Q

( ∑
|α|∈M

(χα − fα)D
αv

)
θdxdt = 0. "?H&

- "?�& � "?H& ����� )�� "H&� <��� 
� �������� "2H& � "??& ���
�� ������� ���
����
��� �
. /� u ∈ U b

p �
=��*�� 5�� "?2&. ��� ���
�


� �����
���� "�& ������
(� �0�� ����. /� ����

���(
� ���
���(∫
Ω

{ ∑
|α|∈M

χα(x, t)D
αv(x)

}
dx =

∫
Ω

{ ∑
|α|∈M

aα(u)(x, t)D
αv(x)

}
dx "?�&

��� � �(����* v ∈ Vp � ����
 ���* t ∈ (0, T )� ��� ,(�!� ���������)�� �
��� ��
��

��

���� "���� #22$&� 4����
�� �����(
 + 
�,�5 w ∈ Wm,0
p(·) (Q)� 	� ��������  ����

(A3) ��� ���
�!� k ∈ N ��
�����

Wk :=

∫∫
Q

{ ∑
|α|∈M

(aα(uk)− aα(w))(D
αuk −Dαw)

}
θ dxdt ≥ 0,

�
 θ(t) = 1− t/T, t ∈ R� -����� ������)��

Wk =

∫∫
Q

{ ∑
|α|∈M

aα(uk)D
αuk

}
θ dxdt−

−
∫∫
Q

{ ∑
|α|∈M

[
aα(uk)D

αw + aα(w)(D
αuk −Dαw)

]}
θdxdt ≥ 0, k ∈ N. "?J&

��� ���
�!� j ∈ {1, . . . , k} ���
����� ���
���( ����
�� "��& � 
��
��� j 
� ck,jθ
� ���� � )�� ������
� ���
���� �� j� >
� �(� 5� ���
���( �
�
!� )�� �� t ∈ [0, T ] �
���������� )�� +��� � �
�
!� ��

� �����
��� �� "�H& � (16)� � ���� �� �����
��)�� ∫∫

Q

{ ∑
|α|∈M

aα(uk)D
αuk

}
θ dxdt =

∫∫
Q

{ ∑
|α|∈M

fαD
αuk

}
θ dxdt−

− 1

2T

∫∫
Q

bk|uk|2 dxdt + 1

2

∫
Ω

bk|u0,k|2 dx, k ∈ N. "?�&

	� �������� "?J& � "?�& ��
�� )��

Wk =

∫∫
Q

{ ∑
|α|∈M

fαD
αuk

}
θ dxdt− 1

2T

∫∫
Q

bk|uk|2 dxdt+ 1

2

∫
Ω

bk|u0,k|2 dx −

−
∫∫
Q

{ ∑
|α|∈M

[
aα(uk)D

αw + aα(w)(D
αuk −Dαw)

]}
θ dxdt ≥ 0, k ∈ N. "?1&



&'()*) �)#)+) #,- .,'/01+*2�/)�)32,'+*14 ���
���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� %'

D� �������
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( "2?&. "2�& �������)

lim
k→∞

inf

∫∫
Q

bk|uk|2 dxdt �
∫∫
Q

b|u|2 dxdt. "?�&

	� �������� "�?&. "2H&. "2�& � "?�&. � "?1& ������)��

0≤ lim
k→∞

supWk≤
∫∫
Q

{ ∑
|α|∈M

fαD
αu

}
θdxdt − 1

2T

∫∫
Q

b|u|2dxdt+ 1

2

∫
Ω

b|u0|2dx−

−
∫∫
Q

{ ∑
|α|∈M

[
χαD

αw + aα(w)(D
αu−Dαw)

]}
θ dxdt. "H3&

- "?2&. ���������� 5�� �
� "���� "�&& � "H&. ��
�����∫∫
Q

{ ∑
|α|∈M

χαD
αu

}
θ dxdt =

∫∫
Q

{ ∑
|α|∈M

fαD
αu

}
θ dxdt −

− 1

2T

∫∫
Q

b|u|2 dxdt+ 1

2

∫
Ω

b|u0|2 dx. "H�&

<��� 
� �������� "H3& � "H�& ����� )��∫∫
Q

{ ∑
|α|∈M

(χα − aα(w))(D
αu−Dαw)

}
θ dxdt ≥ 0. "H2&

4��������7� w = u − λvϕ � "H2&. �
 v ∈ Vp. ϕ ∈ C1
0 (0, T ). λ > 0. � �������7�

������
 

���
���( 
� λ. ��
�����∫∫
Q

{ ∑
|α|∈M

(χα − aα(u − λvϕ))Dαv
}
θϕ dxdt ≥ 0. "H?&

4
�
*����� � "H?& �� !��
�,� ��� λ → 0+ 
� ��������  ��� (A1) � (A2) �� �
��
��
��� !��
��
�� �
�
*�� ��� �
���� �
�
!����. "���� #2?. �� JH1$&. ����� )��∫∫

Q

{ ∑
|α|∈M

(χα − aα(u))D
αv

}
θϕ dxdt = 0,

�
 v ∈ Vp � ϕ ∈ C1
0 (0, T ) % �����(
� + 
�,�8� I���. ���
���( "?�& ������(
��

- "?2&. �
� �� ��  ��!� "?�&. ������)�� "�&� I��
. �� ���
��. /� u )  ��!��(�



�� ����0����� ������ "�&%"?&�

<
�
� ���
�
�� �,�
� "J&� 	
*�� u )  ��!��(


�� ����0����� ������ "�&%"?&�
- "�&. ���������� 5�� �
� � θ ≡ 1. t1 = 0. t2 = τ ∈ (0, T ] "���� "�&&. ������)��

1

2

∫
Ω

b(x)|u(x, τ)|2 dx+

τ∫
0

∫
Ω

{ ∑
|α|∈M

aα(u)D
αu

}
dxdt =

=

τ∫
0

∫
Ω

{ ∑
|α|∈M

fαD
αu

}
dxdt+

∫
Ω

b(x)|u0(x)|2 dx.
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� �
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�� ������ ���
� ��������� ���	� ������ ��

-����� �����
� �� ��!� �� �� �������� 

���
���( "��&. ���*�� 5�� (A4). "�1&. ��
��
� )�� "J&�

<
�
� ���
�
�� )��
���(  ��!��(


�!� ����0��� ������ "�&%"?&� -������ ,

�
����� ��� � ������
�!�� 	
*�� u1 � u2 % ���  ��!��(


� ����0���� ,�)8 �������
>��!��

�� ���
�,5 ��� ���
���5 "�& � u = u2 � ���
���5 "�& � u = u1� 	� ��������
�
�� � w = u1 − u2. θ ≡ 1. t1 = 0. t2 = τ ∈ (0, T ]. ��
�� )�� "���� "�&&

1

2

∫
Ω

b(x)|u1(x, τ) − u2(x, τ)|2 dx +

+

τ∫
0

∫
Ω

{ ∑
|α|∈M

(aα(u1)− aα(u2))(D
αu1 −Dαu2)

}
dxdt = 0, τ ∈ (0, T ].

P� ���
���( �  ���� (A3) ��5�( �������� ���
��� ����. /� ������(
� ���� ��� ����

����:

b|u1 − u2|2 = 0,
∑

|α|∈M

(aα(u1)− aα(u2))(D
αu1 −Dαu2) = 0 ����
 �����( 
� Q.

- �
�7�8 ���
���� �������). /� w(x, t) = 0 ��� ����
 ���* (x, t) ∈ Ω0 × (0, T )� �� !�
���
���( �  ���� (A3) ��5�( ���! ������� ���
����. /� w(x, t) = 0 ��� ����
 ���*
(x, t) ∈ (Ω \ Ω0)× (0, T )� I���. w(x, t) = 0 ��� ����
 ���* (x, t) ∈ Q. ����� u1 = u2�
I�����

 ���������� �������( 
�7
 ��
���


�� �

������ �������	
��� 
�	��
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N� 8#;B�č�$ E� V;:;Z>?�E 7A@;<�>9B �9 8797:;?�r7C ]>Z>?7= BD;E7B W k,p(x) F E� 8#;B�č�$
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R�������� �
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�

����� �
���1� ���� �

����2

1�������� ���	
����
 ����
�� ��
���	� � ��������	�
��� ���� ����������� ��� �	������

��
� ���	���� ���  !���� "#$%$
2���	������!	�& ��'����
!��& ����������� ��� (���
) ���*���	��

��
� +�����	�� ,"� �����-.���	���!	� "%$/,

0-12�34 53672892:2;<=>:�?09� @307AB5<12�3�:=

����� (λn) � ���	
��
�� ��������� 
� +∞ ����	
���	���� ����
���� ��
�
��� lnn = o(λn lnλn)� n → ∞� � �����	
��� 
�� ����� ��� R ����
�!

R(F ) !�"���� #	���� ��
� �	�	��� �$���
� F (s) =
∑

ane
sλn 
�"�� ����

���$��$�$ �� %��
����

R(F ) = lim
n→∞

λn lnλn

− ln |an| .

�������	��� #	�& �
��$ ���	'� 
��	� (� )��	
����

C
D���� �
���4 ��������$� ��
� #	�� %��!#	�� 
�!�$
�
 
�
���� �� 
��
�!� %��
��� (�'	 *
�
���� ��
 �	�	���� R ����
�!�

�� ������ �	
 ��
������������ ��	�� �������

f(z) =

∞∑
n=0

anz
n, z = reiθ, ���

���
� M(r, f) = max{|f(z)| : |z| = r} � �� �
������ ����	
�  
!	�"�# �
�
������$
����# %����
��
 ������� f & �� '��
���

ρ(f) = lim
r→+∞

ln lnM(r, f)

ln r
.

��(�� "����
 �	
��)�
 �����	
 ��*�$+�
�
�


ρ(f) = lim
n→∞

n lnn

− ln |an| ,


�
 �
& %��,� "�%�
)��� '��
��� %
 '��	���"����# (|an|) ����	�" ���	���"�� �����$
��&���" ������� f �

�© ����� ��	 
����
� ��	 ����
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�� �������

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

-��
� Λ � �	
� ��"��.&���� %����
#)�� �� +∞ '��	���"������ λ = (λn)� �	

'��	���"����� λ ∈ Λ )���% S(λ) '�%�
)��� �	
� ��	�� �
(��	#��� %(�!��� " C� �
��"
�����	� "�,	
��

F (s) =

∞∑
n=0

ane
sλn , s = σ + it, �/�


�� �� %"��
�0�
 �� ���'������
	0��,� '�	����
� �	
 �
�� �/� ��,� �
������ ����	

"�%�
)��� %
 ��"����# M(σ, F ) = sup{|F (s)| : 12 s = σ}� 3� "�����4 "�	�)���

R(F ) = lim
σ→+∞

ln lnM(σ, F )

σ

�
%�"
������ R$'��
���� �'��
���� %
 5������ �
�� �/��
6��
��
 	������,� '��
��� ��	�,� �
�� �����	� & �%
,
	0����
� '��
��
 '�$

�
��� ��	�� �������4 %�(�
!���� ���'���"�� �
���� 7'�
"��4 
�8� " ���'���"���
�
�� ��� %��(��� %
���� z = es4 �� �����
&�� �
� �����	� �/� % '��
%���
�� λn = n4
n ∈ N04 � %
 �
��� %
���� ����!��� σ = ln r4 M(σ, F ) = M(r, f)4 R(F ) = ρ(f)4 
 �	

��!��,� �
�� �����	� F ∈ S(λ) '�
"�	0��� (��� 
�
	�, �����	� ��*�$+�
�
�


R(F ) = K(F ) := lim
n→∞

λn lnλn

− ln |an| . ���

9� 5��� :�; ��"�"4 8� �����	
 ��� %
	�*
�����0�
 '�
"�	0��# �	
 ��!��,�
�
�� �����	� F ∈ S(λ) � "�'
��� ��"�	0��� '��	���"����� λ ∈ Λ4 8� %
��"�	0�
&
���"�

lim
n→∞

lnn

λn
< +∞.

7�	0��*�� ��%�	0�
�4 
��� ������	#&�� � "�,	
�� �������4 �����
" �� 7�,����

:/;�

�	
�	�
 �� 4���5 λ ∈ Λ� 6�7��

lnn = o(λn lnλn), n → ∞, �<�

8 97������7: 9;� �7<7= >7? 9;� �7@�7<7 ��9� A
�
�;� F ∈ S(λ) ?�;� �����;���
�
��
��� R(F ) = K(F )�

���� ��,�4 �� 7�,����
 :/; ��"�" �
�� ��������

�	
�	�
 �� 4���5 λ ∈ Λ� 6�7��

lim
n→∞

lnn

λn lnλn
= 0 ���

8 ��7?�
9�7: 9;� �7<7= >7? 9;� �7@�7<7 ��9� A
�
�;� F ∈ S(λ) ?�;� �����;���
�
��
��� R(F ) = K(F )�

=�!�4 
�8� ���"
 ��� �� "�����&�0�
4 �� ����& �
� �����	� F ∈ S(λ)4 �	


��,� R(F ) �= K(F )� -
�'�
"��4 �	
 �0�,� �
�� R(F ) > K(F )4 ����	0�� %
"!��
R(F ) ≥ K(F ) ���"�4 �
'���	
�4 :�4 �� /�$/>;�� ?
�"
!��� �
��@ 
�8� K(F ) = +∞4
�� � R(F ) = +∞4 ��(�� R(F ) = K(F )�

A�B� C�)� :<; ��%,	
��" �
�� %
'��
��
@ )� ��!�
 ���"� �<� " ������� D %
��$
���� ���"�# ���4 ��(�� )� & ���"
 ��� ���(�����# � ����
��0�# �	
 ��,�4 8�( �	
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�� ������ ���
� ��������� ���	� ������ �� !#

��!��,� �
�� �����	� F ∈ S(λ) (�	
 '�
"�	0�
 ��"����0 R(F ) = K(F )E A�B� C�$
)� :<; ��"�" �
�� �������4 % 
��� "�'	�"
& ��,
��"�
 "��'�"��0 �
 ��%,	
���� ���
%
'��
��
�

�	
�	�
 �� A;� 97�
;��7B ���9�7B 97 0 �7�;
97��7��
 (εn) 
���:�� �7�;
97��
���
λ ∈ Λ= ��9 A
�
�;� F ∈ S(λ) 
 �7�;
97��
��� ������;���� C���; (nk) ���
= >7

lnnk

λnk
lnλnk

= εnk
(k ∈ N0); R(F ) > K(F ).

-
*
 ���
 � ��"����4 8� *��
��# ���(�����# � ����
��0�# ���"�# &4 �
�'�
"$
��4 ���"
 �<�� F�� �
�� "�'	�"
& % �
��� ������� �� ������� D��

�	
�	�
 �� 4���5 λ ∈ Λ� D�>7 ��7�� �<� �� ���7��8����= �7?�7

δ(λ) := lim
n→∞

lnn

λn lnλn
> 0,

�7 
���8 ��9 A
�
�;� F ∈ S(λ) ����5= >7 R(F ) > K(F )�

?
%�
)���4 8� ������� D '�%��*� '�����"���	� �� G
�
�
 :�; � +�C� +�'����

:>;� -
�%
,
	0��*� ��%�	0�
�� 8��� �'��� %����
��
 ��	�� �
��" �����	� "�,	
�� �/�
" ������
� '��	���"����� (|an|) �����
" H�H� I������
 :�;� ?�����
4 % ��%�	0�
��"
H�H�I������� ���"� " :�; �
�	���� / % ������� ���� � ��"�����
 �
�	���� / % �������
���/� "�'	�"
& �
�� �%
,
	0����
 ������� D�

�	
�	�
 �� 4���5 λ ∈ Λ� D�>7 δ(λ) < +∞= �7 9;� �7@�7<7 ��9� A
�
�;� F ∈ S(λ)
���7<7= >7 K(F ) < 1

δ(λ) = �����;��� ���
��
���

R(F ) ≤ K(F )

1− δ(λ)K(F )
.

=�!�4 
�8� K(F ) < 1
δ(λ) �	
 ��
��,� �
�� �����	� F ∈ S(λ)4 �� %
 �������# J

"�	�)��� K(F ) � R(F ) & ����)������ ����)
���� G
�
 ����
��
 %
,
	�� ����!	�"
4

�8� K(F ) ≥ 1

δ(λ) �

�	
�	�
 �� 4���5 λ ∈ Λ� D�>7 δ(λ) > 0= K ∈ [ 1
δ(λ) ,+∞)= � H  E�7���:C� 97 +∞

�� (−∞,+∞) F���G
�= �7 
���8 ��9 A
�
�;� F ∈ S(λ) ����5= >7 K(F ) = K 


lim
σ→+∞

lnM(σ, F )

H(σ)
= +∞. �>�

G�����
 � & �
�	����� % ������� / �����
��0� "�(�
�� H(σ) = exp(σ2))�
G�����
 /4 % ����,� (���4 �"��)��0 '�� ���������0 ���"� K(F ) < 1

δ(λ) " �������
J� ? ��*�,� (���4 % ��&� ������� ��!�
 %��(��� �
��� "����"��@ 
�8� δ(λ) > 04
�� �
�� �����	� F ∈ S(λ) ��!��0 %����
�� 
� %
",���� *"���� �
"��0 ����4 ��	�
"�	�)��
 K(F ) �	
 ��� %
	�*
&�0�
 ����)����#�

�� �
�
����� �	�����
��� 7�����	#&�� ����	0�
 	��4 
���� �������
&���0
�	
 ��"�����
 ������� /�

K���% Ω '�%�
)��� �	
� ���
���� �
 (−∞,+∞) ������� Φ �
���4 8� Φ′ &
��'����"��#4 ���
���# � %����
#)�# �� +∞ �
 (−∞,+∞) ������&#�
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 ��
�� �������

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

-��
� Φ ∈ Ω� G��� Φ � �'��	
 �
 (−∞,+∞) ������
 �

Φ(σ)

σ
→ +∞, σ → +∞.

? ���
��0�,� �'�""����*���
 "�'	�"
&4 8� �	
 ��!��,� x > 0 "�%�
)���# & ������


Φ̃(x) = max{σx− Φ(σ) : σ ∈ (−∞,+∞)},

�
 �
%�"
&�0�
 ���"�4 �
'���	
�4 :L4 �� �L>;� �'�
!���# %
 M�,�� % ������&# Φ�
A�����


Φ̂(σ) = σ − Φ(σ)

Φ′(σ)
, σ ∈ (−∞,+∞),

�
%�"
&�0�
 ���"�4 �
'���	
�4 :�4 �� �L;� �'�
!���# %
 -0#����� % ������&# Φ�
N�,�� '������
���
4 8� Φ′ �
(�"
& �
 (−∞,+∞) ��� %�
)���
 % (0,+∞)� -��
�

ϕ � ������
4 �(�����
 �� Φ′� G��� ������
 ϕ & %����
#)�# �
 (0,+∞) � �
(�"
&
�
 %
%�
)����� �����"
	� ��� %�
)���
 % (−∞,+∞)� ��(�� "����� �
�� �"���!���

���"� :�4 �� �L;4 :L4 �� �L>$�L�;��

�	�
 �� 4���5 Φ ∈ Ω� H79
I
�J Φ̂(σ) 8 E�7���:C7: 97 +∞ �� (−∞,+∞) F���G
8:K

�J Φ̃(x) = xΦ̂(ϕ(x))= x > 0= 9� ϕ  F���G
�= 7?������ 97 Φ′�

6��*� % �"�� �
"������ �
	� �"���!��0 ��(�� "�����4 
 ���,� �����
�� " :�;�

�	�
 �� 4���5 (xn)  979���� �����9�� �7�;
97��
���� D�>7

∞∑
n=0

1

xn
< +∞,

�7 n = o(xn)= n → ∞�

�	�
 �� 4���5 λ ∈ Λ= � (an)  �7��;����� �7�;
97��
���� A;� �7<7= >7? ��9
A
�
�;� �/� ?�� G
;��= ��7?�
9�7 
 97����= >7? ���7����;��� ��7��

1

λn
ln

1∑∞
k=n |ak| → +∞, n → ∞.

�� �
�	�	��� �	
�	�� �� 5�%,	
���� '��	���"����0 λ ∈ Λ �
��4 8� δ(λ) > 04
� ���
� K ∈ [

1
δ(λ) ,+∞) � ��"�	0�� �����"
�� )��	�4 
 H � %����
#)
 �� +∞ �


(−∞,+∞) ������
� ��"�����4 8� ����& �
� �����	� F ∈ S(λ)4 �	
 
��,� K(F ) = K
� "�����&�0�
 �'�""����*���
 �>��

6������� δ = 1
K � %
�����&�� )��	
 α � β �
��4 8� 0 < α < β < δ�

N�,�� (
)���4 8� ����& ������
 Φ ∈ Ω4 �	
 
���

H(σ) = o(Φ(σ)), σ → +∞; ���

Φ(σ) ≥ Ψ(σ) := exp
(σ
α

)
, σ ∈ (−∞,+∞). �L�

K���% ϕ '�%�
)��� ������#4 �(������ �� Φ′� ? �L� "�'	�"
&4 8� Φ̃(x) ≤ Ψ̃(x) =
= αx ln αx

e �	
 "��� x > 04 ���� %
 	���# D �����
&��

xΦ̂(ϕ(x)) = Φ̃(x) < βx ln x, x ≥ x0. �O�
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� $&

-��
� (βk) � %����
#)
 �� δ '��	���"����0 % �����"
	� (β, δ)� =���	0�� βk < δ(λ)
�	
 ��!��,� k ∈ N04 �� ����& %����
#)
 '��	���"����0 (nk) ��	�� )���	 �
�
4 8�

lnnk

λnk
lnλnk

≥ βk, k ∈ N0. ��P�

6������� δn = β0 �	
 "��� n ≤ n0 � δn = βk+1 �	
 "��� n ∈ (nk, nk+1] �
 k ∈ N0�
?
�"
!���4 8� (δn) � ���'
��
 '��	���"����0 % �����"
	� (β, δ)4 
�
 '�
��& �� δ�
?"����4 %�����
4 "�'	�"
&4 8� �	
 ��
��,� p0 ∈ N0 �
��,�4 8� λp0 ≥ x04 '��	�$
��"����0 (eδnλn lnλn)∞n=p0

%����
#)
� ���� ��,�4 �	
 "��� k ∈ N0 %
 ��P� ����!�&��
eδnk

λnk
lnλnk ≤ nk� G��� %,���� % 	���# Q

∞∑
n=p0

e−δnλn lnλn = +∞. ����

�
	� %
�"
!���4 8� %
 �O� '�
"�	0�� ����"�����

e−δnλn lnλn < e−λn
̂Φ(ϕ(λn)), n ≥ p0. ��/�

? ���� � ��/� "�'	�"
&4 8� �	
 ��!��,� ��	�,� p ≥ p0 "�%�
)���# & "�	�)��


m(p) = min

{
m ∈ {p, p+ 1, . . . } :

m∑
n=p

e−δnλn lnλn ≥ e−λp
̂Φ(ϕ(λp))

}
,

'��)��� m(p) > p� 6�������

l(p) = max

{
l ∈ {p, p+ 1, . . . ,m(p)} :

m(p)∑
n=l

e−δnλn lnλn ≥ e−λl
̂Φ(ϕ(λl))

}
.

?
%�
)���� �
������ ����&4 (� ���!��
4 "�� 
��� ��� �
������ (����0�
4 & ����$
)����# � ��'���!�0�# �)��	� p & �� �	�������4 8� "�'	�"
& % �%�
)���
 "�	�)���
m(p)�� G��� �����
&�� p ≤ l(p) < m(p)�

 �(����� %����
#)� '��	���"����0 (pk) ��	�� )���	 �%
�"
!���4 8� p0 "�(�
��
"�8�� �
�4 8�( "�����"
	��0 ����"�����

e−λpk+1
̂Φ(ϕ(λpk+1

)) <
1

2
e−λm(pk)

̂Φ(ϕ(λm(pk))), k ∈ N0. ����

�	
 "��� k ∈ N0 '������� lk = l(pk) � mk = m(pk)� G��� pk ≤ lk < mk < pk+1 �	

"��� k ∈ N0 � % ���� %
 �������&# ������&��

e−λpk+j
̂Φ(ϕ(λpk+j

)) <
1

2j
e−λmk

̂Φ(ϕ(λmk
)), k ∈ N0, j ∈ N. ��<�

���� ��,�4 % �%�
)���
 "�	�)��� lk "�'	�"
&4 8�

mk∑
n=lk

e−δnλn lnλn = e−δlkλlk
lnλlk +

mk∑
n=lk+1

e−δnλn lnλn <

< e−δlkλlk
lnλlk + e−δlk+1λlk+1 lnλlk+1 < 2e−δlkλlk

lnλlk , k ∈ N0. ����
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-��
� n ∈ N0� 3�8� n ∈ [lk,mk] �	
 ��
��,� k ∈ N04 �� '�������
an = e−δnλn lnλn R " ��*��� �
%� '������� an = 0� 5�%,	
���� �
� �����	� �/� %
�
� "�%�
)����� �������&��
�� an � %
�"
!���4 8� ��,� ��!�
 %
'��
�� � "�,	
��

F (s) =

∞∑
k=0

mk∑
n=lk

ane
sλn .

6��
!���4 8� %
%�
)���� �
� %
��"�	0�
& ���"� ��������
-
�
�'���� ��"�����4 8� ��� �
� ��	��� �	
 ��!��,� q ∈ N0 ""����� '�%�
$

)���


Tq :=
∞∑
n=q

|an| =
∞∑
n=q

an.

?
 ����"����
�� ���� � ��/� �	
 "��� q ∈ (mk−1, lk] � k ∈ N ����!�&��

mk∑
n=q

an =

mk∑
n=lk

an =

mk∑
n=lk

e−δnλn lnλn < 2e−δlkλlk
lnλlk ≤ 2e−δqλq lnλq < 2e−λq

̂Φ(ϕ(λq)),


 �	
 "��� q ∈ (lk,mk] � k ∈ N4 "��������"�#)� �%�
)���
 "�	�)��� lk � ����"�����
��/�4 �����
&��

mk∑
n=q

an =

mk∑
n=q

e−δnλn lnλn < e−λq
̂Φ(ϕ(λq)).

G���4 �������
"*��0 ����"����
�� ����4 ��/� �
 ��<�4 �	
 "��� q ∈ (mk−1,mk] � k ∈ N

������&��

Tq =

mk∑
n=q

an +

∞∑
j=1

mk+j∑
n=lk+j

an < 2e−λq
̂Φ(ϕ(λq)) +

∞∑
j=1

mk+j∑
n=lk+j

e−δnλn lnλn <

< 2e−λq
̂Φ(ϕ(λq)) +

∞∑
j=1

2e−δlk+j
λlk+j

lnλlk+j ≤ 2e−λq
̂Φ(ϕ(λq)) + 2

∞∑
j=1

e−δpk+j
λpk+j

lnλpk+j <

< 2e−λq
̂Φ(ϕ(λq)) + 2

∞∑
j=1

e−λpk+j
̂Φ(ϕ(λpk+j

)) < 2e−λq
̂Φ(ϕ(λq)) + 2

∞∑
j=1

1

2j
e−λmk

̂Φ(ϕ(λmk
)) ≤

≤ 2e−λq
̂Φ(ϕ(λq))

(
1 +

∞∑
j=1

1

2j

)
= 4e−λq

̂Φ(ϕ(λq)),

%"����
1

λq
ln

1

Tq
≥ Φ̂(ϕ(λq))− ln 4

λq
, q > m0.

=���	0�� % 	��� D "�'	�"
&4 8� Φ̂(ϕ(λq)) → +∞4 q → ∞4 ��
1

λq
ln

1

Tq
→ +∞, q → ∞,

���� %
 	���# S '�(���"
��� "�8� �
� �����	� ��	��4 ��(�� F ∈ S(λ)�
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λn lnλn

− ln |an|
����"�#& 1

δn
� "�'
���4 
�8� n ∈ [lk,mk] �	
 ��
��,� k ∈ N04 � ����"�#& 0 " ��*���

�
%�� ?"����4 "�
��"
"*�4 8� δn→ δ, n→ ∞4 	�,�� ������&�� ��"����0K(F )= 1
δ =K�

-
��*��4 ����	0�� an ≥ 04 n ∈ N04 ��

M(σ, F ) =
∞∑
n=0

ane
σλn =

∞∑
k=0

mk∑
n=lk

e−δnλn lnλneσλn ,

���� �	
 "��� ����
��0� "�	���� k ∈ N04 %,���� % �%�
)���
� "�	�)�� lk � mk4
����!�&��

M(ϕ(λlk ), F ) >

mk∑
n=lk

e−δnλn lnλneϕ(λlk
)λn ≥

≥ eϕ(λlk
)λlk

mk∑
n=lk

e−δnλn lnλn ≥ eϕ(λlk
)λlk e−λlk

̂Φ(ϕ(λlk
)) = eΦ(ϕ(λlk

)).

=���	0�� ϕ(λlk ) → +∞4 k → ∞4 �� %"���� ������&��

lim
σ→+∞

lnM(σ, F )

Φ(σ)
≥ 1. ��>�
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0-12�34 53672892:2;<=>:�?09� @307AB5<12�3�:=

r>@ (λn) Z> A <C<<>[A@	s> D>t\><=>� 	<=?>AD	<[ @C +∞� 1@ 	D B?Cs>_ @EA@ @E>
=C<_	@	C< lnn = o(λn lnλn)� n → ∞� 	D <>=>DDA?F 	< C?_>? @EA@ GC? >s>?F H	?	 
=EI>@ D>?	>D CG @E> GC?L F (s) =

∑
ane

sλn 	@D R C?_>? R(F ) =A< Z> =AI=\IA@>_
ZF @E> GC?L\IA

R(F ) = lim
n→∞

λn lnλn

− ln |an| .
aC?L>?IF u� ]\[	L\?A B?Cs>_ @E> D\v=	><=F CG @E	D =C<_	@	C<�

J0A ^6:V;4 BCw>? D>?	>D� ><@	?> G\<=@	C<� LAx	L\L LC_\I\D� C?_>?�
yA\=EF zA_ALA?_ GC?L\IA� H	?	=EI>@ D>?	>D� R C?_>?�
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���� �����	������ �����
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p���� (λn) � �����$#�������� ������������ ! +∞ �����
������� 
������ ��!������ ��� �����$� lnn = o(λn lnλn)� n → ∞� �������� ������ 
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�� ����� ����q R ����
�! R(F ) ������ #����� ��
� �$�$��� �$
�

F (s) =
∑

ane
sλn 
�"�� �q�� ����$ �� %��
���

R(F ) = lim
n→∞

λn lnλn

− ln |an| .
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���� ������ 
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�"�� #� $��!��"�
%�
 &�'� (���
�� ��!��� ��
������) ���*��
������+ "� �����+ � ,��� ���� ������, ��"���- �������� !�����.
�,+ ��/��� �� ��%�
�������� *��
��,� &	'� 0��*��
���� ��
���
��� ������) �����
�
�*�� ���*�
����� ���������� ������ &	'+ &1'�

��
���

� � 2&	'+ &1'3� 5���6 C∗ = C \ {0}� �
789��:���� f : C∗ → C ��;��
��<���� =8��87�8��8> ?���@
<> ; ��=����=
���8�8� q (0 < |q| < 1)A ��B8 f <
���8�8�?�8> 
 ∀z ∈ C∗ ���8��<���� �
��
��� f(qz) = f(z)�

��/�� ���*��
���� ������, f !�"
�/�-��*, � ��%�,�� &	'+ &1'

f(z) = Czp
∏m

k=1 P ( z
ak
)∏m

k=1 P ( z
bk
)
, 2�3

�� ak 4 ����+ � bk 4 ����*� ������) f + C = const+

P (z) = (1− z)

∞∏
n=1

(1 − qnz)

(
1− qn

z

)

� p ∈ Z ����+ 5�
a1a2...am
b1b2...bm

= qp, |q| < |aν | � 1, |q| < |bμ| � 1.
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7����.���,����� ������) ������� 8� 7����+ &�' 9� :������ &�' �� #� #*�.

��*��� &�'� ;� ������) ��*�� ���<,!��� ! ��
�������� *��<,�� ������ � ��!����
���+ �*������ ��, ��� �� �*��- �
������ 7����� #� #*�
��*��� !�� =�� ���"�����
�� ��*����� ����� 7����.���,�����*�� ��
���
���) ������) &�'+&�'� (�� 
�!%�,���
������) �� �*� ���5���� >����% ���
��� #*�
��*���%� ��, ������ + ��
���
����
� �
������� ���5��� C∗+ *��
������� #� ?
������� &@' 2��������, ���� &A'3�

��
���

� �� H��8�8�?�� � C∗ ?���@
� f ��;���<���� I>=
��������8�8>A ��B8
7=� 78�
=��8D �8�=
78��8��
 �8��=������ J���= {σn}A σn → ∞A n → ∞ 
���< �
7�8�
�=
78��
��� {σnk

} ����A B8 �8�=
78��
��� {f(σnk
z)} ;9
K�<���� �
��8�
��8 � C∗ �

����
 F�����878�
����7�� ��� k → ∞�

#� ?
������� ����� &@' ���� �!�%�������, ���
��� #� #*�
��*���%��
��	��
� � 2&@'3� H��8�8�?�� ?���@
� f : C∗ → C < I>=
��������8�8> �87
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A �8=� �8�� ;89��:�<���� � ��K=�7


f(z) = Czp
∏

k�0(1 − z
ak
)
∏

k<0(1− ak

z )∏
k�0(1− z

bk
)
∏

k<0(1− bk
z )

2	3

7� C ∈ CA p ∈ ZA ak ∈ C∗A bk ∈ C∗A 89�7�
 �8�=
78��8��
 {ak} 
 {bk} �8:��� 9���
��
�J����� �98 ����
�J����� � 87�8�� J� � 898� ��������A ��� k → −∞ �8��
�����>�� 78 �A � ��� k → +∞ 78 ∞A 
 ���8��>���� ���
 ��8��M

�G �
=��
��� ��=
� ak 
 �8=>�
� bk ?���@
D f � �8:�8�� �
=�@
 ��K=�7�
{z : r < |z| < 2r}A r > 0 E; ����������� �����8��
G 89��:��� ���=8>
C1N

�G �
;��@� �
: �
=��
��> ��=
� 
 �8=>�
� ?���@
D f � �8:�8�� �
=�@

{z : r1 < |z| < r2}A r1 > 0A r2 > 0 E; ����������� �����8��
G 89��:��
�� ���=8> C2N

	G 7=� 9�7������ i �� j �
7�8L����

|ai|p
∏

k:0�log |ak|/ log |ai|�1
|ai|
|ak|∏

k:0�log |bk|/ log |ai|�1
|ai|
|bk|




|bj|p
∏

k:0�log |bk|/ log |bj |�1
|bj |
|bk|∏

k:0�log |ak|/ log |bj |�1
|bj |
|ak|

89��:��
 ;����� ���=8> C3N

G 
���< ��;�=�:�� �
7 i �� j ���=� C4 ����A B8∣∣∣∣aibj − 1

∣∣∣∣ � C4.
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C��� m 4 ������*�� ����� ������) f � ������ Aq = {z : |q| < |z| � 1}�
B����/���+ 5� !� !�"
�/���, 2�3 �������- 2���� ����/ &	'+ &1'3 ����D ������*��

����*�� ������) f � ������ Aq ����/ ��
����- m � 2� (��� ����/ ��
����- m �
��/���� ������ ��%�,�� Aq(R) = {z : |q|R < |z| � R}�

�� 9�
���
��� ����� �3 ���
��� >�
E*����� l ∈ Z+ n ∈ Z ����+ 5�

|q|l+1 < r � |q|l, 213

|q|n+1 < 2r � |q|n.
������*�� ����� ������) f � ������ {z : r < |z| < 2r} �� ��
���5�- (l + 1− n)m+

�*������ � ��/���� ������ Aq(q
k) )� - m =���� B 213 �������-+ 5�

l � log r

log |q| ,

n+ 1 >
log 2 + log r

log |q| .


���

m(l + 1− n) �
(
2− log 2

log |q|
)
m =: C1.

;, / *��� ������ %�����*,+ ��������+ ��, ������*�� ����*�� ������) f � ��.
�������� ������ {z : r < |z| < 2r}�

	� ����� 	3 ��
���
��� ����
:�/���� ���� �������D
F3 (������+ ���� ∃k ∈ Z ����+ 5� |q|k+1 < r1 < r2 � |q|k� 
��� 
�!���, ��/

������*�� ����� � ����*�� ������) f � ������ {z : r1 < |z| < r2} �� ��
���5�- m�
"3 ∃l, n ∈ Z ����+ 5� r1 < |q|l � ... � |q|n � r2� 
��� � �����,� {z : |q|i < |z| �

� |q|i−1} ������*�� ����� � ����*�� ��������+ ��"�� 
�!���, ��
����- ������� $�!%�,.
���� �����, {z : r1 < |z| � |q|l} � {z : |q|n < |z| � r2}� ( ��� 
�!���, ��/ ������*��
����� � ����*�� ������) f �� ��
���5�- m�

#�/�+ � ������ {z : r1 < |z| < r2} ���� �� ��
���5�- 2m =: C2�
1� ��, ��
���
�� ����� 13 ��� ���
�"�� ��,�� ������/�� ���,��, �� ������
E����*�� ��
���
���) � C∗ ������) f 2�!���/ ���� {z : |z| = t}3 ��!���-��*,

������,

ν(t, f) =
1

π

2π∫
0

Im

(
f ′(z)
f(z)

dz

)
.

;, ������, ��!������ ��, �*�� t > 0 � - ����!������ &�G'�
(�����-��*, ���� �����% ��
���� ?�*��� &�G'

1

2

r∫
s

ν(t, f)

t
dt = I(r, f)− I(s, f), 2�3
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���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

��

I(t, f) =
1

2π

2π∫
0

log |f(teiθ)|dt.

0������� ������, n(t, f) 
�!���� ����� � ����*�� ������) f � �����,�+ ,��
�� ��!��������� ������-� 
�!������ ����� � ����*�� ������) f + ��!����-��*,
���� � "���.,�� ���*����� ����� t0 ) ) !������, ��"�
���� ���������+ � 
�!���,
n(t2, f)−n(t1, f) �
� t1 < t2 ��
����- 
�!���� ��/ ������*�� ����� � ����*�� ������)
f � ������ z : t1 < |z| � t2� #��/+ ������, n(t, f) ����
�
��� *�
����

(������� *�
�"��� ������ ν � n � ����� t0 ���<,!��� !%���� ! �
������� �
%�.
����� 
����*��

1

2
lim

Δt→0
(ν(t+Δt, f)− ν(t−Δt, f)) = lim

Δt→0
(n(t+Δt, f)− n(t−Δt, f)).

B%���� ! �
������� �
%������

ν(r + 0, f)− ν(1, f)

2
= n(r, f)− n(1, f), r > 1, 2�3

!� �����+ 5� �� ���������� ���� ����- �� �����+ �� ����*�� ������) f � B �%�,�� ��
2�3 �
� r > 1 ��
���-�� !� ��-) �����+ ����%
���� ��*������+

I(r, f)− I(1, f) =
1

2
ν(r + 0) log r − 1

2

∫
(1,r]

log tdν(t) =

= −
∑

1<|ak|�r
1<|bk|�r

(log |ak| − log |bk|) + 1

2
ν(r + 0, f) log r,

�� ak 4 ����H bk 4 ����*� ������) f �
(
�������� 2�3+ ���
/���

I(r, f)− I(1, f) =
∑

1<|ak|�r
1<|bk|�r

(
log

r

|ak| − log
r

|bk|
)
+

ν(1, f)

2
. 263

I�5� f ��"��� ��%�,�� 2	3 � �� ��- �� �����+ �� ����*�� �� ���������� ����+
�� �
��������+ 5� ν(1, zp) = 2p+ � �����* �*�� ��=�� ���/����� �!���/ ��������%�
���� ��
����- ������+ ��
���-�� 1

2ν(1, f) = p� I�5� / f ��- ���� �� ����*� ��
���������� ����+ ��+ ��!�����=�

h(z) =

∏
|ak|=1

(
1− z

ak

)
∏

|bk|=1

(
1− z

bk

) ,

f1 =
f

h
,

�+ !�*��*����=� ���*���� ��
���� ?�*��� �� h+

I(r, h)− I(1, h) =
∑

|ak|=1
|bk|=1

(
log

r

|ak| − log
r

|bk|
)
, r > 1, 2�3
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I(r, f)− I(1, f) =
∑

1�|ak|�r
1�|bk|�r

(
log

r

|ak| − log
r

|bk|
)
+ p log r. 2@3

9
��� "�� 
����*�� 2@3 ��
����- ��%�
������ ��
=�%� ��"���� � 13 �
�
r = |ai| > 1� #�/�+ �"��/���*�� ���%� ��"���� !��
�� ������������ �"��/���*��
!��
�� ����%
������ *�
����� I(|ai|, f)�

;����� �����%���� ��������*,+ 5� �"��/���*�� !��
�� !�!������%� ��"����
�
� |ai| < 1 �� �
�%�%� ��"���� � 13 ������������ �"��/���*�� !��
�� I(|ai|, f) ��
−I(|bj |, f)� #*������ ��, ���*��
����) ������) f ! �������������
�� q ����%
�����
*�
���� ���������������� ��
������� ! ��
����� |q|+ I(|q|r, f) = I(r, f)+ �� ���� ��.
!�������*, *��)�� !������,�� �� �
���/�� (|q|, 1]� (
�������� )��� ����
�
���*��
�� �
������� ��5� ��
������,+ ��
���-��+ 5� ��"���� � 13 �"��/��� *�����

| log |C||+ max
|q|�t�1

|I(t, f)|+ |I(1, f)| =: C3.

�� 9�
���
���+ ��
�=��+ ����� �3�
C��� ai � bj ���� �� ����*� ������) f + ����������� (��� ����� ��%�,� &	'+ &1'
ai = aνq

n+ bj = bμq
k+ �� k, n ∈ Z+ aν ∈ Aq+ bμ ∈ Aq+ μ, ν ∈ {1, ...,m}�

�3 $�!%�,���� �������+ ���� ai � bj ���
���,��� � �� *��� ������ Aq(q
n)� 
���∣∣∣∣aibj − 1

∣∣∣∣ =
∣∣∣∣aνq

n

bμqn
− 1

∣∣∣∣ =
∣∣∣∣aνbμ − 1

∣∣∣∣ � C41,

�� C41 = min
aν ,bμ

∣∣∣∣aνbμ − 1

∣∣∣∣�
"3 C��� ai � bj ���
���,��� � 
�!�� �����,+ ����∣∣∣∣aibj − 1

∣∣∣∣ =
∣∣∣∣aνq

n

bμqk
− 1

∣∣∣∣ =
∣∣∣∣aνbμ q

n−k − 1

∣∣∣∣ �
∣∣∣∣ |aν ||bμ| |q|

n−k − 1

∣∣∣∣ .
I�5� n− k � 1+ ��∣∣∣∣ |aν ||bμ| |q|

n−k − 1

∣∣∣∣ = −|aν |
|bμ| |q|

n−k + 1 � 1− C42|q| > 0,

�� C42 = max
aν ,bμ

|aν |
|bμ| �

I�5� n− k � −1+ ��∣∣∣∣ |aν ||bμ| |q
n−k| − 1

∣∣∣∣ = |aν |
|bμ| |q|

n−k − 1 � C43

|q| − 1 > 0,

�� C43 = min
aν ,bμ

|aν |
|bμ| �

#�/�+ ∣∣∣∣aibj − 1

∣∣∣∣ � C4 > 0,

�� C4 = min{C41, 1− C42, C43 − 1}. #��/+ ������, f - 7����.���,������� �
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� ��������� ���	� ������ ��

�� &	�
��!
� ��
'( �������
�" #�
 $�%� ��/�� ���*��
���� ������) f
! �������������
�� q ���������- ��������� ������, g &1'� > *���+ ��!������

f
(
e
− 2πu

ω1

)
= g(u), q = e

2πiω2
ω1 , Im

ω2

ω1
> 0.


��� g(u) "��� &1' ���������� ������-� ! %
����� ��
����� Zω1 + Zω2� #�
�.
��-��

f(σz) = g(u+ τ),

��

τ =
iω1

2π
log σ.

B���*�

|τ | � |ω1|
2π

log |σ|.

��� τ → ∞ �
� σ → ∞�

#�/�+ "�!��*�
����� ��*������ 
��
��� � - ���� ���
�/���,�

&�����	 �� 5���6 g ! �=
���J�� ?���@
�� P87
 �
�C� ?���@
6 {g(u+ τ)}, τ ∈ C
�8���=��� � C�

;� �!����-+ 5� ! ��������) ��*�������*�� ������ {g(u + τn)}, τn → ∞ �
�
n → ∞ ��/�� ��"
��� �����*�������*��+ ,�� !"�%�-��*, 
������
�� � C � *��*�
��
������
�.0������

;� 
�!������ ��=�� *��*�"�� ����� �� E�*��� &��'�

������ �������	
��� 
�	��
	���
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����� ! "� #$�%&'(�#�)

��������	� 
���	
� Hp
σ (C+) ����
	����� � C+ = {z : ��z > 0} �����
�

f � ��� ����

sup
|ϕ|<π

2

⎧⎨
⎩

+∞∫

0

∣∣∣f(reiϕ)
∣∣∣p e−pσr|sinϕ|dr

⎫⎬
⎭ < +∞.

�������� ���
�����	�
�	� ����� ��
 
������ 	� 
����
��� �����
! �� �
��"
�
� 

���
 � 
����
��� �� ����
� ��
# $��
����%	���� &� ���������� ���"
����� �����
� % ��	���
����� #

*
+,��� �
��
! ������� 
���	
� '���
� ���������� �������� �����
�#

�� ������ �	
��
������	 
���
 Hp (C+)� 0 < p < +∞, ��	���� ����� � ����
��	���� C+ = {z : ��z > 0}� �	 �	 ��	���� �������
��! � C+ "��#$�% f � ��& &#�!
��#	��'�(�& ���������(

‖f‖ := sup
x>0

⎧⎨⎩
+∞∫

−∞
|f(x+ iy)|p dy

⎫⎬⎭
1/p

< +∞. (1)

)�	��& ��	��	��� ����� �	���( �����(�	 ��#������ � *�+� *,+� *��+� -	#����� �	�����	�
�	 ��	��	�� Hp (C+)� 1 ≤ p < +∞, '  ���!	���� ��	�	��	 
�
��
��	. �	���� /� 0'��
�'$#�% 
1&����� *2+� �	 ��	��	�� Hp (C+)� 0 < p < +∞, �	3��(  ��� ��
��
��� � &#
#���� �������
��! � C+ "��#$�% f � ��& &#�!

‖f‖∗ := sup
ϕ∈(−π

2 ;π2 )

⎧⎨⎩
+∞∫
0

∣∣f(reiϕ)∣∣p dr
⎫⎬⎭

1/p

< +∞, (2)

�� 	�����& �	��� �#���������� �	���� ��
��
���% "	����	4 5�6� 7� �3� �8&� �	���
*9� �� 9�2�9�9+ �#������������( $�! 	
��
��( ��& �����#� p = 2� :��#$�. f 
 Hp (C+)

�© ������� 	
� �
��
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� "#

��4�( ��%3� �#��
( �� ∂C+ #��	�� ;����
�� 
��
���&� &#� �	
��
�'�	 
���
 f(it)� �
f(it) ∈ Lp(∂C+)�

<� =����$(#�% �	
;�&��� *�+ ��	���� Hp
σ (C+)� 0 < p < +∞� 0 ≤ σ < +∞�

"��#$�% f � �������
��! � C+� ��& &#�!

‖f‖ := sup
|ϕ|<π

2

⎧⎨⎩
+∞∫
0

∣∣f(reiϕ)∣∣p e−pσr|sinϕ|dr

⎫⎬⎭
1/p

< +∞. (3)

��& �����#� 1 ≤ p < +∞ $& �������( ��
��
�' �	��� � � $(	�� �����#� Hp
σ (C+)

'  ���!	��� ��	��	�	�� :��#$�. f 
 ��	��	�� Hp
σ (C+) ��4�( ��%3� �#��
( �� ∂C+

#��	�� ;����
�� 
��
���&� &#� �	
��
�'�	 ��#	3 
���
 f � ># �������' 
 �����������
�	;	 ��
��(���� ?� 0'��'$#	;	� ��	���� Hp

σ 
 �;�'�(�& 
 #����
��� ��	��	�	� �����
Hp (C+)� #	�� σ = 0�

� ��	��. �������
��! "��#$�% ���	��% ����$�� @&#�	 "��#$�& �� 
������ 	 �
����� ��3� ����� �	 � ��8�% 
������ ��3� ����#�A� :��
� @��3� ����A� @��3� ����#�A
� #	�#�����! �����3���&! �� ���4�( $��#	� #	�#����	;	 
������ B���� �
  �;��(	!
���	;�! "	����4���( ��#	;	 ���� ' "	����� ���������� 7��� ��8	. ���$� C �	�
����� �����3���&� �	 	����' 
�
��
���% ����$�� ��& ��	��	�� Hp

σ (C+)�
�� 	�
��

 �
���

� ��& #	3�	. "��#$�. f ∈ Hp

σ (C+) ����' *D+ ���;��&���
;����
�� "��#$�&� &#� 
 �	
����4 �	 �������	. ����	. � 
��
��( � �	
#�! ���������
�	��� ��
��
�'�(�& �������4

h(t2)− h(t1) = lim
x→0

t2∫
t1

log |f (x+ iy)| dy −
t2∫

t1

log |f (iy)| dy.

:��#$�& h ' ��
�	���4
	4 �� R � h′(t) = 0 ��%3� �#��
( �� R�

������
 �� 5���6 G ∈ Hp
σ (C+)7 1 ≤ p < +∞7 σ > 07 G (z) �= 0 89� �:;�:<: z ∈ C+�

=:8
 ���
 ��:�� ���
��9����
>
�? (∀ c ∈ R) : G (z) exp

{
2σ
π z log z − cz

} �∈ Hp (C+)@

�? lim
r→+∞

( ∫
1<t≤r

(
1
t2 − 1

r2

)
log |G (it)| dt− ∫

1<t≤r

(
1
t2 − 1

r2

) |dh (t)| − 2σ log r

)
= −∞@

	? lim
r→+∞

( ∫
1<t≤r

(
1
t2 − 1

r2

)
log |G (it)| dt− ∫

1<t≤r

(
1
t2 − 1

r2

) |dh (t)| − 2σ log r

)
= −∞@


? lim
x→+∞

(
log|G(x)|

x + 2σ
π log x

)
= +∞ �A:

+∞∫
−∞

|dh(t)|
1+t2 = +∞@

!? lim
x→+∞

(
log|G(x)|

x + 2σ
π log x

)
= +∞ �A:

+∞∫
−∞

|dh(t)|
1+t2 = +∞�

E4 ��	���� �	���� � *F+ ��� �	���#	��% ��	�� �������(�	��� ���;��&��	. ;���
��
�	. "��#$�.� )�#	;	 ���� �����3���& ��#	����	��4�( ��& �	����3���& $�#��
�
�	��� "��#$�%� �������	���% �����������! �����	��	��� � �	
�1&
#�� ����&��& ����

;	��#� 5���� *�+� *G+� *D+6� -����3��	� �	 �����3���& ��	���� ������3�'�(�& � ��&
�����#� σ = 0 � �	�� ������ �	 #	3�� 
 ��	� �6C�6 	����' �	�	3�4 ��	3����



""
��������� �	
��
�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

)����3���& ��	���� �������' 
 ��� ,� 2� �� F� &#�	 ���!������ �	 �����#�$�&
4) ⇒ 5) ' �������(�	4�

���
 �� B�C: G ∈ Hp
σ (C+)7 1 ≤ p < +∞7 σ > 07 G (z) �= 0 89� ��
� z ∈ C+7 �:

�����8;�D���� E:A��;����

G (z) = exp

⎧⎨⎩ia0 + a1z +
1

π

+∞∫
−∞

Q (t, z) log |G (it)| dt+ 1

π

+∞∫
−∞

Q (t, z)dh (t)

⎫⎬⎭ ,

8�

Q (t, z) =
(tz + i)

2

(1 + t2)2 (t+ iz)
,

���F:��

lim
r→+∞

⎛⎝ ∫
1<t≤r

(
1

t2
− 1

r2

)
log |G (it)| dt−

∫
1<t≤r

(
1

t2
− 1

r2

)
|dh (t)|

⎞⎠ > −∞.

E& ���� �������' 
 *D� �� F9+� &#�	 ���!������ �	 "��#$�& G �� ��' ����� � C+�

���
 �� B�C: G ∈ Hp
σ (C+)7 1 ≤ p < +∞7 σ > 07 G (z) �= 07 z ∈ C+7 
 ��:�� 	?

���:��D����7 �: ���:��D���� ���:; ��:�� 
?�

G:��8����� -����3��	 ��	
��#�� �	 �	3���� ��� �����#�

(∃c > 0) :

∫
1<t≤r

(
1

t2
− 1

r2

)
|dh (t)| � c, (4)

� 	 5�������	# �	�	�	��	���6

lim
r→+∞

⎛⎜⎝ ∫
1<|t|≤r

(
1

t2
− 1

r2

)
|dh (t)|

⎞⎟⎠ = +∞. (5)

H	
;�&���	 ��	
��#� �����	#� #	�� ��#	��'�(�& ��	�� 596� )	��∫
1<|t|≤r

(
1

t2
− 1

r2

)
log |G (it)| dt− 2σ log r =

=

∫
1<|t|≤r

(
1

t2
− 1

r2

)(
1

p
log
∣∣∣G (it) e−σ|t|

∣∣∣p + σ |t|
)
dt−

−2σ log r ≤ 1

p

∫
1<|t|≤r

(
1

t2
− 1

r2

)
log+
∣∣∣G (it) e−σ|t|

∣∣∣p dt+ ∫
1<|t|≤r

σ

|t|dt− 2σ log r ≤

≤ 1

p

∫
1<|t|≤r

1

t2

∣∣∣G (it) e−σ|t|
∣∣∣p dt < 1

p

+∞∫
−∞

∣∣∣G (it) e−σ|t|
∣∣∣p dt < c < ∞,
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���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� "$

�� ����� c ��� r �� 
���3��(� >#�	 ����������� �	

lim
r→+∞

⎛⎜⎝ ∫
1<|t|≤r

(
1

t2
− 1

r2

)
log |G (it)| dt− 2σ log r

⎞⎟⎠ > −∞,

�	 �� ��&#�% �	����	��	��� (rk) �	�����! 
����� ��#�% �	 rk → +∞ ��� k → ∞�
	�����'�	

lim
k→∞

⎛⎜⎝ ∫
1<|t|≤rk

(
1

t2
− 1

r2k

)
log |G (it)| dt− 2σ log rk

⎞⎟⎠ > −∞.

=��!����8� ���������( 596� 	���3��	

lim
k→∞

⎛⎜⎝ ∫
1<|t|≤rk

(
1

t2
− 1

r2k

)
log |G (it)| dt−

∫
1<t≤rk

(
1

t2
− 1

r2k

)
|dh (t)| − 2σ log rk

⎞⎟⎠ > −∞,

�	 ������
��( ��	�� 26� )	�� ���������& ��������(��� �	 �	

lim
r→+∞

⎛⎜⎝ ∫
1<|t|≤r

(
1

t2
− 1

r2

)
log |G (it)| dt− 2σ log r

⎞⎟⎠ = −∞. (6)

-� ���	4 � ������3�'�(�& 
	 ��3���& G (z) = G1 (z)G2 (z)� ��

G1 (z) = eia0+a1z exp

⎧⎨⎩ 1

π

+∞∫
−∞

Q (t, z) log |G (it)| dt
⎫⎬⎭ ,

G2 (z) = exp

⎧⎨⎩ 1

π

+∞∫
−∞

Q (t, z)dh (t)

⎫⎬⎭ .

= ���� 2 
 *F+ �	�����	� �	 �	��

lim
x→+∞

(
log |G1 (x)|

x
+

2σ

π
log x

)
= +∞. (7)

��& �	������& �	��� �	;	 
���8��	�( �	������ �	

lim
x→+∞

log |G2 (x)|
x

> −∞. (8)

0�������

log |G2 (x)|
x

=

log

∣∣∣∣∣exp
{

1
π

+∞∫
−∞

Q (t, z)dh (t)

}∣∣∣∣∣
x

.

?�� 	�#��(#�

��

{
1

π
Q (t, x)

}
= ��

{
(tx+ i)2

πi (t2 + 1)2 (t+ ix)

}
= ��

{
t2x2 + 2txi− 1

π (t2 + 1)2 (ti− x)

}
=



"%
��������� �	
��
�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

= ��

{
t2x2 + 2txi− 1

π (t2 + 1)
2
(−x+ it)

· −x− it

−x− it

}
= ��

{
−t2x3 + x+ 2t2x

π (t2 + 1)
2
(x2 + t2)

+

+i
t− t3x2 − 2x2t

π (t2 + 1)
2
(x2 + t2)

}
=

−t2x3 + x+ 2t2x

π (t2 + 1)
2
(x2 + t2)

,

�	

log |G2 (x)|
x

=

log

∣∣∣∣∣exp
{

+∞∫
−∞

−t2x3+x+2t2x
(t2+1)2(x2+t2)

dh (t)

}∣∣∣∣∣
x

=
1

π

+∞∫
−∞

−t2x2 + 1 + 2t2

π (t2 + 1)2 (x2 + t2)
dh (t) =

=
1

π

+∞∫
−∞

−t2x2

(t2 + 1)2 (x2 + t2)
dh (t) +

1

π

+∞∫
−∞

1 + 2t2

(t2 + 1)2 (x2 + t2)
dh (t) ≥

≥ 1

π

+∞∫
−∞

1 + 2t2

π (t2 + 1)
2
(x2 + t2)

dh (t) .

># ���	�	 � ��	��. ����;���� 0���(�('��� &#�	 s ' �������	4� f ' �����1'��	4 ��
��������� [a, b]� �	

b∫
a

f (t) ds (t) ≥ 0.

)	��

1

π

+∞∫
−∞

−t2x2

(t2 + 1)
2
(x2 + t2)

dh (t) ≥ 0.

=��3������	� �	 x ≥ 1� )	��

log |G2 (x)|
x

=
1

π

+∞∫
−∞

1 + 2t2

(t2 + 1)
2
(x2 + t2)

dh (t) .

?�� 1+2t2

(1+t2)2
≤ 2+2t2

(1+t2)2
= 2

1+t2 � �	��

1

π

+∞∫
−∞

1 + 2t2

(1 + t2)
2
(x2 + t2)

dh (t) ≥ 1

π

+∞∫
−∞

dh (t)

(1 + t2)
2 ≥ 2

π

+∞∫
−∞

dh (t)

1 + |t|3 ,

 	
(
1 + t2
)2 ≥ 1 + |t|3� <� =����$(#�% � I� J���� �	���� � *�K� �� 99+� �	

+∞∫
−∞

|dh (t)|
1 + |t|3 < +∞.
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� "&

)	�� log|G2(x)|
x ≥ −∞ ��� x ≥ 1� B�3�� ���������( 5G6 ��#	��'�(�&� �	���8� 5�6 �

5G6� 	���3��	

lim
x→∞

(
log |G1 (x)G2 (x)|

x
+

2σ

π
log x

)
= +∞,

�	 �	 ��#	����& ��	�� 96�
L�!�% ����� ��#	��'�(�& ��	�� 5�6� )	��� ���!����8�� �	 h(t) ∈ L1[−1; 1]� 	����

��'�	
+∞∫

−∞

|dh(t)|
1 + t2

=

1∫
−1

|dh(t)|
1 + t2

+ lim
r→+∞

∫
1<|t|�r

|dh(t)|
1 + t2

=

= c+ lim
r→+∞

∫
1<|t|�r

|dh(t)|
1 + t2

� c+ lim
r→+∞

∫
1<|t|�r

(
1

t2
− 1

r2

)
|dh(t)| =

= c+ lim
r→+∞

∫
1<|t|�r

(
1

t2
− 1

r2

)
|dh(t)| = +∞.

B�3�� � � $(	�� �����#� ��#	��'�(�& ��	�� 96� �

���
 �� B�C: G ∈ Hp
σ(C+)7 1 ≤ p < +∞7 σ > 07 
 ���:��D���� ��:�� !? ��:����7

�: ���:��D���� ��:�� �?�

G:��8����� >#�	 ��#	��'�(�& ���8� 
 ��	� 96� �	 �����3���& $�'. ���� �������'

 ���� 9 � *F+� >#�	 3

+∞∫
−∞

|dh(t)|
1 + t2

= +∞,

�	 ���������8� ��	����3��� �	 �	

(∃c ∈ R) : G (z) exp

{
2σ

π
z log z − cz

}
∈ Hp (C+) ,

	�����'�	� �	 ���;��&��� ;����
�� "��#$�& h1 "��#$�. G (z) exp
{

2σ
π z log z − cz

}

��	�	�(�&' ��	�� 5���� *,+6

+∞∫
−∞

|dh1(t)|
1 + t2

< +∞.

��	�� h1 ≡ h� �	 ���
�	���( �	 ������
�	���� �

���
 �� B�C: f ∈ Hp(C+)7 p ∈ [1,+∞) �: �����8;�D���� E:A��;����

f(z) = eiα+βz exp

⎧⎨⎩ 1

π

+∞∫
−∞

i

t+ iz
ln |f(it)|dt

⎫⎬⎭×

× exp

⎧⎨⎩ 1

π

+∞∫
−∞

i

t+ iz
dh(t)

⎫⎬⎭ ∏|λn|�1

z − λn

z + λn

∏
|λn|>1

1− z/λn

1 + z/λn

, (9)



"'
��������� �	
��
�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

8�

α ∈ R, β � 0, (10)

���F:�� 89� ���:��� <����F��� E��F��� f �� iR7 HH ���<�9���:H <����F�:H I���J
H
h K��� D �����8�:L 
 h′(t) = 0 ��6;� ���
E� �� R? �� �:�9
8:��:��
 ��9
� (λn)
���:��L����7 �
8�:�
8�:7 ��:��

f ∈ Lp(iR),

+∞∫
−∞

|log |f (it) ||
1 + t2

dt < +∞,

+∞∫
−∞

|dh (t)|
1 + t2

dt < +∞,

+∞∑
k=0

M+λn

1 + |λn|2 < +∞. (11)

5������7 ��C: 89� I���J
H f : iR → C7 �����8�:H I���J
H h : R → R7 �:�
8�� ��:H
8:�
��LD ��9��
 ��6;� ���
E�7 �:�9
8:��:��
 (λn)7 λn ∈ C+7 ���:��L���� ��:��
K��? K��?7 �: I���J
� f 7 ��E��F��� �
��
��L KN?7 ��9�;��� ��:��:�� Hp(C+)�

E� �����3���& �	������ � *�� M� G��G,+� *��� M� ,�+� ���� ��#	3 *,� M� �GD��DK+�

���
 �� B�C: G ∈ Hp
σ (C+)7 1 ≤ p < +∞7 σ > 07 G (z) �= 07 z ∈ C+7 
 ���:��D����

��:�� �?7 �: ���:��D���� ��:�� �?�

G:��8����� ���������	 ��	����3��� �	 �	

lim
r→+∞

⎛⎝ ∫
1<t≤r

(
1

t2
− 1

r2

)
log |G (it)| dt−

∫
1<t≤r

(
1

t2
− 1

r2

)
|dh (t)| − 2σ log r

⎞⎠ > −∞.

(12)
B�#��(#�� &# 
1&������ ��� �	������� ���� ,�∫

1<|t|≤r

(
1

t2
− 1

r2

)
log |G (it)| dt− 2σ log r < c < ∞, (13)

�	 ��	�� 5�,6 �#���������� 	��	
���	�� ��#	����4 ��	�

lim
r→+∞

⎛⎝ ∫
1<t≤r

(
1

t2
− 1

r2

)
log |G (it)| dt− 2σ log r

⎞⎠ > −∞

��

lim
r→+∞

⎛⎝ ∫
1<t≤r

(
1

t2
− 1

r2

)
|dh (t)|

⎞⎠ < +∞. (14)

=��!����8� ��#	3 5�26� 	�����'�	∫
1<t≤r

(
1

t2
− 1

r2

)
log |G (it)| e−σ|t|dt = O (1) , r → +∞,


 
	;	 5���� ���� � � *F+6 �������'

+∞∫
−∞

∣∣log ∣∣G1 (it) e
−σ|t|∣∣∣∣

1 + t2
dt < +∞,
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� "(

�� G1 ��#� 3� &# � � �	������� ���� ,� ?���	;�
�	� ���!����8�� �	 "��#$�& |h| '
�������	4� 
 ��	�� 5�96 	�����'�	

+∞∫
−∞

|dh (t)|
1 + t2

dt < +∞.

�	
��
��	 ϕ(it) := G (it) e
2σ
π it log(it)� B�#��(#� ��#	��4�(�& ��	�� 5��6� �	 
� ���	4

9 	���3�'�	 f ∈ Hp(C+)� ��

f(z) = eiα+βz exp

⎧⎨⎩ 1

π

+∞∫
−∞

i

t+ iz
ln |ϕ(it)|dt

⎫⎬⎭ exp

⎧⎨⎩ 1

π

+∞∫
−∞

i

t+ iz
dh(t)

⎫⎬⎭ ,

β � 0� h C ���;��&��� ;����
�� "��#$�& "��#$�. G� =��!����8�� �	 G �� ��' �����
� C+� ���;��&��� ;����
�� "��#$�& "��#$�. f 
 �;�'�(�& 
 ���;��&��	4 ;����
�	4
"��#$�'4 "��#$�. G� � ��#	3 ����	���

Q (t, z) =
i

t+ iz
− it
(
2 + t2
)

(1 + t2)
2 − zt2

(1 + t2)
2 ,

� G (it) e
2σ
π it log(it) = G (it) e−σ|t| ��� t ∈ R� 
� ���	4 � 	���3��	 
	 ��3���& 5���

��;���� 
 �;�4�(�& �����%��� � �	
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�
��� ��������� ���
���( )�  ��+��M ( ���
 ���,�����$  ��%�&

��

(
a 0
b c

)
( �
 aR+bR+cR = R $ ,%� �2 �+ �2 �����*��� ,�� ��+���� ��+��-� �(

)�  ��+��  �-�� %��������� �� R/acR& ��+��� 	
��
 P = rad(ac)� :������� �����

R $ �%�'��� %
�+��%�� ( �� �����
 R̄ = R/P $ ��,���,������ � >��� M̄ = M/PM $

 ��+�
 ( ���
 ���,�����$  ��%��� Ā =

(
ā 0̄
b̄ c̄

)
� :������� R̄ � ��,���,�����
 �����


� āc̄ = 0̄( �� ���+$ ����
 ��
 ,��
�� ē ∈ R̄( )� ā = ēā � c̄ = (1̄ − ē)c̄� D
��� ,�'�&
*���( )� M̄ ē ���,�����$  ��%��� ēĀ �� ēR̄& ��+�� � M̄(1̄ − ē)  ��%��� (1̄ − ē)Ā ��
(1̄ − ē)R̄& ��+��� ������ eR � (1 − e)R �� �� � �%0�� �'%��� R $ ������ � A% ����
>� + ���+2�� ���� �'�%����  ��%��� P̄1 ∈ M2(ēR̄) � Q̄1 ∈ M2((1̄− ē)R̄)( )�

P̄1ēĀ =

(
s̄ 0̄
0̄ 0̄

)
, (1̄− ē)ĀQ̄1 =

(
0̄ 0̄
0̄ t̄

)
.

<%�
 
 � P̄ = (1̄ − ē)Ē + P̄1 � Q̄ = ēĒ + Q̄1( �
 Ē � �'�%����  ��%��� �%+����
,�%���+ ��� R̄� >��� P̄ , Q̄ � ���� �'�%���� ��� R̄( )�

P̄ ĀQ̄ =

(
s̄ 0̄
0̄ t̄

)
.

:*
�����( )�  �-
 � ,%�,+�����( )� s̄ $ �������� t̄� >���- �*
�����( )�
āR̄ + b̄R̄ + c̄R̄ = s̄R̄ � s̄ $ �'�%���� 
�
 
��� � R̄� ������ ��,����$( )� M̄ ���&
��*��
 R̄& ��+��� ������ � �
 �2 	���� �  ��+�� M $ �����*��  ��+�
 ���
�����
 R/acR� ������ M $ �����*�� ��� R � M ∼= R/tR "��#� :�-
( R $ �����
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T @#�,2#+ö� 9� R2./=/76 =
7<5 >70 PN�
7@/16
A/ 320?:/5 B 9� @#�,2#+ö� BB C D27027 E>6. 
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�� ������ 	
��
�����
 �������� � ��
� ��
���� ������ S ��
����� �� �� ����!��"
�
� ��
 �
��� �
�������� #�$�% S �&����� �� � ��
'��
( )�
�$ !���
 S = {1, 2, ..., N}�
�
'�
�� ����� i ∈ S ����
����� ����!���� ��
'��� Ki ��*�� +�&
 �
 ��������,�
�
������ ��
� �
���!��
 k = 1, 2, ...,Ki� -�
��
�
� �

���� K ������
 �����% �
&�"
�
� ��
'�� ��*�� � �
&�
 K = K1×K2× ...×KN � 	
��
����� �� ����!� ���%�����
�
�
��
���$ ��*�� � ��� �

���� � ��&
�� ��*�� ��� ��
�����'���� �� �
�
!����
������� � �
����� n = 0, 1, 2, ..�

.�/
 ������� ����&���� � ����� i ∈ S � ���%��� ��*���� k ∈ Ki� �
 �������

������ �
$�� rki � � � ���� � ��������% �
���� !��� �����!��� �� %�
��������� ���
"
�
� pkij (j ∈ S)� �� pkij 0 %�
������� �
�
� /
 ������� �� ����� i ��� ��&
�� ��*����
k �
������ � ���� j� -���������
� /
 �
$�� rki 
&��'���% ��� ���$ i ∈ S � k ∈ Ki�
���� �
�
� ∑

j∈S

pkij = 1, pkij � 0 ��� i, j ∈ S, k ∈ Ki. +�,

	
��
����
 ��
)�� � ����
)���
(� #�$�% β, 0 � β < 1� 0 �
�1�)���� ����
)�����
2
�
 ���� �

���� � �
��� /
 
����)� �
$
�� !���� !�� n +������
��� n ����, ���"
�
������ βn 
����) � 3������� �
�1�)����� ����
)���� � ��������!�
�
 �
�
���
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&��'���� ������
�
 ������ 
�
 ���&�����

�© ������ �	
 ����
�� �	
 ����



%&
������� �	
��
� 
�������� 	
�
���

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

4����
 �
!���
��% �
��
��


a = (a1, a2, ..., aN ), +�,

�� ∑
i∈S

ai = 1, ai � 0 ��� i ∈ S. +5,

6
�� ������� 
������ �� ��
��
������ 
��)(�
� 7���
�� � ���&������ 8�9� 8�9�
�� 	
��
����� ��
���� ��������� ������ � ����
����
� � ���
��
�

�
�� �����
�����

���� 6��������7 8��� 4
���*�� !������ &����
 
�������� !���� �
�� �
��%
A1, A2, . . . , Am� ��� ������(� �� �������� ���!
�� A1, A2, . . . , Am 0 ���
�((� �
�"
�� ����� �
����
 ���������$ �
��%�

-
���!��


P(Ai) = pi, pi � 0,

m∑
i=1

pi = 1. +:,

6�� pi 0 %�
������� �
����
���� � ����
����� �����
��/� Ai�
� �
'�
�� 1���
���
�� ����� �����
��/� �����
 ���������� ��&�� ��������% �

�

����� �
�1�)���� ����
)���� �� ����
�"��
���) �������$ �������$ ���&����� 8�9

Vβ(π) =

∞∑
n=0

βnPn(π)r(fn+1). +�,

-
���&�
 �
��$����� �������% �������% ���&��
�� ����� � ���� �������
-
��$���
 �������% ���&��
�

p1V
A1

β (πA1) + p2V
A2

β (πA2) + · · ·+ pmV Am

β (πAm) =

= p1

∞∑
n=0

βn
A1

PA1
n (πA1)r(fA1

n+1) + p2

∞∑
n=0

βn
A2

PA2
n (πA2)r(fA2

n+1) + · · ·+

+pm

∞∑
n=0

βn
Am

PAm
n (πAm)r(fAm

n+1) =

m∑
i=1

pi

∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1).

+;,

	���� �����!���
 �� ������ 
��������!�� ���$�
����

p1

(
V A1

β (πA1)
)2

+ p2

(
V A2

β (πA2)
)2

+ · · ·+ pm

(
V Am

β (πAm)
)2

−

−
(
p1V

A1

β (πA1) + p2V
A2

β (πA2) + · · ·+ pmV Am

β (πAm)
)2

=

=

m∑
i=1

pi

( ∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1)
)2

−
(

m∑
i=1

pi

∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1)

)2

.

+<,

6
�� ��
�!��� ������ ��&��� ���
�
 ���
���=√√√√ m∑
i=1

pi

( ∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1)
)2

−
(

m∑
i=1

pi

∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1)

)2

. +>,
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( ������ ���'���
√
m∑
i=1

pi

( ∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1)
)2

−
(

m∑
i=1

pi
∞∑

n=0
βn
Ai
PAi
n (πAi)r(fAi

n+1)

)2

m∑
i=1

pi
∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1)
. +�,

���� 9���������7 8��� #�$�% ����� ����� �
���*� 
�
 �����
��/� A1, A2, ..., Am

����((� �� � !��
� �� ���
�((� ����
�� ��% ��
)�� x(t) �� ����!���
( ��
'��
(
������ A1, A2, ..., Am�

#�$�%� p1(t), p2(t), ..., pm(t)"%�
����
��� ����&������ �����
��/� � ����
�����$
�����$

p1(t) = P{x(t) = A1}, ..., pm(t) = P{x(t) = Am},
pi(t) = P{x(t) = Ai}. +�?,

� �
'�
�� 1���
���
�� ����� �����
 ���������� ��&�� ��������% � �

�����
�
�1�)���� ����
)���� �� ����
�"��
���) �������$ �������$ ���&����� 8�9

V Ai

β (πAi) =

∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1), �� i = 1, ...,m. +��,

6��&� �
��$����� �������% �������% ���&��
�� ����� � ���� �������
-
��$���
 �������% ���&��
�

p1(t)V
A1

β (πA1) + p2(t)V
A2

β (πA2) + · · ·+ pm(t)V Am

β (πAm) =

= p1(t)
∞∑

n=0

βn
A1

PA1
n (πA1)r(fA1

n+1) + p2(t)
∞∑

n=0

βn
A2

PA2
n (πA2)r(fA2

n+1) + · · ·+

+pm(t)

∞∑
n=0

βn
Am

PAm
n (πAm)r(fAm

n+1) =

m∑
i=1

pi(t)

∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1).

+��,

	���� ��$���
 �� ������ 
��������!�� ���$�
����

p1(t)
(
V A1

β (πA1)
)2

+ p2(t)
(
V A2

β (πA2)
)2

+ · · ·+ pm(t)
(
V Am

β (πAm)
)2

−

−
(
p1(t)V

A1

β (πA1) + p2(t)V
A2

β (πA2) + · · ·+ pm(t)V Am

β (πAm)
)2

=

=

m∑
i=1

pi(t)
( ∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1)
)2

−
(

m∑
i=1

pi(t)

∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1)

)2

.

+�5,

6
�� ��
�!��� ������ ��&��� ���
�
 ���
���=√√√√ m∑
i=1

pi(t)
( ∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1)
)2

−
(

m∑
i=1

pi(t)

∞∑
n=0

βn
Ai
PAi
n (πAi)r(fAi

n+1)

)2

. +�:,
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P{τ > t | x(0) = i} = Fi(t). +�;,
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∂t2
− a2

∂2

∂x2

]
U(t, x) = 0, a ∈ R\{0},

U(0, x) = ϕ1(x), U(h, x) = ϕ2(x).
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 .)/ &� ��"������� $ ���
-
����!� 

Uk(t, x) = sin
πkt

h
sin

πkx

ah
, k ∈ N. .4/

�© ������ �	
 ��
����� �	
 ����



''
��������� �	
���� 
������ ��������

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

� "���
 (�+ ����� ����� �
�
#��  �
 �
 ���
���� �������
 �����
 .��� ����
 �����

� ����
������
 ��"�
/� !�
 #��������� 1�%�! ����3!���
� � "����1 "����
���1 ��
����
��������
� 5��
 �����
 
�1�% ��6� ����
��%��� ����3!����

,������ ���� "������ 
�� ����! ������
��%��# ����3!��
� .4/ �����
 .)/ ��
�'
���% "�� ��� �� �
 ���
���� !��� �����
 

��!�%�!  ����
 ����
"��
��

�� 7����
��
��2� $ ���
1 � $��
 �� .4/ ��! k ∈ N 
�2�� ��������� ����
"��
��
�


Uk(t, x) =
1

4
e

iπ
ah (at−x) +

1

4
e−

iπ
ah (at−x) − 1

4
e

iπ
ah (at+x) − 1

4
e−

iπ
ah (at+x), i2 = −1.

8�2�� ��2����
 & "�����! ����
�2���! ����3!��
� �����
���- �����
 �
�
#��
 �����
� �
 �
 ��! ��$�����
��%���� �
��!��! � ��������
� "�#
���
� �� ����
"��!�� �� ����
 
 ������
 ����
�������� "��!�� �� "���������1 �

���1 �
 ���'
��
� ���$
�
&���
�� !�� !� ��������� ��"���� 

����% �
��!��! �������% ��� ���
������'9������':���� �������$�� �
��!��!� �
��!��! ;�"����� ����
- "� 2����
 ��

�� � ��"��� 
�� ����! ������
��%��# ����3!��
� �����
���- �����
 ��! -#�%�- "�� '
���� ���������&
� ��$�����
��%��'��
���%��� 
���� (�� <+ ����3!� ����! ����� ��!
�
��!�% 
� ��������
� "�#
���
�� �� ��" ���1�% �
�����
����! �

���#� � ����2

��1 ���� �����������! ��! "�� ���� ���
���
� !��� �����
 � �������%��1  
���1�
��"��"������ � (=+� ����
�2���1 �������- �����
  �
 �
 ��! ��$�����
��%���� �
�'
�!��! � ��������
� "�#
���
� �� ��"�
���1 ��$�����
��%��'��
���%���� 
���� 
"����!���� ����2 "���! (>+�

�� 	
���
������ ������� ?��� ��6�- "���
 @ ����
�2���!  �
 �
 Sh 
��'
2��� ����3!��
� U = U(t, x) �����
 �
�
#��

L

(
∂

∂t
,
∂

∂x

)
U ≡ ∂2U

∂t2
+ 2a

(
∂

∂x

)
∂U

∂t
+ b

(
∂

∂x

)
U = 0, .=/

U(0, x) = U(h, x) = 0, .�/

�� a
(

∂
∂x

)
, b
(

∂
∂x

)
@ ��$�����
��%�
 ������ �
 �����
� ���$
�
&���
�� ��
����
�

!��# & ���
�%�
 �
�
 $ ���
- a = a(ν), b = b(ν)�

6����7���� �� �
1 ��$�����
��%���� ����� b
(

∂
∂x

)
� �
��
 ��
����


b (ν) =

∞∑
j=0

bjν
j , bj ∈ C,

�� ����
������ ��$�����
���� �� R $ ���
1 U ��� 

&
� ���A b
(

∂
∂x

)
U ≡

∞∑
j=0

bj
∂jU
∂xj �

B���3!���
 �����
 .=/� .�/ ���2�&
� �
� $ ���
1

U =
∑

k0+k1≥0

uk0k1t
k0xk1 , k0, k1 ∈ N ∪ {0}, uk0k1 ∈ C,

�

���# t 
 x� !�� �������%�!& �
��!��! .=/ ��  
��� �
�
#�� .�/�

8�������� �� ������ .=/� .�/ 
�& ����
��%��� ����3!���� 7�����
�  
��� 
�� '
����! ��6� ����
��%���� ����3!�� �����
 .=/� .�/� � ����2 �������
� ���
���� !���
�����
 .=/� .�/ 
� �� ��2����� "�� � &
� �
 ���
���� �� "
�����
 ��$�����
��%��'
��
���%���� 
���� � !���
 ����!�
  ��"��� ������
��%���� !����
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� '(

�� ���
��� ����
������

	��� 89:�;�:�
��� :�<�=
 >
�
�?�� B����!��
� �������� ��$�����
��%�� �
��!�'
�!

L

(
d

dt
, ν

)
T (t, ν) ≡

(
d2

dt2
+ 2a(ν)

d

dt
+ b(ν)

)
T (t, ν) = 0, .</

!�� "�� ������ �� "
�����
 �
��!��! .=/�
0�#�� pa �� pb @ ���"��
 "��
��

� a = a(ν) �� b = b(ν)� !��� 2 a �� & "��
��
�
�

�� pa = ∞� ������
��� ��! $ ���
- b�
C��
���� ���
��%��- � ����
 t = 0 $ ���
�����%��- �����
� ����3!��
� �
��!�'

�! .</ ��� ��1�% ����!� 

T0(t, ν) = e−a(ν)t

⎧⎨
⎩a(ν)

sh
[
t
√
D(ν)

]
√
D(ν)

+ ch
[
t
√
D(ν)

]⎫⎬
⎭ ,

T1(t, ν) = e−a(ν)t
sh
[
t
√
D(ν)

]
√
D(ν)

,

�� D(ν) = a2(ν) − b(ν)� "����
 4D(ν) @ ������

���� "��
��
�

L(λ, ν) = λ2 + 2a(ν)λ+ b(ν).

7����
�� !��� ν0 @ � �% $ ���
- D(ν)� ��

T0(t, ν0) = e−a(ν0)t {a(ν0)t+ 1} , T1(t, ν0) = te−a(ν0)t.

8��
�%�� �� "��" ����!
 a(ν), b(ν) @ �
�
 $ ���
-� �� �� �����
�1 , ������ .(���
�� ��+/ $ ���
- T0(t, ν), T1(t, ν) & �
��
� $ ���
!
� �������� "���
���� ν� 0����

��2����
 � �� �� � "��!��� p �
��# �������� ν $ ���
� T0(t, ν), T1(t, ν)� !���
�������1�% .(4� �� >4+/ �� $��
 ��1 p = max {pa, pb/2}� D��� a(ν), b(ν) @ "��
��
��
�� p <∞� 
 p = ∞� !��� a(ν) ��� b(ν) �� & "��
��
�
�

	
�"��
��� �� ��$�����
��%��'��
���%���� 
���� .(�� �� �*<+/ ��"�6�
� �

31
$��
��%��# ����3!��
� �
��!��! .=/� ����� �

31 $��
��%��# �!�
�� !�
 �������%'
�!1�% .=/

U(t, x) = ϕ

(
∂

∂ν

)
{T0(t, ν)eνx}

∣∣∣∣
ν=0

+ ψ

(
∂

∂ν

)
{T1(t, ν)eνx}

∣∣∣∣
ν=0

, .�/

�� ϕ
(

∂
∂ν

)
, ψ
(

∂
∂ν

)
@ ��$�����
��%�
 ������ � �
��
� ��
����
�� !�
 "
�����&
� ����

��� �
��
��% .�/ ��������� ����3!��� �����
 .=/� .�/�
E"����� �������%�!&
� "��6  
�� .�/� 8��
�%�� T0(0, ν) = 1, T1(0, ν) = 0�

��

U(0, x) = ϕ

(
∂

∂ν

)
{eνx}

∣∣∣∣
ν=0

= ϕ(x) = 0.

8�2�� $��
��%�
 ����3!��� �
��!��! .=/� �� �"����2 1�%  
�� U(0, x) = 0�
�� $��
 ��1 .�/� ��� ��1�% ����!� 

U(t, x) = ψ

(
∂

∂ν

) ⎧⎨
⎩e−a(ν)t+νx

sh
[
t
√
D(ν)

]
√
D(ν)

⎫⎬
⎭
∣∣∣∣∣∣
ν=0

. .>/



')
��������� �	
���� 
������ ��������

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

7������%�!1�� �� �  
�� U(h, x) = 0� ����2 &
� ��! ����� $ ���
- ψ
����2�
��%

ψ

(
∂

∂ν

) ⎧⎨
⎩e−a(ν)h+νx

sh
[
h
√
D(ν)

]
√
D(ν)

⎫⎬
⎭
∣∣∣∣∣∣
ν=0

≡ 0. .�/

B����!��
� ��� 
�2���
 ��"�����
������ �����
� D(ν) ≡ D = const� 5��
 b(ν) = a2(ν)−D� �
��!��! .=/ ��� ��&

����!� [
∂

∂t
+ a

(
∂

∂x

)]2
U = DU,

� ����2�
��% .�/ & ����1A

sh
[
h
√
D
]

√
D

ψ

(
∂

∂ν

){
e−a(ν)h+νx

}∣∣∣∣
ν=0

≡ 0. .�*/

D��� ����� &�%�! ���
��
��% h
√
D �= πki ��! ��
# k ∈ Z\{0}� ����� sh[h

√
D]√

D
�= 0�

�� ����2 &
� ψ
(

∂
∂ν

) {
e−a(ν)h+νx

}∣∣
ν=0

≡ 0� : ���
!

V (t, x) = ψ

(
∂

∂ν

){
e−a(ν)t+νx

}∣∣∣∣
ν=0

& ����3!���
 �����
 ��6
 ��! �����
����� �
��!��! ∂V
∂t + a

(
∂
∂x

)
V = 0 � �����
�'

��1 "��������1  
���1 V (h, x) = 0� ��
 ����!�� &������
 ����3!�� �����
 ��6

����2 &
�� �� V (t, x) ≡ 0 � ������
 Sh� 7����
�� "�� t = 0 ����
�&
�

V (0, x) = ψ

(
∂

∂ν

)
{eνx}

∣∣∣∣
ν=0

= ψ(x) = 0.

8�2��  �%�
 ���
 �� $��
 ��1 .>/ ����2 &
� ��6� ����
��%��� ����3!��� �����

.=/� .�/�

D��� 2 ��! !�����% k ∈ N ����� &�%�! �
��
��%

h
√
D = ± πki, .��/

�� sh
[
h
√
D
]
= 0� ����2�
��% .�*/ �"����2 &�%�!� $��
��%�
 ����3!��� �����
 .=/�

.�/ ��� ��1�% ����!� .>/� � ��
�

Uk(t, x) =
sin (πkt/h)

πk/h
ψ

(
∂

∂ν

){
e−a(ν)t+νx

}∣∣∣∣
ν=0

, k ∈ N. .�)/

B���3!��� .�)/ � � �% $�������
� ����3!���
� �����
 .=/� .�/� !��� ���� &
�
��
� $ ���
!
� �

���# t �� x� F� �"����2 &�%�! ��! ���
�%��- �
��- $ ���
-
ψ(x)� "��!��� q !��- 
�& ���
 ��
�2���! .(�+� �� 4�</A

�/ q = 1� !��� a(ν) �� & "��
��
�
 (pa = ∞) G
)/ 1 < q < pa

pa−1 ≤ 2� !��� 2 ≤ pa <∞G
4/ q ≥ 0� !��� pa ≤ 1� ����� a(ν) @ �
�
��� $ ���
!�
��! �
�
���- $ ���
- a(ν) = Aν +B� �� A, B ∈ C� ����
 &
�

ψ

(
∂

∂ν

){
e−a(ν)t+νx

}∣∣∣∣
ν=0

= e−Btψ

(
∂

∂ν

){
eν(x−At)

}∣∣∣∣
ν=0

= e−Btψ (x−At)
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 � $��
 �� .�)/ ����2 &
�

Uk(t, x) =
sin (πkt/h)

πk/h
e−Btψ (x−At) , k ∈ N. .�4/

� $��
 �
 .�4/ ��
�& �"����
- ��$�����
1����!� ��
 �� $ ���
1 ψ �������%�
��!�� ���
�%� ��
�
 ��"������� ��$�����
���� �� R $ ���
1� D��� ψ = ψ(x) @
����
"��
��
� �� Uk(t, x)� k ∈ N� ����2 ����
"��
��
� �� �

���
� t �� x�

8�2��  ��"��� ������� ������

����� ������ .=/� .�/ 
�& ����
��%��� ����3!'
���� !��� D �= − (kπ/h)

2
, k ∈ N� ��� 
�& ����
��������

��� !���� �� �����'

��&�%�! �����
 �
��# $ ���
� ��!���� "��!�� ��! ���������- �
�%����
 ������%
D = − (kπ/h)

2
, k ∈ N�

����
�� �� B���3!���� � ������
 Sπ �����
 �
�
#��[
∂2

∂t2
± 2

∂2

∂t∂x
+

(
∂2

∂x2
+ 1

)]
U(t, x) = 0, t ∈ (0, π), x ∈ R,

U(0, x) = U(π, x) = 0, x ∈ R.

.�=/

� ���
 �����
 & ������
� .=/� .�/� � !��# a(ν) = ± ν, b(ν) = ν2 + 1, h = π�
D(ν) = D = −1� �
��� .��/ ����� &�%�! ��! k = ± 1� B���3!��� �����
 .�=/ ��
$��
 ��1 .�4/ ��� ��1�% ����!� 

U(t, x) = ψ(x ∓ t) sin t,

�� ψ @ ���
�%�� ��
�
 ��"������� ��$�����
����� $ ���
!� D��� ����� .�=/ & ����
�'
�������

���
�� �

����
�� �� B���3!���� � ������
 S1 ����� �
�
#�� ��! �
����������� �
��!��![
∂

∂t
− a2

∂2

∂x2

]2
U(t, x) = 0, t ∈ (0, 1), x ∈ R, a ∈ R\{0},

U(0, x) = U(1, x) = 0, x ∈ R.

� 8���
��� a(ν) = −a2ν2, b(ν) = a4ν4, h = 1, D(ν) ≡ D = 0� 8�2�� ������

�& ��6� � �%���� ����3!���� ����� !��� �����
 ����
��%��� �

������ �����
� D(ν) �= const� B����!��
� 
��2�� 

M =

⎧⎨
⎩ν ∈ C :

sh
[
h
√
D(ν)

]
√
D(ν)

= 0

⎫⎬
⎭ , .��/

!�� & ��3&�����!
 �� ��� ���%��
 "���
����
 k 
��2�� � �
� �
��# $ ���
�
Dk(ν) ≡ h2D(ν) + k2π2�

?��2���M !� 
��2��� � �
� �
��- $ ���
-
sh

[
h
√

D(ν)
]

√
D(ν)

 �%�
 ��"��� ����'

��&�%�! � ����
������- �
�%����
 �
�

���# 

2 ����1 � �
� γ1, γ2, . . . �
�"��
���
��
������# ���������� pγ1 , pγ2 , . . .� "����
 | γn | → +∞ "�� n → +∞� 8��������
�� γj & � ��
 ��������
 pγj $ ���
- Dk � ��!��
 ��
���
 k = k(γj)� & � ��
 ����'
����
 pγj −1 $ ���
- dD

dν � �� ��"����& � �
������� "�#
���# dsDk

dνs = h2 dsD
dνs ��! s ∈ N�


 �� & � ��
 $ ���
- D�



(+
��������� �	
���� 
������ ��������

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

��
���� �� @���A B���C
� ψ(x), x ∈ RD E ���:
�9?
�9�9� ��F?�<�

ψ(x) =

m∑
j=1

Qj(x)e
αjx, degQj(x) = nj ≤ pαj − 1, .�</

� ��9�� α1, α2, . . . , αm ∈ M D Qj(x) " �9?
�9�� : �9��?������� �9�B
C
E�����
������
� nj ≤ pαj − 1, j = 1,mD m ∈ N� G9<
 B���C
� H�ID �9J�9

U(t, x) =

m∑
j=1

Qj

(
∂

∂ν

) ⎧⎨
⎩e−a(ν)t+νx

sh
[
t
√
D(ν)

]
√
D(ν)

⎫⎬
⎭
∣∣∣∣∣∣
ν=αj

, .��/

E �9:�;�:�9� :�<�=
 H
ID H!I� @������D ��K9 �9:�;�:9� U(t, x) :�<�=
 H
ID H!I E ���:
�

�9?
�9�9�D �9J�9 U(t, x) =
m∑
j=1

N∑
l=1

Plj (t, x) e
βlt+αjxD <� m,N ∈ ND Plj (t, x) " �9�

?
�9�� :�
���� t �� x : �9��?������� �9�B
C
E����� ������� nj :� :�
��9L

xD βl, αj ∈ CD βr �= βl <?� r �= l, r, l = 1, N D αk �= αj <?� k �= j, k, j = 1,mD
�9 αj ∈ M, nj < pαj <?� j = 1,m 
 C�A �9:�;�:9� ��J�� ��F?�<� H��ID � ��9��

Qj(x) =
N∑
l=1

(
βjPlj(0, x) +

∂Plj

∂t (0, x)
)
�

>9��<����� � � � � � � � 
 � � %� 0�#�� ψ(x) @ $ ���
! ����!� .�</� 5��
 $ ���
!
.>/� ��������� & ����3!���
 �
��!��! .=/ 
 ����� &�%�!  
��� U(0, x) = 0� : ���
1
.>/ ��! ����
"��
��
� .�</ 
�2�� ��"�����  ����!�
 .��/ 


U(h, x) =

m∑
j=1

Qj

(
∂

∂ν

) ⎧⎨
⎩e−a(ν)h+νx

sh
[
h
√
D(ν)

]
√
D(ν)

⎫⎬
⎭
∣∣∣∣∣∣
ν=αj

. .�>/

8��
�%�� α1, α2, . . . , αm ∈M � ��
sh

[
h
√

D(αj)
]

√
D(αj)

= 0 


∂k

∂νk

⎡
⎣e−a(ν)h+νx

sh
[
h
√
D(ν)

]
√
D(ν)

⎤
⎦
∣∣∣∣∣∣
ν=αj

= 0

��! k = 1, pαj − 1, j = 1,m� 5�
  �
 ������� � �
�����
 .�>/ ����2�� ���
��11�%
� ���
�

0 � � � # 
 � � 
 � � %� ,��" ���
�� �� ����3!���
 �����
 .=/� .�/ & ����
"��
��


����!� U(t, x) =
m∑
j=1

N∑
l=1

Plj (t, x) e
βlt+αjx� ,������
� ∂U

∂t

∣∣
t=0

= ψ(x)� 5��
 ψ(x) &

����
"��
��
�
 ����!� ψ(x) =
m∑
j=1

Qj(x)e
αjx� �� αj ∈ C� Qj(x) @ "��
��
� ���"��
�

�� ���� nj � j = 1,m� αj �= αk ��! j �= k� 5��
 U(t, x) !� &����� ����3!��� �����

��6


L

(
∂

∂t
,
∂

∂x

)
U(t, x) = 0,

U(0, x) = 0,
∂U

∂t
(0, x) = ψ(x)



)(* (*%+�,%-. *�/*(0�/*1 %2�230 �0(0456 7 328*+09 8:7%0 $$$
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� (,


�2�� "�����  ����!�


U(t, x) = ψ

(
∂

∂ν

)
{eνxT1(t, ν)}

∣∣∣∣
ν=0

,

�� T1(t, ν) = e−a(ν)t
sh

[
t
√

D(ν)
]

√
D(ν)

@ ���
��� ���
��%��- $ ���
�����%��- �����
�

����3!��
� �
��!��! .</� 7 ��������!  
��� U(h, x) ≡ 0 ����2 &
� ����2�
��%
m∑
j=1

Qj

(
∂

∂ν

)
{ eνxT1(h, ν) }

∣∣∣∣
ν=αj

≡ 0.

7���!�� �
�
��
� ������2����
 $ ���
�

eα1x, xeα1x, x2eα1x, . . . , xn1eα1x, . . . , eαmx, xeαmx, x2eαmx, . . . , xnmeαmx

������! ����2�
��% ����� &�%�! ���
 �� ��6� ���
� ���� α1, α2, . . . , αm & � �!
�
$ ���
- T1(h, ν) ���������� �� ��2�� pα1 , pα2 , . . . , pαm � ��
��� ��"����1�% ���
���'
��
 n1 < pα1 � . . . , nm < pαm � 5����
 ��������� �

6����7���� )� 5����
� � ��& �
�� � � ���� ����3!��� �����
 .=/� .�/ ����
"��
'
��
���� ����!� ����!�� �
����
 ��
���
� �"������
� a

(
∂
∂x

)
�� b

(
∂
∂x

)
� !� ��������

������1 �
�%�
��1 ������
�� 8���� 
��2��� ����3!��
� �����
 .=/� .�/ & ������ 6��'
6�1� H- ���
����
� & ����2 ��
2�
 $ ���
����%�
 �!��

U(t, x) =
∞∑
j=1

Qj

(
∂

∂ν

) ⎧⎨
⎩e−a(ν)t+νx

sh
[
t
√
D(ν)

]
√
D(ν)

⎫⎬
⎭
∣∣∣∣∣∣
ν=αj

,

�9J�9

U(t, x) =

∞∑
j=1

Qj

(
∂

∂αj

)⎧⎨
⎩e−a(αj)t+αjx

sh
[
t
√
D(αj)

]
√
D(αj)

⎫⎬
⎭ ,

 !��# αj ∈ M, Qj(x) @ "��
��
� ���"��
� nj ≤ pj − 1� !�
 ����
 1�%  ��� �%���

��
�����!  "����
 ����
 $ ���
� 
��2��� ����
"��
��
��# ����3!��
� .��/�

	��� M<�� :�<�= >
�
�?� <?� �
����� 
: =��������� �9�
<����� � �%�
 " ���

�����!��
� �����
 �
�
#��  �
 ��# Sh� �� h > 0� �����
�  S1� ��! ��������#
�
��!�% 
���
������- $
���� �� ��$�����
��%��'$ ���
����%��# �
��!�%� � ����2
������
� ���
���� -#�
# !���� ������
�� �� ��
 �
 �����
 
�1�% ����
��������

���
!���� ����� �� & ��������
��

������ �������� �

����� �������

∂2U

∂t2
= γ2

∂2U

∂x2
, γ > 0,

U(0, x) = U(h, x) = 0.

.��/

� 7����� .��/ @ �� ������ .=/� .�/�  !�
� a (ν) = 0, b (ν) = −γ2ν2� 5��

D(ν) = γ2ν2� � 
��2��� .��/ ��� �� ����!� 

M =
⋃
k∈N

{ ν ∈ C : γνh = ± πki} .



(-
��������� �	
���� 
������ ��������

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

I���� νk = ±πki
γh � �� k ∈ N� ��! $ ���
- T1(h, ν) = sh[γνh]

γν & "�����
� � �!
�� 7�
�����
�1 � $ ���
- ����!� 

U±k(t, x) = e±
πkix
γh sin

πkt

h
, k ∈ N,

& �
�
��� ������2��
� ����
"��
��
��
� ��
"������
� ����3!���
� �����
 .��/�
 !��� ������� !��# ��& "�� γ = a ����3!��� .4/�

8�����! $��
 �� 

����% ��� ������ ����3!��
� �����
 .��/A "��6�� @ �
�"�'
�
��& .���#�%�
 / ���� JKL� �� ��� @ �
�"��
��& .��2�%�
 / ���� J@M� 7� ��2�'

�� ��

 ����� �� �� ��"�
���1 ��$�����
��%��'��
���%���� 
���� (�+ �� ��# ���
����������� "���
���� k � U±k(t, x) 
�2�� ����
��� ����3!��� �����
  ����!�


U(t, x) = ϕ(x + t)− ϕ(x − t),

�� ϕ(x) @ ���
�%�� ��
�
 ��"������� ��$�����
����� �� R "��
������ $ ���
! �
"��
���
 T = 2h� ����� ϕ ∈ C2

2h. �
������ ��������  
�!��"#
��
��"	
���[

∂2

∂t2
− γ2

∂2

∂x2
+m2

]
U(t, x) = 0, γ,m > 0,

U(0, x) = U(h, x) = 0.

.)*/

� ��! �
&- �����
 ����
�&
� a (ν) = 0, b (ν) = −γ2ν2 +m2� D(ν) = γ2ν2 −m2�
?��2��� M ��� ��& ����!� 

M =
⋃
k∈N

{
ν ∈ C : h

√
γ2ν2 −m2 = ± πki

}
.

I���� νk = ±
√
m2h2−π2k2

γh � �� k ∈ N� ��! $ ���
- T1(h, ν) =
sh

[
h
√

γ2ν2−m2
]

√
γ2ν2−m2

 

��"��� mh �= πk & "�����
� � �!
�� D��� mh = πk0� �� k0 ∈ N� �� ν = 0 &
���������
 � ��
 $ ���
- T1(h, ν)� 7� �����
�1 � ����2 &
� ��� ���
1 (k ∈ N)
����
"��
��
��# ����3!��
� �����
 .)*/A

�/ U±k(t, x) = e±
√

π2k2−m2h2

γh ix sin πkt
h � !��� πk > mhG

)/ U±k(t, x) = e±
√

m2h2−π2k2

γh x sin πkt
h � !��� πk < mhG

4/ Uk(t, x) = sin
πkt

h
, Uk(t, x) = x sin

πkt

h
� !��� πk = mh�

B���3!��� .4/ ����
 &
� � �
&- ���
- "�� m → 0 �� "���#��
 ��  !���- ��������
�

������ ��
�$��%�� ���������[
∂2

∂t2
+ 2m

∂

∂t
− γ2

∂2

∂x2

]
U(t, x) = 0, γ,m > 0,

U(0, x) = U(h, x) = 0.

.)�/

� 7���� .)�/ �����!��
� !� ����� .=/� .�/ � �
��
� $ ���
!
� a(ν) = m�

b(ν) = −γ2ν2� D(ν) = m2 + ν2γ2� T1(h, ν) = e−mh
sh

[
h
√

m2+ν2γ2
]

√
m2+ν2γ2

�
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���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� (.

0 �!
� $ ���
- T1(h, ν) & ����� νk = ±
√
π2k2+m2h2

γh i� �� k ∈ N� 	��� & "�����
��
��
 �� �����
�1 � ���#���
� ����
"��
��
�
 ����3!��� �����
 .)�/

U±k(t, x) = e−mt±
√

π2k2+m2h2

γh ix sin
πkt

h
, k ∈ N.

7  !���- ������� ��# ��
"������# ����3!��
� "�� m → 0 ����
 &
� �
���

����3!��� .4/� �

����&� �������� '��
����[
∂2

∂t2
+

∂2

∂x2

]
U(t, x) = 0,

U(0, x) = U(h, x) = 0.

.))/

� ��! �����
 .))/ ����2 &
� a(ν) = 0, b(ν) = ν2, D(ν) = −ν2, T1(h, ν) = sin[νh]
ν �

I���� νk = ±πk
h � �� k ∈ N� & "�����
� � �!
� $ ���
- T1(h, ν)� 7� �����
�1 �

����3!���
� �����
 .))/ & $ ���
-

U±k(t, x) = e±
πkx
h sin

πkt

h
, k ∈ N.

7� ��2�
�� �� � �
&- ���������- 
��2��� ����3!��
� �����
 .))/ �� ��"�
���1
��$�����
��%��'��
���%���� 
���� 
�2�� ����
��� ����3!��� �
&- �����
  ����!�


U(t, x) = ϕ(ix+ t)− ϕ(ix− t),

�� ϕ(x) @ ���
�%�� ��
�
 ��"������� ��$�����
����� �� R "��
������ $ ���
! �
"��
���
 T = 2h� ����� ϕ ∈ C2

2h. �
����(� �������� ��
��) ���*�
����[

∂2

∂t2
+

∂4

∂x4

]
U(t, x) = 0,

U(0, x) = U(h, x) = 0.

.)4/

� ��! �
&- �����
 ����
�&
� a(ν) = 0� b(ν) = ν4� D(ν) = −ν4� T1(h, ν) = sin[ν2h]
ν2 �

M =
⋃
k∈N

{
ν ∈ C : ν2h = ± πk

}
.

I���� νk = ±
√

πk
h � νk = ±i

√
πk
h � �� k ∈ N� "����
 � �
 $ ���
- T1(h, ν)� N � &
�

���
1 (k ∈ N) ����
"��
��
��# ����3!��
� �����
 .)4/ �
�"��
��� �� �����
� �

U±1k(t, x) = e±x
√

πk
h sin πkt

h ,

U±2k(t, x) = e±ix
√

πk
h sin πkt

h . �
B����!��
� ����� � ����1 �����
��1 � �! $ ���
- T1(h, ν)�

����
�� �� B���3!����  �
 �
 S1 ����� �
�
#��[
∂2

∂t2
+ 2

∂3

∂t∂x2
+ 4π2

]
U(t, x) = 0,

U(0, x) = U(1, x) = 0.

.)=/



(/
��������� �	
���� 
������ ��������

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

� ��! �
&- �����
 ����
�&
� a(ν) = ν2, b(ν) = 4π2, h = 1, D(ν) = ν4 − 4π2�
T1(1, ν) = e−ν2 sh

√
ν4−4π2√

ν4−4π2
� M =

⋃
k∈N

{
ν ∈ C : ν4 − 4π2 = −π2k2

}
�

,������
� �����
 �
��!��! ν4 − 4π2 = −π2k2A ν11± ��! k = 1G ν2 ��! k = 2G
νk1±, νk2± ��! k ≥ 3� I���� ν2 = 0 
�& �����
��% =� 5�
 ��! ν2 �� �����
�1 �
���#���
� ������
��%�
 ����
"��
��
�
 ����3!��� �����
 .)=/

U21(t, x) = 2π {T1(t, ν)eνx}
∣∣∣
ν=0

= sin [2πt];

U22(t, x) = 2π
∂

∂ν
{T1(t, ν)eνx}

∣∣∣∣
ν=0

= x sin [2πt];

U23(t, x) = 2π
∂2

∂ν2
{T1(t, ν)eνx}

∣∣∣∣
ν=0

=
(
x2 − 2t

)
sin [2πt];

U24(t, x) = 2π
∂3

∂ν3
{T1(t, ν)eνx}

∣∣∣∣
ν=0

=
(
x3 − 6tx

)
sin [2πt].

��! � �
� ν11± = ± 4
√
3π2 ����2 &
� ���
 ����3!��� �����
 .)=/A

U11±(t, x) = e−π
√
3 t± 4√

3π2x sin [πt] .

��! � �
� ν12± = ±i 4
√
3π2 ����2 &
�

U12±(t, x) = eπ
√
3 t±i

4√
3π2x sin [πt] .

��! �����
� νk1± = ±
√
2
2 (1 ∓ i) 4

√
π2(k2 − 4)� �� k ∈ N\{1; 2}� ����
�&
� ���


����3!��� �����
 .)=/A

Uk1±(t, x) = sin [πkt] e±πi
√
k2−4 t±

√
2

2 (1∓ i) 4
√

π2(k2−4)x.

��! 
�6�# �����
� νk2± = ±
√
2
2 (1 ± i) 4

√
π2(k2 − 4)� �� k ∈ N\{1; 2}� ����2 &
�

�� ���
 ����3!��� �����
 .)=/A

Uk2±(t, x) = sin [πkt] e±πi
√
k2−4 t±

√
2

2 (1± i) 4
√

π2(k2−4)x. �

B����!��
� "������ �����
 �
�
#�� ��! ��$�����
��%��# �
��!�% ����
������'
�� "��!�� �

����
�� &� B���3!���� ����� �
�
#��  �
 �
 S1 ��! ��$�����
��%��'$ ���
�'
���%���� �
��!��!

∂2U(t, x)

∂t2
= U(t, x+ 1)− 10U(t, x),

U(0, x) = U(1, x) = 0 .

.)�/

� ��$�����
��%��'$ ���
����%�� �
��!��! "���
�  ����!�
 ������ ��$����'
�
��%���� �
��!��! ����
�������� "��!�� [

∂2

∂t2
− e

∂
∂x + 10

]
U(t, x) = 0.
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���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� (0

5��
 .)�/ & ������1 .=/� .�/�  !�
� a(ν) = 0, b(ν) = −eν + 10� D(ν) = eν − 10�
T1(1, ν) =

sh
√
eν−10√

eν−10
�

M =
⋃
k∈N

{
ν ∈ C : eν = 10− π2k2

}
.

I���� ν1m = ln
(
10− π2

)
+2πmi, �� m ∈ Z� & "�����
� � �!
� $ ���
- T1(1, ν)�

5�
 �� �����
�1 � ���#���
� ���
 ����3!��� �����
 .)�/A

U1m(t, x) = sin[πt]
(
10− π2

)x
e2πmix, m ∈ Z.

��! ����� νkm = ln
(
π2k2 − 10

)
+ (π + 2πm)i� �� k ∈ N\{1}, m ∈ Z� !�
 & ����2

"�����
� � �!
� $ ���
- T1(1, ν)� ����2 &
� ���
 ����3!��� �����
 .)�/A

Ukm(t, x) = sin[πkt]
(
π2k2 − 10

)x
eπ(1+2m)ix, k ∈ N\{1}, m ∈ Z. �

&� ����
���� ��������� �� !��� �����
 �
�
#��  �����
� �
 �
 & ����
��%'
��
 ��6�  ���
 ������� ������

����� 4D "��
��
� L( · , ν)� !��� �� ����2��%
�� 
��2��� P =

{−(2kπ/h)2, k ∈ N
}
�
�3&
��# ������ D��� 2 ������

���� 4D

������ 
 ����2��% �� 
��2��� P � �� !��� �����
 ����
��������

��� 
 �������&�%'
�! �����
 �
��# $ ���
� ��!���� "��!�� � 	 
�6�# ��"����# �������� 
�� ����!
��
�����- 
��2��� �
�
��� ������2��# ����3!��
� �����
� �� !��- ����2��%� �����'

�� ����
"��
��
�
 $ ���
-� ��! "�� ���� ����
"��
��
��# ����3!��
� �����������
��$�����
��%��'��
���%��� 
����� F�� 
���� ��� �
�� �� ��"�
���1 �
� ��$�'
����
��%��# �����
� ��
�������� "��!�� �� �������� �
�����
���
 ����3!��� ����'
�
����� �
��!��! � "��������!
 "
��! �
- �����
� "���
���� .�� !��
 �
1�% ������/
�
���
 � ���
 ������ 6 ���
 ����3!��� �����
 �
�
#��� ,��!��� ��$�����
��%��#
�����
� 
��6�� �
� ��������
 � �
� ��!��- �
��- $ ���
-� B�� �%���� ����
�2���!
!��� �����
 �
�
#��  �����
� �
 �
 "����
���������� �� ��!��# ��������# �
��!�'
�!# 
���
������- $
�����

� "���"�����
 �
����
� ����
�2���!
� & ���#��2���! ����
� ����������-
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�"��� ������ ��� 
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���
E�;� L�
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�.�������,� �� ������) �������# ���� �
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�����������" ��
�������
�
��/�� S = (S(t))0�t�T � 0���! �
���� ������
�� �(�#�� ���������" � ���
�� !�*
,� ��
���� ����" K 1 � ���" 
���

�# ���
) ��
������) ��
��� �����) �����/��
�������# ���� S(T ) � ���
�� /��� T ���
 ����(�� ����� ������ ��� K2 � ��

�
�
�� ��/
��� /���� !�,� ��������� T �

3�-� S(T ) > K) �� ���� �������� �
�������� ��� 
���
�� �
�����) �����#��  �
������� ��������� � �#�,� ( 
���� ��
��� �����  � ����" K � 
���� ����(�� 
������
��  � �������" ����" S(T )� � �#��� ��
���� !�,� ����� ����������
 S(T )−K�

3�-� � ������#��) -� S(T ) < K) �� 
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��� ����� 1 � ����" K2
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��*;�����  
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�����  ��
����� ��� /��� �� 
������ !������������ 
���*
���� (Ω,F ,P)  ���#�����(" {Ft, t � 0}) ����� �� ������ � .
 �� ������ ���������
<�������
��) -� �� ���������� ���� �
����"�#  ����+�� /������) ���  ���"�#��

����" ,��
�" 
�
���� �
�������� 
���! A1, . . . , An � ������ .��
�� �� �������"*
����  � ������� �
�
����-�� < ���
�� /��� t = 0 ���
 ������� ���� � n ������
 ����+�#�,� �
�
����-�  !���������"

P(Ai) = pi, pi � 0,

n∑
i=1

pi = 1, 1�2

�
 pi*!���������# 
����
����� � ���
�����
 �
�
����-
Ai� <�����( 
��.�
�� �� ��*
����� ����������� ���� (���

!�#��,� �
����� � �#��� ��
����� ��� �����,� �����
 ����+�#�,� �
�
����-� Ai ������ ���� .
 �� �����,� �� �� �����,� ������� =���
.
 �� �����,� ������ �./���""�# ��

BAi(t) = exp

⎧⎨
⎩

t∫
0

rAi (s) ds

⎫⎬
⎭ , 1�2

� ���� �� �����,� ������ ������"(

SAi(t) = SAi(0)exp

⎧⎨
⎩

t∫
0

(
μAi(s)−

1

2
σAi

2(s)

)
ds+

t∫
0

σAi(s)dWAi(s)

⎫⎬
⎭ , t � 0, 182

�
 rAi(t) > ���������� ������? μAi(t) > �/������
 �
�
��(  ��/
���? σAi(t) > 

�
�*
.�/����� �������#����#� � �#��� �� � rAi(t) > �
���@(��� �������) ���
,������  �
A
.
,�� �� .��#*����� ����� ��) μAi(t) � σAi(t) > �
��
������ �������) � WAi(t) >
����������! ���
����#��! 
���
� �������� ���� P � 5����� �� ,�������
��  ���
�*
��  � ��/
��� ���
�� �� ���
����� $B)C&) �
 0 > ���� ��������� �
������

��� ��,�) -�. �������� (���� ���������� ���� �
�����) .��
�� �� ,������ .
 *

��.�������! �����) ��.�� ����,����
�� ��������� ����
∫ T

0

(
μAi

(s)−rAi
(s)

σAi
(s)

)2

ds < ∞)∫ T

0 σAi
2(s)ds < ∞)

∫ T

0 |μAi(s)|ds < ∞) ∀i = 1, 2, . . . , n� ���� ��,�) ��������
��) -�

�/������ ���� ����! �������� ��� ���� ������  ����+�#�,� �
�
����-�) ��.��
S(0) = SAi(0)) � ����!���� ���� K � /�� ��������� �
����� T > ����� �
��/����

D,����  $�&)$E& �  � �������" 9
!����*���� ���������� ���� (���

!�#��,�
�
����� ��
���� CAi(SAi , t)  ������#��( ���� ���!���  ���/�F

∂CAi(SAi , t)

∂t
+

1

2
σ2
Ai
(t)S2

Ai

∂2CAi(SAi , t)

∂S2
Ai

+

+ rAi(t)SAi

∂CAi(SAi , t)

∂SAi

− rAi(t)CAi(SAi , t) = 0,

1%2

CAi(SAi , T ) = max(SAi −K, 0), (SAi , T ) ∈ R
+ × [0, T ]. 1�2

�
 K> ����!���� ����� 0��� �
������(�#�� ���� �
��
�� $�&�
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8 rAi(t) 
 σAi(t) ���������
 �� [0, T ]9 σAi(t) > 0 :;� ��
�
t ∈ [0, T ]� <=:
 �=>�?�>=� �
������ @
A > ���5=�=B ��=�=B @CA ��D���E ���=F= ��F;�:�G

CAi(SAi , t) = SAiΦ(d
Ai
1 )−K exp

⎧⎨
⎩−

T∫
t

rAi(s)ds

⎫⎬
⎭Φ(dAi

2 ), i = 1, . . . , n, 1E2

:�

dAi
1 =

ln
SAi

K +
T∫
t

(rAi(s) +
1
2σ

2
Ai
(s))ds√

T∫
t

σ2
Ai
(s)ds

, dAi
2 =

ln
SAi

K +
T∫
t

(rAi(s)− 1
2σ

2
Ai
(s))ds√

T∫
t

σ2
Ai
(s)ds

,

�

Φ(dAi

j ) =
1√
2π

d
Ai
j∫

−∝
exp{−1

2
s2}ds, j = 1, 2,

 6���7
� ����:����=F= �=���;��=F= �=>�=:
;��

�� ��
�� �
��
����
��
� 4/
�����) -� � ���
�� /��� t �����# 
����� �.*
/������ ���� ����! SAi(t) �� CAi(SAi , t)  ,����  ��������� 182 � 1E2 ��� .��#*���,�
����� Ai) �����#�� ������  ��/
��� μAi , σAi , rAi �

D ��+�,� .���) ���
�� �
�/���� ��
�
�����  ��/
��� μAi , σAi , rAi 
� ���� ���*
���  ����+�#�,� �
�
����-� � 
���� �#�,�  ��!�� ���������� ���� (���

!�#��,�
�
����� ��
���� C(S, t)� 0�.��) ��-�

r(t) =

n∑
i=1

rAipi, μ(t) =

n∑
i=1

μAipi, σ(t) =

n∑
i=1

σAipi,

�� ��
�
��
�� ���� ����! S(t)  �������#  ,����  �������" 1%2) � �
 ��(  ��,� �.*
/������ �������# �
����� C(S, t)�

7
�� ��+�� 
���� >  ��!�� �����)  � ���� ���������� ���� (���

!�#��,� �
���*
�� ��
����  ������#�����
 �������#

C(S, t) = p1CA1(SA1 , t) + p2CA2(SA2 , t) + · · ·+ pnCAn(SAn , t) 1G2

�.�)  � ���� ���� ���� �
����� �� ��
�
��
��� �� 
���� ��
�
��
���  .�,����
�#���
6������# 1G2 �����  �
����� � ������ ��,����F

SΦ(d1)−K exp

⎧⎨
⎩−

T∫
t

r(s)ds

⎫⎬
⎭Φ(d2) =

=

n∑
i=1

pi

⎛
⎝SAiΦ(d

Ai
1 )−K exp

⎧⎨
⎩−

T∫
t

rAi(s)ds

⎫⎬
⎭Φ(dAi

2 )

⎞
⎠ .

1H2

4/
�����) -� 1H2 ������(�#��) ��-�F
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����� ��
��

�	
 ����
��
 $=& ����	
�� � �
�# ��
���# �
�
�# � ����� ��������>

(u′
ν∗ − gu′

τ)|∂K = κ− gγ = α, $�&

�� g �= ±Δ
2 ( Δ = sinϕ0( ����
 ���
�
0 ��
� �� �	������� ���
!���
( K = {x ∈ R2 :

|x| < 1} ? ��������� ��#� �
 �	�8���� :���#��� �( 8� ��
�
 �
����
 α ∈ Hm
ρ (∂K)�

� ����	������ ����#8���
� ����
�� � ���
��
 8��� ���#�
��
 �
 0������� ����)
��
�# �
�
�� $=&( $�&�

�� ���
�
�
� �
	������� �� �����
�� ���

��� 
� ����� � .A/ "#	� �����
 
�� # ��# ��)
��# �	���� ����)
��# ��
����5 �
�
�� $�
������5 � ����� � �& # ���	
��
������
������� ��
��5 ���"	� �  � ����� $+�� #	
 $G&&( �	
�������� 
��5 ����
�
	�
�	
�������� �
�
���
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��
�� � $.A/&� G9� �7;7C D78 >���?
� u ∈ Hs(K) (s � 2) 8�9� �75�A�5�7� 5�=�6


u′
τ |∂K = γ ∈ Hs− 3

2 (∂K), u′
ν∗ |∂K = κ ∈ Hs− 3

2 (∂K)

=9� �
������ H	AIC ��78�
=�7 
 =7������7C D78 >���?
J γ 
 κ 5�=7�79���9� 
����
;��9��� �
��
��� ∫

∂K

[
κ− (−1)j

Δ

2
γ
]
Q(x · ãj)dτ = 0, j = 1, 2, $G&

5 8�=������ �79
�7�7� Q ∈ C[z]� K ?�7�� ��5
 >���?
� u �
=�7�9<:���� 5 �76�
��<
=7 �=�����7J ���97J�

J#� ã1 = (−a12, a
1
1)( ã2 = (−a22, a

2
1) ? �
��
�	
��� �������  ��!��� �� ��

	������ �
�
������������ �
��
 �� Λj =
{
λãj |λ ∈ C

}
( j = 1, 2( Λ = Λ1 ∪ Λ2(

∂
∂τ � ∂

∂ν∗
= l(ν) ∂

∂ν − 1
2k [l(ν(τ))]

′
τ · ∂

∂τ ? ������� �������� �������5 � ����� 
	�( ����
�������@ ν ? ��������� ������ �����*���5 ��� 
	�@ k ? ������
 �����5 ∂K�

I������� $G& 0 ���������� ���"	� ��  � �����( 8� �����
0 �
  �!� ��#�#� I���
�	
�� � ���"	� �  � ����� �
 ∂K � ���*� � 55 # "�	�* �
�
	��� # ���	
���

�	
 ���� �
�
��� �
"���� ����	 ωj
n, ω1

0 = ω2
0 , n = Z+( ��
��� +#��,�� α �
�#(

8� ∫
∂K

α(τ)(x(τ) · ãj)ndτ = ωj
n, j = 1, 2. $�&

:� ��!� � �������� $�& �
 ���+�,�0��� ��	��� 
 K�"�*��
 Tn ���*��� ���# �
���	
 ���
�
��
 ���� 
0 � ��������∫

∂K

α(τ)Tn(−x(τ) · ãj)dτ = μj
n

� ��
�� � μj
n� F���	��� Tn(cosσ) = cosnσ �( ��� ����( �
 ��	� ��"#��� x(τ) · ãj =

= (cos τ, sin τ) · (− cosϕj , sinϕj) = − cos(τ + ϕj)( �� ���
����# ���"	� # $�&  �!�

�������
�� �
��

�	
 ���� �
�
��� �
"���� ����	 μj
n, n = Z+, ��
��� +#��,�� α �
�#( 8�∫

∂K

α(τ) cosn(τ + ϕj)dτ = μj
n, j = 1, 2. $;&

!� "����� Hm
ρ −Hq 
� ����� H��
�M j

q ? ���������� �������# Hq(∂K), q ∈ R(
�	� ���
 � 
���� 0 +#��,�5 α(τ)( 8� �
����	��
��� ��� ���� k ∈ Z+ ������
	��#
�������� ∫

∂K

α(τ)(x · ãj)kdτ = 0, j = 1, 2.

C�*� � �	��
 �( ����� M j
q ����
����  ��!��# ����)
���� ���������5 ���"	� �  ��

 ������

�	
��


� � $.B/&� ����7�� ã1, ã2 ∈ C2 ��<�� Hm
ρ −Hq��9�����
��� �� ����
B

∂KC q � mC ��D7 =9� �7F�7J >���?
J α ∈ Hm
ρ (∂K) 
���<�� :=��
 >���?
J α1 ∈ M1

q C

α2 ∈ M2
q ���
C D7 �����9���B �75�9�= � ����L α = α1 + α2 + const�
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� �"

"����� Hm
ρ − Hq 
� �����# ∂K (q � m) ��	
�
0 # ��
���!���� # �� �


������� ã1, ã2 ∈ C2( ���"������ � ����
���� �	
 �����
��
 Hm
ρ −Hq��	
�������� �


������ ∂K�
:��	
 �����
����� ����	
�# $�& � # ��# $;& ���� 
0 � ���������*���


π(αC
n cosnϕj − αS

n sinnϕj) = μj
n, j = 1, 2,

��
���#��� 
�� ����
�� � ����������� M j
q , j = 1, 2( �������
 �

M1
q : αC

n cosnϕ1 − αS
n sinnϕ1 = 0,

M2
q : αC

n cosnϕ2 − αS
n sinnϕ2 = 0.

J���� ���	��� � �
�
�# Hm
ρ − Hq �
 ��	� ∂K # ����#8����( 8� α ∈ Hm

ρ (∂K)
? ����	��
 +#��,�
( 
�
  
0 ���������
 $�&� C�
�*� �
!#��( ����!� � �	
 ��
�
��5 �
����� �
�
�� $�& ���������
 # �# # ���� +#��,��( 
�� �
	�!
�� ����
��� 
��"�	0����� �������
 ( ��"�� ����
�� � ���
���� �	
������ q�

L������#0 � ������ (αC
n , α

S
n) ∈ C2 �
 ��
 # αC

n cosnϕ1 − αS
n sinnϕ1 = 0� �����

���
�� (α1,C
n , α1,S

n ) �����,�5 ����!� � � ����� �{
α1,C
n cosnϕ1 − α1,S

n sinnϕ1 = 0,

α1,C
n cosnϕ2 − α1,S

n sinnϕ2 = αC
n cosnϕ2 − αS

n sinnϕ2,

������

(α1,C
n , α1,S

n ) =

(
αC
n − αS

n tg nϕ2

1− tg nϕ2 ctg nϕ1
,
ctgnϕ1(α

C
n − αS

n tg nϕ2)

1− tgnϕ2 ctgnϕ1

)
.

:�
 � ���������
 ,���� ������
 # C2( ����
*��
�� �
 ��#��� ��
 ��
αC
n cosnϕ2 − αS

n sinnϕ2 = 0( "#�� ������ � �� ������
 �

(α2,C
n , α2,S

n ) =

(
αC
n − αC

n − αS
n tg nϕ2

1− tg nϕ2 ctg nϕ1
, αS

n − ctg nϕ1(α
C
n − αS

n tg nϕ2)

1− tg nϕ2 ctg nϕ1

)
=

=

(
tgnϕ2(−αC

n ctg nϕ1 + αS
n)

1− tg nϕ2 ctg nϕ1
,
−αC

n ctgnϕ1 + αS
n

1− tg nϕ2 ctg nϕ1

)
.

�
	�(  
��� �������
�� �����,�5 � ��
 ��� ���������
( ��
��� � +#��,�5 αj ∈ M j
q (

j = 1, 2(

α1 =

∞∑
n=1

(α1,C
n cosnτ + α1,S

n sinnτ) =

=

∞∑
n=1

(
αC
n − αS

n tgnϕ2

1− tgnϕ2 ctgnϕ1
cosnτ +

ctg nϕ1(α
C
n − αS

n tg nϕ2)

1− tg nϕ2 ctg nϕ1
sinnτ

)
,

α2 =

∞∑
n=1

(α2,C
n cosnτ + α2,S

n sinnτ) = $�&

=

∞∑
n=1

(
tgnϕ2(−αC

n ctgnϕ1 + αS
n)

1− tg nϕ2 ctg nϕ1
cosnτ +

−αC
n ctgnϕ1 + αS

n

1− tgnϕ2 ctgnϕ1
sinnτ

)
.
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

I���	
�� � ������� ã1, ã2 ∈ C2( 
�� �
�
�� ����
��
 � $B)& � $=&( �
 �)
�#0 �(
��� 
�� # ��
����� ���
����
 q( q � m( ����  
��� Hm

ρ −Hq � �	
�������� �
 ������
∂K� ���	��� � ���� � ��
 ���
���( ��� 
�� �*	
  ��
 # ���#��>

�� ϕ0 = ϕ2 − ϕ1 ? ������ π����
,���
	��� ���	�@

�� ϕ0 ? �� �	����� ���	��

F,��� � ���+�,�0��� ���  ��!���
� αC
n cosnτ ( αS

n cosnτ ( αC
n sinnτ ( αS

n sinnτ #
���
�
� $�& +#��,�� α1 � α2∣∣∣∣ 1

1− tg nϕ2 ctg nϕ1

∣∣∣∣ = ∣∣∣∣ sinnϕ1 cosnϕ2

sinnϕ1 cosnϕ2 − sinnϕ2 cosnϕ1

∣∣∣∣ = ∣∣∣∣sinnϕ1 cosnϕ2

sinnϕ0

∣∣∣∣ �
� en|��ϕ1| · en|��ϕ2|

| sinnϕ0| =
en|��(ϕ1+ϕ2)|

| sinnϕ0| ;∣∣∣∣ tg nϕ2

1− tg nϕ2 ctg nϕ1

∣∣∣∣ = ∣∣∣∣ sinnϕ1 sinnϕ2

sinnϕ0

∣∣∣∣ � en|��(ϕ1+ϕ2)|

| sinnϕ0| ; $�M&∣∣∣∣ ctgnϕ1

1− tg nϕ2 ctg nϕ1

∣∣∣∣ = ∣∣∣∣cosnϕ1 cosnϕ2

sinnϕ0

∣∣∣∣ � en|��(ϕ1+ϕ2)|

| sinnϕ0| ;∣∣∣∣ ctgnϕ1 tg nϕ2

1− tg nϕ2 ctg nϕ1

∣∣∣∣ = ∣∣∣∣cosnϕ1 sinnϕ2

sinnϕ0

∣∣∣∣ � en|��(ϕ1+ϕ2)|

| sinnϕ0| .

������� ��� H
�
�
0 � $���� �
#�
!���
 �&( 8�  � ����������#0 � �
�# �	

���+�,�0���� E#�)0 # ���	
�� ρ = en(|��(ϕ1+ϕ2)|−|��(ϕ2−ϕ1)|)( �� # ρ = en|��(ϕ1+ϕ2)|

�	
 �������� ϕ0( ����	��� � ,�� # ���
��# CDϕ1 = CDϕ2�
�
	� �
 ��
��"����
 �
�� �����!���
�

 �
��$


� � $.B/&� M���B μ+ 1 > 0� M��
��
��� =9� 6��9� ϕ0 ∈ R

∃ C0 > 0, ∀ n ∈ N, | sinnϕ0| > C0n
−μ $��&

�
��7��9��� ���
��7��


∃ C1 > 0, ∀ q

r
∈ Q,

∣∣∣∣ϕ0

π
− q

r

∣∣∣∣ > C1r
−μ−1.

<
������#��� ���������� $��&(  �!�
 ���"��� ��������( 8� ��� ������ # ϕ0 ���
��
�
�� ��8� �����*���
 � 	���� �
����
� ���
��� $�M& �,�������
 �����# ��	����
��� ρnμ� F�!�( ���+�,�0��� +#��,�� α1, α2 �
����	��
��� �,���#

|αj,C
n | � ρnμ(|αC

n |+ |αS
n |), |αj,S

n | � ρnμ(|αC
n |+ |αS

n |), j = 1, 2,


�
 � #�
�#�
��
 α ∈ Hm
ρ (∂K) ���
�
0( 8� αj ∈ Hm−μ(∂K)� L��
���(

∞ >

∞∑
n=1

(|αC
n |2 + |αS

n |2)ρ2n2m �
∞∑

n=1

|αj, C
n |2 + |αj,S

n |2
ρ2n2μ

· ρ2n2m =

=

∞∑
n=1

(|αj, C
n |2 + |αj, S

n |2)n2(m−μ).
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F�!�(  � �)
�#�
	�( ��
���#��� ���������� $A& ���
����
 �( 8� # ���
��# �� +#��,�5
αj ∈ Hm−μ(∂K) $��"�� *#�
�� q = m− μ&�

������� ��� N�8� ϕ0 ? �� �	����� ���	�( �� ��� ������ �����*���
 # $�M&
�,������ �����# �
��� ρ = en(|��(ϕ1+ϕ2)|−|��(ϕ2−ϕ1)|)� 3	� ����

|αj,C
n | � ρ(|αC

n |+ |αS
n |), |αj,S

n | � ρ(|αC
n |+ |αS

n |), j = 1, 2,

�� # ����#( # ��)
��# � ���
����
 �( ������ � �������#( 8� +#��,�5 αj ∈ Hm(∂K)
$�#� ������ q �"��
0���
 � m&�

I��� #��� ����!
�� ���#	��
��( �+�� #	�0 � �������� �����!���
 # ���	
��
����� � A�

 
��
�� �� M���B ϕ0  =
B��� 6��97C α ∈ Hm
ρ (∂K) 
 ����B ���7��:���� ���
��
���

H��I ��� =���7�� μ > −1� N7=
 >���?
J αj , j = 1, 2C ��9�F��� ��7��7�� Hm−μ(∂K)�
O�D7 ϕ0  �7��9����� 6��97 
 5�7�� α ∈ Hm

ρ (∂K)C �7 >���?
J αj ∈ Hm(∂K)�

E����F���� A� ������ �( 8� � ����� ���
����
 A �����!���
 ����� � A ���
�
0(
8� ��� ������ # ϕ0 ������� ã1, ã2 ∈ C2  
��� Hm

ρ −Hm−μ��	
�������� �
 ��	� ∂K(

 # ���
��# �� �	������� ϕ0 �
��
���� �������  
��� H

m
ρ −Hm��	
�������� �
 ∂K�

%� &�	�'�	
���� 	����� 	 ����� ��(��
��� <
����#0 � ����� #�� ���	
����
��8�  ���#�
��
 �� �
�
�� $=&( $�& �( ����������#��� ��)
��� � ���"	� ��  � �����(
������ � �������� ���#	��
� 8��� ����)
������ ���	��!#�
��5 �
�
���

<����� � ���
����
 Hm
ρ −Hq��	
�������� �������� ã1, ã2 ��
��	��� ���������
>

α = w1 + w2( �� wi ∈ M i
q ⊂ Hq(∂K)( q � m( i = 1, 2� :���
���*�{

v1 = (u′
ν∗ + Δ

2 u
′
τ )|∂K = κ+ Δ

2 γ,

v2 = (u′
ν∗ − Δ

2 u
′
τ )|∂K = κ− Δ

2 γ,

���� 
0 � � ��� ��
� v1 � v2 +#��,�5 κ � γ{
κ = 1

2 (v1 + v2),

γ = 1
Δ
(v1 − v2).

$�A&

J���

α = κ− gγ =
1

2
(v1 + v2)− g

Δ
(v1 − v2) = (

1

2
− g

Δ
)v1 + (

1

2
+

g

Δ
)v2,

������

v1 =
w1

1
2 − g

Δ

=
2Δw1

Δ− 2g
, v2 =

w2
1
2 + g

Δ

=
2Δw2

Δ+ 2g
,

��"�� �
 �
�
�� � +#��,�
 � wi( 
�� ��"#���
�� �
 ���� �� +#��,�0� α(  � �
���
���� +�� #	 ����!� � +#��,�5 vi( 
 �
	�( ��
!
��� �
 $�A&( ����
�� � +#��,�5
κ � γ

κ = Δ ·
(

w1

Δ− 2g
+

w2

Δ+ 2g

)
∈ Hq(∂K); γ = 2

(
w1

Δ− 2g
− w2

Δ+ 2g

)
∈ Hq(∂K). $�B&

F���	��� w1, w2 ∈ Hq(∂K)( �� +#��,�5 γ � κ �
��! �
	�!
�� Hq(∂K)( 
 � ��"#����
+#��,�� wi ���	��
0( 8� ���� �
����	��
��� ������
	��# �������� $G&� 3	� ���� �
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��
 0������ ����)
��# u(x) ∈ Hq+3/2(K)
�
�
�� {

Lu = 0,

u′
ν∗ |∂K = κ, u′

τ |∂K = γ.

< ,���� +
��# ���	��
0 ���#�
��
 0������ ����)
��# �
�
�� $=&( $�&� L��
���( �����
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���*� ��
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 # ���������
 α = w1 + w2( ���� 
0 � �
 � ��
���# # ��# $�&� F�!�( +#��,�

u(x) ∈ Hq+3/2(K) �
����	��
0 ���
����� ����
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 $=& � # ��# $�&( ��"�� 0 ����)
��� 
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α ∈ Hm

ρ (∂K)( �� +#��,�5 γ, κ ∈ Hm−μ(∂K) $# ,�� # ���
��# q = m − μ&�
A& N�8� ! ϕ0 ? �� �	����� ���	� � ����# α ∈ Hm

ρ (∂K)( �� γ, κ ∈ Hm(∂K) $��"��
q = m&�

L+�� #	�0 � ���
������ ���#	��
� 8��� ����)
������ �
�
�� � ����� ��������
$�& �	
 ����
��
 $=&�
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�� �� M���B ��� ϕ0 = ϕ2 − ϕ1 �
F ���������������� �
������ H
I : =
B��
��� 
 π�
���?
7��9����C 
 ����BC ��
� �7;7C ���7��:���� ���
��
��� H��I ��� =��
��7�� μ > −1� N7=
 �75�A�57� ���B7�7J 5�=�6
 H
IC HPI 5 α ∈ Hm

ρ (∂K) 
���:C :=��

��B 
 ��9�F��� ��7��7�� Hm+ 3
2−μ(K)� O�D7 F 6��97 ϕ0 : �7��9������ 
 5�7��

α ∈ Hm
ρ (∂K)C �7 �75�A�57� ���B7�7J 5�=�6
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IC HPI 
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 ��9�F��� ��7��
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�� �� ��� �������

u
(β)
t (x, t)− a2Δu(x, t) = F (x, t), (x, t) ∈ Ω× (0, T ], a = const

u(x, t) = F1(x, t), (x, t) ∈ ∂Ω× (0, T ], u(x, 0) = F2(x), x ∈ Ω

�
�� �
�������
���
��� ���
�
���� ���
���
�� u
(β)
t �� ��� ����� β ∈ (0, 1) ���

F � F1� F2 ���� ���
�� �� �������
��� ���
�
��� D′�

0�� ���$�, ���
�
���� ���
���
��� �������
��� ���
�
��� �������� �����
�������� ����� ��
�������
�
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 ������
�

Dβ
t u(x, t)− a2Δu(x, t) = F (x, t), a = const

�� �
����� �
���� Ω× (0, T ]�  ��
 ��!������! ����������

Dβ
t u(x, t) =

1
Γ(1−β)

(
∂
∂t

t∫
0

u(x,τ)
(t−τ)β dτ − u(x,0)

tβ

)


� �
� 
���� β ∈ (0; 1)� ����� 
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Dβ
t u(x, t) = A(x,D)u(x, t), (x, t) ∈ RN × [0, T ],

u(x, 0) = g1(x), x ∈ R
N
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 ��
 �
�����
�� ������
� g1 
����! �
�� !�
 �
 �� �������� �������� ��5�������� ���
��

���� 
�����
� A(x,D)  ��
 ��

�
 �
�6������ ��������! 
� ����� ��������� x ∈ Rn�
.��
 ��!������! ������
��� ����������  �� ���� �� �
� ���

�� 
� %�&/%�7& ��� �
� 
�
����
	
� ��������� �
����
� 
� �
�����
����! ������
��� 4���
� ��
���� �� �
� ���� β > 1 ���
A(x,D) = Δ  �� �
��������� �� %�&� 	
� ������������
�� �� ����� 
� 3���� ������
�� 
�
�
� �
����
�  �� 
�������� 8� %��& ��� %�,& �
� ������ �
��������� 
� �
� ������
��� 4���
�
��
����  ��
 !���� ���� 9 ��
 �� ���������! !�������:�� ������
�� ��� ��
�  ��!
� ������

� !�������:�� ������
��� �������������  �� ��������
���

;� ��
�� �
� ������ �
��������� 
� �
� ���� �
������ ����� ��
���� �
 ������
�

u
(β)
t (x, t)− a2Δu(x, t) = F (x, t), (x, t) ∈ Ω× (0, T ], a = const,

 ��
 <������/"�
������ ������
��� ���������� u
(β)
t 
� �
� 
���� β ∈ (0, 1)� �� ������ 
�

!�������:�� ������
�� 
� ���� D′� 	
�� ����� �� 
�!���:�� �� �
��
 �� 	
� ���� ��!���/
������ ��� ������
�
!� ��� !���� �� �����
� ,� ;� ����� �
� ��
���� �� �����
� 0� 	
 ��
��
�
� ���� ������ =�� �����
� �>  � ����� �
� ��
������� 
� �
�?�!���� 3���� 
�����
�� ��
�����
� 1� ;� ����
 �
�� �����  ��
 �
�� �����#� �� �����
� @ ��� ������
� 
� �
��
��������� ��
������� 
� �
� A/������
� 
� -
2 �� �����
� ��

�� 
	������� ������
��
��� "�� Ω �� �
������ �
���� �� RN � N = 2, 3, . . . �
S = ∂Ω 9 �
� �
������ 
� �
���� Ω =
� ����� C∞>� QT = Ω× (0, T ]� Q1T = S × (0, T ]�

D(Q̄T ) = C∞,(0)(Q̄T ) = {ϕ ∈ C∞(Q̄T ) : D
l
tϕ|t=T = 0, l = 0, 1, 2, . . .}�

D(Q̄1T ) = C∞,(0)(Q̄1T ) = {ϕ ∈ C∞(Q̄1T ) : D
l
tϕ|t=T = 0, l = 0, 1, 2, . . .}�

D(RN ) = C∞
0 (RN ) 9 �
� ����� 
� ����������� ��5���������� ������
��  ��
 �
�����

����
��� �� RN �
D(Ω̄) = C∞(Ω̄)�
D′(RN )� D′(Ω̄)� D′(Q̄T ) ��� D′(Q̄1T ) 9 �
� ������ 
� ������ �
�����
�� ������
����

=!�������:�� ������
��> 
� D(RN )� D(Ω̄)� D(Q̄T ) ��� D(Q̄1T )� �������������
(f, ϕ) 9 �
� ����� 
� f ∈ D′(RN ) 
��
 �
� ����� ������
� ϕ ∈ D(RN )�
(f, ϕ)0 9 �
� ����� 
� f ∈ D′(Q̄T ) 
��
 �
� ����� ������
� ϕ ∈ D(Q̄T )�
(f, ϕ)1 9 �
� ����� 
� f ∈ D′(Q̄1T ) 
��
 �
� ����� ������
� ϕ ∈ D(Q̄1T )�
(f, ϕ)2 9 �
� ����� 
� f ∈ D′(Ω̄) 
��
 �
� ����� ������
� ϕ ∈ D(Ω̄)�
;� ���
�� �� ∗̂ �
� 
������
� 
� �
��
����
� 
� !�������:�� ������
� g ��� �����

������
� ϕB (g∗̂ϕ)(x) = (g(ξ), ϕ(x + ξ)), ��� �� ∗ 9 �
� 
������
� 
� �
��
����
� 
�
!�������:�� ������
�� f ��� g 9 �
� !�������:�� ������
� f ∗ gB (f ∗ g, ϕ) = (f, g∗̂ϕ) �
�
��� ����� ������
� ϕ� ;� ��� �
� ������
� fλ ∈ D′

+(R) = {f ∈ D′(R) : f = 0 CDE t < 0}B
fλ(t) =

θ(t)tλ−1

Γ(λ) �
� λ > 0 ��� fλ(t) = f ′
1+λ(t) �
� λ � 0,

 
��� θ(t)9 A�������� ������
�� Γ(λ)9 3����/������
�� 	
� ������
�

u
(β)
t = f−β ∗ u

�� ������ �
� <������/"�
����� ���������� 
� �
� 
���� β 
� �
� ������
� u ∈ D′
+(R)� 8� �
�

��!������! ���������� Dβu(t) �2���� �
��

Dβu(t) = u(β)u(t)− f1−β(t)u(0).

	
� ������
�� ����� ��

fλ ∗ fμ = fλ+μ� fλ∗̂fμ = fλ+μ�
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��� ������ ���	
���

�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

��� �
� (x, t) ∈ QT � v ∈ D(Q̄T )� β ∈ (0; 1)

f−β(t)∗̂v(x, t) = f ′
1−β(t)∗̂v(x, t) = −f1−β(t)∗̂vt(x, t) = − 1

Γ(1−β)
∂
∂t

T∫
t

v(x,η)
(η−t)β dη�

;� ���
�� �� C2,β(QT ) �
� ����� 
� ���������� � ��� �
�����
���� ��5����������
�� ��������� x ������
�� v(x, t)� (x, t) ∈ Q̄T � �����
��! �� t ≥ T ���  ��
 �
�����
��

Dβ
t v(x, t) �� QT �
;� ����
���� �
� 
�����
��

L̂ : (L̂v)(x, t) ≡ f−β(t)∗̂v(x, t) − a2Δv(x, t), (x, t) ∈ QT , v ∈ D(Q̄T )�

L : (Lv)(x, t) ≡ f−β(t) ∗ v(x, t) − a2Δv(x, t), (x, t) ∈ QT , v ∈ D′(Q̄T ),

Lreg : (Lregv)(x, t) ≡ Dβ
t v(x, t) − a2Δv(x, t), (x, t) ∈ QT , v ∈ C2,β(QT )�

�
� ������
��� �����

X(Q̄T ) = {ϕ ∈ C∞,(0)(Q̄T ) : L̂ϕ ∈ D(Q̄T ), ϕ|Q̄1T
= 0}

 
��
 �
�� �
� ����� =��� �
��
 ��! ����� 0> ��� X ′(Q̄T ) 9 �
� ����� 
� ������ �
���/
��
�� ������
���� 
� X(Q̄T )� ���
�� �� (f, ϕ)0 �
� ����� 
� f ∈ X ′(Q̄T ) 
��
 ϕ ∈ X(Q̄T )�

�� ��������� ����������
�	��������� ��� "�� β ∈ (0, 1)� F ∈ X ′(Q̄T )� F1 ∈ D′(Q̄1T )� F2 ∈ D′(Ω̄)�

F���� ����
����
� =">  � ����� �
� ��
����

f−β(t) ∗ u(x, t)− a2Δu(x, t) = F (x, t), (x, t) ∈ QT , =�>

u(x, t) = F1(x, t), (x, t) ∈ Q1T , u(x, 0) = F2(x), x ∈ Ω. =,>

!�������� �� 5*+ (3$1)
'$ u ∈ D′(Q̄T ) #2)
#(%
$6 )*+ +7328
)%

(u, L̂ψ)0 = (F, ψ)0 + (F1,
∂ψ

∂ν
)1 + (F2,

T∫
0

f1−β(t)ψ(·, t)dt)2 ∀ψ ∈ X(Q̄T ) =0>


# 1288+9 )*+ #'83)
'$ '( )*+ :/';8+< =�>? =�>� @+/+ ν(x) = (ν1(x), . . . , νN (x)) ! )*+ 3$
)+
-+1)'/ '( )*+ 
$$+/ $'/<28 )' )*+ #3/(21+ S 2) )*+ :'
$) x ∈ S�

(
�� �
�� �
� u ∈ C2,β(QT )� ψ ∈ X(Q̄T ) �
� 3���� �
�����∫
QT

u(x, t)(L̂ψ)(x, t)dxdt =

∫
QT

(Lregu)(x, t)ψ(x, t)dxdt+ =1>

+a2
T∫
0

dt
∫
S

u(x, t)∂ψ(x,t)∂ν dS +
∫
Ω

u(x, 0)dx
T∫
0

f1−β(t)ψ(x, t)dt
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(Lregu)(x, t) = g0(x, t), (x, t) ∈ QT =�>

u(x, t) = g1(x, t), (x, t) ∈ Q1T , u(x, 0) = g2(x), x ∈ Ω =@>
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 ��
 ��!���� ���� g0� g1� g2� 8� 
������ ��
� �
��
 ��! �
�
��� � �
�� ����� ���
�� ��!����
!���� ������
�� F = g0� F1 = g1� F2 = g2 �
� �
����
�� 
� �
� ��
����� =�>� =,> ��� =�>�
=@> �
�������

"� #���� $�
���%&	�
�����

!�������� �� 5*+ -+1)'/�(3$1)
'$ (G0(x, t), G1(x, t), G2(x, t)) #31* )*2) 3$9+/ /2)*+/
/+6382/ (3$1)
'$# g0? g1? g2 )*+ (3$1)
'$

u(x, t) =

t∫
0

dτ

∫
Rn

G0(x − y, t− τ)g0(y, τ)dy+ =�>

+

∫
Q1t

G1(x− y, t− τ)g1(y, τ)dSdτ +

∫
Ω

G2(x− y, t)g2(y)dy, (x, t) ∈ QT


# )*+ 182##
128 ='( 182## C2,β(QT )> #'83)
'$ '( )*+ :/';8+< =A>? =B> 
# 1288+9 )*+ C/++$
-+1)'/�(3$1)
'$ '( )*+ :/';8+< =�>? =�> =2# D+88 2# '( )*+ :/';8+< =A>? =B>>�

8� �
��
 � ��
� �
� �������
� , �
��

(LG0)(x, t) = δ(x, t), (x, t) ∈ QT  
��� δ 9 �����/������
� 
� G�����

(LregG1)(x, t) = 0, (x, t) ∈ QT , G1(x, t) = δ(x, t), (x, t) ∈ Q1T ,

(LregG2)(x, t) = 0, (x, t) ∈ QT , G2(x, 0) = δ(x), x ∈ Ω.

8� %0&� %1& �
� ��
������� 
� �
� 3���� 
�����
�� 
� C2,β(R
N × (0, T ])  ��� ��������

;� ����� �
� �
�?�!���� 3���� 
�����
��

(Ĝ0ϕ)(y, τ) =
T∫
τ

dt
∫
Ω

G0(x− y, t− τ)ϕ(x, t)dx�

(Ĝ1ϕ)(y, τ) =
T∫
τ

dt
∫
Ω

G1(x− y, t− τ)ϕ(x, t)dx�

(Ĝ2ϕ)(y) =
T∫
0

dt
∫
Ω

G2(x − y, t)ϕ(x, t)dxdt� ϕ ∈ D(Q̄T )

�� ���

�� 
� �
�  
�#� %1&� %�0&� %��&�

����� �� E'/ 288 ψ ∈ X(Q̄T )

(Ĝ0(L̂ψ))(y, τ) = ψ(y, t), (y, t) ∈ Q̄T , =H>

(Ĝ1(L̂ψ))(y, τ) =
∂ψ(y, t)

∂ν
, (y, t) ∈ Q̄1T , =�>

(Ĝ2(L̂ψ))(y) =

T∫
0

f1−β(t)ψ(y, t)dt, y ∈ Ω. =�7>



!%
������ ���	
���

��� ������ ���	
���

�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

������ 8�  � ���������� �
� �
����
� =�> 
� �
� ��������� ���� �
������ ����� ��
���� =�>�
=@> ���
 �
� �
����� =1>� �
�� �
� ��� ψ ∈ X(Q̄T )  � 
�����

∫
QT

( t∫
0

dτ
∫
Ω

G0(x− y, t− τ)g0(y, τ)dy
)
(L̂ψ)(x, t)dxdt+

∫
QT

( t∫
0

dτ
∫
S

G1(x− y, t− τ)g1(y, τ)dS
)
(L̂ψ)(x, t)dxdt+

+
∫
QT

( ∫
Ω

G2(x− y, t)g2(y)dy
)
(L̂ψ)(x, t)dxdt =

=
∫
QT

g0(x, t)ψ(x, t)dxdt +
∫
Q1T

g1(x, t)
∂ψ(x,t)
∂ν dSdt+

+
∫
QT

g2(x)f1−β(t)ψ(x, t)dxdt�

�
�� ��
∫
QT

( T∫
τ

dt
∫
Ω

G0(x− y, t− τ)(L̂ψ)(x, t)dx
)
g0(y, τ)dydτ+

+
∫
Q1T

( T∫
τ

dt
∫
Ω

G1(x− y, t− τ)(L̂ψ)(x, t)dx
)
g1(y, τ)dSdτ+

+
∫
Ω

( ∫
QT

G2(x− y, t)(L̂ψ)(x, t)dxdt
)
g2(y)dy =

=
∫
QT

g0(x, t)ψ(x, t)dxdt +
∫
Q1T

g1(x, t)
∂ψ(x,t)
∂ν dSdt+

+
∫
QT

g2(x)f1−β(t)ψ(x, t)dxdt�

	
� �
��������� 
� �
� ����� �
��
 � ��
� �
� ������������� 
� g0, g1, g2 �

����� �� 02::
$6 Ĝ0 21)#F D(Q̄T ) → C∞,(0)(Q̄T )�

������ 8� �
��
 � ��
� �
� ������� 
� %�1& �
�� �
� ����������� ������
� G(x, t) 
� �
�

�����
� L �� !���� ��

G(x, t) =
π−N/2tβ−1

|x|N H2,1
2,3

( |x|2
4a2tβ

∣∣∣(1, 1) (β, β)
(1, 1) (N/2, 1) (1, 1)

)
, =��>

 
��� Hm,n
p,q

(
z
∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)
:= H(z) �� �
� A/������
� 
� -
2 %��&�

I� ��
����� =I> =�� ������
�> 
� �
� H/������
�  � �������� �
� �2������
� =��> ���
!�� �
� ������������
�

G(x, t) =
π−N/2tβ−1

|x|N H2,0
1,2

( |x|2
4a2tβ

∣∣∣(β, β)
(1, 1) (N/2, 1)

)
. =�,>

;� ��� �
��
 ��! ��!��������� �
� Hm,n
p,q B

Δ∗ =
∑q

i=1 βi −
∑p

i=1 αi�

a∗ =
∑n

i=1 αi −
∑p

i=n+1 αi +
∑m
i=1 βi −

∑q
i=m+1 βi�

.���� Δ∗ = 2 − β� �� �
��
 � ��
� �
�
��� ��� %��& �
�� ������
� G(x, t) �2���� �
�
��� x �= 0� t > 0 =Δ∗ �= 0>�



 ! �"!#!�$ $!%& '�()*+! (� ,!% -(�. /(�%$ 0�!,�$# ���
���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� !&

F���! ��
����� =)> =�� ������
�> 
� �
� A/������
�  � ���

dG(x, t)

d|x| =
∂G(|x|, t)
∂|x| = −π

−N/2tβ−1

|x|N+1
H3,0

2,3

( |x|2
4a2tβ

∣∣∣ (β, β) (N, 2)
(N + 1, 2) (1, 1) (N/2, 1)

)
,

 
����

∂G(x, t)

∂ν
= −π

−N/2tβ−1

|x|N+1
H3,0

2,3

( |x|2
4a2tβ

(β, β) (N, 2)
(N + 1, 2) (1, 1) (N/2, 1)

) N∑
j=1

xjνj(x)

|x| , =�0>

x ∈ S� .���� Δ∗ = 2 − β� �� �
��
 � ��
� �
�
��� ��� %��& �
�� ������
� ∂G̃0(x,t)
∂ν �2����

�
� ��� x �= 0� t > 0�
J� �� %0&� %1& 
�� ��� ��
�� �� "��� ���

� �
�� �
� ������
�� G0 ��� G =��� ���

�����������> 
��� ����� �
������� 
� ���!����������
"�� γ = (γ1, . . . , γN ) =γj ∈ Z+� j = 1, . . . , N> �� �����/����2� |γ| = γ1 + · · ·+ γN �

Dγ
x = Dγ = ( ∂∂x )

γ = ∂|γ|

∂x
γ1
1 ...∂x

γN
N

�

I������ �
�� G(x, t) = G(|x|, t) =��� �
����
��� ( ∂∂x )γG(x−y, t) = (− ∂
∂y )

γG(x−y, t)
�
� ��� �����/����2 γ>� �� ��
����� 
� �
� �
��
����
� 
� !�������:�� ������
� ��� �����
ϕ ∈ D(Q̄T )  � 
�����

∂
∂τ

T∫
τ

G(x− y, t− τ)ϕ(x, t)dt = ∂
∂τ (G(x− y, t− τ)∗̂ϕ(x, τ) =

= G(x − y, t− τ)∗̂∂ϕ(x,τ)∂τ =
T∫
τ

G(x− y, t− τ)∂ϕ(x,t)∂t dt

=��� �
����
��� ( ∂∂τ )
γ0

∫
QT

G(x−y, t−τ)ϕ(x, t)dxdt = ∫
QT

G(x−y, t−τ)( ∂∂t )γ0ϕ(x, t)dxdt>�
8� ������� �
�������� 
� ������
�� Dγ

xD
γ0
t ϕ(x, t) 
� Q̄T �
� ��� γ0 ∈ Z+ ��� �����/����2

γ� �� �� ��
�!
 �
 ���
������� �
� ����
�� �
����!���� 
� �
� ����!����

T∫
τ

dt

∫
Ω

|G(x − y, t− τ)|dx,
T∫
τ

dt

∫
S

|G(x − y, t− τ)|dSx, =�1>

T∫
τ

dt

∫
S

∣∣∣∂G(x− y, t− τ)

∂νx

∣∣∣dSx. =��>

8� %��& �
� ������
��� 
� �
� H/������
�� �� �
���������� F���! �
� �����:���
� 
�
�
� �
�����
�� =����@> ��� =��0�,> ��
� �
��  
�# �
� 
�������! 
� �
� ��������� 
� �
�
H/������
��  � ����� �
� �
�
����� ���7�, %��&B∣∣∣Hq,0

p,q

(
z
∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

) ∣∣∣ ≤ C|z|
μ+1

2
Δ∗ e−h|z|

1
Δ∗

�
� ���� z → ∞, =�@>

 
��� μ =
q∑
j=1

bj −
p∑
i=1

ai +
p−q
2 � C ��� h = h(a, β) ��� �
������ �
�������� -���
��  �

���
�� �� P, Ĉ, c, Ci, C
∗
i , C

′
i, ci, c

′
i, ĉi, c

∗
i =i = 0, 1, 2, 3> �
�� �
������ �
��������



!'
������ ���	
���

��� ������ ���	
���

�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

F���! =�,> ��� =�0>  � ��� μ + 1
2 = N

2 + 1 − β �
� G� μ + 1
2 = N

2 + 2 − β �
�
∂G
∂ν � Δ

∗ = 2− β �
� �
�
 ������ 	
�� �� =�@>  � !�� �
� �
��
 ��! ���������B

|G(x, t)| ≤ Ĉtβ−1

|x|N ·
( |x|2
tβ

)N+2−2β
2(2−β)

e
−h

(
|x|2
tβ

) 1
2−β

≤ C0

t1−β|x|N �
� |x|2 > tβ , =��>

∣∣∂G(x, t)
∂ν

∣∣ ≤ Ĉtβ−1

|x|N+1
·
( |x|2
tβ

)1+ N
2(2−β)

e
−h

(
|x|2
tβ

) 1
2−β

≤ C1

t1−β |x|N+1
�
� |x|2 > tβ . =�H>

I� �
�
����� ��
� �
�
��� ���, %��& �
� �
��
 ��! ���������
∣∣∣Hm,n

p,q

(
z
∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

) ∣∣∣ ≤ C|z|�|logz|N∗−1, z → 0 =��>



��  
��� � = min
1≤j≤m

Rebj
βj
� N∗ �� �
� !������� 
���� 
� �
� �
��� bjl =

−bj−l
βj

� 1 ≤ j ≤ m�

l = 0, 1, . . . 
� �
� ������
� Γ(bj + βjs)�

;� ��� � = min{1, N2 } = 1 �
� N ≥ 2 =� = 1/2 �
� N = 1> ��� !��

|G(x, t)| ≤ C∗
0

t|x|N−2
,

∣∣∣∂G(x, t)
∂ν

∣∣∣ ≤ C∗
1

t|x|N−1
, �
� |x|2 < tβ =,7>

�� �
� ���� 
� �
� ������ �
��� bjl =�
�� �� N ≥ 3>�

|G(x, t)| ≤ C∗
0

t
ln
tβ/2

|x| ,
∣∣∣∂G(x, t)

∂ν

∣∣∣ ≤ C∗
1

t|x| ln
tβ/2

|x| , �
� |x|2 < tβ , N = 2.

(
  � ��� ��
�� �
� ����
�� �
����!���� 
� ����!���� =�1>�=��>� "�� �
� ��� (y, τ) ∈
Q̄T � ε > 0

QT,ε(y, τ) = QT,ε = {(x, t) ∈ Q̄T : |x− y| < ε, 0 < t− τ < ε2/β}�
Q1T,ε(y, τ) = Q1T,ε = {(x, t) ∈ Q̄1T : |x− y| < ε, 0 < t− τ < ε2/β}�
	
�� �� �
� ���� N ≥ 3� �
� ��� (y, τ) ∈ Q̄T � ε > 0 �
� �
������ =��>� =�H>� =,7>

����� �
��
 ��! ��������� ���������∫
QT,ε(y,τ)

|G(x− y, t− τ)|dxdt ≤
∫

(x,t)∈QT,ε:|x−y|2<(t−τ)β
|G(x − y, t− τ)|dxdt+

+

∫
(x,t)∈QT,ε:|x−y|2>(t−τ)β

|G(x− y, t− τ)|dxdt ≤

≤ C∗
0

ε2/β∫
0

dt

t

∫
x∈Ω:|x−y|2<tβ

|x− y|2−Ndx+ C0

ε2/β∫
0

dt

t1−β

∫
x∈Ω:tβ<|x−y|2<ε2

|x− y|−Ndx ≤

≤ c0

ε2/β∫
0

[t−1

tβ/2∫
0

rdr + tβ−1

ε∫
tβ/2

r−1dr]dt ≤ c∗0ε
2,



 ! �"!#!�$ $!%& '�()*+! (� ,!% -(�. /(�%$ 0�!,�$# ���
���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� !!

∫
Q1T,ε(y,τ)

|G(x− y, t− τ)|dSxdt ≤ c0

ε2/β∫
0

[t−1+ β
2 + tβ−1(t−β/2 − ε−1)]dt ≤ c∗0ε,

∫
Q1T,ε(y,τ)

∣∣∂G(x− y, t− τ)

∂νx

∣∣dSdt ≤ C∗
1

ε2/β∫
0

dt

t

∫
x∈S:|x−y|2<tβ

|x− y|1−N+sdS+

+C1

ε2/β∫
0

dt

t1−β

∫
x∈S:tβ<|x−y|2<ε2

|x− y|−N−1+sdS ≤

≤ c1

ε2/β∫
0

[t−1

tβ/2∫
0

rs−1dr + tβ−1

ε∫
tβ/2

rs−2dr]dt ≤

≤ c′1

ε2/β∫
0

[t−1+ sβ
2 + tβ−1(t(s−2)β/2 − εs−1)]dt ≤ c∗1ε

s.

A��� s ∈ (0, 1) 9 ��

�
���� 
� ������� S �� ��#�� ���
 �
���������
�� ;� !�� �������
������� �� �
� ���� N = 2 ��� �
� G0 ������� 
� G�

����� �� E'/ 2/;
)/2/% ϕ ∈ D(Q̄T ) )*+/+ +G
#)# ψ ∈ X(Q̄T ) #31* )*2)

(L̂ψ)(x, t) = ϕ(x, t), (x, t) ∈ QT .

������ J� �� %��&  � �

 �
�� �
� ������
�

ψ(y, τ) =

T∫
τ

dt

∫
Ω

G0(x− y, t− τ)ϕ(x, t)dx

�� ��������

����� "� G1(x− y, t) = ∂G0(x−y,t)
∂νy

? (x, t) ∈ QT ? (y, τ) ∈ Q1T ?

G2(x, t) = f1−β(t) ∗G0(x, t)? (x, t) ∈ QT �

������ 8� �
��
 � ��
� =H> ��� =�> �
�� �
� ��� ψ ∈ X(Q̄T )� (y, τ) ∈ Q1T

T∫
τ

∫
Ω

∂G0(x− y, t− τ)

∂νy
(L̂ψ)(x, t)dxdt =

T∫
τ

∫
Ω

G1(x− y, t− τ)(L̂ψ)(x, t)dxdt =
∂ψ(y, τ)

∂νy
,

 
����
T∫
τ

∫
Ω

[∂G0(x− y, t− τ)

∂νy
−G1(x− y, t− τ)

]
(L̂ψ)(x, t)dxdt = 0.



())
������ ���	
���

��� ������ ���	
���

�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

I� ����� 0� �
� ����� ϕ ∈ D(Q̄T )� �
��� �2���� �
� ������
� ψ ∈ X(Q̄T ) ���
 �
��

L̂ψ = ϕ �� QT � 	
��

T∫
τ

∫
Ω

[∂G0(x − y, t− τ)

∂νy
−G1(x− y, t− τ)

]
ϕ(x, t)dxdt = 0 ∀ϕ ∈ D(Q̄T ).

I� #�
 � ����� 
� G� I
��/<���
��  � !�� �
� ���� �
����� �� �������
� 
� ������
;� 
����� �
� ���
�� �
����� �� �������
� 
� ����� ������
������ ��
� �
������ =H> ���
=�7>�

(
��� �
�� �� ����� 
� -
����� �
 � 
� ��!�� 
��
�
���� ������
�� ωm(y) =m =
1, 2, . . . > 
� �
� .����/"�
����� ��
����

Δωm + λmωm = 0, y ∈ Ω, ωm(y) = 0, y ∈ ∂Ω

 � ��� �
� ���� 3���� ������
�

G0(x− y, t− τ) = (t− τ)β−1
∞∑
m=0

Eβ(−λma2(t− τ)β)ωm(x)ωm(y)

 
��� Eβ(z) = Eβ−1(z, β) =
∞∑
p=0

zp

Γ(pβ+β) 9 '����!/"�K�� ������
� %�& 
����! �
� ��������

Eβ(−a2λm(t− τ)β) ≤ C
1+a2λm(t−τ)β �

����� '� E'88'D
$6 <2::
$6#

Ĝ0 : D(Q̄T ) → X(Q̄T ), Ĝ1 : D(Q̄T ) → C∞,(0)(Q̄1T )? Ĝ2 : D(Q̄T ) → C∞(Ω̄)
*'89�

������ � 8� �
��
 � ��
� ������ , ��� 0 �
�� Ĝ0 : D(Q̄T ) → X(Q̄T )� I� ����� 1

G1(x − y, t) = ∂G0(x−y,t)
∂νy

� (x, t) ∈ QT � (y, τ) ∈ Q1T � "�� G̃1(x − y, t) = ∂G(x−y,t)
∂νy

�

(x, t) ∈ QT � (y, τ) ∈ Q1T � 8� �
��
 � ��
� =�H> ��� =,7> �
��

|G̃1(x− y, t)| ≤ C1

t1−β |x− y|N+1
�
� |x− y|2 > tβ ,

|G̃1(x− y, t)| ≤ C∗
1

t|x− y|N−1
, �
� |x− y|2 < tβ , N ≥ 3,

|G̃1(x− y, t)| ≤ C∗
1

t|x− y| ln
tβ/2

|x− y| , �
� |x− y|2 < tβ , N = 2

��� �
� ������� ��������� �
� G1(x− y, t) 

���
;� ��� ������
� G2(x, t) ����! ����� 1 ��� ��
������� 
� �
� H/������
��� I���!

�
�� G2(x, t) = f1−β(t) ∗ G0(x, t)� G̃2(x, t) = f1−β(t) ∗ G(x, t)�  � ��� �
� ��
����� =->
=�� ������
�> ��
�� ������
��� ��5���������
� 
� �
� H/������
� ���
����! �
� �2������
�
=�,> ���
�� ���

I������ �� 
�� ���� =n = 0> �
� �
�����
� =����@> 

�� ���
���������� �
� ��
�����

=G> =�� ������
�> �
� λ = |x|2
4a2 �������

G(x, t) = π−N/2tβ−1

|x|N
|x|2
4a2

∞∑
k=0

1
k! (1− |x|2

4a2 )
kH2,0

1,2

(
1
tβ

∣∣∣ (β, β)
(1 + k, 1) (N/2, 1)

)
.

F���! ��
����� =4> =�� ������
�> 
� �
� A/������
��  � !��
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� ()(

G(x, t) = π−N/2tβ−1

4a2|x|N−2

∞∑
k=0

1
k! (1 − |x|2

4a2 )
kH0,2

2,1

(
tβ
∣∣∣ (−k, 1) (1−N/2, 1)
(1 − β, β)

)
.

J� ����� �� ��
����� =->�  � ��� �
��

G̃2(x, t) =
π−N/2

4a2|x|N−2

∞∑
k=0

1
k! (1− |x|2

4a2 )
kH0,3

3,2

(
tβ
∣∣∣(1− β, β) (−k, 1) (1 −N/2, 1)
(1− β, β) (0, β)

)
�

F���! ��
������� =I> ��� =4> 
� �
� A/������
��  � ���
�� �
�� �2������
� �
 ���
�
��
 ��!

G̃2(x, t) =
π−N/2

4a2|x|N−2

∞∑
k=0

1
k! (1 − |x|2

4a2 )
kH0,2

2,1

(
tβ
∣∣∣(−k, 1) (1−N/2, 1)
(0, β)

)
=

= π−N/2

4a2|x|N−2

∞∑
k=0

1
k! (1− |x|2

4a2 )
kH2,0

1,2

(
1
tβ

∣∣∣ (1, β)
(1 + k, 1) (N/2, 1)

)
,

��� ������� �� ��
����� =G>�  � 
����� �
�� G̃2(x, t) �� !���� ��

G̃2(x, t) =
π−N/2

|x|N H2,0
1,2

( |x|2
4a2tβ

∣∣∣(1, β)
(1, 1) (N/2, 1)

)
. =,�>

.���� Δ∗ = 2 − β� �� �
��
 � ��
� �
� �
�
��� ��� %��& �
�� �
� ������
�� G̃2(x, t)
��� G2(x, t) �2��� �
� ��� x �= 0� t > 0�

(
�� �
�� ������
� =,�> �� ���
 �� �
��������� �� %0& ��� ���
 %�@& 3���� ������
� 
�
�
� 4���
� ��
���� �
� �
� ������
�  ��
 ��!������! �����������

J� �� ��

� 
� ����� ,� �� ������� �
�������� 
� ������
�� Dγ
xD

γ0
t ϕ(x, t)� (x, t) ∈ Q̄T

�
� ��� γ0 ∈ Z+ ��� �����/����2 γ� �� ������� �
 ���
������� �
� ����
�� �
����!���� 
�
����!����∫
QT

|G̃i(x− y, t)|dxdt,
∫
Q1T

|G̃i(x− y, t)|dSdt, i = 1, 2,

∫
Q1T

∣∣∣∂G̃2(x− y, t)

∂νx

∣∣∣dSdt.

I� ��
����� =)> 
� �
� ��5���������
� 
� �
� A/������
�  � !��

∂G̃2(x, t)

∂νx
= − π−N/2

|x|N+1
H3,0

2,3

( |x|2
4a2tβ

∣∣∣ (1, β) (N, 2)
(N + 1, 2) (1, 1) (N/2, 1)

) N∑
j=1

xjνj(x)

|x| . =,,>

;� ��� μ+ 1
2 = N

2 �
� �
� A/������
� �� =,�>� μ+ 1
2 = N

2 + 1 �
� �
� A/������
�
�� =,,>� 	
�� �� �������� =�@>  � !��

|G̃2(x, t)| ≤ C

|x|N ·
( |x|2
tβ

) N
2(2−β)

e
−h

(
|x|2
tβ

) 1
2−β

≤ C2

|x|N �
� |x|2 > tβ ,

|∂G̃2(x, t)

∂νx
| ≤ C

|x|N+1
·
( |x|2
tβ

) N+2
2(2−β)

e
−h

(
|x|2
tβ

) 1
2−β

≤ C3

|x|N+1
�
� |x|2 > tβ ,

��� �� �������� =��> �
� |x|2 < tβ

|∂G̃1(x, t)

∂νx
| ≤ C′

1

t|x|N , |G̃2(x, t)| ≤ C∗
2

tβ|x|N−2
, |∂G2(x, t)

∂νx
| ≤ C∗

3

tβ|x|N−1
�� N ≥ 3,
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|∂G̃1(x, t)

∂νx
| ≤ C′

1

t|x|2 ln
tβ/2

|x| , |G̃2(x, t)| ≤ C∗
2

tβ
ln
tβ/2

|x| ,

|∂G̃2(x, t)

∂νx
| ≤ C∗

3

tβ |x| ln
tβ/2

|x| �� N = 2.

(
 � �� �� ��

� 
� ����� ,� �� �
� ���� N ≥ 3  � ��� �
��
 ��! ���������B∫
QT,ε(y,τ)

|G̃1(x− y, t− τ)|dxdt ≤
∫

(x,t)∈QT,ε:|x−y|2<(t−τ)β
|G̃1(x− y, t− τ)|dxdt+

+

∫
(x,t)∈QT,ε:|x−y|2>(t−τ)β

|G̃1(x− y, t− τ)|dxdt ≤

≤ C∗
1

ε2/β∫
0

dt

t

∫
x∈Ω:|x−y|2<tβ

|x− y|1−Ndx + C1

ε2/β∫
0

dt

t1−β

∫
x∈Ω:tβ<|x−y|2<ε2

|x− y|−N−1dx ≤

≤ c1

ε2/β∫
0

[t−1

tβ/2∫
0

dr + tβ−1

ε∫
tβ/2

r−2dr]dt ≤ c∗1ε ∀(y, τ) ∈ Q1T ,

∫
QT,ε(y,0)

|G̃2(x− y, t)|dxdt ≤

≤ C∗
2

ε2/β∫
0

t−βdt
∫

x∈Ω:|x−y|2<tβ
|x− y|2−Ndx+ C2

ε2/β∫
0

dt

∫
x∈Ω:tβ<|x−y|2<ε2

|x− y|−Ndx ≤

≤ c2

ε2/β∫
0

[t−β
tβ/2∫
0

rdr +

ε∫
tβ/2

r−1dr]dt ≤ c′2

ε2/β∫
0

[1 + ln
ε

tβ/2
]dt ≤ c∗2ε

2/β ∀y ∈ Ω̄,

∫
Q1T,ε(y,τ)

|G̃1(x− y, t− τ)|dSxdt =
∫

Q1T,ε(y,τ)

|∂G(x− y, t− τ)

∂ν
|dSxdt ≤ c∗1ε

s

∀(y, τ) ∈ Q̄T , s ∈ (0, 1)

=��� ��

� 
� ����� ,>�

∫
Q1T,ε(y,0)

|G̃2(x− y, t)|dSxdt =
ε2/β∫
0

dt

∫
S

|G̃2(x− y, t)|dSx ≤

≤ c

ε2/β∫
0

[

∫
x∈S:|x−y|2<tβ

|G̃2(x− y, t)|dS +

∫
x∈S:tβ<|x−y|2<ε2

|G̃2(x− y, t)|dS]dt ≤
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� �
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� ��������� ���	� ������ �� ()"

≤ c

ε2/β∫
0

[C∗
2 t

−β
∫

x∈S:|x−y|<tβ
|x− y|2−NdS + C2

∫
x∈S:tβ<|x−y|2<ε2

|x− y|−NdS]dt ≤

≤ ĉ2

ε2/β∫
0

[1 + t−β/2 − ε−1]dt ≤ c∗2ε
1
β−1 ∀y ∈ Ω̄,

∫
Q1T,ε(y,0)

|∂G̃2(x− y, t)

∂νx
|dS ≤

≤ C∗
3

ε2/β∫
0

[t−β
∫

x∈S:|x−y|2<tβ
|x− y|1−Ndx+ C3

∫
x∈S:tβ<|x−y|2<ε2

|x− y|−1−Ndx]dt ≤

≤ c3

ε2/β∫
0

[t−β
tβ/2∫
0

rs−1dr +

ε∫
tβ/2

rs−3dr]dt ≤ c∗3ε
2(1−β)

β +s, ∀y ∈ Ω̄, s ∈ (0, 1), ε > 0.

;� !�� ������� ������� �� �
� ���� N = 2�

'� ()� �������
� ��� 	��*	����� �)������

()����� �� .$9+/ #3::'#
)
'$ =,> )*+ 3$
73+ #'83)
'$ u ∈ D′(Q̄T ) '( )*+ :/';8+< =�>?
=�> +G
#)#� �) 
# 6
-+$ ;% )*+ ('/<382

(u, ϕ)QT = (F, Ĝ0ϕ)0 + (F1, Ĝ1ϕ)1 + (F2, Ĝ2ϕ)2 ∀ϕ ∈ D(Q̄T ). =,0>

������ 8� �
��
 � ��
� ����� � �
��

Ĝ0ϕ ∈ X(Q̄T ), Ĝ1ϕ ∈ C∞,(0)(Q1T ), Ĝ2ϕ ∈ D(Ω̄) ∀ϕ ∈ D(Q̄T ).

.
� �
� ��!
�/
��� ���� �� �
����� =,0> ��#�� ����� ��� �
� ������
� u ∈ D′(Q̄T ) ��
������ �� =,0>�

.����������! �
� ������
� =,0> ���
 �������� =0>� ����! ����� ��  � �

 �
�� �
�
������
� =,0> �������� �
� ��
���� =�>� =,>B

(u, L̂ψ)QT = (F, Ĝ0(L̂ψ))0 + (F1, Ĝ1(L̂ψ))1 + (F2, Ĝ2(L̂ψ))2 =

= (F, ψ)0 + (F1,
∂ψ
∂ν )1 + (F2(x),

T∫
0

f1−β(t)ψ(x, t)dt)2 ∀ψ ∈ X(Q̄T )�

"�� u1, u2 �� �
����
�� 
� �
� ��
���� =�>� =,>� 8� �
��
 � ��
� �
� �
����
�L� �������
�
�
�� ������
� u = u1 − u2 �������� �
� �
�����
�

(u, L̂ψ)QT = 0 ∀ψ ∈ X(Q̄T )�

I� ����� 0� �
� ����� ϕ ∈ D(Q̄T )� �
��� �2���� ������
� ψ ∈ X(Q̄T ) ���
 �
��

L̂ψ = ϕ �� Q̄T � 	
��� ��
� �
� �����
�� ��������� (u, ϕ)QT = 0 �
� ����� ϕ ∈ D(Q̄T )�
�
�� �� u = 0 �� D′(Q̄T )� 	
� �
�
��� �� ��
����
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+� ,���� �����-�� 	
� ������ 
� �
� �
�
��� � ��� �� ����
���B �� �������! �� 
��
������� 
� �
�?�!���� 3���� 
�����
�� �� �� %�,&  � ��� ��� �
� �
������� 
� �
�
�
����
�L� ���!��������� �� �
� �
������ 
� �
� �
���� ���?��� �
 �
� ���!��������� 
� �
�
��!
�/
��� ���� 
� �
� ������
� ��� ���?��� �
 �
� 
����� 
� �
� ���!��������� 
� !����
!�������:�� ������
�� �� ������� ��� �
������ �
�����
���

	
� 
������� ������� 
��� �2�����
� �
 �
� ������
�

u
(β)
t −

n∑
j=1

bju
(α)
xj

= F (x, t), (x, t) ∈ Ω× (0, T ]

 ��
 ������� <������/"�
������ ������
��� ����������� u
(α)
xj ��� �
������ �
�6������ bj �

j = 1, n ����� �
� �
�����
�
n∑
j=1

bjp
α
j ≥ C0 �
� ��� p ∈ Rn, |p| = 1 =�
� ��������� 
� �
�

����������� �
����
��  ��� !���� �� %��&> ��� ���
 �
 �
� ������
�

u
(β)
t + a2(−Δ)α/2u = F (x, t), (x, t) ∈ Ω× (0, T ]

 
��� �
� ������
��� �/�������
��� "������ 
�����
� (−Δ)α/2 �� ������ �� ��� -
�����
������
��B F[(−Δ)α/2ψ(x)] = |λ|αF[ψ(x)]�

;� ��� ���
 ����� �
� !�������:�� �
������ ����� ������! 
� �
�����
����!
��
����� �
� ����/������ ������
��

u
(β)
t (x, t)− a2Δu(x, t) = f(x, t, u(x, t)), (x, t) ∈ Ω× (0, T ]

�� �
� ���

�� 
� %�H&�
.� 
�������� A���  � ������ �
�� ��
������� 
� �
� A/������
� 
� -
2

Hm,n
p,q

(
z
∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)
:= H(z)

��
� %��&  
��
  ��� ������� �� �����
�� �����
��� ;� 
���

H(z) =

∫
C

H(s)z−sds,

 
���

H(s) =
Πmj=1Γ(bj + βjs)Π

n
i=1Γ(1− ai − αis)

Πqi=n+1Γ(ai + αis)Π
p
j=m+1Γ(1− bj − βjs)

,

z−s = exp[−s(log|z|+ iargz)], z �= 0, i2 = −1,

C �� ������� �
��
��  
��
 ��������� ��� �
� �
��� bjl =
−bj−l
βj

� 1 ≤ j ≤ m� l = 0, 1, . . . 
�

�
� ������
�� Γ(bj+βjs) �
 �
� ���� ��� ��� �
� �
��� aik = 1−ai−k
αi

� 1 ≤ i ≤ n� k = 0, 1, . . .


� �
� ������
�� Γ(1 − ai − αis) �
 �
� ��!
� =����� ����
����
� �
�� �
��� �
��� �
 �
�
�
������>�

�
� 9 �������	 
�� %��&� 	
� H/������
� �� ��������� �� �
� ��� 
� ����� (a1, α1)�
� � � � (an, αn)M �� (an+1, αn+1), . . . , (ap, αp)M �� (b1, β1), . . . , (bm, βm) ��� ��
(bm+1, βm+1), . . . , (bq, βq)�

�/� 9 �������	 
�
 %��&� -
� n ≥ 1� q ≥ m



 ! �"!#!�$ $!%& '�()*+! (� ,!% -(�. /(�%$ 0�!,�$# ���
���� �����	�

� �
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� ��������� ���	� ������ �� ()$

Hm,n
p,q

(
z
∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq−1, βq−1) (a1, α1)

)
=

= Hm,n−1
p−1,q−1

(
z
∣∣∣(a2, α2) . . . (ap, αp)
(b1, β1) . . . (bq−1, βq−1)

)
.

�0� 9 �������	 
�� %��&�

Hm,n
p,q

(
1
z

∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)
= Hn,m

q,p

(
z
∣∣∣(1− b1, β1) . . . (1 − bq, βq)
(1− a1, α1) . . . (1 − ap, αp)

)
.

�!� 9 �
����� 
�� %��&� -
� ��� λ ∈ C� m > 0 ��� ����� �
�����
� =����@> 
� �
��
 
�#�

Hm,n
p,q

(
λz

∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)
=

= λ
b1
β1

∞∑
k=0

1
k! (1 − λ

1
β1 )kHm,n

p,q

(
z
∣∣∣ (a1, α1) . . . (ap, αp)
(b1 + kβ1, β1) . . . (bq, βq)

)
�

�1� 9 �������	 
�� %��& ����� �
� ��������������� -
� ω, c ∈ C� σ > 0� k = 0, 1, . . .

( ddz )
k
[
zωHm,n

p,q

(
czσ

∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)]
=

= zω−kHm,n+1
p+1,q+1

(
czσ

∣∣∣(−ω, σ) (a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq) (k − ω, σ)

)
=

= (−1)kzω−kHm+1,n
p+1,q+1

(
czσ

∣∣∣ (a1, α1) . . . (ap, αp) (−ω, σ)
(k − ω, σ) (b1, β1) . . . (bq, βq)

)
�

�,� 9 �
����� 
�� %��& ����� ���������� ��������������� -
� a∗ > 0� σ min
1≤j≤m

[
Rebj
βj

] +

Reω > −1� � > 0

f�(z) ∗
[
zωHm,n

p,q

(
zσ

∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)]
=

= zω+�Hm,n+1
p+1,q+1

(
zσ

∣∣∣(−ω, σ) (a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq) (−ω − �, σ)

)
.

����������
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�G� @AB8CDEF 4 a�O bJ?IJ� 1777� 4 N;1 
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11� P5Q7DCFNRCE S�T� jJBJeJ gDf= BZA ?CJKFLF=_ ] BCDEFD_ HCD=@KDBFD_ HD KCL`LF= K

HCD]YCJF]YKL DEDEdLFF\k >?FI^=_ 3 S�T� P5Q7DCFNRCE� ;�U� P5Q7DCFNRK:� U�J� TC!

NK6FKR 33l=E� `JYL`� m?CF� 4 5611� 4 M� Q5� 8N� 4 l� 15WW�1577�
15� P5Q7DCFNVRC S�T� jJBJeJ gDf
 BZA C
KFAF[ @ BCDEDK=`= HDk
BF=`= @J eJ]DKDn YJ HCD]�

YDCDK=`= @`
FF=`= K HCD]YDCJk ?@JGJZ[FLF=k >?FI^
_ 3 S�T� P5Q7DCFNVRC� ;�U� P5!

Q7DCFNVRK: 33cIC� `JY� m?CF� 4 5615� 4 M� N9� 8W� 4 l� 16N;�16W6�
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1;� P5Q7DCFNVRC S�T� p?FBJ`LFYJZ[F=_ CD@KqA@DI C
KFAF[ @ eJ]Y=FF=`= BCDEDK=`= HD�

k
BF=`= 3 S�T� P5Q7DCFNVRC� ;�U� P5Q7DCFNVRK: 33r
]F� s[K
K� ?F�Y?� lLC� `Lk��`JY�
4 5615� 4 r=H� ;N� 4 l� 9N�QQ�

1W� P5Q7DCFNVRC S� c@JGJZ[FLF
 ICJ_DK
 @FJeLFFA CD@KqA@I
K H
KZ
F
_F=k LZ
HY=eF=k YJ
HJCJEDZ
eF=k C
KFAF[ 3 S� P5Q7DCFNVRC� U� Z[KB 33bLZ=F� GCJF� @JBJe=� 4 566;� 4
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+,-.+-/�.+� 0/12-3� 41.15� .67 /�3+7+8
4 ./-9-3-: ;-<�.+-: 3 ;/-=>-/1<

?41@168+,+A< B?+0C�2

1DEF�G 6-;?H1+=80A21� @IJKDI 6-;?H1+=8012

1�FNXKX7X [CX9[CXKRK� \ED�MNVRK: 7F�M9BNKX9X�

CL� \9:XCFC� �� �� \ED�M� � !" "� T5LV]C
2PVM�MNVRK: FC^�5FCLVFK: 7F�M9BNKX9X �[9F� �MCFC _BCFRC�

M7L� `F�M9BNKX9XNVRC� �� PVM�M� *"+++

�!
���, ���-������&��./
������
� ��-.�&�����

<DKLBLFD YLDCL`? 
]F?KJFFA YJ tB=FD]Y
� DBLCmJFD @DECJmLFFA @J BD�
HD`DGDn KLIYDC�>?FI^
u oC
FJ CD@KqA@I? @JBJe


u
(β)
t (x, t)− a2Δu(x, t) = F (x, t), (x, t) ∈ Ω× (0, T ], a = const

u(x, t) = F1(x, t), (x, t) ∈ ∂Ω× (0, T ], u(x, 0) = F2(x), x ∈ Ω

@ BCDEDKDn HDk
BFDn i
`JFJ�s
?K
ZZA u
(β)
t HDCABI? β ∈ (0, 1) YJ F � F1� F2


@ HCD]YDC
K ?@JGJZ[FLF=k >?FI^
_ D′�

4La65M� NL5MC, HDk
BFJ BCDEDKDGD HDCABI?� ?@JGJZ[FLFJ >?FI^
A� ICJ�
_DKJ @JBJeJ� KLIYDC�>?FI^
A oC
FJ�

+,-.+-/-.+L, 0/1,3L, 41.15A .67 ?/13+,+A2
= ./-9+-2 ;/-A43-.+-2 3 ;/-=>/1+=>31<

-9-9M,++L< B?+0CA2

1DEFNG 6-;?H1+=0A21� @IJKDI 6-;?H1+=0172

1bFNXKX7X [CX9[CXKRK� c9D5MNRK: 7FKM9BNKX9X�

CL� \9:XCFC� �� �� c9D5M� � !" "� T5LVDC
2PVM5MNRK: FC^K5FCLVF�: 7FKM9BNKX9X K[9FK bMCFC _BCFR5�

7L� `FKM9BNKX9XNRCE� �� PVM5M� *"+++

�!
���, ���-������&��./
������
� ��-.�&�����

<DIJ@JFJ YLDCL`J ]?dL]YKDKJF=A = LB=F]YKLFFD]Y=� HDZ?eLFD HCLB�
]YJKZLF=L ] HD`Dd[n KLIYDC�>?FI^== oC=FJ CLfLF=A @JBJe=

u
(β)
t (x, t)− a2Δu(x, t) = F (x, t), (x, t) ∈ Ω× (0, T ], a = const

u(x, t) = F1(x, t), (x, t) ∈ ∂Ω× (0, T ], u(x, 0) = F2(x), x ∈ Ω

] BCDEFD_ HCD=@KDBFD_ i=`JFJ�s=?K=ZZA u
(β)
t HDCABIJ β ∈ (0, 1) = F � F1�

F2 =@ HCD]YCJF]YK DEDEdLFF\k >?FI^=_ D′�

4La69Md9 NL5MC, HCD=@KDBFJA BCDEFDGD HDCABIJ� DEDEdLFFJA >?FI^=A�
ICJLKJA @JBJeJ� KLIYDC�>?FI^=A oC=FJ�



���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��� �� ��� ���

!
"#$% &' ()* +,
, -#
,� �*.
*" /*0)� /1()� ���	� �""2* ��� 3� ��� ���

��� �����

������� �	
 ����� ���������



���� �������

��������� �	 
����
�� ���������
� ��� �������� �
���
�
�������
� ����� 
�������
�� �����������

�������� �����  � �������
�� !"#$$
�%����& �����'�������(��������
��

������� �	 
������ 
�� �������� ������
�� 
�� �������� ���������� 	�� 
��
����
���
� ������ �� �� �����
� 
�� ������

)�� *����& ����� 
������ ����
���
��

	

 ��
�� ��� ��
������� �� �� ����������� ���� �
�� ��=� �
� �

 ����
�� ��� 
���
�
������

��� R �� � ��
��  �� �������� �� 
��� R!����
�� ��

 �� ��
���� �� R −Mod� "�
���

 ����� N ≤ M �� N �� � �������
� �� M �  �� ��� �� �

 R!�
�����#����� �� M ��


�� ��
���� �� End(M)� ��� J(M)��
��� ��� $������
 ������
 �� M � ��� N ≤ M �
�
f ∈ End(M)� %��

(N : f)M = {x ∈ M | f(x) ∈ N} , End(M)N = {f ∈ End(M) | f(M) ⊆ N} .

��� E �� ���� 
�
!��#�� ��

�����
 �� �������
�� �� � 
��� R!����
� M �
&�
����� ��� ��

���
� ��
�����
�'

L ∈ E,L ≤ N ≤ M ⇒ N ∈ E; (�)

L ∈ E, f ∈ End(M) ⇒ (L : f)M ∈ E; (�)

N,L ∈ E ⇒ N
⋂

L ∈ E; (*)

N ∈ E,N ∈ Gen(M), L ≤ N ≤ M ∧ ∀g ∈ End(M)N : (L : g)M ∈ E ⇒ L ∈ E; (�)

��������� �	 4 #&#�*56($ 0&77*0(
&# E &' "285&927*" &' 1 7*'( R�5&927* M "1(
"'$
#:
(�); (�); (*) 
" 0177*9 1 6.*.19
017 <7(*. &' M ="** +�,>�

��������� 
	 4 #&#�*56($ 0&77*0(
&# E &' "285&927*" &' 1 7*'( R�5&927* M "1(
"'$
#:
(�); (�); (�) 
" 0177*9 1 .19
017 <7(*. &' M="** +�,>�

�© ������� 	�
� �
��
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� ���

��������� �	 4 6.*.19
017 =.19
017> <7(*. E &' 1 7*'( R�5&927* M 
" "1
9 (& 8* (.
,
17

' *
()*. E = {L |L ≤ M} &. E = {M}�
�
����� �	 +*( M 8* 1 7*'( R�5&927* "20) ()1( M = M1 ⊕ M2 ⊕ ... ⊕ Mn; ?)*.*
Mi = TrM (Mi) '&. *10) i ∈ {1, 2, ..., n} 1#9 ∀S : S ≤ M ⇒ S ∈ Gen(M)� �' Ei 
" 1
.19
017 @6.*.19
017A <7(*. &' Mi '&. *10) i ∈ {1, 2, ..., n}; ()*# E = {J1 + J2 + ... + Jn|
Ji ∈ Ei(i ∈ {1, 2, ..., n})} 
" 1 .19
017 @6.*.19
017A <7(*. &' M �

������ ��� Ei �� � ������
 +#��������
, -
��� �� Mi ��� ���� i ∈ {1, 2, ..., n}� %��
E = {J1 + J2 + ...+ Jn |Ji ∈ Ei(i ∈ {1, 2, ..., n})}.

(�) ��� J1 + J2 + ... + Jn ≤ S ≤ M . ����� J1 ∈ E1, J2 ∈ E2, ..., Jn ∈ En� 	� �

��� �����. �� � ����
�� ������
�. S = S1 + S2 + ...+ Sn. ����� Si = TrS(Mi) = fi(S)�
/�
�� Ji ≤ Si ��� �
� i ∈ {1, 2, ..., n}� 0� (�) ��� ������
 +#��������
, -
����. Si ∈ Ei ���
�
� i ∈ {1, 2, ..., n}� /�
�� S ∈ E�

(�) ��� J1 ∈ E1, J2 ∈ E2, ..., Jn ∈ En, F ∈ End(M)� 1�
�� Mi �� ��

� �
�����
� ���
�
� i ∈ {1, 2, ..., n}. F (Mi) ⊆ Mi ��� �
� i ∈ {1, 2, ..., n}� &�
�����

Fi : Mi → Mi, Fi(m) = F (m), (m ∈ Mi).

/�
�� Fi ∈ End(Mi)� "� �
��� ����

(J1 : F1)M1 + (J2 : F2)M2 + ...+ (Jn : Fn)Mn = ((J1 + J2 + ...+ Jn) : F )M .

2
����. 
�� x ∈ M,x = x1 + x2 + ...+ xn, ∀i ∈ {1, 2, ..., n} : xi ∈ Mi� /�
��

x ∈ (J1 : F1)M1 + (J2 : F2)M2 + ...+ (Jn : Fn)Mn ⇔ ∀i ∈ {1, 2, ..., n} : xi ∈ (Ji : Fi)Mi ⇔
⇔ ∀i ∈ {1, 2, ..., n} : Fi(xi) ∈ Ji ⇔ ∀i ∈ {1, 2, ..., n} : F (xi) ∈ Ji ⇔
⇔ F (x) ∈ J1 + J2 + ...+ Jn ⇔ x ∈ ((J1 + J2 + ...+ Jn) : F )M .

0� (�) ��� ������
 +#��������
, -
����. (Ji : Fi)Mi ∈ Ei ��� �
� i ∈ {1, 2, ..., n}�
 �������� ((J1 + J2 + ...+ Jn) : F )M ∈ E�

(*) J1 ∈ E1, J2 ∈ E2, ..., Jn ∈ En, T1 ∈ E1, T2 ∈ E2, ..., Tn ∈ En� 0� (*) ���
#��������
 -
����. J1

⋂
T1 ∈ E1, J2

⋂
T2 ∈ E2, ..., Jn

⋂
Tn ∈ En� /�
��

(J1 + J2 + ...+ Jn)
⋂

(T1 + T2 + ...+ Tn) = J1
⋂

T1 + J2
⋂

T2 + ...+ Jn
⋂

Tn ∈ E.

(�) ��� N1 ∈ E1, N2 ∈ E2, ..., Nn ∈ En. L ≤ N ≤ M . ∀g ∈ End(M)N : (L :
g)M ∈ E. ����� N = N1 + N2 + ... + Nn� 	� �
 ��� ����� ��
���������
. �� �����

L = L1 ⊕L2 ⊕ ...⊕Ln. ����� Li = TrL(Mi) = fi(L)� 1�
�� L ≤ N . �� �� ����
� ���
 ����
Li ≤ Ni ��� �
� i ∈ {1, 2, ..., n}� ��� gi �� �
 ��������� �
���
� �� End(Mi)Ni � &�
�����

g : M → M,x1 + x2 + ...+ xi + ...+ xn �→ gi(xi), (x1 ∈ M1, x2 ∈ M2, ..., xn ∈ Mn).

/�
�� g ∈ End(M)N � 2� �� ������� ���� fi((L : g)M ) = (Li : gi)Mi � 1�
�� (L : g)M ∈
E. (Li : gi)Mi = fi((L : g)M ) ∈ Ei�

&
��� ����

∀s ∈ {1, 2, ..., n} ∀K ≤ Ms : K ∈ Gen(Ms).

2
����. 
�� K ≤ Ms� 1�
�� K ∈ Gen(M). TrK(M) = K� 0� %��#������
 3���
+�,. K = TrK(M) =

∑n
i=1 TrK(Mi)� 0�� TrK(Mi) ≤ K

⋂
TrM (Mi) = K

⋂
Mi ≤

Ms

⋂
Mi = 0 ��� �
� s �= i� /�
�� K = TrK(M) = TrK(Ms)�  �������� K ∈ Gen(Ms)�
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�� ������ ���
� ��������� ���	� ������ ��

"��
�� Ni ∈ Gen(Mi) ��� �
� i ∈ {1, 2, ..., n}� 4�� �� �����
 Ni ∈ Ei, Ni ∈
Gen(Mi), Li ≤ Ni ≤ Mi ∧ ∀gi ∈ End(Mi)Ni : (Li : gi)Mi ∈ Ei� 0� (�) ��� ������

+#��������
, -
��� Ei �� Mi. Li ∈ Ei�  �������� L = L1 + L2 + ...+ Ln ∈ E�

��������� �	 +*( R = R1 ⊕ R2 ⊕ ... ⊕ Rn; ?)*.* Ri 
" 1 #&#�B*.& (?&�"
9*9 
9*17 '&.
*10) i ∈ {1, 2, ..., n}� �' Ei 
" 1 .19
017 @6.*.19
017A <7(*. &' Ri '&. *10) i ∈ {1, 2, ..., n};
()*# E = {J1+J2+ ...+Jn |Ji ∈ Ei(i ∈ {1, 2, ..., n})} 
" 1 .19
017 @6.*.19
017A <7(*. &' R�

������ 2� �� ���� �� ��� ���� Ri = TrR(Ri) ��� ���� i ∈ {1, 2, ..., n} �
� ∀S : S ≤ R ⇒
S ∈ Gen(R)�

�
����� 
	 �' M 
" 1 7*'( R�5&927* ?
() J(M) �= M ; ()*# *,*.$ 6.*.19
017 <7(*. &'
M 
" (.
,
17 
' 1#9 &#7$ 
' M 
" 1 <#
(*7$ :*#*.1(*9 "*5
"
567* 5&927* 1#9 177 5
#
517
"285&927*" &' M 1.* 
"&5&.6)
0�

������ (⇒) 	����� ���� ����� #��������
 -
��� �� M �� ������
� ��� Ss�� ��� �
��� �� �


�������#
� ����
�� �� M � &�
�����

F := {L ≤ M | M/L ∈ Ss}.
1�
�� J(M) �= M . F �= {M}�
(�) ��� L ≤ K,L ∈ F �  ��
 ����� �5���� �
 �5��� ��6��
�� M/L → M/K → 0�

/�
�� K ∈ F �
(�) ��� L ∈ F, f ∈ End(M)� 1�
�� ����� �5���� �
 �5��� ��6��
�� 0 → M/(L :

f)M → M/L. (L : f)M ∈ F �
(*) ��� L,N ∈ F � 1�
�� ����� �5���� �
 �5��� ��6��
�� 0 → M/(L

⋂
N) → M/L×

M/N . L
⋂
N ∈ F �

 �������� F �� � #��������
 -
����
1�
�� F �� � #��������
 -
��� �
� F �= {M}. 0 ∈ F � /�
�� M �� �������#
��
"� ���

 ���� ���� �

 ��
���
 �������
�� �� M ��� ������#���� 1�##��� ����

L,N ��� 
�
!������#��� ��
���
 �������
�� �� M � /�
�� TrM (L), T rM (N) ���
��

� �
�����
� �������
�� �� M � 1�
�� L,N ��� 
�
!������#���. TrM (L), T rM (N)
��� �
��#�
��
�� /�
�� TrM (L)

⋂
TrM (N) = 0� 1�
�� 0 �= L ⊆ TrM (L)&0 �= N ⊆

TrM (N)&TrM (L)
⋂
TrM (N) = 0. 0 �= TrM (L) �= M �  �7�
� �
�� �����
� ���� TrM (L)

�� � ��

� �
�����
� �������
� �� M . �� �� ����
� ���
 ���� {B ≤ M |TrM (L) ≤ B} �� �

�
!������
 #��������
 -
��� �� M . ��
����� �� ��� ���� ���� ����� #��������
 -
��� �� M
�� ������
�

1�
�� �

 ��
���
 �������
�� ��M ��� ������#���.M ��� �5���
� �
� ������
����
���#�
�
��

1�##��� ����M �� 
�� � -
���
� ��
������ ����
�� /�
��M = ⊕
i∈A

Pi. ����� Pi
∼= P

��� ���� ��
���
 �������
� P ≤ M . Card(A) = ∞�
%��

E := {T | T ≤ M, M/T �� -
���
� ��
������ }.
��� a ∈ A� %��

K :=
∑

i∈A\{a}
Pi.
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� ���

2� �� ������� ����M/K = (K⊕Pa)/K ∼= Pa �� -
���
� ��
�������  �������� K ∈ E�
1�
�� M/0 ∼= M �� 
�� -
���
� ��
������. 0 /∈ E�

/�
�� E �= {T |T ≤ M} �
� E �= {M}�
(�) ��� L ∈ E,L ≤ N ≤ M �  ���� �5���� �
 �5��� ��6��
�� M/L → M/N → 0�

1�
�� M/L �� -
���
� ��
������ �
� M/N �� �
 �#����#��� ����� �� M/L. M/N ��
-
���
� ��
������� /�
�� N ∈ E�

(�) ��� L ∈ E, f ∈ End(M)� 0� ����� � +*,. M/(L : f)M ∼= f(M)/(f(M)
⋂
L)�

0� &���

��� *�8 (*) +�. #� �9,. f(M)/(f(M)
⋂
L) ∼= (f(M)+L)/L� 1�
�� (f(M)+L)/L

�� � �������
� �� � -
���
� ��
������ �������#
� ����
� M/L. M/(L : f)M �� -
���
�
��
������� /�
�� (L : f)M ∈ E�

(*) ��� N,L ∈ E� /�
�� M/N,M/L ��� -
���
� ��
������ �������#
� ����
��� 2�
��

��� ���� ���� ���� M/N ×M/L�� -
���
� ��
������ �������#
�� 1�
�� ����� �5���� �

�5��� ��6��
�� 0 → M/(N

⋂
L) → M/N ×M/L �
� M/N ×M/L �� -
���
� ��
������

�������#
�. M/(N
⋂
L) �� -
���
� ��
������� /�
�� N

⋂
L ∈ E�

4�� �� �����
 ���� E �� � 
�
!������
 -
���. ��
����� �� ��� ���� ���� ����� #��������

-
��� �� M �� ������
� 2� ���
� ���� M �� -
���
� ��
�������

(⇐) 	����� ���� M �� � -
���
� ��
������ �������#
� ����
� �
� �

 ��
���

�������
�� �� M ��� ������#���� /�
�� M �� � -
���
� ��
������ �������#
� ����
�
���� � �
�6�� ������
���� ���#�
�
�� 	����
� �� �
 ��� #���� ��  ������ � +*, �� ��

���� ���� �

 #��������
 -
���� �� M ��� ������
�

��������� 
	 477 6.*.19
017 <7(*." &' R 1.* (.
,
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' 1#9 &#7$ 
' R ∼= Mn(T ) '&. "&5*
9
,
"
&# .
#: T 1#9 n ∈ N�

������ 0�  ������� � �
� �*�� +�,�

����������������	 2 ���
� 
�7� �� ���
7 %�������� :�;�� <����
���7�� �
�
	�������� %�������� =��� /�������7 ��� ��
#��
 ���������
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����������

%� +������� ,�-� ����� 
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"���������(��) $��*+ ��������� %,-.� / .01 ��
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� �	������������
� �� ������ �����

����� ! " #���$ $"%#��� �&"�� $�'()" %*+�,("� -�-�.�

����� ℘i(z)� (i = 1, 2) � ��	�
��
�� ��������� ������
�� ������� ������
������� � ��	�
��
���� �� ���������! "������� ������ �������	� ��
���
����# ���
��$ ������ � ��� ������� � �����%�� �����!

/
01��� �
��
! ������� ��
������#� ������
�� ������# ������������!

�� ������ �	
�� ℘1(z), ℘2(z) 
 ���	������ �	���	��� 	�������� �������  	�!�"
#���$$� � ���	������%� ��&�������%� g1,2, g1,3, g2,2, g2,3. '������%� (ω1, ω

′
1)( (ω2, ω

′
2)


 ���� �$��&��
 �	���)�& ℘1(z), ℘2(z)( &�)��&�)�� *�+( *,+� �	
�� ω∗
1 ∈ {ω1, ω

′
1}(

ω∗
2 ∈ {ω2, ω

′
2} 
 ���� ��$��( -� ��&��..�/ �	#����� 0	� �%	�#	��1 �����/��$��

����%	%� ω∗
1 = ω1( ω

∗
2 = ω2�  &�����%	%�( -� �����( ������ ω1( �	 ! ���.$�%�

℘2(z)( � ������ ω2( �	 ! ���.$�%� ℘1(z)�
2	�	� d(P )( L(P ) �������%� $�	���/ � )�&���� ������%� P � ����%� ��	����!�"

��%�( �	�	� d(α)( L(α) 
 $�	���/ �� )�&���� ���	�������� ��$�� α3 ξi 
 )�&��/��
���	������ ��$��( di = d(ξi) �� Li = L(ξi) 
 �
�� $�	�	�� �� )�&����( &�)��&�)��(
n = degQ(ξ1, ξ2, g1,2, g1,3, g2,2, g2,3)�

�	
�	�
 �� 4�56 �67� 8 69�� : 7���; ℘1(ω2), ℘2(ω1) �����<��9�����= �6 9;� 96�

�
;���� �;>�8��7��� 7���; ξ1, ξ2 �����9?�@���� 6<
���

max{|℘1(ω2)− ξ1|, |℘2(ω1)− ξ2|} > exp
(−Λn3M2

)
, 4�5

9�

M = max

(
lnL1

d1
+

lnL2

d2
+ 1, lnn

)
, 4,5

Λ > 0  �6������� :�;�?�� ;�A� �
9 7���; g1,2, g1,3, g2,2, g2,3.

'�)���� ������ �� ���%��.&���1 ��)�� %���� ������ & *�+�
�� �
�	�	��� �	
�	�� �� ��&�)���%	%� �	��	%� )����% %	��)�% 6	�/���"

)�( &����)	��% ����#	 � *7+( *�+� 0�)	%� &�����$��&�&��� &�)�%� &��$��&�$�� 	���"
�����
 �������  	�!�#���$$�( ���%��.&���1 1��
 %���� ������( ��������)( &
*�+( *7+( *�+�

�© ����� ��	 
����
� ��	 ����



&&'
����� ���	�
 ��
���� �������

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

'����$��%�( -� �%�&� 4�5 �	 &�����!�/$1( �����

max{|℘1(ω1)− ξ1|, |℘2(ω2)− ξ2|} < exp
(−λ7 n2M3

)
4�5

)�1 )�$��/ &	������ λ ∈ N� '���%	%�

N2 = [λ3 nM ], S = L = [lnλN2], 475

F (z) =

L∑
l1=0

L∑
l2=0

Cl1,l2℘
l1
1 z℘

l2
2 z, Cl1,l2 =

n∑
τ=1

Cl1,l2,τζτ , Cl1,l2,τ ∈ Z, 4�5

)	 ζτ 
 �&���� 	�	%	��� Q(ξ1, ξ2, g1,2, g1,3, g2,2, g2,3)�
'������%� φi(z) = ℘i(z +

ωi

2 )( i = 1, 2� 8 ���%��� )�)�&���1

℘i(z + w) =

(
℘′
i(z)− ℘′

i(w)

2(℘i(z)− ℘i(w))

)2

− ℘i(z)− ℘i(w)

� &�)��&�)��
 ������	��1
 ����%�!%�

℘i(z+w) = ℘i(z+
ωi

2
+w+

ωi

2
) =

(
φ′
i(z)− φ′

i(w)

2(φi(z)− φi(w))

)2

−φi(z)−φi(w) =
Λi,1(z, w)

Λi,2(z, w)
. 495

:$��.�/ ������%� Gi,s,k,l(z)( Hs,t(z) ����( -�

Gi,s,k,l(z) =
ds

d ws
(Λk

i,1(z, w)Λ
l
i,2(z, w))|w=0, Hs,t(z) =

=
ds−t

d ws−t
(Λ−L

1,2 (z, w)Λ
−L
2,2 (z, w))|w=0, 4;5

lnL(Gi,s,k,l) � s ln(s(k + l) + c1(s+ k + l))( degGi,s,k,l � 4(k + l)�
8 4�5
4;5( ��)����( 1� � ����1
 *7+( *�+( ����%�!%�

F (s)(z) =
ds

d ws
((Λ−L

1,2 (z, w)Λ
−L
2,2 (z, w))(F (z + w)ΛL

1,2(z, w)Λ
L
2,2(z, w)))|w=0 =

=

s∑
t=0

(
s

t

)
Hs,t(z)

L∑
l1=0

L∑
l2=0

Cl1,l2

t∑
i=0

(
t

i

)
G1,t−i,l1,L−l1(z)G2,i,l2,L−l2(z). 4<5

'������%�

Fs,t(z) =

L∑
l1=0

L∑
l2=0

Cl1,l2

t∑
i=0

(
t

i

)
G1,t−i,l1,L−l1(z)G2,i,l2,L−l2(z). 4=5

�	
�� ξ23 = 4ξ31 − g1,2ξ1 − g1,3( ξ24 = 4ξ32 − g1,2ξ2 − g1,3( Fs,n1,n2(ξ1, ξ2) ��

Fs,t,n1,n2(ξ1, ξ2) 
 &�����( ����%��� � &�����& F (s)(n1ω1 + n2ω2) �� Fs,t(n1ω1 + n2ω2)
��%���. ℘1(ω2), ℘2(ω1)( ℘

′
1(ω2)( ℘

′
2(ω15 �� ξ1, ξ2, ξ3, ξ4� >����1�	%� Fs,t,n1,n2(ξ1, ξ2)(

1 � n1, n2 � N ( 0 � t � s � S( 1� N2S ������� ���%� &�) nL2 �%����
 Cl1,l2,τ � 8��)��
� ��������% ����
�	 4 *,+( �	%� 7��5 �� 475( 4=5 &��	�	%� �	 &$� ��&�� ���. ��$��
Cl1,l2,τ ���( -� )�1 1 � n1, n2 � N ( 0 � t � s � S

Fs,t,n1,n2(ξ1, ξ2) = 0, |Cl1,l2,τ | < exp(c2λ
6 lnλn2M3). 4�?5

8 4�5( 4,5( 475( 4�?5 �)	���%�@ )�1 1 � n1, n2 � N ( 0 � s � S

|F (s)(n1ω1 + n2ω2)− Fs,n1,n2(ξ1, ξ2)| < exp(−1

2
λ7n2M3). 4��5
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8 4<5
4��5( 1�-� 1 � n1, n2 � N ( 0 � s � S( �)	���%�

|F (s)(n1ω1 + n2ω2)| < exp(−1

2
λ7n2M3). 4�,5

��&	)	%�( -� ������ 4�,5 ����� &�����!�/$1 � )�1 1 � n1, n2 � N ( 0 � s � λS�
�	
��

G(z) = F (z)σL
1 (z − ω1/2)σ

L
2 (z − ω2/2), 4��5

)	 σi(z) 
 σ"������1( -� &�)��&�)�! ℘i(z) *�+�  ��	�	%� ���%	�#	 %����&	 ���	 r
���( -�� &�����&���$/ �%�&�

r > 4(N + 1)(|ω1|+ |ω′
1|+ |ω2|+ |ω′

2|). 4�75

'������%� R = 4r� A�)� � ���%��� B�%��� 4*,( �	%� 7�;+5 � &�����& 4,5( 475( 4�5(
4�?5( 4��5( 4�75 &����&�!

|G(z)||z|�R < exp(−λ6 lnλn2M3). 4��5

8 4��5 ����%�!%� )�1 0 � s � λS

|G(s)(z)||z|�r < exp(−1

2
λ6 lnλn2M3). 4�95

��1 )�$��/ %����� ε & ε"�����
 ����� n1ω1 ������1 σ1(z − ω1/2) �� ε"�����

����� n2ω2 ������1 σ2(z − ω2) �	 %�.�/ ����&( ��%� )�1 |n1|, |n2| � 2N

|σi(z − ωi/2)|z∈V (ε,n1ω1+n2ω2) > exp(−c3λ
5 lnλn2M2). 4�;5

8 4��5
4�;5 )�1 1 � n1, n2 � N ( 0 � s � λS ����%�!%�

|F (s)(n1ω1 + n2ω2)| < exp(−λ6

3
lnλn2M3). 4�<5

 ��
�&�.�� 4��5( )�1 1 � n1, n2 � N �� 0 � s � λS � 4�<5 &����&�!

|Fs,n1,n2(ξ1, ξ2)| < exp(−λ6

4
lnλn2M3). 4�=5

>����1)�.�� Fs,t,n1,n2(ξ1, ξ2)( 0 � t � s � λS( 1 � n1, n2 � N ( 1� ����	��1
&�)��&�)���� ������%� & ���	������
 �����
( � �	��	%� C��&���1 4*,+( �	%� =�,5(
��&��$�	� 4,5 �� 475 ����%�!%� )�1 Fs,t,n1,n2(ξ1, ξ2) �= 0 ������

|Fs,t,n1,n2(ξ1, ξ2)| > exp(−λ5 lnλn2M3). 4,?5

8 4=5( 4,?5 �)	���%�

|Fs,n1,n2(ξ1, ξ2)| > exp(−2λ5 lnλn2M3). 4,�5

D����� 4�=5 �� 4,�5 $��	�	���&�( ��%� )�1 1 � n1, n2 � N ( 0 � t � s � λS
����%�!%�

Fs,n1,n2(ξ1, ξ2) = 0. 4,,5

8 4,,5 &����&�!( -� ������% F (z) %�! �	 %	�#	 c4λ
7 lnλn2M2 ����& 4� ���
�"

&���1% ������$��5( ��	 ����& %��	 ���� �	 ���/#	 c5λ
6 lnλn2M2 *9+( ��%� )�1 )�$��/

&	������ λ ∈ N �����-	��1 4�5 ����&�)��/ )� ���������1( 1�	 � )�&�)��/ �	��	%��
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D �E��F����	
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*�+,-./012,* /33425�+/.�20 26 7/-,1*
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G,�-�+>$?�?>(� H?+�� �� 2-�-� �����

����� ! $�'()" %*+�,("� -�-�.�� " #���$ $"%#��� �&"�

EFG ℘i(z)( (i = 1, 2)( HF IJKFHLI�MIJJN �OPFQFOPFOG RF�FLSGLISS FJ"
J�QG�M TUOMG�VOS W�GX IJKFHLI�M �OYIL�IOGS� RF FSG�ZIGF TLVZ HFJVW I S�"
ZUJGIOFVUS IQQLV[�ZIG�VO VT GXF YIJUFS VT FIMX VT GXFSF TUOMG�VOS �O
VGXFL QFL�VPS�
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{dσ} =

(
[D](k) t+dt − 9

4 (σt
i)

2 · [D](k) t+dt {s}t {s}t′ [D]
(k) t+dt

H(k) t + 3G(k) t+dt

) ({dε} − {
dεT

})
+

+

(
[dD](k) − 9

4(σt
i)

2
· [D](k) t+dt {s}t {s}t′ [dD](k)

H(k) t + 3G(k) t+dt

) (
{ε}t − {εp}t − {

εT
}t
)
+ :�=

+
3

2σt
i

·
[D]

(k) t+dt {s}t ∂ ˜̃σt
i

∂T
H(k) t + 3G(k) t+dt

dT.
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 �������� �
�$��%
���
�� ��
/ ����. /� ������/�. ?#@� S B � 
������/. �� �
� ( ��
��
��� � (
�(

2�,� 9?�=
 )��. �7* �  ���� (L∗

0, L0)�
<������/�. @� ��+���
(�� ����
��? /�#(�/����� ��(� ������� � 
�����
� �$%

/���
�� ���� � ��#�� ��(�������> @
���� ������
��� �
�
���� � 
����� A � �
��%
�
�����/$  ��(���
 H /�#(�/����� ��(� ������� ���
 
 �
��#� ���
. #��� iA B �
%
�
������/ (����� �
 
�
����F  
���$ � (��(#
� $ H ����� )�:*"�

�© ����� ��	 
����
 ��	 ����
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�� 	�
��

 ��
���� �� ���
���

�� �������

 �
������
� 3� ��#���(��%
�$B/� ��#
  �����
��?>

• D(T ), R(T ), kerT ; �
� ��
���. ����(�� ������
��?. ����(�� ����
�� 
 /����%
��� �$�
� � 
������ T C

• (· | ·),⊕,�,⊥ ; (�/���� (#��?����� ���$�#$. ������������F ($/�.  �?/�F
($/� �� �������������� �� ���
��?. �
� ��
��� �?#@� X %�
���
��
�  ��(�
�.

� T1, T2 ; �
�
��
 /�������� � X . �� T1 � T2
def
= T1

⋂
T⊥
2 )C

• AE ; ����� /��+��� E  �� �
�����+
��
 AC
• 1X %����+�
  
�
����
��? /��+��� X C
• A ↓ E ; ��$+
��? �
�����+
��? A �� /��+��$ EC
• ?#@� X,Y ; �
���
����
  ��(����. ��  
� C(X),B(X,Y ) ���$/
B/� #��(� �
%
�
���� ��/#�
��� @
���� ������
��� �
 
�
����� � 
�����
� $  ��(���
 X

 �
�
���� �
 
�
����� � 
�����
� A : X → Y ��#��. @� D(A) = X . �
� �%

�
���. (B(X)
def
= B(X,X))�

6
��� H ; #�/ �
#(��� �
���
��
�  ��(�
�. � H2 = H ⊕ H � 6�����B/�. @�
���/#�
��/" �
�
���/ �
����
��?/ $  ��(���
 H ��������� ���
����� ���/#�
���"
�
�
���� /������� T ⊂ H2. � ����(�� ������
��? D(T ) �� ( �?+
�
 �
����
��? $
 ��(���
 T ∗ ���������� ��#>

D(T ) = {y ∈ H : (∃z ∈ H) (y, z) ∈ T },
{T ∗ = (y2, z2) ∈ H2 : ∀(y1, z1) ∈ T (z1 | y2)− (z2 | y1) = 0}.

9
�#� ������. @�
T ∗ = (JT )⊥ = JT⊥, (1)

�

J(h1, h2) = (−ih2, ih1) (h1, h2 ∈ H). (2)

	�
���

� �� �
4�56���� T ��7���8�� 4����������� 9�����:�������;< ��=5
4:� >�4����5?5 (y, z) ∈ T �(z | y) � 0(� 0) 
 �������:��5 4����������� 9������
��:��5 �����:�������;< ��=5 �5�5< ��
� �5?5< �� ��@ ������
�:���� 4���������
��� 9�����:�������; �576������

6�����B/� ��#�+. @� � �
��
F �
�
���� �
����
�� � 
����� �����+����� � ����
���A
#�/�

&��� ���
����� ��GB#�� $ (����
 �
�
���B (�/
������� � 
����� L0 ∈ C(H).
�
 H ; A
#(������ #�/ �
#(��� �
���
��
�  ��(�
� �
 (#��?���/ ���$�#�/ (· | ·)�
H��+. L0 ⊂ L∗

0
def
= L� 6
��� H0 ; (#
��
�����/
����  
� ��(�
�  ��(���$ H . P0 ;

���� ��
#���, H → H0. S0
def
= L0 ↓ H⊥

0 . � (H+,H−, δ+, δ−) ; A
#(������ ����(�/
%
�������  ��(�
� ��������� ����
�� � 
������ L0. ��
�
��� $ )��*�

������� �� 9A�
B; C:� >�4����5?5 ������ K ∈ B(H+ ⊕ H0,H− ⊕ H0) �
4��5��
�<
=5 ��:�4�@���� 7 ��� �:�����
� {(y, Ly+ φ) ⊂ S∗

0} 9
�6��� �:5���� {(y, Ly+ φ) :
y ∈ D(L), φ ∈ H0};< ��
 7�45�5:���8�� ��5��

K(δ+y,
1√
2
(φ+ iP0y))− (δ−y,

1√
2
(φ− iP0y)) = 0, (3)

@ �������:��5 4����������� �576������� 5�����5�� S0�



 !"
���� ����	
 ���
 ���	��

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

D������< >�4����� ������:��5 4���������� �
4�56������576������ S  E�
F������ ��5��5�� S∗

0 < ��� ��4
:�@���� ��5�58 9	;�

'�����
��� A��/$�����(? $/��� �#$/$�?�����(�
 ������
��? �
����
��? S0�
6
��� T ⊂ H2 ; ��/#�
�
 �
�
��
 �
����
��?

T (0)
def
= {z ∈ H : (0, z) ∈ T }, T∞

def
= 0⊕ T (0), Top

def
= T � T∞.

T∞ ������B��(? ������������� ��(����� �
����
��? T . � Top ; ���� � 
�����%
��� ��(������ 2
��/� )7* ����� ��#�+ )�*. )�*" ��#
> ?#@� T ; /�#(�/����� ��(�%
 �����
 �
����
��?. �� Top ; ��/#�
��� � 
����� � ����(�� ������
��? D(T ). �
Top ↓ ([H � T (0)]

⋂
D(T )) ; /�#(�/����� ��(� ������� � 
����� � H � T (0)�

�� �������
��
� � ��������
� �����
� ���������
� ���������
���

��� ���

� S �
�
� �

� S0�

G����H���� �� < �
��
/� �. � ����
�
. � )�*. �� ����B. @� (0, φ) ∈ S ���
 
 �
��#�
���
. #��� K(0, φ) = (0, φ). �����

S(0) = {φ ∈ H0 : K(0, φ) = (0, φ)} = ker(K ↓ ({0} ⊕H0)− 1{0}⊕H0
). (4)

6
��� Q ; ���� ��
#��� H → H �S(0). Λ
def
= K ↓ (({0} ⊕H0)− 1{0}⊕H0

). �����

∀h ∈ H0 Λ(0, h) = K(0, h)− (0, h),

Λ0 = K ↓ (({0} ⊕QH0)− 1{0}⊕QH0
)(= Λ ↓ ({0} ⊕QH0).

< �5" �� ����B. @� S(0) = kerΛ. ��#�
/� S B � 
������/ ���
 
 �
��#� ���
. #���
kerΛ = {0} 
 @� kerΛ0 = {0}�
G����H���� -� 6
��� (y, Ly + φ) ∈ S. ��#�
/� y ∈ D(S) = D(Sop)� 	��


Sopy = QLy +Qφ. (5)

C5��4����� 1 ����
.

Ly + φ = QLy +Qφ+ (1H −Q)(Ly + φ),

��/$
(y, Ly + φ) = (y,QLy +Qφ) + (0, (1H −Q)(Ly + φ)).

H(#
��#� 1H −Q ; ���� ��
#��� H → S(0). �� (0, (1H −Q)(Ly+ φ)) ∈ S∞ ⊂ S�
H(#
��#� (y, Ly + φ) ∈ S. �� ��
�(� �� ����B. @� (y,QLy +Qφ) ∈ S�

��
/ ����. ��? �(?#��� z ∈ S(0) ((y,QLy +Qφ) | (0, z)) = 0. ��/$

(y,QLy +Qφ) ∈ S ∩ S⊥
∞ = Sop,

� ��+
. ( ����+$B��(? ��"� �
6
��� Π1 ; ���� ��
#��� H− ⊕H0 → H− ⊕{0}. Π2 ; ���� ��
#��� H− ⊕H0 →

{0} ⊕H0. � � 
����� W : D(L) → H− ⊕H+ �������B��(? ��#>

∀y ∈ D(L) Wy = −
√
2[K(δ+y,

i√
2
P0y) + (−δ−y,

i√
2
P0y)]. (6)

������� �� � ��5��� ��5���� �

D(Sop) = D(S) = {y ∈ D(L) : Wy ∈ R(Λ0), Π1Λ
−1
0 Wy = 0}, (7)

∀y ∈ D(Sop) Sopy = QLy +Π1Λ
−1
0 Wy = 0. (8)
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C5��4����� ��? ������+
��? D(Sop) �� Qφ  ���/� ��" $ ��#�/$ ����?�
>

K(δ+y,
i√
2
P0y) +K(0,

1√
2
φ)− (δ−y,

−i√
2
P0y)− (0,

1√
2
φ)

���. @� 
#�
���
����.

K(δ+y,
i√
2
P0y) + (−δ−y,

i√
2
P0y) = − 1√

2
Λ(0, φ). (9)

< �5" 
 �I" �� ����B. @� φ ∈ S(0) = kerΛ. ��/$. �(#
��#�

Λ(0, Qφ) = Λ0(0, Qφ) + Λ(0, (1H −Q)φ) = Λ0(0, Qφ),

�� �
��
(�� �I" /�+�� �� �(��� ��#> Λ0(0, Qφ) = Wy ����� Wy ∈ R(Λ0) 

(0, Qφ) = Λ−1

0 Wy�
H(����? �
��
(�� �
���(����� (�(�
/


Π1Λ
−1
0 Wy = 0, Qφ = Π2Λ

−1
0 Wy. (10)

2�����$��� ��" 
 =������
 ��@
 ���(����(�
 � 
�������F ��(���� /�#(�/�����
��(� �������� �
����
��?. ����/�. @� �
��
/$ ���
�
��� �

������� �� 6
��� L0 /�B 
��
#( �
A
#�$ ��. �". (C,C, δ+, δ−) ; ����(�/
�������
 ��(�
� ��������� ����
�� =���� � 
������ ��� ��#���. L0 ; /
�
/������ � 
�����.
 ����+
��� � L2(0, 1) ��A
�
�=
�����/ ������/ iý, δ+y = y(1), δ−y = y(0)". �
S0 ; �������/
��
" ��$+
��? =���� � 
������ L0 ��  
� ��(�
� H⊥

0 . �
 H0 �
�
���
������#�  ����+
�� ��������/ �
#����/ e ∈ H �

6
��� K ∈ B(C⊕H0,C⊕H0) ; (��(#. ?#�� �������B��(? /����=
�(
K11 K12

K21 K22

)
.

H 
����� K  ������� �����+��B��(? � ��(����� /����=
�(
k11 k12
k21 k22

)
, (kij ∈ C, i, j = 1, 2).

<����
/� ��������� ����?� /�#(�/����� ��(� �������� ������
��? S � 
��%
���� S0�

�;

kerΛ =

(
0 k12
0 k22 − 1

)
= {0},

�����

|k12|2 + |k22 − 1|2 > 0.

<
 (#������� ��@
 �� ����B. @� � =
� (��$�=
F S(0) = {0}. ����� S B � 
��%
����/. � �
��?��? �I" ���$��B ����?�$

1√
2

(
0 K12

0 K22 − 1

)(
0
φ

)
= −

[(
K11 K12

K21 K22

)(
δ+y

i√
2
(y | e)e

)
+

( −δ−y
i√
2
(y | e)e

)]
,

�
 e ∈ H0 
 ‖e‖ = 1 ��� �@� 
#�
���
����"

k12(φ | e) = −
√
2(k11δ+y +

i√
2
k12(y | e)− δ−y)

def
= α(y) (11, a)



 !#
���� ����	
 ���
 ���	��

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

(k22 − 1)(φ | e) = −√
2(k21δ+y +

i√
2
k22(y | e) + i√

2
(y | e)) def

= β(y). (11, >)

2�����$��� =
. �
��+#� �/
�#$����. @�

(φ | e) = k12α(y) + (k22 − 1)β(y)

|k12|2 + |k22 − 1|2
def
= γ(y). (12)

D
�(����?��� ��-" � ���. J". ���. �" 
 ������$��� �
��
(�� φ = γ(y)e. ����%
/�. @�

D(S) = {y ∈ D(L) : (k22 − 1)α(y)− k12β(y) = 0},
∀y ∈ D(S) Sy = Ly + γ(y)e.

>; k12 = 0, k22 = 1�
� =
� (��$�=
F S(0) = H0. � ��+
. Qy = y − (y | e)e�
H���/���

K =

(
K11 0
K21 1H0

)
.

9
�#� ������ ����� ��#�+ )-K*". @� K /�+
 �$�� (��(#�/ �
��#�  ��
K21 = 0 �
 ‖K11‖ � 1"� H��+. � ����
(�� �� ��������� ��@
 �����+�
��?

K =

(
k 0
0 1

)
,

�
 |k| � 1� 3
�#$��� ��#. ?#  �� ���
�
��
 ���. J". ���. �" ����/�. @� �
�����?�$����/$ �� ��#$

S = {(y, Ly + ce) : y ∈ D(S), c ∈ C},
�


D(S) = {y ∈ D(L) : kδ+y + δ−y = 0, (y | e) = 0}.
<�
��� �
 (#�����/ ��@
 ��(#
��#� ��? �$��%?#��� φ = ce ∈ H0

Qφ = φ− (φ | e)e = 0".

D(Sop) = D(S) = {y ∈ D(L) : kδ+y + δ−y = 0, (y | e) = 0},
∀y ∈ D(Sop) Sopy = Ly − (Ly | e)e.

!� "���� #�����$��

� ������� �� 2
��/� )�5* ����� ��#�+ )��*". @� �
�
�%
�
 �
����
��? S ⊃ S0 B /�#(�/����� ��(� ������/ ���
 
 �
��#� ���
. #��� 
(�$���
�
�
��
 � 
������ A± ∈ B(H± ⊕H0,H− ⊕H0) ��#
. @�

A+(A+)∗ � A−(A−)∗, kerA− = {0}, (13)

� S (#����B��(? � ��� 
�
/
��
� {y, Ly + φ} ⊂ S∗
0 . ?#
 ���������?��� $/��$

A+(δ+y,
1√
2
(φ+ iP0y)) +A−(δ−y,

1√
2
(φ − iP0y)) = 0. (14)

< ��5" �� ����B. @� (0, φ) ∈ S ���
 
 �
��#� ���
. #��� A+(0, φ) + A−(0, φ) = 0.
�����

S(0) = {φ ∈ H0 : A+(0, φ) +A−(0, φ) = 0} =

= ker(A+ ↓ ({0} ⊕H0) + A− ↓ ({0} ⊕H0)). (15)
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6
��� Q% ���� ��
#��� H → H � S0.

Π = A+ ↓ ({0} ⊕H0) +A− ↓ ({0} ⊕H0), Π0 = Π ↓ ({0} ⊕QH0).

< ���" �� ����B. @� S(0) = kerΠ. ��#�
/� S B � 
������/ ���
 
 �
��#� ���
.
#��� kerΠ = {0}. � ��+
. kerΠ0 = {0}�

6
���. ?# 
 ��@
,Π1 ; ���� ��
#��� H− ⊕H0 → H− ⊕ {0}. Π2 ; ���� ��
#���
H− ⊕H0 → {0} ⊕H0�

2������/� � 
����� N : D(L) → H− ⊕H0 ��#>

∀y ∈ D(L) Ny = −
√
2[A+(δ+y,

1√
2
P0y) +A−(δ−y,

i√
2
P0y)]. (16)

������� �� I�� 7�5>:���� �����=����� 94��� 75����� 9�	;< 9�
;;

D(S) = D(Sop) = {y ∈ D(L) : Ny ∈ R(Π0), Π1Π
−1
0 Ny = 0}, (17)

∀y ∈ D(Sop) Sopy = QLy +Π2Π
−1
0 Ny, (18)

4� N ��7��F��5 7?
4�5 7 9�J;�

C5��4����� ��? ������+
��? D(Sop) �� Qφ  ���/� ��5" $ ��#�/$ ����?�
>

1√
2
Π(0, φ) = −[A+(δ+y,

1√
2
P0y) +A−(δ−y,

i√
2
P0y)]. (19)

H(#
��#� Π(0, φ) = Π0(0, Qφ). �� =? �
��
(�� /�+
 �$�� �� �(��� ��#>
Π0(0, Qφ) = Ny. ����� Ny ∈ R(Π0). (0, Qφ) = Π−1

0 Ny�
H(����? �
��
(�� �
���(����� (�(�
/


Π1Π
−1
0 Ny = 0, Qφ = Π2Π

−1
0 Ny. (20)

2�����$��� ��" 
 =������
 ��@
 ���(����(�
 � 
�������F ��(���� /�#(�/�����
��(� �������� �
����
��?. ����/�. @� �
��
/$ ���
�
��� �
%���
��� �� � ��5��� ��5���� 	 S @ 9�������:��5 4�����������; 5�����5�5��
�576������� 5�����5�� S0 �54
 
 �
:��� �54
< �5:� kerΠ = {0}

K E�5�� ����4��

D(S) = {y ∈ D(L) : Ny ∈ R(Π), Π1Π
−1Ny = 0}

∀y ∈ D(S) Sy = Ly +Π2Π
−1Ny.

C:� 45��4���� 45������5 7���5������ ��5���� 	 ��� Q = 1H �

&� "��������

 ��� ���

� ��������� S0 
 ����
� ��'� (�
)� ����
�*


�
�+ ��������
�� 6
��� L,L0 ∈ C(H) 
 L0 ⊂m L �=
 ������B. @� L (#
��
�����%
/
����. � (�/
 m%��/
����. ������
��� � 
����� L0"� 2�#���(���$��� �
�/
����%
�
�. �� �� ������$ � )��. �7*. �$�
/� ��������. @� � 
����� T ∈ C(H) ( ��
��
���
� � 
������/ L. ?#@� T �� L /���� ( 
���
 (#
��
�����/
��
 ��/#�
�
 ��$+
�%
�? 
 ( ��
��
��/ �  ���� (L,L0) �T ∼ (L,L0). ?#@�. #�
/ ����. D(T ) ⊂ D(L).
D(T ∗) ⊂ D(L∗

0). D((L ↓ D(T ))∗) ⊂ D(L∗
0)"�

���
 (#�
��  �� $(#�B/�. @� � 
������ L �� L0 ��#
. ?# 
 ��@
.  ����/$ L0 /�B

��
#( �
A
#�$ (m+,m−) (m± < ∞). � ��+
. ����� )��*" L
MH± = m±, L0 ⊂m++m−

L� ��
/ ����. �
� �(�������  �?(�
�� ��#���(���$��� �
�$������  ��=� )��. �7*. �
��#�+  ��=� )�I. -K*.  ��(�?�
��� ��#�����
 �(������  ���+
�� �
��
F ��(� �������
� 
�����
� $ �
���
�����/$  ��(���
�
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 ���
 ���	��

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

������� !� L�=5 L ��
�F���5���
���M �576�����M 5�����5� L0< �5 >�4�����M
�������:��5 4����������M 5�����5� S ⊃ S0 @ ��5�
4����� 7 ���58 (L,L0)�

C5��4����� 4
� �(
�
���� � �
��
/� - �� ����B. @� � 
����� S ⊃ S0 /�#(�/�����
��(� ������� ���
 
 �
��#� ���
. #��� 
(�$B (��(#

K =

(
K11 K12

K21 K22

)
∈ B(H+ ⊕H0,H− ⊕H0)

��#��. @�

ker

(
K12

K22 − 1H0

)
= {0}, (21)

� ���A
# G(S) � 
������ S (#����B��(? � $(
� ��� {(y, Ly + φ) : y ∈ D(L), φ ∈ H0}.
?#
 ���������?��� $/��$(

K12φ
(K22 − 1H0)φ

)
= −

√
2

[(
K11 K12

K21 K22

)(
δ+y
i√
2
P0y

)
+

( −δ−y
i√
2
P0y

)]
def
=

def
=

(
A+

1 δ+y +A−
1 δ−y +A0

1P0y
A+

2 δ+y +A−
2 δ−y +A0

2P0y

)
, (22)

�
 A±
1 ∈ B(H±,H−), A0

1 ∈ B(H0,H−), A±
2 ∈ B(H±, H0), A

0
2 ∈ B(H0)�

D��
?��� ��  
��$ �
��
(�� =
BF (�(�
/� � 
������/ K∗
12. � �� ��$�$ ; � 
%

������/ (K∗
22 − 1H0) 
 ������� ����/��
 ( 
��
����
��?. ����/�. @� ��  
����

B± ∈ B(H±, H0), B0 ∈ B(H0)

[K∗
12K12 + (K∗

22 − 1H0)(K22 − 1H0)]φ = B+δ+y +B−δ−y +B0P0y.

H(#
��#� dimH0 < ∞. �� � �-�" �� ����B. @�

K def
= [K∗

12K12 + (K∗
22 − 1H0)(K22 − 1H0)]

−1 ∈ B(H0),

�

φ = KB+δ+y +KB−δ−y +KB0P0y. (23)

D
�(����?��� �-�" � �--". ����/$B/� (�(�
/$ ����?�${
F+
1 δ+y + F−

1 δ−y = F 0
1P0y

F+
2 δ+y + F−

2 δ−y = F 0
2P0y

, (24)

�
 F±
1 ∈ B(H±,H−), F 0

1 ∈ B(H0,H−), F±
2 ∈ B(H±, H0), F

0
2 ∈ B(H0)�

<���$/
��. @� (�(�
/� �--" �
���(����� �-�"%�-5". ��#�
/� D(S) (#����B��(? �
$(
� ��� y ∈ D(L). ?#
 ���������?��� �-5"� '�
 �-5" �
���(����� (�(�
/
 m− + m0

(#��?���� �
��?�� �m0
def
= dimH0"{

(F+
1 δ+y | hi) + (F−

1 δ−y | hi) = (F 0
1P0y | hi), i = 1, ...,m−,

(F+
2 δ+y | ej) + (F−

2 δ−y | ej) = (F 0
2P0y | ej), j = 1, ...,m0,

, (25)

�
 {h1, ..., hm}, {e1, ..., em0} ; �������/����
 ���� � H− �� H0. �
� ��
���� H���# �

�(
 �
��?��? =
BF (�(�
/� �
���
+�
� 2�#���(���$��� �
�$������  ��=� )��. �7. �I.
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�� ������ ���
� ��������� ���	� ������ ��  !&

-K*. /�+�� ���
(��. @� (
�
� ( 
��
����
�� �-�" B �
��#� m− �
���
+���� 	�/$. �

�/
��$��� ��������(�
. /�+�� ���+���. @� �-:" 
#�
���
���� ( 
��
����
���

r∑
i=1

(F+
1 δ+y | hi)hi +

r∑
i=1

(F−
1 δ−y | hi)hi +

m−∑
i=r+1

(F+
2 δ+y | ei−r)hi+

+

m−∑
i=r+1

(F−
2 δ−y | ei−r)hi =

r∑
i=1

(F 0
1P0y | hi)hi +

m−∑
i=r+1

(F 0
2 P0y | ei−r)hi. (26)

D
��
. �
+  
�
������ �� ���
��
��? ���
�
��?.  �?(��/�. @�  
� (· | ·)L
���$/
B/� (#��?���� ���$��# ���A
#� � 
������ L

(∀y ∈ D(L)) (∀z ∈ D(L)) (y | z)L = (y | z)L + (Ly | Lz), (27)

 
� D[L] ; /�������D(L). ���#������� ?# �
���
��
�  ��(�
� �
 (#��?���/ ���$�#�/
�-:". �  
� �L ;(�/��� �������������� �� ���
��? � D[L]� N#@� W ∈ B(D[L],H−).
��  
� W ′ ∈ B(H−, D[L]) ���$/
B/� ( �?+
��� � 
�����

(∀y ∈ D(L)) (∀h ∈ H−) (Wy | h)H− = (y | W ′h)L,

�
 (· | ·)H− (�/��� (#��?����� ���$�#$ � H−�
D�����+�/� ���
 /
�#$����?� < �-7" �� ����B. @� 
(�$��� � 
������ U ∈

B(D[L],H−),Φ ∈ B(H,H−) ��#
. @� kerU ⊃ D(L0) 


D(S) = D(L ↓ D(S)) = {y ∈ D(L) : Uy − Φy = 0},
��#�
/� D(S) ⊂ D(L)�

H(#
��#� ����� )�I. -K*" S∗ ; /�#(�/����� �#$/$�?������ � 
�����. �� D(S∗) ⊂
D(L)� ���
, S �� L /���� ( 
���
 (#
��
�����/
��
 ��/#�
�
 ��$+
��? S0. ��/$ ��?
���
��
��? ���
�
��? ��(������ ���
(��. @�

D((L ↓ D(S))∗) ⊂ D(L). (28)

' =
 ( ����
 ��#� 6�( ����
. ��(��($����� ��(���#��$ A��/$�$ 0�
�� �� (
�(

)��. �7*" ��  ��� (L,L ↓ D(S)). ����/$B/�

D(L∗
S) = D(L0)� L[D(L)�L D(LS)] = D(L0)� L[D(L)�L ker(U − Φ)] =

= D(L0)� LR(U ′ − Φ′).

2�����$��� ( 
��
����
��? R(U ′) = D(L)�L kerU ⊂ D(L)�LD(L0) 
 ��(��(�%
�$��� ��(���#��$ A��/$�$ 0�
�� ��  ��� (L,L0). ��
�+�/�

LR(U ′) ⊂ L[D(L)�L D(L0)] = D(L)�L D(L0) ⊂ D(L).

���
. ��? �$��%?#�� y ∈ D(L), h ∈ H−

(Ly | LΦ′h) = (y | Φ′h)L − (y | Φ′h) = (Φy | h)H− − (y | Φ′h) = (y | Φ∗h− Φ′h),

� ��+
. LΦ′h ∈ D(L∗) = D(L0) �
 L0LΦ
′h = Φ∗h − Φ′h"� H��+. LR(Φ′) ⊂ D(L0) ⊂

⊂ D(L)�
1 
��
����
��? �-�". � � ��/ 
 �
��
/$ 5 ���
�
��� �

%���
��� �� � ��5��� ��5���� 
 >�4�����M 7�������M =
:��5 ��7��F���M 4������
�����M 5�����5�< ���M @ �576������� 5�����5�� S0< ��5�
4����M 7 ���58 (L,L0)�
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C5��4����� 6
��� Ŝ ⊃ S0, Ŝ ∈ C(H) 
 Ŝ ; ��(� ������� � 
������ 2
��/� )�I. -K*. @�

(�$B /�(�/����� ��(� ������� � 
����� S ∈ C(H). ?#�� B ������
��?/ � 
������

Ŝ� H���/��� S0 ⊂ Ŝ ⊂ S ⊂ S∗
0 . � ��+
. S0 ⊂ S∗ ⊂ Ŝ∗ ⊂ S∗

0 �
< =�� ( 
��
����
�� �� ����B. @�

D(Ŝ) ⊂ D(L), D(Ŝ∗) ⊂ D(S∗
0 ) = D(L). (29)

���
. L 
 Ŝ /���� ( 
���
 (#
��
�����/
��
 ��/#�
�
 ��$+
��? S0. ��/$ � 
�����
Ŝ ( ��
��
��� � L� 6��
��
.

L ↓ (D(S∗)) ⊂ L ↓ (D(Ŝ∗)),

��/$

(L ↓ (D(Ŝ∗)))∗ ⊂ (L ↓ (D(S∗)))∗.

'�
 D(L ↓ (D(S∗)))∗ ⊂ D(L) �=
 �� ����B � �
��
/� 5 
 � ����. @� S∗ ; /�#%

(�/����� �#$/$�?������ � 
�����". ��/$ D(L ↓ (D(Ŝ∗)))∗ ⊂ D(L)� <�
�(� 
 � �-I"

�� ����B. @� Ŝ∗ ∼ (L,L0). � ��+
. ����� )��. �7*" Ŝ ⊂ (L,L0)� �

������ �������	
��� 
�	��
	���
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�� ���
��

�� ����� ����� ��� 
��!
� �����
�� ������"� ������� #$% &'� ( ������ �������� !� ���� ���"� ����������
��������
�) �����
� ��� !��� ���"� ���
��
�"� ����� *�+� 
� ��,�� �����
�

�
������� ��������������
�- "���� ���� 
� ������ �
�.
���% 
������� �� ����"��
����� /��� ���"����0�� ��
1 �����
��)
� ����

�2 �!������� �����
� ��������
������"� �������� � 
���� ���� ������
�� �������� 
�.
0 ��.� ��� �������� 3� 
��

� ���"����0�� ��� ��"���
�� � ��� ���
����
�� ���
��

�� ������ 4��
��

�
���� � q �����
��� ���
���,�� Fq�

4� 5�� #6' ��� ��"����� ��!����� �����
��� ������"� ������� ��� !�"�����
7�"��
� � ��������
�0 
��% ����� 
� ������
�0% "�������0 ��� ����8
��"���
�� ���1���
� Fqn ���
��
�"� ���� Fq � 
�.
��0 "��
�
�0 ��� �������
exp(Ω((logm)2/ log logm))� 9� (���� #��' �������
���� ����� ��!����� �����
���
������� ���
�)�
� exp(Ω(logm)2))�

��� ��������� �������� ���
��

�� ����� ��.
� �!������� �����
��% ��� ��0��

�!�"��� !���1� ��������

:��1���

�% ���;���
� � ��
����� "����������"� �������% ���"��
��� � #<% �='�
>�.
� "��
�
� 
� ������� �����
0, exp(Ω(

√
m))� :��1���

� 
� �������� ����
���

������� 
�!���0�� ��"���� Fq[x]/(x
m−a)� ?�% �������% ���������0�� � ������"�� 

@�-% +� A��
��,���� 
� ����0��

�� � #�' �;�������% �� !������� �����
�� ������"�
������� � ����� ���1���

�� �� ����� q ≡ 1(mod m)� � 
���� ���� ������
� 
�. 

0 "��
�
0 exp(Ω(m))� B����
�� ������"� ������� �!�����
� � #�' ��� ���1���
�
��"���� Fq[x]/(x

2t − a) �� Fq[x]/(x
3t − a) !�� ����� q ≡ 1(mod m)� >�.
� "��
�
� 
�

�© ������� �	
 ��
�
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

��������������
� ������� �����
00�� exp(Ω(logm)2))% �� m = 2t �� m = 3t% ����� 
���
�� 3��
���0 ����� q ≡ 1(mod m) ��� ���1���
� ��"���� Fq[x]/(x

m − a) �
��� �
#��'�

5����% �����.�
� �����
��� v% ���
���,�� 〈v〉� ��������� �������
� � n ��� 

��
��� �� k �����
��� ���
���,��
(

n
k

)
�

*�
� !���,�� �����
�� ������"� ������� � ���
����
�� ���1���

�� C���
� 
D��,�� ���
��

�� �����% ����,�� ��
� �
�
�� �
��� 
� -�
�) ��������������
�)
�������� ��� !��� ���"� ������"� ����� p ���1���

�� C���
� D��,�� ���
��
�"�
���� Fp , ���� Fpp � (����� #$% &'% +� xp − x − a 
��������
�) ����
�� 
�� Fp ���
!��� ���"� 
�
������"� �����
�� a � Fp� /��� � �!����0����
�- ����� ���� ��.
�
���.���% +� Fpp = Fp[x]/(x

p − x − a)� >���) θ = x(mod xp − x − a)� E��������% +�
θp = θ + a�

/��
�1�% )������ ��� ����� ( #�' ������ ����2 ���� p ≥ 41% �� ��� !��� ���"�

�
������"� �����
�� b ���� Fp �����
� θ+ b ���� Fpp ��, ������� !���1�) ��� 4p�
F� �
���,�� ����� p ≥ 41% ��!�� ��,�� �
�
�� �
��� ��� �������� �����
��� ��"����
θ + b ��� ���1���
� C���
� D��,�� � ��������������0 p ≥ 2� ��� ������

�
����������� �����������,�� ��������
� �������

� �� ����;0���
� �!�����

��

3��)��,�� ��
�)
�) ������
 ��� �����
��% ���) ����, ���1���

�% �� ��� )�"�
����.�
�% +� ����. 
���.��� �� ���"����% �����.�
�- 
�� ������
��% � !���,��
-�
� ���
� ��!����� ��� ����.�
� �"���
�"� ��
�)
�"� ������
� ����. , ��
�)
���
������
���� G��0 �������
���� 3� H����!�)��� #	' �� ������
���

� ��"������ IJK
#�' �� �����
��� � #�% ��' ��� ���1���
� ��������

>�"���,��% +� ��� ���� Fq �������������� p �������@��� L��!�
���� M 
�
����!��.�

� ϕ : Fq → Fq% ��� ��.
��� �����
�� α � Fq ������� � ��������
����
�����
� αp #$% &'� ��� �����
�� α, β � Fq 
�����,�� ����.�
��� 7
�� Fp8% ��+�

α = ϕt(β)

��� �����"� �����
� ϕt �������@���� L��!�
�����

���� �� 4 ����5�� �67� Fpp = Fp[x]/(x
p −x− a) ����8��
 �7������ θ+ b 9b ∈ Fp:

��;���<�� ��=7�5� θ + b+ ia 57� i = 0, ..., p− 1�

>6��5����� ��������% +� (θ + b)p
i

= θ + b + ia% +� ��� !��� ���"� 
�������
�"� i�
�������� 
� �
���
�,0 �� i�

N�����
�% +� ��� i = 0 ���
���� ����
�,����� 3���������% +� ��
� ����
�,����
��� �����"� i� /��� ��� i+ 1 ������,��

(θ + b)p
i+1

= [(θ + b)p
i

]p = (θ + b+ ia)p = θp + b + ia = θ + b + (i+ 1)a.

N�.�% ���
���� �������
� ��� !��� ���"� 
�������
�"� i� �
(���� �����.���% +� �����
�� θ + b+ ia , ���
��� ��� i = 0, ..., p− 1�

���� �� ��
 �7������ ��=7�5� θ + b + ia 9i = 0, ..., p− 1: ��<�� 65���6��? ��7��
���7
�������? �6��56��

>6��5����� 3��)���� ������
� ��� �����
�� α, β �"���
�"� ��"����� E"��
� � ����0
� 
� �����
�� ����.�
�� /�!�� ��
�, ����) �����
� ϕt �������@���� L��!�
����% +�

α = ϕt(β).
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���� ���
�� ������ ���
� ��������� ���	� ������ �� ���

E��������% +� ϕt ����. , �������@������ *�+� ϕt M �������@��� � βk = 1% �� ����
ϕt(βk) = αk = 1� �

E�@����,�� 
��� ����� 1 ≤ c− ≤ c ≤ p − 1� >���) S(p, c−, c) �
�.�
� �����
����!��.�
� f � �
�.�
� {0, ..., p− 1} � �
�.�
� 
���� �����% +�

G8 |{i|f(i) < 0}| = c−O
GG8 −∑

i,f(i)<0 f(i) ≤ cO
GGG8

∑
i,f(i)≥0 f(i) ≤ p− 1− c�

( #�' ������
� ���� �����

���� �� @��76 �7�����
� ��68��� S(p, c−, c) 56�
��<A(
p
c−

)(
c
c−

)(
2p− c− − c− 1
p− c− 1

)
.

>�����
� ���� ��, �
�
�� �
��� ��� ����� �����
��� �
�.�
� S(p, c−, c)�

���� 	� S(p, c−, c) > 4p 57� p ≥ 13�

>6��5����� 3��)���� � ������ � ���� < c− = c = 4� /���

S(p, c−, c) =
(

p
4

) (
2p− 9
p− 5

)
>

p(p− 1)(p− 2)(p− 3)

4

(
2(p− 5)
p− 5

)
.

(����������0�� 
����
���� ��� 
�
�����
�"� !�
������
�"� ���@�
�,
��(
2(p− 5)
p− 5

)
≥ 4p−5

2
√
p− 5

,

����.���

S(p, c−, c) >
p(p− 1)(p− 2)(p− 3)

4096
√
p− 5

4p.

3����� p(p−1)(p−2(p−3)≥ 4096
√
p− 5 ��� p ≥ 13 7�������� p M ������ �����%

�� �
���

� �� 
� �������,��8% �� ������,�� S(p, c−, c) > 4p� �
���� 
� 4 ����5�� �67� Fpp ��7����7
������? �6��56� ��
� �7�����
� ��=7�5�
θ + b 9b ∈ Fp: 56�
��<AB

	 57� p = 2C
�	 57� p = 3C
��� 57� p = 5C
�	��D� 57� p = 7C
��D	��E��E� 57� p = 11�

>6��5����� :��"��
��� ��������
� ���
��

� ���� �� ����
�
� � 
�� ����;0���
�
�!�����

��

�� (������ ���� F22 �
P������������� ���� �����
0, p = 2� E"��
� � ����
�
��� ����;0���
���

�!�����

��� ��������� �����
��� ��������������
�- "���� ���� �����
0, 22−1 = 3
� ��������������
) ������� �����
�� θ M <� /��� �"��
� � ����0 < ��������������
�)
������� ���� �����
��� ��"���� θ + b 7b ∈ Fp8 ����. �����
0, <�

�� (������ ���� F33 �
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

P������������� ���� �����
0, p = 3� E"��
� � ����
�
��� ����;0���
��� �! 
�����

��� ��������� �����
��� ��������������
�- "���� ���� �����
0, 33−1 = 26%
� ��������������
�) ������� �����
�� θ M �<� /��� �"��
� � ����0 � ����������� 
���
�) ������� ���� �����
��� ��"���� θ + b 7b ∈ Fp8 ����. �����
0, �<�

<� (������ ���� F55 �
P������������� ���� �����
0, p = 5� E"��
� � ����
�
��� ����;0���
��� �! 

�����

��� ��������� �����
��� ��������������
�- "���� ���� �����
0, 55 − 1 =
3124% � ��������������
) ������� �����
�� θ M 6$�� /��� �"��
� � ����0 � ������ 
��������
�) ������� ���� �����
��� ��"���� θ + b 7b ∈ Fp8 �����
0, 6$��

	� (������ ���� F77 �
P������������� ���� �����
0, p = 7� E"��
� � ����
�
��� ����;0���
���

�!�����

��� ��������� �����
��� ��������������
�- "���� ���� �����
0, 77 − 1 =
823542% � ��������������
) ������� �����
�� θ M �<6��6� /��� �"��
� � ����0 �
��������������
�) ������� ���� �����
��� ��"���� θ + b 7b ∈ Fp8 ����. �����
0,
�<6��6�

�� (������ ���� F1111 �
P������������� ���� �����
0, p = 11� E"��
� � ����
�
��� ����;0���
���

�!�����

��� ��������� �����
��� ��������������
�- "���� ���� �����
0, 1111−1 =
285311670610% � ��������������
) ������� �����
�� θ M �$�<���6=��� /��� �"��
� �
����0 � ��������������
�) ������� ���� �����
��� ��"���� θ+ b 7b ∈ Fp8 �����
0,
�$�<���6=��� �

���
��� �� 1: F�G6 p = 2C �6 �7������ �67� F22 ��=7�5� θ + b 9b ∈ F2: ��<��
�6��56� 	H

;: ��G6 p = 3C �6 �7������ �67� F33 ��=7�5� θ+ b 9b ∈ F3: ��<�� �6��56� �	H
�: ��G6 p = 5C �6 �7������ �67� F55 ��=7�5� θ + b 9b ∈ F5: ��<�� �6��56�

���H
=: ��G6 p ≥ 7C �6 �7������ �67� Fpp ��=7�5� θ + b 9b ∈ Fp: ��<�� �6��56�

;
7�I�? �
5 4p�

>6��5����� E ���� � �������0�� �����
� 7Q8% 7!8 � 7�8 �������� E ���� � ����� 
��, ����. �����
� 7"8 ��� p = 7 7�������� 47 < 1372578 �� ��� p = 11 7��������
411 < 285311670618�

E� ����0 	 ������,��% +� S(p, c−, c) > 4p ��� p ≥ 13� E����� �������, ���� 
�.�

� �������� �

����;0���
� �!�����

�% �����
� � ���� �% ����
�
� 
� �������
��� ���
�����
GRSTU VTRS�WX V��== �%�< YZ[ � ���� �����
���� � ���1��� �����
�� ���������
�
����
� ���"���� � ��������+� \TU]^�� � ���"��� �����
�� ��� �����
�

� ������� 
��
� ��������+� _Q]UT� ( �!����� �����
��� �������� ��
����� �����������

N������� 
� ��� ���
�0�� ������

� � ���������

�� ����;0���
�� �!�����
�%
�� ����,�� ����. ����� ������

� ���� � !�� ����;0���
�� �!�����
�� ��� 
��"�
������
�� ����� �������� ��������
�� �������� ��������������
�� "��� ���
��

��
����� 
� ������ �
�.
��� �� �!������� �����
� �����
�� θ� P��� 
� ���������� ���� 
���� � ���������

�� ����;0���
�� �!�����
�% ����� -� ��.
� ���������� ����
��
E������% ��� ���
���

� �� �����
� ��.
� ����������� ������) 1�����) 7`�
��)�� 
��)a8 ��"����� ��������
�� ���
���
� �� �������� �� �
�.�
��
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��� ��������
� ���
��

� ���� �� ������� �����
��� � 
���

�� N������� ������� ���� F22 �����!�, 
������
�� �!�����
�% �� -� 
� ����,���
�� (������ ���� F33 �
��������� �����
��� ��������������
�- "���� ���� �����
0, 26 = 2 · 13� F�.
�

!���������
�� ����������% +� θ13 = 1� N��.% ��������������
�) ������� �����
��
θ �����
0, �<� /��� �"��
� � ����0 � ��������������
�) ������� ���� �����
���
��"���� θ + b ����. �����
0, �<�

<� (������ ���� F55 �
��������� �����
��� ��������������
�- "���� ���� �����
0, 3124 = 4 · 11 · 71�

F�.
� !���������
�� ����������% +�

θ11 = θ3 + 2θ2 + θ 
= 1,

θ71 = 4θ4 + 2θ3 + 4θ2 + 3θ + 1 
= 1,

(θ71)11 = 1.

N�.�% ��������������
�) ������� �����
�� θ �����
0, 781 = 11·71� /��� �"��
�
� ����0 � ��������������
�) ������� ���� �����
��� ��"���� θ + b �����
0, 6$��

	� (������ ���� F77 �
��������� �����
��� ��������������
�- "���� ���� �����
0, 823542 = 2 · 3 · 29 ·

4733� F�.
� !���������
�� ����������% +�

θ29 = θ5 + 4θ4 + 6θ3 + 4θ2 + θ 
= 1,

θ4733 = θ6 + 5θ5 + 2θ4 + 5θ3 + 4θ2 + 2θ + 5 
= 1,

(θ4733)29 = 1.

N��.% ��������������
�) ������� �����
�� θ �����
0, 137257 = 29 ·4733� /���
�"��
� � ����0 � ��������������
�) ������� ���� �����
��� ��"���� θ + b ����.
�����
0, �<6��6�

�� (������ ���� F1111 �
��������� �����
��� ��������������
�- "���� ���� �����
0, 285311670610 =

2 · 5 · 15797 · 1806113� F�.
� !���������
�� ����������% +�

θ15797 = 2θ10 + 3θ9 + 2θ8 + 3θ7 + 4θ6 + 8θ5 + 6θ4 + 4θ3 + 3θ2 + 8θ 
= 1,

θ18061137 = 3θ10 + 4θ9 + 8θ8 + 8θ7 + 6θ6 + 7θ5 + θ4 + 5θ3 + 4θ2 + 6 
= 1,

(θ1806113)15797 = 1.

N�.�% ��������������
�) ������� �����
�� θ �����
0, 28531167061 = 15797 ·
1806113� /��� �"��
� � ����0 � ��������������
�) ������� ���� �����
��� ��"����
θ + b �����
0, �$�<���6=���

������ �������	
��� 
�	��
	���

,� 1����	0 2�  ��	���� �������� ������� � ��-.������� !�����/0����� 
���
�����
����� 1 2� 1����	0 11����	� 
����2� 3 45,6� 3 7� 68� 94� 3 :� ,,;/,,<�

4� 3,'$4$% 5� =>*?@A �B �C =� 1 5� 3,'$4$%� 6� 7$8$%� 6� 9$:!;$ 11DCC� EF ?GHI� 3 455J�
3 KEL� ,M5� 94� 3 =� N<,/N86�

6� 3<#$=� >�?OLH�PL�QGH�RS ETUST EF VGOBB PST�EUB 1 >� 3<#$=�� ?�@� 9<*$'%�;AB�� C�D� E(%(-<

11 *CH� W� XOYZST 7ISET[� 3 45,5� 3 KEL� M� 9J� 3 =� <NN/<<4�



��!
����� �����	


���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

J� F!''�G)!�H�$ I� AIGTPSC�C\ =T�YSB �B �C = FET G LGT\S FGY�L[ EF COYZSTB 1 I� F!''�G)!�H�$

11?GHI� :EYP� 3 455;� 3 KEL� NJ]4;4� 3 =� 45J6/45;8�
;� FJ'B<$'H D� ^�C�HS _SLU SLSYSCHB EF I�\I ETUST GT�B�C\ FTEY YEUOLGT QOTRSB 1 D� FJ'B<$'H

!H $%� 11`SB�\CB� :EUSB GCU :T[PHE\TGPI[� 3 4558� 3 KEL� ;,� 96� 3 =� 65,/6,J�
M� K<!;, L� aC HIS QECBHTOQH�EC EF _C�HS _SLU SLSYSCHB EF LGT\S ETUST 1 L� K<!;, 11 ^�C�HS

^�SLUB DPPL� 3 455;� 3 KEL� ,,� 96� 3 =� 6;</6MM�
N� M$( 9� @LSYSCHB EF PTERGZLS I�\I ETUSTB �C _C�HS _SLUB 1 9� M$( 11=TEQ� DYST� ?GHI� AEQ�

3 ,888� 3 KEL� ,4N� 9M� 3 =� ,M,;/,M46�
<� N�=% O� ^�C�HS ^�SLUB 1 O� N�=%� P� 6�!=!''!�H!'� 3 :>: =TSBB� 45,6� 3 N;; P�
8� 5J%%!; M�N� bGCUZEEc EF _C�HS _SLUB� 1 M�N� 5J%%!;� Q� I$;$'�(� 3 :GYZT�U\S dC�RSTB�H[

=TSBB� ,88N� 3 ,5M< P�
,5� I(*(R8-< O� @LSYSCHB EF I�\I ETUST �C _C�HS _SLUB EF HIS FETY Fq[x]/Φr(x) 1 O� I(*(R8-<

11^�C�HS ^�SLUB DPPL� 3 45,4� 3 KEL� ,<� 9J� 3 =� ,M,;/,M46�
,,� I(*(R8-< O� @LSYSCHB EF I�\I ETUST �C _C�HS _SLUB EF HIS FETY Fq[x]/(x

m−a) 1 O� I(*(R8-<
11^�C�HS ^�SLUB DPPL� 3 45,6� 3 KEL� ,8� 9,� 3 =� <M/84�

,4� E(%(-< C�D� @LSYSCHB EF I�\I ETUST EC _C�HS _SLUB FTEY SLL�PH�Q QOTRSB 1 C�D� E(%(-< 11eOLL�
DOBHTGL� ?GHI� AEQ� 3 45,5� 3 KEL� <,� 96� 3 =� J4;/J48�

������B ��5
?I7� 56 ��5��J
K ���������	
���?���� 56 5���� ���������	

"#$%& '#()* +#& %"%,%)-. #&*%& �) +�)�-% +�%"*.
%/-%).�#). #+ -0% +#&, Fpp

&1234 5#5#6780

NR�R I(%8H!-<;�- 6$H�(;$% S;�R!'A�H8�

F$;=!'8 9H'�� ��� NR�R� ���� 

!"#$�%& '(#)*��+,#$�%�-(#%

fS QECBHTOQH SgPL�Q�HL[ �C GC[ _C�HS _SLU EF HIS FETY Fpp FET p ≥ 2 SLSYSCHB
h�HI I�\I YOLH�PL�QGH�RS ETUST�

7!8 4('=A& _C�HS _SLU� YOLH�PL�QGH�RS ETUST�



����� � �! "#� $%&�"'(  # � �)*+ ���
���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� ��9

������ �����:� �	� 
����
� ;	�������
� ����������� 
�����<� 
�	�= ���� Fpp

����� 
�
��<�

���	������T
 ��	�
��	�
� ���������U ���	�
��	����

��� ����
�T� ��� ������ ���� 

!"#$�%& '(#)*��+,#$�%�-(#

���� 
����	 � ����
�i� ����� ���� Fpp ��� p ≥ 2 j��	���i ����.���
	����������������� ��������

.�/0
�T
 �����& ����
��� ����� 	��������������i� ��������



���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��� �� �
� �!!

"
#$%& '( )*+ ,-
- .$
-� �+/
+# 0+1*� 02)*� ���	� �##3+ ��� 4� �
� �!!

��� ������

��� R�������� � 	
�	�� R�������� ����
 �������
� 	����
�� ����
��� �������	�� ����	����

���� �����

���������� 	
���	

�	�� �	��������� ���	� ��
	
 ��
	�
�

��
� �	������������
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�������� �	�
� �� ��
����
� ���� ������� � �����
�� �������� ���
�������� ���������� �� �
�� λ0

R � �0Rβ� �� β = lim
n→∞

lnλn/(lnλn+1)� �

�0R = lim
σ↑0

|σ| ln lnM(σ, F ) � λ0
R = lim

σ↑0
|σ| ln lnM(σ, F ) 
����
���� R�������
 �

������ R�������
�

(
)*��� �
��
! ��� �������� R�������
� ������ R�������
� 	�
���
	������  ����

�� ������ �	
 ��	
� ������� f � �����
� 	��������� �
�
�

f(z) =

∞∑
n=0

anz
λn , z = reiϕ, ���

����� Mf (r) = max{|f(z)| : |z| = r}� � � = lim
r→∞

ln lnMf (r)
ln r � λ = lim

r→∞
ln lnMf (r)

ln r  

!��"
!���
 "
�
�
� � ��#��� "
�
�
�� �#� ��$$���� %�& �
!�!� '


λ � �β, β = lim
n→∞

lnλn

lnλn+1
. ���

�	
 ���	�$�(��� ! DR = {z : |z| = 1} ������� !�)	
�� ��� "
�
�
� �0 � ��#���

"
�
�
� λ0 !����(�*$+ ��!�
,$
�� �0 = lim
r↑1

ln lnMf (r)
− ln(1−r) � λ0 = lim

r↑1
ln lnMf (r)
− ln(1−r) � -� ��
!�

�0 ∈ (0,+∞) .� /
�, %�& ��
0�	� ,"�
0� �
!�,$�� '
 λ0+1 � (�0+1)β� 1�2� 3�	�!�(
� 4�4� 5�����$� %�& �6
,�!�	�� '
 �
 ����!��,$+ 7 ��"��!�	+�
* � �
!�	�� '
 �	

���	�$�(��� ! DR ������� "��!�	+��� 7 "
!��� ���	
) ����!�
,$� ��$$������ $
0$

λ0 � �0β� 8�� ����	+$�$ !�"	�!�7 �� ��)�	+�
� �
!����
� ! %�& $�
���� "�
 
�����
����� ���,���	+�
)
 (	��� �
�� �����	�

F (s) =

∞∑
n=1

an exp{sλn}, s = σ + it, ���

�© ����� ��	 
��
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� �
!�	+�
* �0,��,
* �0,
	*$�
� �0�#�
,$� σa = A ∈ (−∞,+∞]� �� 0 = λ0 < λn ↑
+∞ (n → ∞)� �	
 σ < A ����� μ(σ, F ) = max{|an| exp{σλn} : n � 0} 9 ���,� 
��	+��� (	�� �
�� ���� � M(σ, F ) = sup{|F (σ + it)| : t ∈ R}� :�'
 A = +∞� $
 R 

"
�
�
� �R � ��#��� R "
�
�
� λR !!
�
$+,
 %;& �� �
���	��� �R = lim
σ→∞

ln lnM(σ,F )
σ

� λR = lim
σ→∞

ln lnM(σ,F )
σ � <
�� �� ��
!� lnn = o

(
λn lnλn

)
� n → ∞� "��!�	+�� %�& �� 

��!��,$+ λR � �Rβ� 
�� 7 
(�!����� ���)�	+����
� ����!�
,$� ��� ��$$������ =�� 
	
)��� "
�
��� � ��#�+
)
 "
�
��� ���	�$�(�
� ! DR ������� �	
 �
��! �����	�

��� � ��	+!
* �0,��,
* �0,
	*$�
� �0�#�
,$� 7 !�	�(��� %�& �0 = lim
σ↑0

ln lnM(σ,F )
− ln |σ| $�

λ0 = lim
σ↑0

ln lnM(σ,F )
− ln |σ| � 
�'
 ln lnn = o(lnλn)� n → ∞� $
 %�& λ0 � �0β� =�4� >��,��

�	
 �����$���,$��� ��
,$���
 �
��! �����	� ��� � ��	+
!
* �0,��,
* �0,
	*$�
�

�0�#�
,$� !!�! %?& R "
�
�
� �0R = lim
σ↑0

|σ| ln lnM(σ, F ) � "
��! �
���	� �	
 �
)
 ��� 

�
�#���
� @�#��� R "
�
��
� �	
 $���� �
��! �����	� 0����
 ����!�$� !�	�(���
λ0
R = lim

σ↑0
|σ| ln lnM(σ, F )� � ��$
* ��"�
"
�
!��
� "���� 7 �
!�����
 $��
� $�
�����

�	
�	�
 �� 5�67 lnn = o

(
λn

lnλn

)
��� n → ∞8 �7 λ0

R � �0Rβ�

���� $
)
� 0��� �
!����
 ���	
) $�
���� �� 
��� ��7 
����� ��#�+
)
 A $�"�
(���� A $�"�

�� �
�	�	��� �	
�	�� �� /"
(�$�� �
!����
 $��� 	����

�	�
 �� 5�67 lnn = o

(
λn

lnλn

)
��� n → ∞8 �7

�0R = �∗ =: lim
σ↑0

|σ| ln lnM(σ, F ), λ0
R = λ∗ =: lim

σ↑0
|σ| ln lnM(σ, F ).

97��:����� /"��!��� � 
)	
�� �� ����!��,$+ �
B� μ(σ, F ) � M(σ, F ) 
$����7�


λ∗ � λ0
R � �∗ � �0R� - ��B
)
 0
��� � ��
!� lnn = o

(
λn

lnλn

)
� n → ∞� !�"	�!�7�

'
 lnn(t) � ε2t

ln t
�	
 �
#�
)
 ε > 0 � !,�� t � to(ε)� �� n(t) =

∑
λn�1

1 9 	�(�	+��

������
 "
,	��
!�
,$� (λn)� <
��

M(σ, F )

μ(σ/(1 + ε), F )
�

∞∑
n=0

|an| exp{σλn/(1 + ε)}
μ(σ/(1 + ε), F )

exp

{
− ε|σ|λn

1 + ε

}
�

�
∞∑
n=0

exp

{
− ε|σ|λn

1 + ε

}
�

∞∫
0

exp

{
− ε|σ|t

1 + ε

}
dn(t) �

� ε|σ|
1 + ε

∞∫
0

n(t) exp

{
− ε|σ|t

1 + ε

}
dt � ε|σ|

1 + ε

( t0∫
0

n(t)dt+

∞∫
t0

exp

{
− ε|σ|

1 + ε
t+

ε2t

ln t

}
dt

)
=



�!"
���� ����	

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

=
ε|σ|
1 + ε

∞∫
0

exp

{
− εt

( |σ|
1 + ε

− ε

ln t

)}
dt+ o(1), σ ↑ 0.

1������
 t(σ) = exp

{
2ε(1 + ε)

|σ|
}

� <
�� t(σ) → +∞ "�� σ ↑ 0 �

t(σ)∫
0

exp

{
− εt

( |σ|
1 + ε

− ε

ln t

)}
dt �

t(σ)∫
0

exp

{
ε2t

ln t

}
dt �

� t(σ) exp

{
ε2t(σ)

ln t(σ)

}
= exp

{
ε2t(σ)

ln t(σ)
+ ln t(σ)

}
= exp

{
(1 + o(1))ε2t(σ)

ln t(σ)

}
� exp{t(σ)},

�
∞∫

t(σ)

exp

{
− εt

( |σ|
1 + ε

− ε

ln t

)}
dt �

∞∫
t(σ)

exp

{
− εt

( |σ|
1 + ε

− ε

ln t(σ)

)}
dt =

=

∞∫
t(σ)

exp

{
− ε|σ|t

2(1 + ε)

}
dt � 2(1 + ε)

ε|σ| .

<
��
M(σ, F )

μ(σ/(1 + ε), F )
� ε|σ|

1 + ε
exp{t(σ)}+ 2 + o(1), σ ↑ 0,

�!���� 	�)�
 !�"	�!�7� '


|σ| ln lnM(σ, F ) � |σ| lnμ(σ/(1 + ε), F ) + |σ| ln t(σ) + o(1) =

= (1 + ε)
|σ|

1 + ε
lnμ(σ/(1 + ε), F ) + 2ε(1 + ε) + o(1), σ ↑ 0.

1����
�
(� �
 )������ "�� σ ↑ 0� 
$����7�
 ����!�
,$� λ0
R � (1 + ε)λ∗ + 2ε(1 + ε)

� �0R � (1 + ε)�∗ + 2ε(1 + ε)� $
0$
 � 
)	
�� �� �
!�	+��,$+ ε "��!�	+�� ����!�
,$�
λ0
R � λ∗ � �0R � �∗� .��� � �
!����
�

C���� Ω(0) "
���(��
 �	�, �
��$��� ��
0��#���� �� (−∞, 0) ������� Φ $�����
'
 "
����� Φ′ �
��$��� ��"����!�
 ����������
!��� � ��
,$�7 �
 +∞ �� (−∞, 0)�

�	
 Φ ∈ Ω(0) ����� ϕ 9 ������
� 
0������ �
 Φ′� � Ψ(σ) = σ − Φ(σ)

Φ′(σ)
9 ������
�

�,
���
!��� � Φ �� @+*$
�
�� �	
 ������� Φ ∈ Ω(0) � (�,�	 0 � a < b < +∞
"������


G1(a, b,Φ) =
ab

b− a

b∫
a

Φ(ϕ(t))

t2
dt, G2(a, b,Φ) = Φ

(
1

b− a

b∫
a

ϕ(t)dt

)
.

<
�� %�& G1(a, b,Φ) < G2(a, b,Φ) � "��!�	+�� %�& $��� 	����

�	�
 �� ;���< ��: 9
�
�=� ��� ��> �?�@��� �?�7=A��7B C?
D�7��
 σa = 08 Φ ∈ Ω(0)

 lnμ(σ, F ) � Φ(σ) :=� ��
� σ ∈ [σ0, 0)� E7:


lim
σ↑0

lnμ(σ, F )

Φ(σ)
� lim

n→∞
G1(λn, λn+1,Φ)

G2(λn, λn+1,Φ)
, �;�
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� �!�

��678 ��
� �7F78(
Φ′′(σ)Φ(σ)
(Φ′(σ))2

− 1

)
lnΦ(σ) � q > −∞, σ ∈ [σ0, 0), ���

�7

lim
σ↑0

ln lnμ(σ, F )

lnΦ(σ)
� lim

n→∞
lnG1(λn, λn+1,Φ)

lnG2(λn, λn+1,Φ)
. �?�

<�"�� �
#��
 �
!�,$� $�
���� �� �	
 �+
)
 �
�)	
���
 ������*
Φ(σ) = T exp{ �

|σ|}� �� T > 0 � � > 0� <
�� %D& "�� n → ∞

G1(λn, λn+1,Φ) =
(1 + o(1)λnλn+1)�

λn+1 − λn

(
1

lnλn
− 1

lnλn+1

)
, ���

�

G2(λn, λn+1,Φ) = T exp

{
�

|κ(λn, λn+1,Φ)|
}
,

|κ(λn, λn+1,Φ)|
�

=
1

�(λn+1 − λn)

λn+1∫
λn

ϕ(t)dt = An+2Bn+(1+o(1))Cn ln
eT

�
, n → ∞,

An =
λn+1 lnλn − λn lnλn+1

(λn+1 − λn) ln tn lnλn+1
,

Bn =
λn+1 ln

2 λn ln lnλn+1 − λn ln
2 λn+1 ln lnλn

(λn+1 − λn) ln
2 λn ln

2 λn+1

�

Cn =
λn+1 ln

2 λn − λn ln2 λn+1

(λn+1 − λn) ln
2 λn ln

2 λn+1

, n → ∞.

E,��	+�� Bn = o(An) � Cn = o(An) "�� n → ∞� $
 |κ(λn, λn+1,Φ)| = �(1 + o(1))An ��

$#��

lnG2(λn, λn+1,Φ) = (1 + o(1))
(λn+1 − λn) lnλn lnλn+1

λn+1 lnλn − λn lnλn+1
, n → ∞,

�

lnG1(λn, λn+1,Φ) = ln
λnλn+1

λn+1 − λn
+ ln

(
1

lnλn
− 1

lnλn+1

)
+O(1), n → ∞.

.�)�
 "���!���$�� '
(
Φ′′(σ)Φ(σ)
Φ′(σ)2

− 1

)
lnΦ(σ) = 2 +

2|σ|
�

> 2.

<
��� !��
��,$
!�*(� 	��� �9� � !�0���*(� � = �R + ε � T = 1� 
$����7�


λ0
R = lim

σ↑0
|σ| ln lnM(σ, F ) = lim

σ↑0
(�R + ε)|σ| ln lnμ(σ, F ) �

� (�0R + ε) lim
n→∞

ln
λnλn+1

λn+1 − λn

(λn+1 − λn) lnλn lnλn+1

λn+1 lnλn − λn lnλn+1

. �D�
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1��"�,$��
� '
 β < 1� <
�� �,��*$+ (�,	
 β∗ ∈ (β, 1) � ��
,$�*(� "
,	��
!��,$+

(nk) ��$���	+��� (�,�	 $���� '
 lnλnk
� β∗ lnλnk+1� $
0$
 λnk

� λβ∗
nk+1 = o(λnk+1)�

k → ∞� <
�� � �D� � 
)	
�� �� �
!�	+��,$+ ε 
$����7�


λ0
R � �0R lim

k→∞

lnλnk

lnλnk+1

(
1− λnk

lnλnk+1

λnk+1 lnλnk

)
� �0Rβ

∗,

0

λnk

λnk+1
= o

(
lnλnk

lnλnk+1

)
"�� k → ∞� - 
)	
�� �� �
!�	+��,$+ β∗ < β ����!��,$+

λ0
R � β�0R �
!����
� �	
 β = 1 �
 ����!��,$+ 
(�!����� �

�� ��
�
� �	����
��� ����	�	�
 ��� �����
�
 � ���� � � ����� �	

�
�� �����	� ��� � ��	+
!
* �0,��,
* �0,
	*$�
� �0�#�
,$� A  $�"
� � ��#���

A  $�"
� ����!�*$+,
� !��"
!���
� !�	�(��� T 0
R = lim

σ↑0
exp

{
− �0R

|σ|
}
ln M(σ, F ) �

t0R = lim
σ↑0

exp

{
− �0R

|σ|
}
ln M(σ, F )� 1��!�	+�� $��� 	����

�	�
 �� 5�67 lim
n→∞

ln lnn

lnλn
< 1 
 T 0

R < ∞8 �7 t0R = t∗ =: lim
σ↑0

exp

{
− �0R

|σ|
}
ln μ(σ, F )


 T 0
R = T ∗ =: lim

σ↑0
exp

{
− �0R

|σ|
}
ln μ(σ, F )�

/"��!��� �� ����!��,$* �
B� t∗ � t0R � T ∗ � T 0
R� � ! %F� G� �?& �
!����
� '
 �	


�
#�
)
 σ < 0 � ε ∈ (0, |σ|)

M(σ, F )

μ(σ, F )
� n(2λν(σ+ε)) +

ε

2

∞∫
2λν(σ+ε)

n(t) exp

{
− εt

2

}
dt,

�� ν(σ, F ) = max{|an| exp{σλn} = μ(σ, F )} 9 ���$��	+��� �����, �
�� ���� 
,��	+��
lnn(t) � tα �	
 ��
�
)
 α ∈ (0, 1) � !,�� t � t(α)� $
 %F� G� ��&

n(2λν(σ+ε)) � exp

{(
4

ε

)α

lnα
μ(σ + ε)

μ(σ + ε/2)

}

� %F� G� ��&

ε

2

∞∫
2λν(σ+ε)

n(t) exp

{
− εt

2

}
dt � ε

2

(
8

ε

) 1
1−α

exp

{(
8

ε

) α
1−ε

}
+ 1 = K(ε).

-!��,� !�"	�!�7� '


ln M(σ, F ) � ln μ(σ, F ) +

(
4

ε

)α

lnα μ(σ + ε) + o(1) �

� ln μ(σ, F ) +

(
4

ε

)α

(T ∗ + δ)α exp

{
α�0R

|σ + ε|
}
+ o(1), σ ↑ 0.
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� �!$

:�'
 !�0����
 ε =
(1− α)

2
|σ|� $
 σ + ε =

1 + α

2
σ �

exp

{
− �0R

|σ|
}
ln M(σ, F ) � exp

{
− �0R

|σ|
}
ln μ(σ, F )+

+

(
8(T ∗ + δ)

(1− α)|σ|
)α

exp

{
− �0R

(
1

|σ| −
2α

(1 + α)|σ|
)}

+ o(1) =

= exp

{
− �0R

|σ|
}
ln μ(σ, F ) + o(1), σ ↑ 0.

-!��,� !�"	�!�7� '
 T 0
R � T ∗ � t0R � t∗� .��� � �
!����
�

@�� 0��� "
$��0�� $��� 	��� %�H&�

�	�
 !� G���@
�
G1(x, b,Φ)

G2(x, b,Φ)
> C�7���AH7A �� (0, b)�

2��
��,$
!�*(� 	��� � � ;� �
!����
 $��� $�
�����

�	
�	�
 �� 5�67 T 0
R < ∞8 lim

n→∞
ln lnn

lnλn
< 1 
 lim

n→∞
λn

λn+1
= γ8 �7

t0R � T 0
Rg(γ), g(γ) =

ln(1/γ)

1− γ
exp

{
1 +

ln γ

1− γ

}
. �F�

97��:����� 1��"�,$��
� '
 γ < 1� <
�� �,��*$+ (�,	
 γ∗ ∈ (γ, 1) � ��
,$�*(� "
,	� 
�
!��,$+ (nk) ��$���	+��� (�,�	 $���� '
 λnk

� γ∗λnk+1� -� 	����� � � ; 
$����7�


lim
σ↑0

ln μ(σ, F )

Φ(σ)
� lim

k→∞

G1(λnk
, λnk+1,Φ)

G2(λnk
, λnk+1,Φ)

� lim
k→∞

G1(γ
∗λnk+1, λnk+1,Φ)

G2(γ∗λnk+1, λnk+1,Φ)
.

1
���(��
 θ =
1

γ∗ − 1 � tk = γ∗λnk+1� <
�� λnk+1 = (1 + θ)tk� � 
$#��

lim
σ↑0

ln μ(σ, F )

Φ(σ)
� lim

k→∞

G1(tk, (1 + θ)tk,Φ)

G2(tk, (1 + θ)tk,Φ)
.

�	
 ������� Φ(σ) = T exp

{
�0R
|σ|

}
� 
� �
!����
 ! %D& ��
���	� ���� � ��D��� "�� 

!�	+�� $��� ,"�!!���
B���
I

lnG1(tk, (1 + θ)tk,Φ) = ln �R + ln tk − 2 ln ln tk+

+ ln
(1 + θ) ln(1 + θ)

θ
+ o(1),

lnG2(tk, (1 + θ)tk),Φ) � ln �R + ln tk + ln(1 + θ)− 2 ln ln tk+

+
ln(1 + θ)

θ
− 1 + o(1)

"�� k → ∞� <
��

t0R = lim
σ↑0

ln μ(σ, F )

exp

{
�0R
|σ|

} �
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�� ������ ���
� ��������� ���	� ������ ��

� T 0
R lim

k→∞
exp{lnG1(tk, (1 + θ)tk,Φ)− lnG2(tk, (1 + θ)tk),Φ)} =

= T 0
R lim

k→∞
exp

{
ln

(1 + θ) ln(1 + θ)

θ
− ln(1 + θ)− ln(1 + θ)

θ
+ 1 + o(1)

}
=

= T 0
R exp

{
ln(1 + θ)

θ(1 + θ)1/θ

}
= T 0

R

ln(1/γ∗)
1− γ∗ exp

{
1 +

ln γ∗

1− γ∗

}
.

- 
)	
�� �� �
!�	+��,$+ γ∗ ����!��,$+ �F� �	
 γ < 1 �
!����
�
E,��	+�� limγ→1 g(γ) = 1� $
 ����!��,$+ �;� "�� γ = 1 7 
(�!���
*� <�
���� �

�
!����
� �

������ �������	
��� 
�	��
	���
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R � �0Rβ� 51262 β = lim
n→∞

lnλn/(lnλn+1)�

<97 �0R = lim
σ↑0

|σ| ln lnM(σ, F ) <97 λ0
R = lim

σ↑0
|σ| ln lnM(σ, F ) <62 <>>467�9; :4
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����f� λ0

R � �0Rβ� _�� β = lim
n→∞

lnλn/(lnλn+1)�

� �0R = lim
σ↑0

|σ| ln lnM(σ, F ) � λ0
R = lim

σ↑0
|σ| ln lnM(σ, F ) ����
����
���� R����

����
 � ������ R�������
�
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���� ���
�� ������ ���
� ��������� ���	� ������ �� "#$

:��!���( !" ,��� �(�"���� 0 !"�"�" ! %�&) ������� ���6 ��������"�� ���

��� ���� "���������� ��!�/�!� �

�� 	
���
������ ������� 7 ���"��� Ω = {(x, t) : 0 < x < l, 0 < t < T < ∞}
��!
������ !"�"� ⎧⎪⎪⎪⎨

⎪⎪⎪⎩
ε
∂uε

i

∂t
+

∂uε
i

∂x
=

n∑
j=1

aij(x, t)u
ε
j +

m∑
k=1

bik(x, t)v
ε
k + fi(x, t; ε), i = 1, n,

∂vεs
∂t

+ ε
∂vεs
∂x

=
n∑

j=1

γsj(x, t)u
ε
j +

m∑
k=1

σsk(x, t)v
ε
k + gs(x, t; ε), s = 1,m,

2�4

uε
i (x, 0) = uε

i (0, t) = 0, i = 1, n,
2
4

vεs(x, 0) = vεs(0, t) = 0, s = 1,m.

�� ε ; �"��* ���"���* �"�"����� '���������( -�06 !"�"�� 0 ��) 5� �"�"���� ε

���6�� ��� ��!��� ��������  ������ n � � ���"���� m ���������� <� ���������

�� ���-�,����� �����������* ��!�/�!� � *�
� "�����������

9� ��!
���"0�� ��"�����* ��!�/�!�� !"�"�� 2�4) 2
4) ����� ��!�/�!��) ��������#

��*  !"���"��� ���"��� Ω = {(x, t) : 0 � x � l, 0 � t � T < ∞}) ���* �"0

���������� ������� �����
� ������ ) ��� !"��������(�� ������ 2�4) " �"��$ ��"*�#

��  ���� 2
4� ��� ��� ���� �" ��=� �� �"��� "�����������
� ��!������� ��!�/�!� 

!"�"�� 2�4) 2
4 ���� ��"0��) 5� ����� (���� �"��  ����>

(H1) , ��-�6 aij , bik, γsj , σsk : Ω → R , fi � gs : Ω × R → R ; ����"���� 
�"��� �

���"��� ���
� ��!�"����� 2������� 
�"������ !"��$��� ��� ������ "����������4?

(H2)  ���� ��
��$���� �����
� ������ 2∀ε > 04

fi(0, 0; ε) = 0, i = 1, n,
gs(0, 0; ε) = 0, s = 1,m.

."  ��� (H1)) (H2) ��� ��$��� ,�����"��� !�"����� �"�"����" ε ��� 0 0����*

��"�����* ��!�/�!�� !"�"�� 2�4) 2
4 %�&� ."!�"����) 5� ��� ��� ���� ��=� �� �"���

"���������� ��!�/�!� $����� ���"������  ��� �" !�"� aij (j = i)) σsk (k = s) ��

���������

." �"$���) 5� ��!�/�!�� �����$���6 ������� 2� 2�4 ,���"���� ε = 04⎧⎪⎪⎨
⎪⎪⎩
∂ui

∂x
=

n∑
j=1

aij(x, t)uj +
m∑

k=1

bik(x, t)vk + fi(x, t; 0), i = 1, n,

∂vs
∂t

=
n∑

j=1

γsj(x, t)uj +
m∑

k=1

σsk(x, t)vk + gs(x, t; 0), s = 1,m
234

�� !"��������0 ����  ��� 2
4) " �"��) , ��-�6 ui (i = 1, n) �" vs (s = 1,m)) �!"
"��

�"$ ��) �� !"��������(�� ���"����� �" ��"*���  ����) ����������� +�� � �����


�"��-� t = 0 �" x = 0 ���"��� Ω �����"(�� �����$��� �"��) ��� �����"���(��

��!�/�!�� �����$���6 !"�"�� 2������" 234 �! ��"*�����  ���"�� ��� , ��-�* u �"

���"������� ��� v) ��� �� *�������� �"��4 �� �����"��� ���"����� ��� �����#

$����  ���� '���������� !"�"�� ����
"0 5� *  ��� ) 5� ���" �����$��� , ��-�6
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��!�"�"(�� �� ��!�/�!�� ������� ! �"�������� ��������� �����
� ������ ) " ��$"

�" ���* !"�"(�� ��"*���  ����) ������� � ��� ���� 2@)@4) 5� �����"0 �" 
�"������

��!�/�!� ) ��� �� �����) ��"0���� ��� � �"�� ��! � ��#���� �����  ��� ��
��$����)

���� (H2)) "��������� ��!�/�!� ��������
� ������ ) ��������� � ���"��� Ω� ���

�������� !"����� ������� ��!�"�����

uε(x, t) = (uε
1(x, t), . . . , u

ε
n(x, t)), vε(x, t) = (vε1(x, t), . . . , v

ε
m(x, t)).

�� �
���
�� ��
�
�
�
 ���
������� A��������� ��!�/�!� (uε, vε) !"�"��

2�4) 2
4 �" ������ ���-� � � 0��  ��
����

uε
i (x, t) ∼ ūi0(x, t) (i = 1, n), vεs(x, t) ∼ v̄s0(x, t) (s = 1,m), (x, t) ∈ Ω. 284

��� ��!�"����� , ��-�* ui0 �" vs0 � �����
� �"���$���� ��
 �����6 �"����� "����#

������ ,��� �(0�� �"� !"�"� >

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

∂ūi0

∂x
=

n∑
j=1

aij(x, t)ūj0 +
m∑

k=1

bik(x, t)v̄k0 + fi0(x, t), i = 1, n,

∂v̄s0
∂t

=
n∑

j=1

γsj(x, t)ūj0 +
m∑

k=1

σsk(x, t)v̄k0 + gs0(x, t), s = 1,m,

ūi0(0, t) = 0, i = 1, n,

v̄s0(x, 0) = 0, s = 1,m,

2�4

�� fi0(x, t)) gs0(x, t) ; ����� ����� ��!������� , ��-�* fi � gs � ���������* ��� !"

��������� �"�"����" ε � ����� ε = 0� ."�"�" 2�4 ��� ��!�"����� ūi0 (i = 1, n))

v̄s0 (s = 1,m) !"  ���� (H2) �����"�����" ������� ����
�"����� ������� ��� 7���#

����" �� 
�
� ��� ) ��� ���6 ��� 0 0����* ����"���� 
�"���* ��!�/�!��� '��$) , ��#

-�6 ūi0 (i = 1, n)) v̄s0 (s = 1,m) ����!�"��� ��!�"���� � �"(�� ����"��( 
�"�������

B! ,��� �(�"��� !"�"�� ��� ��!�"����� ui0, vs0 �������� ������"0) 5� �� ���  ����

2
4 ����� (����� +���� �� ���!� � ���� �����"����� ��� ���"��* ��!�/�!�� !"�"��

2�4 , ��-���� �����$���
� �"� �"�) 5�� ����� �"���� ���"���� ��� �����$����

 �����

C����"���� 284 , ��-�0( �����$���
� �"� �"�) 5�� ����� �"�"�� �� 
"  ��#

�" 2
4) ����� �"���$���� ��!�/�!� � � 0��  ��
����

{
uε
i (x, t) ∼ ūi0(x, t),

vεs(x, t) ∼ v̄s0(x, t) +Qs0v(ξ, t),
2	4

�� ξ =
x

ε
, ��
 ����! (�" !����" � ����� 
�"��-� x = 0� D�� !"���"�� !"�"� ��� ��#

!�"����� Qs0v(ξ, t)) ��!������ ���,�-�0��� ������� 2�4 � ��� !" ��������� ε) �����"#

���� 2	4  ������ 2�4 �" ��"*���  ���� 2
4) ����������� ���,�-�0��� ��� � �����
�
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���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� "#&

������� ε) �����"0�� !"�"� ��� ��!�"����� Qs0v⎧⎪⎪⎪⎨
⎪⎪⎪⎩

∂Qs0v

∂t
+

∂Qs0v

∂ξ
=

m∑
k=1

σsk(0, t)Qk0v, 0 < t < T, ξ > 0,

Qs0v(ξ, 0) = 0, ξ � 0,

Qs0v(0, t) = −v̄s0(0, t), 0 � t � T (s = 1,m).

2�4

'��$) �� ������"0 ! 2�4) , ��-�6 Qs0v ������ (�� ����!� ) �� ��������� v̄s0  ��"#

*��  ��� ��� x = 0 � ��� ��!�"����� , ��-�* Qs0v �����"�� ��"*�� !"�"� �


���!���"����* ����� !� ��� 
�����������6 ������� ������� �����
� ������ � E�"�#

����� ��!�/�!� !"�"�� 2�4 !"��$��� ��� �����"���  ��� ��
��$���� � � ����* ���-��

C��������� �����"���  ��� ��
��$���� � �����
� �" �����
� �������� ��!�/�!� 

Qs0v  � ����* ���-� (0, 0)� '�$�) ��� �����"���  ��� ��
��$���� � �����
� �����#

� ������� ����� �"���� �"�� ��������>

Qs0v(ξ, 0)|ξ=0 = Qs0v(0, t)|t=0 (s = 1,m).

'�������� 0 ��) 5� ���" �"����" -�06 �������� ∀s = 1, . . . ,m ������(0 � �(  � ����*

���-�) " !  ��� 2�4 �" 2�4 ���"��$ 0���� ��������

0 = −v̄s0(0, t)|t=0 = 0 (s = 1,m).

'��$)  ���� ��
��$���� ���"������ � ��"*����  ��� � �����
� ������ !"�"�� 2�4

����� (�����

C���*���� �� ���������  ���� ��
��$���� �����
� ������ ) " �"��) ��������#

��) �� !"��������(�� ������ 2�4  ���� !"�"�� � � ����* ���-�� ��� -��
� �������

����� �"���� ��������

∂Qs0v

∂t

∣∣∣∣
(0,0)

+
∂Qs0v

∂ξ

∣∣∣∣
(0,0)

=

m∑
k=1

σsk(0, 0)Qk0v

∣∣∣∣
(0,0)

(s = 1,m).

7�������"���  ���� ! 2�4) !"�������� �������) 5�
∂v̄s0
∂t

∣∣∣∣
(0,0)

= 0� .  ��� (H2)) 2�4

�����"0��

∂v̄s0
∂t

∣∣∣∣
(0,0)

=

n∑
j=1

γsj(0, 0)ūj0

∣∣∣∣
(0,0)

+

m∑
k=1

σsk(0, 0)v̄k0

∣∣∣∣
(0,0)

+ gs0(0, 0) = 0, s = 1,m.

�������� ��5� �����"���  ��� ��
��$���� � �����
� �" �����
� �������� ��"*�#

��� � ���"������  ��� �"(�� �����"� ������$ �"��) 5� ��!�/�!�� Qs0v !"�"�� 2�4


�"���*�

�������� �����) 5� , ��-�6 Qs0v (s = 1,m) �"(�� �����$���* �"�"�����

F��"���) �" �����"�� ������������ ��"*���6  ���� 2�4 , ��-�6 Qs0v (s = 1,m) �"� #

�"(�� � ������ !�"���� ��� �"�"����������( ξ = x �������� 2�4� ��� ε → 0 �"�"�#

��������" �"���$"0���� �� ������"����
� ����$����) ����� , ��-�6 Qs0v ��������

��� � �� � ����� ��$� x = 0 ���"��� Ω�



"'(
���� ����	�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

C�� ��� � �����
� �"���$���� ��!�/�!� !"�"�� 2�4) 2
4 !"���� 0�� ��!�"#

������ �����$���
� �"� � ����� ��$� t = 0 ���"��� Ω� ." ������
�( -�06 , ��-�6

�����$���
� �"� �����
 0�� ��!�/�!�� (uε, vε) �"�) 5�� ����� �"�"�� ��"*��"

 ���" ��� t = 0) ��� uε
i , v

ε
s �"� � �� ��
��� {
uε
i (x, t) ∼ ūi0(x, t) + Pi0u(x, τ),

vεs(x, t) ∼ v̄s0(x, t) +Qs0v(ξ, t).

������� ����� 5� ��� ��
 ����! (� !���� � ����� 
�"��-� t = 0 ���"��� Ω

τ =
t

ε
.

."���� 0�� ��"��"��� ���-�� � �����6 ���
 ������ !� ���� ��� ���� �����$���#


� �"� ) ��� ��!�"����� , ��-�6 P0u �����"0�� !"�"� ⎧⎪⎪⎪⎨
⎪⎪⎪⎩

∂Pi0u

∂τ
+

∂Pi0u

∂x
=

n∑
j=1

aij(x, 0)Pj0u, τ > 0, 0 < x < l,

Pi0u(0, τ) = 0, τ > 0,

Pi0u(x, 0) = −ūi0(x, 0), 0 < x < l i = 1, n.

2G4

A�"��
���� �� ��5� ��$�" �������"����) 5�  ���� ��
��$���� � �����
� �" ���#

��
� �������� !"�"�� 2G4 ����� (����) ��� -� �"0 !��
 � � �"�� "��������� 

��!�/�!� (uε, vε) !"�"�� 2�4) 2
4 ��5�
� ������ ! !"��!�������� ����"����6 
�"�#

����� �"���$�����

�� �
���
�� ���
������ ��� 
�
 �
���!�� A����������� ��!�������

�����
� ������ ��!�/�!� (uε, vε) !"�"�� 2�4) 2
4 � � 0��  ��
����⎧⎨
⎩
uε
i (x, t) ∼ ūi0(x, t) + Pi0u(x, τ) + εūi1(x, t) + εPi1u(x, τ) + εQi1u(ξ, t), i = 1, n,

vεs(x, t) ∼ v̄s0(x, t) +Qs0v(ξ, t) + εv̄s1(x, t) + εPs1v(x, τ) + εQs1v(ξ, t), s = 1,m.

2�4

C����"���0�� 2�4 � ������ 2�4) 2
4� F�"��"����( ���-�� ��( �����6 ���
 ������

!� ���� �����"0�� !"�"�� ��� ��!�"����� , ��-�* Qi1u⎧⎨
⎩

∂Qi1u

∂ξ
=

m∑
k=1

bik(0, t)Qk0v,

Qi1u(∞, t) = 0, i = 1, n.

C������
� �"��� �������� ��� Qi1u) ! ��"� �"���� �������� Qi0v(ξ, t) = 0) ξ � t

(i = 1, n)) ����$��� ��!�/�!��

Qi1u(ξ, t) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

m∑
k=1

bik(0, t)

ξ∫
t

Qk0v(ς, t)dς, 0 � ξ � t � T,

0, ξ � t.

2�@4
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���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� "'"

A�"��
���� ��"������ !"�"�" ��� Ps1v� 7�������"���) 5� Ps0u(x, τ) = 0) τ � x

(s = 1,m)) !"������ Ps1v (s = 1,m)  ����� ��
����

Ps1v(x, τ) =

⎧⎪⎪⎨
⎪⎪⎩

n∑
j=1

γsj(x, 0)

τ∫
x

Pj0u(x, η)dη, 0 � τ � x,

0, τ � x.

2��4

."!�"����) 5� , ��-�6 Q1u � P1v �"(�� ���������� �"������ ������� �����
� ��#

���� �

F�����" ������� ��� ��!�"����� �����
� �"���$���� (ū1, v̄1) ��
 �����6 �"�#

���� "���������� �"� �� ��
��� ⎧⎪⎪⎨
⎪⎪⎩

∂ūi1

∂x
=

n∑
j=1

aij(x, t)ūj1 +
m∑

k=1

bik(x, t)v̄k1 + f̄i1(x, t), i = 1, n,

∂v̄s1
∂t

=
n∑

j=1

γsj(x, t)ūj1 +
m∑

k=1

σsk(x, t)v̄k1 + ḡs1(x, t), s = 1,m,
2�
4

�� f̄i1(x, t) = fi1(x, t) − ∂ūi0(x, t)

∂t
) ḡs1(x, t) = gs1(x, t) − ∂v̄s0(x, t)

∂x
) fi1(x, t)) gs1(x, t) ;

���,�-�0��� ��� ������ ������� ε ��!������� , ��-�* fi �" gs  ��� !" ��������� ε)

����������� ���� ��
�) ūi1) v̄s1 ������ (�� ����!��) ��� ������� �����$��� �"��Qi1u)

Ps1v ����������  ��"*�� �" ���"�����  ����� +�� , ��-�6 ūi1) v̄s1 �� ��!�/�!��

������� 2�
4 ������� !"����������  ����{
ūi1(0, t) = −Qi1u(0, t), i = 1, n,

v̄s1(x, 0) = −Ps1v(x, 0), s = 1,m.
2�34

."�"�" 2�
4) 2�34) "�"��
���� �� � 2�4) �����"�����" ������� ����
�"����� �������

7�������" �� 
�
� ��� ) ����� 0 ����!�"��� ��!�/�!��(�

��� Qs1v �����"0�� !"�"� ⎧⎪⎪⎪⎨
⎪⎪⎪⎩

∂Qs1v

∂t
+

∂Qs1v

∂ξ
=

m∑
k=1

σsk(0, t)Qk1v + qs1(ξ, t), ξ > 0, 0 < t < T,

Qs1v(ξ, 0) = 0, ξ > 0,

Qs1v(0, t) = −v̄s1(0, t), 0 < t < T, s = 1,m,

2�84

�� qs1(ξ, t) =
n∑

j=1

γsj(0, t)Qj1u+ ξ
m∑

k=1

∂σsk(0, t)

∂x
Qk0v�

'������� ������" 2�84 ����������") �� ��� ��� �"��� ��"�����
� ��!�/�!� !"#

�"�� ���������) 5�� ����� �"���� �� ����  ���� ��
��$���� � �����
� �" �����
�

��������  � ����* ���-� 2@)@4) " * ��� �"�� ���������� ������� �����
� ������ 

��� , ��-�* qs1� H"������ ������� ��� (��) �������� , ��-�6 Qs0v,Qs1u ; 
�"����

�������� �����"���  ��� ��
��$���� � �����
� ������ ) ����� Qs1v(ξ, 0)
∣∣
ξ=0

=



"')
���� ����	�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

Qs1v(0, t)
∣∣
t=0

� I������� � �( ����6 �"����� ������"0 !  ���� 2�84) " ��� ��"��6 �"�#

���� ��������"0��  ���� ���������� 2�34)2��4

0 = −v̄s1(0, t)
∣∣
t=0

= −Ps1v(x, 0)
∣∣
x=0

= 0, s = 1,m.

+�� ��"*���  ���� ������� 2�84 ��
��$��� �� ������������� � � ����* ���-� 2@)@4)

5� �!�"�"0) 5� ��!�/�!�� !"�"�� 2�84  �� !� ξ � 0) 0 � t � T ����������*� D�� ��#

�����"����) 5� Qs1v  !"!�"����* �� !� 
�"���) ��������) 5� ∀s = 1,m ����� (����

��������

∂Qs1v

∂t

∣∣∣∣
(0,0)

+
∂Qs1v

∂ξ

∣∣∣∣
(0,0)

=

m∑
k=1

σsk(0, 0)Qk1v

∣∣∣∣
(0,0)

+ qs1
∣∣
(0,0)

.

.  ��� 2�4)2�@4)2�84 ����*���� �� ��������

0− ∂v̄s1
∂t

∣∣∣∣
(0,0)

=

m∑
k=1

σsk · 0 + 0.

+���� !"�������� �������) 5� ������" v̄s1 !" t ������(0 � �(� ��� -��
� �������#

�"0��  ��� 2�
4) ! ���6 �����"0��

∂v̄s1
∂t

∣∣∣∣
(0,0)

=

n∑
j=1

γsj(0, 0)ūj1

∣∣∣∣
(0,0)

+

m∑
k=1

σsk(0, 0)v̄k1

∣∣∣∣
(0,0)

+ ḡs1
∣∣
(0,0)

= 0,

�� ⎧⎪⎪⎨
⎪⎪⎩
ḡs1(0, 0) = gs1(0, 0)− ∂v̄s0

∂x
= 0,

v̄s1|(0,0) = −Ps1v(0, 0) = 0,

ūi1|(0,0) = −Qi1u(0, 0) = 0.

'�������)
∂v̄s1
∂t

∣∣∣∣
(0,0)

= 0) �� ���  ���� ��� ��� �"��� ��"�����
� 2����� 
�"���
�4

��!�/�!� ��� !"�"�� 2�84 ����� (�����

��� ��!�/�!� Pi1u (i = 1, n) !"�"��⎧⎪⎪⎪⎨
⎪⎪⎪⎩

∂Pi1u

∂τ
+

∂Pi1u

∂x
=

n∑
j=1

aij(x, 0)Pj1u+ pi1(x, τ), 0 < x � l, τ > 0,

Pi1u(0, τ) = 0, τ � 0,

Pi1u(x, 0) = −ūi1(x, 0), 0 � x � l (i = 1, n),

2��4

�� pi1(x, τ) =
m∑

k=1

bik(x, 0)Pk1v+ τ
n∑

j=1

∂aij(x, 0)

∂t
Pj0u) "�"��
����) �� ��� ��!�/�!� !"#

�"�� 2�84) ��$�" ��������� ��� ���� �"��� � ������� ��� �"��� ��"�����
� ��!�/�!� �

'�$�) �� ������"0 ! ��� ���� � �����
� �" �����
� �"���$����) ��� ������*

���-�� ����������
� ��!�"����� , ��-�* "�����������
� ��!������� ��!�/�!� ��!#

5������*) ��� ������� "�
����� ��!�"����� , ��-�* �"���$���� ��������
� ��#

���� �
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� ��������� ���	� ������ �� "'*

"� �
���
�� ������
��!� �
��
��
�
 �
���!�� C���� "����������� ��!#

������� ��!�/�!� (uε, vε) !"�"�� 2�4) 2
4 � � 0��  ��
����⎧⎪⎪⎨
⎪⎪⎩
uε
i (x, t) ∼

∞∑
h=0

εh
[
ūih(x, t) + Pihu(x, τ) +Qihu(ξ, t)

]
, i = 1, n,

vεs(x, t) ∼
∞∑
h=0

εh
[
v̄sh(x, t) + Pshv(x, τ) +Qshv(ξ, t)

]
, s = 1,m.

2�	4

'������ �������������) � ���* ��!�"�"(���� , ��-�6 ��"��� �"���� 2�	4) " �"#

��$ !"������ !"�"��) ��!�/�!�"�� ���� -� , ��-�6 0� ."�"�� ����� 0�� ��"��"�����

�������� �����6 ���
 ������ !� ����) "�"��
���� �� ��5�) ��� ���� ����� ����

������ 6� �����"����

F���"�� ��!�"�"0�� , ��-�( Qhu = (Q1hu, . . . , Qnhu) (∀h � 1) �� ��!�/�!��

!"�"�� ⎧⎨
⎩

∂Qihu

∂ξ
= quih(ξ, t), ξ > 0, 0 < t � T,

Qihu(∞, t) = 0, 0 � t � T (i = 1, n),
2��4

��

quih(ξ, t) =

h−1∑
r=0

ξr

r!

[ n∑
j=1

∂raij
∂xr

(0, t)Qj h−1−ru+

m∑
k=1

∂rbik
∂xr

(0, t)Qk h−1−rv

]
− ∂Qi h−2u

∂t

(i = 1, n)) ξ ; ��
 ����! (�� ������������) �� ��5�� J ��-�6 quih(ξ, t) (i = 1, n)

h � 0) 0 �������� ������������ � ������((�� � �( ��� �"�"����������( ξ = t) 5�

������"0 ! 6����6 ��� �� ��� +�� ��!�/�!�� Qihu !"�"�� 2��4 ��� ��$��
� h � 1 �"

i = 1, n !"������ � ����� ��
����

Qihu(ξ, t) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

ξ∫
t

quih(ζ, t) dζ, 0 � ξ � t � T,

0, ξ � t.

2�G4

A�"��
���� ,��� �(0���� !"�"�" ��� Pshv �!  ����( Psh(x,∞) = 0 (s = 1,m)

h � 1) � Pshv !"��� (����  ����� ��
����

Pshv(x, τ) =

⎧⎪⎪⎨
⎪⎪⎩

τ∫
x

pvsh(x, ϑ)dϑ, 0 � τ � x,

0, τ � x,

2��4

�� pvsh ; ��"�" �"����" �������� ��� Pshv � �"� �"0 ��
��� 

pvsh(x, τ) =

h−1∑
r=0

τr

r!

[ n∑
j=1

∂rγsj
∂tr

(x, 0)Pj h−1−ru+

m∑
k=1

∂rσsk

∂tr
(x, 0)Pk h−1−rv

]
−

− ∂Ps h−2v

∂x
, s = 1,m, h � 1.



"'+
���� ����	�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

+ � pvsh (s = 1,m, h � 0) ; ������ ���������� , ��-�6) ��� ������((�� � ���� �"�

�"�"����������( τ = x�

."!�"����) 5� 
�"������ , ��-�* Qihu � Pshv (i = 1, n, s = 1,m, h � 1)) !�����"

� �" �"�"���������"� ξ = t �" x = τ ����������) ������"0 ��!���������� ! 6����6

��� �� ���

J ��-�6 ��
 �����6 �"����� "���������� (ūh, v̄h) ������ h � 1 0 ��!�/�!�"��

�"��6 !"�"��>⎧⎪⎪⎪⎨
⎪⎪⎪⎩

∂ūih

∂x
=

n∑
j=1

aij(x, t)ūjh +
m∑

k=1

bik(x, t)v̄kh + f̄ih(x, t), (x, t) ∈ Ω (i = 1, n),

∂v̄sh
∂t

=
n∑

j=1

γsj(x, t)ūjh +
m∑

k=1

σsk(x, t)v̄kh + ḡsh(x, t), (x, t) ∈ Ω (s = 1,m),

2
@4

{
ūih(0, t) = −Qihu(0, t), 0 � t � T (i = 1, n),

v̄sh(x, 0) = −Pshv(x, 0), 0 � x � l (s = 1,m),
2
�4

�� f̄ih(x, t) = fih(x, t) − ∂ūi h−1

∂t
) ḡsh(x, t) = gsh(x, t) − ∂v̄s h−1

∂x
) " fih(x, t)) gsh(x, t) ;

���,�-�0��� ��!������� , ��-�* fi �" gs ����������  ��� !" ��������� ε� ."�"�"

2
@4)2
�4 �����"�����" ������� ����
�"����� ������� 7�������" �� 
�
� ��� ) ���

���6 ��� 0 0����* ��!�/�!���

��� Qshv (h � 1) ����$��� !"�"� 

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

∂Qshv

∂t
+

∂Qshv

∂ξ
=

m∑
k=1

σsk(0, t)Qkhv + qvsh(ξ, t), ξ > 0, 0 < t � 0,

Qshv(ξ, 0) = 0, ξ � 0,

Qshv(0, t) = −v̄sh(0, t), 0 � t � T (s = 1,m),

2

4

��

qvsh(ξ, t) =

h∑
r=0

ξr

r!

n∑
j=1

∂rγsj
∂xr

(0, t)Qj h−ru+

h∑
r=1

ξr

r!

m∑
k=1

∂rσsk

∂xr
(0, t)Qk h−rv(ξ, t), s = 1,m.

A�"��
���� ��  !"�"�� 2�84) ��� ��������� ��� �"��� ��"�����
� ��!�/�!� !"�"��

2

4 ���������) 5�� , ��-�� qvsh(ξ, t) � �" 
�"���( * ����� �"����  ���� ��
��$��#

�� � �����
� �" �����
� ��������  � ����* ���-� 2@)@4� H"������ ������� , ��-�*

qvsh(ξ, t) ��� (��) �������� , ��-�� 0 � ��( 
�"���� , ��-�*� C���*���� �� ����#

����� �����"���  ��� ��
��$����) ��� ������"(�� �! 2�G4 �" 2
�4

0 = Qshv(ξ, 0)

∣∣∣∣
ξ=0

= Qshv(0, t)

∣∣∣∣
t=0

= −vsh(0, t)

∣∣∣∣
t=0

,

0 = −vsh(0, 0) = Pshv(0, 0) = 0 (s = 1,m, h � 1).



$%&%'% $ (%)*( !%�%(+,�-(    

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� "'#

'�$�) ��"*���  ���� ��
��$��� �� ������������� � � ����* ���-�� C��������� ��

���"�����  ���� !"��������(�� ������ 2

4 � ���-� 2@)@4) �����

∂Qshv

∂t

∣∣∣∣
(0,0)

+
∂Qshv

∂ξ

∣∣∣∣
(0,0)

?
=

m∑
k=1

σsk(0, 0)Qkhv

∣∣∣∣
(0,0)

+ qvsh

∣∣∣∣
(0,0)

(s = 1,m, h � 1),

"��) ��������"��� ���"���� �" ��"*���  ���� !"�"�� 2

4) 6� ��$�" !"���"��  

��
����

− ∂v̄sh(0, t)

∂t

∣∣∣∣
t=0

?
= 0 ·

m∑
k=1

σsk(0, 0) + qvsh(0, 0) (s = 1,m, h � 1).

C�"�" �"����" ���"����
� �������������� ������(0 � ����) �������� qvsh(ξ, t) = 0

(s = 1,m, h � 1) ��� ξ � t � 0) 5� ������"0 ! 6���� ��"��������*� 7�������"���

�� 
� �������� 2
@4 �"  ���� 2
�4) �����"0��

∂v̄sh(0, 0)

∂t
= −

n∑
j=1

γsj(0, 0)Qjhu(0, t)

∣∣∣∣
t=0

−
m∑

k=1

σsk(0, 0)Pkhv(ξ, 0)

∣∣∣∣
ξ=0

+ ḡsh(0, 0),

s = 1,m, h � 1.

K" �����"�� 2�G4 � 2��4 ����� ��" ���"��� ��"��� � ������((�� � ����� ."��������

�������) 5� ḡsh(x, t)  � ����* ���-� ������(0 � �(� '��$) ! ��
��� ��� ḡsh)  ���

(H2)) 2
�4 ��$��� !"���"��

ḡsh(0, 0) = gsh(0, 0)− ∂v̄s h−1(0, 0)

∂x
=

= 0− ∂v̄s h−1(0, 0)

∂x
=

∂Ps h−1(0, 0)

∂x
= 0, s = 1,m, h � 1.

'��"��� �������� ��"�����" ! �
��� �" ��) 5� Pshv(x, τ) = 0 ��� τ � x) ��� 
∂Psh

∂x
(x, τ) = 0) ��5� τ � x (s = 1,m, h � 1)� . ������������� ������"0) 5� �"

�"�"��������-� τ = x , ��-�� Ps h−1v(x, τ) �"��$ �"� �"0 � ������ !�"����� 7���#

�"���  ���� ��
��$���� �����
� ������ � � ����* ���-� 2@)@4 !"��!��� 0 
�"������

��!�/�!� !"�"�� 2

4 � ���"��� ξ > 0, 0 < t � T � ���� ��
�) !" �"$���) 5� , ��-�6

Qshv (s = 1,m, h � 1) �"(�� �����$���* �"�"����> �������� ��� � �� � ����� 
�"��#

-� x = 0 ���"��� Ω 2��"*��"  ���" 2

44 � ��� ε → 0 �"�"���������" t = ξ ��������

2

4 ���� 0 �� ������"����
� ����$�����

��� ��!�"����� �"���$��� , ��-�6 �����$���
� �"� Pihu � ����� 
�"��-�

t = 0 ���"��� Ω �����"�� ��"*�� !"�"� ⎧⎪⎪⎪⎨
⎪⎪⎪⎩

∂Pihu

∂τ
+

∂Pihu

∂x
=

n∑
j=1

aijPj hu(x, τ) + puih, 0 < x < l, τ > 0,

Pihu(0, τ) = 0, τ � 0,

Pihu(x, 0) = −ūih(x, 0), 0 � x � l, i = 1, n, h � 1,

2
34
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���� ����	�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

��

puih(x, τ) =

h∑
r=1

τr

r!

n∑
j=1

∂raij
∂tr

(x, 0)Pj h−ru(x, τ)+

+

h∑
r=0

τr

r!

m∑
k=1

∂rbik
∂tr

(x, 0)Pk h−rv(x, τ), i = 1, n, h � 1.

��������� ��� �"��� ��"�����
� ��!�/�!� Pihu ��� ��$��
� i = 1, n �" h � 1

!"�"�� 2
34 ����������� "�"��
���� �� ��� !"�"�� 2

4� J ��-�6 Pihu (i = 1, n, h � 1)

�������� ��� ����$��
� � �� ��$�� �"�"���������� τ = x �������� 2
34) ��" ���

ε → 0 ���� 0 �� 
���!���"����
� ����$���� 2���"����"  ���" 2
344� <� ��������

��� �����$���* �"�"���� ��������� Pihu�

'�$�) ,���"���� "����������� �"���$���� ��������
� ������ ��!�/�!� 

(uε, vε) !"�"�� 2�4) 2
4 ��� ���"��� C���*���� �� ��=� �� �"��� �����"��6 "������#

�����

#� $%��!� ��
� !
�
�
 �
���� K��"*N ; �������� �"� �"���� �����) N > 0�

7������� � "��������-� 2�	4 ��!�/�!� (uε, vε) !"�"�� 2�4) 2
4 �"����� � � ������ 

N � C�!�"����� ����! Rε
iNu = Rε

iNu(x, t) (i = 1, n)) Rε
sNv = Rε

sNv(x, t) (s = 1,m)

!"����� "������������ ��!������ ����������� ��������� ��!�/�!� !"�"��) 2�	4

!"������  ��
����⎧⎪⎪⎪⎨
⎪⎪⎪⎩
uε
i (x, t) =

N∑
h=0

εh
[
ūih(x, t) + Pihu(x, τ) +Qihu(ξ, t)

]
+Rε

iNu(x, t), i = 1, n,

vεs(x, t) =
N∑

h=0

εh
[
v̄sh(x, t) + Pshv(x, τ) +Qshv(ξ, t)

]
+Rε

sNv(x, t), s = 1,m.

2
84

��� ��
�) 5�� �����"�� !"�"�� ��� !"���� "���������� (Rε
Nu,Rε

Nv)) �����"����

2
84  ������ 2�4)  ���� 2
4 �" ��������"0�� !"�"�� ��� �"���$��� "�����������
�

��!�������� '��$) !"�������* ���� "���������� � ���"��� Ω 0 ��!�/�!�� �������⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

ε
∂Rε

iNu

∂t
+

∂Rε
iNu

∂x
=

n∑
j=1

aij(x, t)R
ε
jNu +

m∑
k=1

bik(x, t)R
ε
kNv+

+πu
i (x, t; ε), i = 1, n,

∂Rε
sNv

∂t
+ ε

∂Rε
sNv

∂x
=

n∑
j=1

γsj(x, t)R
ε
jNu +

m∑
k=1

σsk(x, t)R
ε
kN v+

+πv
s (x, t; ε), s = 1,m,

2
�4

!"��������0 ���"����� �" ��"*���  ����

Rε
iNu(x, 0) = Rε

iNu(0, t) = 0, i = 1, n,
2
	4

Rε
sNv(x, 0) = Rε

sNv(0, t) = 0, s = 1,m,
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���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� "'$

�� πu
i (i = 1, n) �" πv

s (s = 1,m) ; ������ , ��-�6) �"�� 5� ∀(x, t) ∈ Ω ���"��$ 0����

πu
i (x, t; ε) = O(εN+1), πv

s (x, t; ε) = O(εN+1).

K"�" ���" ; �����"�� ��������� �-��� !"���� "���������� � Ω� ��� -��
�

������� !"���  !"�"�� 2
�4) 2
	4

ρεiu(x, t) = Rε
iNu(x, t)e−k(x+t) (i = 1, n), ρεsv(x, t) = Rε

sNv(x, t)e−k(x+t) (s = 1,m),

�� k ; ����" ���"��� ��"�"� +��� ���������� ��� ρεiu � ρεsv �����"0�� !"�"� ⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

ε
∂ρεiu

∂t
+

∂ρεiu

∂x
= ãii(x, t)ρ

ε
iu+

n∑
j=1
j �=i

aij(x, t)ρ
ε
ju +

m∑
k=1

bik(x, t)ρ
ε
kv+

+Πu
i (x, t; ε), i = 1, n,

∂ρεsv

∂t
+ ε

∂ρεsv

∂x
= σ̃ss(x, t)ρ

ε
sv +

n∑
j=1

γsj(x, t)ρ
ε
ju +

m∑
k=1
k �=s

σsk(x, t)ρ
ε
kv+

+Πv
s(x, t; ε), s = 1,m,

2
�4

{
ρεiu(x, 0) = ρεiu(0, t) = 0, i = 1, n,

ρεsv(x, 0) = ρεsv(0, t) = 0, s = 1,m.
2
G4

+ �

Πu
i (x, t; ε) = πu

i (x, t; ε)e
−k(x+t) = O(εN+1), ãii(x, t) = aii(x, t)− k(ε+ 1) (i = 1, n),

Πv
s(x, t; ε) = πv

s (x, t; ε)e
−k(x+t) = O(εN+1), σ̃ss(x, t) = σss(x, t) − k(ε+ 1) (s = 1,m).

7����"0�� k ����"���� �������) 5�� ����� �"���� ����������

ãii(x, t) +

n∑
j=1
j �=i

|aij(x, t)|+
m∑

k=1

|bik(x, t)| � −1 (i = 1, n), 2
�4

σ̃ss(x, t) +

n∑
j=1

|γsj(x, t)| +
m∑

k=1
k �=s

|σsk(x, t)| � −1 (s = 1,m). 23@4

C��� �����) 5� ��$�" ! , ��-�* |ρεiu| (i = 1, n) ����
"0 ���
� �"���� � �

���-� Ti(xi, ti) ∈ Ω) " , ��-�6 |ρεsv| (s = 1,m) ; � ����"� Tn+s(xn+s, tn+s) ∈ Ω� K�

����$ (�� !"
"�������) ���� �����) 5�

|ρε1u(T1)| � |ρε2u(T2)| � ... � |ρεnu(Tn)| �
� |ρε1v(Tn+1)| � |ρε2v(Tn+2)| � ... � |ρεmv(Tn+m)|. 23�4



"'%
���� ����	�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

I�!
������ ����� �������� ������� 2
�4 � ���-� T1 � ���������� *�
�  ��
����

ε
∂ρε1u

∂t

∣∣∣∣
T1

+
∂ρε1u

∂x

∣∣∣∣
T1

− ã11(T1)ρ
ε
1u(T1)−

n∑
j=2

a1j(T1)ρ
ε
ju(T1)−

−
m∑

k=1

b1k(T1)ρ
ε
kv(T1) = Π1(T1; ε). 23
4

K��"*  ���-� T1 , ��-�� ρε1u �"� �"0 ���/0���
� ����� � � +��� � -�* ���-�
∂ρε1u

∂t

∣∣∣∣
T1

� 0)
∂ρε1u

∂x

∣∣∣∣
T1

� 0 2����
" ���������� ��$���" ����  ���"�� ) ��5� ����"

T1 ��!�"���"�" �" ��$� ���"��� Ω4� .����� �" ���������� (�� 2
�4 �" 23�4) ���

��"��6 �"����� 23
4 ���"��$ 0���� �-���"

ε
∂ρε1u

∂t

∣∣∣∣
T1

+
∂ρε1u

∂x

∣∣∣∣
T1

− ã11(T1)ρ
ε
1u(T1)−

n∑
j=2

a1j(T1)ρ
ε
ju(T1)−

m∑
k=1

b1k(T1)ρ
ε
kv(T1) �

� −ã11(T1)ρ
ε
1u(T1) +

n∑
j=2

|a1j(T1)||ρεju(T1)|+
m∑

k=1

|b1k(T1)||ρεkv(T1)| �

� −
⎛
⎝ã11(T1) +

n∑
j=2

|a1j(T1)|+
m∑

k=1

|b1k(T1)|
⎞
⎠ ρε1u(T1) � ρε1u(T1).

'��$) ��"�" �"����" 23
4 0 ��������( ������ εN+1) " ���" � ���-� T1 ��

������5 0 ρε1u(T1)� C�!"�� |ρε1u(T1)| = max
Ω

|ρε1u(x, t)| = O(εN+1)) �� ! 23�4 ����� 0��

|ρε2u(T2)| = max
Ω

|ρε2u(x, t)| = O(εN+1), . . . , ρεmv(Tm)| = max
Ω

|ρεmv(x, t)| = O(εN+1).

.����� ������"0

ρεiu(x, t) = O(εN+1) (i = 1, n), ρεsv(x, t) = O(εN+1) (s = 1,m) ∀(x, t) ∈ Ω.

'�$�) ��"� �"��� ������ !"��� ) ����� 0�� �"$"� �-��� !"�������
� ����"

(Rε
Nu,Rε

Nv) "�����������
� ��!������� 2
84 ��!�/�!� (uε, vε) !"�"�� 2�4) 2
4

Rε
iNu(x, t) = ρεiu(x, t)e

k(x+t) = O(εN+1) (i = 1, n),

Rε
sNv(x, t) = ρεsv(x, t)e

k(x+t) = O(εN+1) (s = 1,m), (x, t) ∈ Ω.

A�"��
���� ���� �"���  ���"�� ���"���
� �"���� � �

'����"��* ��! ���"� �,��� �(0��  ��
���� ��������

&�
���� �� 6���7 N " 89�
:��� ������:��� ;��:9� <��������9= >9 ���9��?����

��9��@

(H1) aij = bik= γsj = σsk ∈ C(N+2)(Ω)= fi= gs ∈ C(N+2)(Ω×R+) (i, j = 1, n, s, k = 1,m)A

(H2) fi(0, 0; ε) = 0 (i = 1, n)= gs(0, 0; ε) = 0 (s = 1,m)�
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B98
 �9C�D�C9� (uε, vε) C�8�;
 2�4= 2
4 89�����E ������9��;�� �9C������� ��F:�8�⎧⎪⎪⎪⎨
⎪⎪⎪⎩
uε
i (x, t) =

N∑
h=0

εh
[
ūih(x, t) + Pihu(x, τ) +Qihu(ξ, t)

]
+ Rε

iNu(x, t), i = 1, n,

vεs(x, t) =
N∑

h=0

εh
[
v̄sh(x, t) + Pshv(x, τ) +Qshv(ξ, t)

]
+Rε

sNv(x, t), s = 1,m,

8� G���H
I (ūh, v̄h) ��F�:���9I ;������ ������9���� E �9C�D�C���� C�8�; 2
@4=2
�4=

G���H
I �����J9��� K��
� (Phu, Phv) � 9�9:
 t = 0 �� (Qhu,Qhv) � 9�9:
 x = 0

��C��;�?���� �� �9C�D�C�� C�8�; 2
34= 2��4= 2

4= �
8�9�
8�9� L:� C�:�K�9�9F9 ;:���

(Rε
Nu,Rε

Nv) ������9��;�9F9 �9C������� �����:��
 9H
���

|Rε
iNu(x, t)| � C1iε

N+1, |Rε
sNv(x, t)| � C2sε

N+1, ∀(x, t) ∈ Ω,

8� C1i= C2s " ��C�:�J�
 �
8 ε ���:
 (i = 1, n, s = 1,m)�
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IJ @KLM�NJO PQJ �L�P�RS�TKULNROV WRSUJ XOKTSJY ZKO R MVMPJY KZ n + m

M�L[USROSV XJOPUOTJN S�LJRO XROP�RS N�\JOJLP�RS J]URP�KLM KZ PQJ ^OMP KONJO �L

PQJ XSRLJ� PQJ MYRSS XRORYJPJO �M R YUSP�XS�JO ZKO WRO�KUM XROP�RS NJO�WRP�WJM 

_KLMPOU@PJN RLN XOKWJN RMVYXPKP�@ J`XRLM�KL KZ ROT�POROV KONJO MKSUP�KL a�PQ

PQJ XKaJOM KZ R MYRSS XRORYJPJO 

G�$ H">&C! QVXJOTKS�@ MVMPJY KZ M�L[USROSV XJOPUOTJN TKULNROV WRSUJ

XOKTSJY� RMVYXPKP�@ J`XRLM�KL MKSUP�KL� PQJ TKULNROV SRVJO 
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������������� ����	 �
��
� �� ��
�
��� 	���
��
���� �
�� �� �������
�
 ����
�� ��
�
�� �����
��� ����� � ������ ��������� �
�������� ����
��������� ����
�� �� �����
 �����! "��
�
�� ���
���
��� �����
�� ��

�������� ������������ �
����
��� ������������ ε������������ 
 �
����
�
��� ε������������ �����
�
	 � ������ ����� 	���
��
���� �
��! "��
�
��
�������
��� ������� �����
�
	 � ��
��
��
	 
 ��
�
��
	 ���
���!

+
,-��� �
��
! �������	 �
������	 ����������	 ����
�� ����������
�����
�
�� ε����������� �����
�
�� �
����
��� ε����������� �����
�
�!

�� ��������	 
��
��
�
 ���
���
�
 ����
����
�
 ��
����� 	
��

Xt(t = m, . . . , n) �� At(t = m+ 1, . . . , n) �������� �
 �����
� ��� ����
��� ��������

��������	 �� 4��5��6�
� l = xmam+1xm+1 . . . atxt ��7���5���� 89��6�: ��;6
t = n �<6 xt = x∗�

������� � �� �������� ��!��� "���������
�� L = X × (A×X)n−m�

��������	 �� =<������ ���6����� ����6������ ��6>��6� �� 
������9
 ?���
[m,n] 5 (X,A, j, p, q, r, c, μ) ≡ Z∗

μ: @�A

�B X =
n⋃

t=m
Xt  ��6��
� ����
�C

�B A =
n⋃

t=m+1
At  ��6��
� ��������C

	B �
@6<��D���� ��6��������� j : A→ X: @� j(At+1) = Xt\{x∗}, x∗ ∈ XtC

B �67�6@
9 E�6�
��6���E p(·|a) ≡ P(xt = x|at = axt−1) �� Xt 7 6<�������

�6?���� P(xt+1 = x∗ | at = a) = P( xt+1 = xm | at = a) ≡ p(x∗ |a) ≥ 0;
FB G���>
� ����H6�6@� q : A→ RC
IB G
��9��� �9��� r : Xn → RC

�© ���� ��� 	
���
 ��� ����
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

�B G���>
� ����� c: 7�@��� � 6<������ �6?��� ����
�

c(x) =

⎧⎨
⎩

−
t∑

i=m+1

sup
ai∈Ai

q(ai), x = x∗,

0, x �= x∗,

x ∈ Xt: x
∗  6<����� �6?��� J���>
� ����� 7�@��� ���: ;6 H������5 �6���

<���������6  �6��� ������ ���6��?��6H6 ���
��9� �<6 E <
9�8�C
�B �6?���6��E �67�6@
9 μ �� Xm� K�;6 �6?���6��E �67�6@
9 μ 76����@D���E

� �6?>
 x: �6 <�@��6 ������ Z∗
x�

#$�%
 � &� ���������!' (�)*+ ���������
�� ���
��, � "���������
�� Z∗� 	�-
�� �
�� ) ���
��  "� �� .
$�����!� �� !.�/� ��. �����'�� ! ���
������
  "�������!
�%��.� ��!�� l

I(l) =

⎧⎪⎪⎨
⎪⎪⎩

n∑
t=m+1

q(at) + r(xn), ∀t xt �= x∗,

k∑
t=m+1

q(at) + c(xk), xk = x∗.
(�+

�� ���
��� ���
���� ����
����� ��
���
 ��	 ��������
� �
������

0.&� ������ "
$
����� 1��.%�! p(· |a) �  �$��
/�2 π(· |h )� �� .������ "����.�����
$��"����� μ ���"�����' $��"���� 
����$�� �

 P ∗ �� "$� ��$� L� !.�
 ������' ��.�/�
��/�!��3

P ∗(l) =
{
μ(xm)π(am+1 |xm)p(xm+1 |am+1)...π(an |hn−1)p(xn |an) , ∀t xt �= x∗

μ(xm)π(am+1 |xm)p(xm+1 |am+1)...π(ak |hk−1)p(x
∗
k |ak) , xk = x.

(�+

���
������
  "�������! ����-!.�2 1��.%�2 ξ � "$� ��$� L �����
 ��.�/� ��/�!��3

E∗(ξ) =
∑
l∈L

ξ(l)P ∗(l). (4+

#$�.����� ��.�2 1��.%�2 ' �%��.� (�+ ��!�� l� 52 ���
������
  "�������! "��������
�
$
� ω

ω = EI(l). (6+

��
���� �� L���E {πk}  ��
�?����E �<6 79
?����E ��<
� 6<������ ������H
E 
 γk  
���
@M5��
 ?��9�: ���� ���� @6�
��N5 �� K�;6 @9� <�@����6H6 �6?���6�6H6 �67�6@
9�
μ <�@��6 ���6����6������ 6<����� ������H
N πk 7 E�6�
��
��N γk: �6 6�����5�6
� ��6��6�
 89��
� L �67�6@
9 E�6�
��6���E P ∗: ���E ��<���5 ��H9�@�

P ∗ =
∑
k

γkP
∗
k , (�+

@� �67�6@
9 P ∗
k �
@�6�
@�5 6<����
E ������H
O πk�

46@
 
���5 6<����� ������H
� π: ��
E �
@�6�
@�5 �67�6@
9 E�6�
��6���E P ∗ 7
PFB�

Q����D���� �� 7��
� "$� ���������� ����������  �$��
/�
 (����$�  �$��
/�
 ��-
"��.��� � ��������� $��"������ 
����$�� �

+ �� �
 $����$���  ��2 ������� ��� �
��$���'�� &
 �
!.�  �$��
/�,� !.� ' .������%�', ������
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���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� !"$

7 .���.� ��$����  �$��
/�! π �"� �'�� !  .���
���� ����$�� �
���8'���� ��-
 
� π (a |h )� 	���$�� !.� ����,��  �$��
/�,� ����$,,�� ���.���� ���
�
�� �������
Π �  .���
�������$���� "$� ��$�� 7��
� Π ) .��"�.�� 9��.%�! ω(π) �
"
$
$���� ��
��$���'�� ! �
$
� π (a |h) �� ��"���/�, �"
$�%�
 ����
��! �� ��������!� :� �
�-
$
��, ;


$��$�  �� �
"
$
$��� 1��.%�! �� Π �� !/�'  ��/� ��. ������ 7�$����
 �$��
/�!� "$� !.�
 �� !/�'�� ! ��. ����� ' �"��������, ��! "$�%
 � Z∗� : ����/�
��.�� "$� .������ x ∈ Xm � ��' ��$����  �$��
/�! πx� �"�������� ��! "$�%
 � Z∗

x�
:� ����$�� ��$�����  �$��
/�
 πx ���
�� "��������� ��$����  �$��
/�, π�

�"�������� ��! ���
�� Z∗�
#$�$���� .�$� ������ ! "� ��
��  �$��
/�', πx� !.&� ��!� "�����'�� ! � ���-

%� x� 9�$������
π (· |h ) = πx(h) (· |h) , (<+

�
 x(h) ) "����.���
  ��� � ��$�2 h� :�� ��� &� 1�$���� (<+ �������' �
!.�  �$��
/�,
π� !.� ���
 �"��������,� ����� ω(x, π) = ω(x, πx) = υ(x), ∀x ∈ Xm�

��
���� �� R�@����� 6<����� ������H
� π: 7�@��� G6���96N PIB: @9� ��6O

ω(x, π) = υ(x), x ∈ Xm (*+

5 �
��6�
��6 6�����9��6N: �6<�6 ∀μ sup
π
ω(μ, π) = ω(μ, π)�

S6��@����� : 1�$��� (�+)(6+ ��"����'� &� ∀π
ω(μ, π) =

∑
l∈L

I(l)P ∗(l) =
∑
Xm

μ (x)ω (x, μ). (=+

:�.$
��� ω (μ, π) =
∑
Xm

μ(x)ω(x, π)�

>�
 ω (x, π) ≤ ω (x, π) , ∀x ∈ Xm� � ���
� ω(μ, π) ≤ ω(μ, π)� �

������
� �� S9� �
��6�
��6 6�����9��6O 6<����6O ������H
O π 
 @6�
9��6H6 �6�
?���6�6H6 �67�6@
9� μ

ω (μ) =
∑
Xm

μ(x)υ(x) = μυ. (�+

��
���� �� �����@D�5���� ���� �
������

ω(x, π) =
∑
A(x)

π(a |x)(q(a) + ω′(pa, πa)), (�?+

@� pa = p(· |a), πa (· |h′ ) = π(· |yah′) : a ∈ Am+1: y = j(a): h  
��6�
� � �6@�9
 Z ′∗�
T
������ P��B ��7���5���� G��@������9���� 
 ����D�5 6>
��� ω @6�
9��6O �����
��H
O π � �6@�9
 Z∗ ?���7 6>
��� ω′ @����� ������H
E � �6@�9
 Z ′∗�

S6��@����� :/���� � 1�$����, (=+ ��$���'��

ω′(pa, πa) =
∑
Xm+1

p(y |a)ω′(y, πa). (��+

@��/�!�
�� "$� ��$� ��!��� L �� L′ � ���
�!� Z∗ �� Z ′∗� 	
��
 P ∗ ) $��"����

����$�� �

 � L� !.�
 ���"�����' "����.�����  ���� x �  �$��
/�2 x� P ∗

a ) $��"����

����$�� �

 � L′� !.�
 ���"�����' "����.����� $��"����� pa �  �$��
/�2 πa�
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

:/���� � 1�$����, (�+ � (�+ ∀l′ ∈ L′ ��$���'��

I(xal′) = q(a) + I(l′) (��+

P ∗(xal′) = π(a |x)P ∗
a (l′). (�4+

	� "�� ���� (4+ � (6+ ��
$��'��

ω(x, π) =
∑
L

P ∗(l)I(l) (�6+

ω′(pa, πa) =
∑
L′
P ∗
a (l

′)I(l′). (��+

��$� P ∗(l) �
 ��$���,' ���, ����.� ��! ��!���� !.� "�����,�� ! � ���.� x� �����
��! ��!��� ��/�!�� xal′� A���� "�� ����!,�� � (�6+ ����
��! I(l) � (��+ �� P ∗(l) �
(�4+ � �$�����,�� (��+� ��$���'�� 1�����
������
 $���!��! (�?+� �

: 1�����
�������/� $���!��! (�?+ ��"����' ��.� �%��.�3

ω(x, π) ≤ sup
A(x)

[q(a) + ω′(pa, πa)] ≤ sup
A(x)

[q(a) + υ′(pa)] (�<+

∀x ∈ Xm � ∀π (υ′ ) �%��.� ���
�� Z ′∗+� #��������

u(a) = q(a) + υ′(pa), (a ∈ Am+1). (�*+

B��
�� �������� %, �
������ ) �%��.�, .
$�����! a�
:/���� � (�+ � $���� �, υ(x∗) = c(x∗) ��$���'�� u = Uυ′� �
 �"
$���$ U "
$
��-

���� 1��.%�2 �� ���.�� (�
 ��$�����+ � 1��.%�2 �� .
$�����!� �� ��.�, 1�$����,3

Uf(a) = q(a) +
∑
y

p(y |a)f(y)+p(y∗ |a)f(y∗) , (�=+

�
 y ) �
��$���� ���.�� y∗ ) ��$���� ���.��
;�
�
�� &
 �"
$���$ V � !.�
 "
$
������ 1��.%�2 �� .
$�����!� � 1��.%�2 ��

���.�� (�
 1�������� �� �
 ��$�����+ ��.3

V g(x) = sup
a∈A(x)

q(a). (��+

:�"��
�� �
$���� �� (�<+� ��.�$� ����,�� �"
$���$ V : ω(x, π) ≤ V u(x)� A
"
$
�����
�� sup

π
��� ����2 �� "$���2 �� ���� 
 ��$���'�� υ ≤ V u�

��
����  � L���E π = γπ′  @6<��6� 6<������ ������H
E γ �� π′� K�;6 π′ �
��6�
�
��6 6�����9��� @9� �6@�9
 Z ′∗: �6@


u = V u. (�?+

S6��@����� ��! �����.�  �$��
/�
 1�����
������
 $���!��! (�?+ �����
 ��.�/�
��/�!��3

ω(x, γπ′) =
∑
A(x)

γ(a |x) u(a). (��+

7 .���.� π′ ) $������$�� �"�������� (� ���� � ��' �/���� � �
�$
��, �+� ��
ω′(pa, π′) = υ(pa)� � �/���� � ��/�!��� 1��.%�2 u $���!��! (��+ "
$
���$,'�� ! �

ω(x, γπ′) =
∑
A(x)

γ(a |x) u(a). (��+
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� !"&

0.&� ��! .����/� x $��"���� γ(· |x ) �� 
$
��
��
 �� A(x) ⊂ A(x)� �
 1��.%�!
u(a) (a ∈ A(x)) �� !/�'  ��/� ��. ������ �� %
 $���!��! �����
 ��.�/� ��/�!��3

ω(x, γπ′) = V u(x), (x ∈ Xm). (�4+

�

������
� �� =>
��� υ �6@�9
 Z∗ ����D�5���� ?���7 6>
��� υ′ �6@�9
 Z ′∗ ������
G6���9���A

υ = V u,
u = Uυ′, (�6+

@� 6�����6�� U �� V 7�@��
 G6���9��� P��B �� P�UB: �
@�6�
@�6�

������
� �� ����5 ��9���6� ψ <�H��67��?�6H6 �
@6<��D���� A(x) : Xm → Am+1

u(ψ(x)) = υ(x). (��+

S6��@����� :� γ(· |x) ����� "$�
�!�� $��"����� �� 
$
��
��
 � ����
 ���%�
ψ(x) ∈ A(x)� �

������
�  � K�;6 π′ �
��6�
��6 6�����9��� @9� �6@�9
 Z ′∗ 
 ��9���6� ψ  ����E:
�� � L��9
@�� 	: �6 6<����� ������H
� ψπ′  �
��6�
��6 6�����9��� @9� ��6>���
Z∗�

	
 ���
��,�� ��/����� ��� ����� �������� &� � %�
 ���
�� Z∗ m = 0� @��-
/�!�
�� ���
�� Z∗

0 , Z
∗
1 , ...Z

∗
n� �
 Z

∗ = Z∗
0 � Z∗

t ) "������ ���
�� ��� Z∗
t−1� 7%��.� υ

�� u ���
�� Z∗
t "�������� υt � ut+1� ���"������ (υt ������
�� �� Xt� ut+1 ������
-

�� �� At+1+� 9��.%�, ����/�$��� q � "
$
����� 1��.%�, p �� At "�������� qt � pt�
���"�������

:/���� � "�"
$
����� $
���������� �%��.� υt � ut "��8!���� ���  ���, ��.���
 "��������
��!��3

υt−1 = V ut
ut = Uυt

(1 ≤ t ≤ n), (�<+

�
 Utf(a) = qt(a) +
∑
y∈Xt

pt(y |a)f(y)+pt(y∗ |a)c(y∗) � (a ∈ At� y∗ ∈ Xt)�

Vtg(x) = sup
A(x)

g(a)� (x ∈ Xt−1+� "$����� υn = r�

@���� �� (�<+ ������,�� ! $���!��!�� �"�������� ��� #$�
�
�� Tt = VtUt� ����
$���!��! �"�������� �� ��"��
�� � ��/�!��

υt−1 = Ttυt. (�*+

��
���� !� L���E π  @6�
9��� 6<����� ������H
� � �6�
@�
E �6@�9
 Z∗
k

(k = 1, 2, ...n) 
 ψt  @6�
9��
 ��9���6�� <�H��67��?�6H6 �
@6<��D���� A(x) :
Xt−1 → At (t = 1, 2, ...k): �6@
A

ω0(x, ψ1ψ2...ψkπ) = Tψ1Tψ2 ...Tψk
ω(x, π). (�=+

S6��@����� ;�"����' � 1�����
�������/� $���!��! (�?+� 1�$��� (��+� (�*+ � �
����
���
�������2 ����.%�2� �
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� ��������� ���	� ������ ��

�� ���
��� ���
���� ����
����� ��
���
 ��	 �������
� �
������ ��!
����
���� ���
�

 �"��������  �$��
/�2 ������ �
 � ������� ���� ������� ! "��!��!
ε-�"�������� ���

��������	 �� =<����� ������H
� π ��7���5���� ε�6�����9��6N @9� ��6>��� Z∗
μ:

��;6 ω(μ, π) ≥ υ(μ)− ε�

��������	  � =<����� ������H
� π ��7���5���� �
��6�
��6 ε�6�����9��6N �<6
ε�6�����9��6N @9� �6@�9
 Z∗: ��;6 π�ε�6�����9��� @9� Z∗

μ 
 <�@����6H6 μ  �6�
?���6�6H6 �67�6@
9��

���� �8! �'��� !. $
�������� ��!  .���
���� ���
�

 � �"����������  �$��
-
/�!�� "
$
�� !�� ! �� ����
��� ���
�� � ε-�"����������  �$��
/�!���

	
��
 πx-ε-�"��������  �$��
/�! ��! "$�%
 � Z∗
x� ;��� � ��' �� �����
��!�

�
$����2 /$����
:� ����$�� ��$�����  �$��
/�
 πx ����� ���
�� "��������� ���� ��$����  �$�-

�
/�, π� ε-�"�������� ��! ���
���
���
�
��� &� 1�$���� (<+ �������' �
!.�  �$��
/�, π� !.� ���
 ε-�"��������,�

����� ω(x, π) = ω (x, πx) ≥ υ(x)− ε, ∀x ∈ Xm�

��
���� "� R�@����� 6<����� ������H
� π: 7�@��� G6���96N PIB: @9� ��6O

ω(x, π) ≥ υ(x)− ε, (x ∈ Xm) (��+

�
��6�
��6 ε�6�����9���: �6<�6 ∀μ sup
π
ω(μ, π) ≤ ω(μ, π) + ε�

S6��@����� : 1�$��� (�+)(6+ ��"����'� &� ∀π
ω(μ, π) =

∑
l∈L

I(l)P ∗(l) =
∑
Xm

μ(x)ω(x, π). (4?+

:��� � ��$���'��

ω(μ, π) =
∑
Xm

μ(x)ω(x, π) ≤
∑
Xm

μ(x)υ(x) ≤
∑
Xm

μ(x)[ω(x, π) + ε] = ω(μ, π) + ε. (4�+

: ��$�����2 �
$���� �� ��"����'3

sup
π
ω(μ, π) ≤

∑
Xm

μ(x)υ(x), (4�+

ω(μ, π) ≥
∑
Xm

μ(x)υ(x)− ε. (44+

: 1�$��� (4�+ � (44+ ��$���'��

sup
π
ω(μ, π) ≤

∑
Xm

μ(x)υ(x) ≤ ω(μ, π) + ε. (46+

7��
�  �$��
/�! π $������$�� ε-�"��������� 7 .���.� %
 ���
�
��! ���
�� "$��
 -
�� ��! ∀ε� �� sup

π
ω(μ, π) =

∑
Xm

μ(x)υ(x) = μυ� �

������
� !� S9� @6�
9��6H6 �6?���6�6H6 �67�6@
9� μ

υ(μ) = μυ. (4�+
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� ��������� ���	� ������ �� !""

Q����D���� �� :��������� &� 1�����
������
 $���!��! "$������
 � ��! ����
����
���
�

 �
� ���� � ���
�
����

��
���� #� L���E π = γπ′  @6<��6� 6<������ ������H
E γ �� π′� K�;6 π′ �
��6�
�
��6 ε′�6�����9��� @9� �6@�9
 Z ′∗: �6@


υ = V u. (4<+

S6��@����� ��! �����.�  �$��
/�
 γπ′ 1�����
������
 $���!��! (�?+ �����
 ��.�/�
��/�!��3

ω(x, γπ′) =
∑
A(x)

γ(a |x)(q(a) + ω′(pa, π′)). (4*+

7 .���.� π′ ) $������$�� ε′-�"�������� (� ���� � ��' ∀ε′ > 0 �/���� � �
�$
��, �+� ��
ω′(pa, π′) ≥ υ′(pa)− ε′ � �/���� � ��/�!��� 1��.%�2 u $���!��! (4*+ "
$
���$,'�� ! �

ω(x, γπ′0 ≥
∑
A(x)

γ(a |x)u(a)− ε′. (4=+

@��/�!�
�� ������� Aχ(x) = {a : a ∈ A(x), u(a) ≥ V u(x) − χ} (x ∈ Xm)� !.� �

"�$���! ��! ����-!.�/� χ > 0� 	
��
 γ(· |x) ��������
 $��"���� 
����$�� �

 ��
A(x)� �� 
$
��
��
 �� Aχ(x)� A���

∑
A(x)

γ(a |x)u(a) ≥ V u(x)− χ�

#$� ε′ + χ ≤ ε
ω(x, π) ≥ V u(x)− ε (x ∈ Xm). (4�+

�

������
� "� =>
��� υ �6@�9
 Z∗ ����D�5���� ?���7 6>
��� υ′ �6@�9
 Z ′∗ ������
G6���9���A

υ = V u,
u = Uυ′, (6?+

@� 6�����6�� U �� V 7�@��
 G6���9��� P��B �� P�UB�

������
� #� S9� <�@����6H6 χ > 0 
���5 ��9���6� ψ <�H��67��?�6H6 �
@6<��D����
A(x) : Xm → Am+1

u(ψ(x)) ≥ υ(x) − χ. (6�+

Q� γ(· |x) �6D�� ���E���� �67�6@
9: 76����@D���E � 6@�
E �6?>
 ψ(x) ∈ Aχ(x)�

������
� $� L���E ε′ 
 χ  @6�
9��
 ���
@M5��
 ?��9�� K�;6 π′ �
��6�
��6 ε′�6����
��9��� @9� �6@�9
 Z ′∗ 
 ��9���6� ψ  ����E: �� � ���9
@�� �: �6 6<����� ������H
�
ψπ′  �
��6�
��6 (ε′ + χ)�6�����9��� @9� �6@�9
 Z∗�

��
���� $� S9� G
��6���6H6 �6?���6�6H6 �67�6@
9� μ �� @9� @6�
9��6O 6<����6O
������H
O π 
���5 ��6��� ������H
� ϕ

ω(μ, π) ≤ ω(μ, ϕ). (6�+

���
�
��! %�'2 �
�$
�� ��"����' � ��.�� ���� �
�$
��

��
���� %� ∀μ 
 @9� <�@����6O 6<����6O ������H
O π 
���5 ����6����� ������H
� σ
���� ;6A

ω(μ, σ) = ω(μ, π). (64+
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����� ����	 
������ 
�����

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

S6��@����� @��/�!�
�� ��$.�� �.�  �$��
/�, σ

σ(a |x ) = P∗{at = a | xt−1 = x} =
P∗{xt−1at = xa}
P∗{xt−1 = x} (66+

(a ∈ At, x ∈ Xt−1, m+ 1 ≤ t ≤ n),

�
 P∗ ) ��$� � "$� ��$� ��!��� L� !.� ���"�����' "����.����� $��"����� μ ��  �$��
/�2
π�

0.&� � "$���
 �� ���� 1�$���� (66+ "$� P∗{xt−1 = x} = 0 ���� ��$�� ��$���'
��� �� ��! ��.�� x(��.$
�� ��$�����+ �� σ(· |x ) ����� ���$��� ��������
 $��"����
�� A(x)�

#�������� �
$
� Q∗ ) $��"���� 
����$�� �

 � "$� ��$� L� &� ���"�����' "�-
���.����� $��"����� μ �� ��$����
 ��$.�� �.�
  �$��
/�2 σ� ; ��/������� ��"��.�
$��"���� Q∗ �
 ���/�'�� ! � $��"������ P∗� ��
 ��! ���
�
��! (64+ �� ������� &��
.��
� �� 
�
�
���� xm, ..., xn, am+1, .., an �� x∗m+1, ...x

∗
n ��� ����.���
 $��"���� 
��-

��$�� �

  �� ���� ��$ P∗ �� Q∗� C
 ��"����' � ��.�� ���� $���� �

3

ω(μ, π) =

n∑
t=m+1

P∗q(at)+
n∑

t=m+1

P∗c(x∗t )+P∗r(xn) (6�+

ω(μ, σ) =

n∑
t=m+1

Q∗q(at)+
n∑

t=m+1

Q∗c(x∗t )+Q∗r(xn). (6<+

�������� ���
�� �� ����.%�',�
A�
$��
��! "$������
 ��! xm� �� $��"���� ��! ���/�

P∗ = Q∗ = μ.

#$�"� ����� &� ��
$��
��! ��.���'�� ! ��! xt−1� #
$
��$��� %
 ��! at� 7 .���.�
��$����  �$��
/�! σ ) ��$.�� �.�� ��

Q∗{xt−1at = xa} = Q∗{xt−1 = x}σ(a |x), (a ∈ At, x ∈ Xt−1). (6*+

A��� � (66+ �� (6*+ ��$���'�� ��.
3

P∗{at = a} =
∑

x∈Xt−1

P∗{xt−1at = xa} =
∑

x∈Xt−1

P∗{xt−1 = x}σ(a |x) =
=

∑
x∈Xt−1

Q∗{xt−1 = x}σ(a |x) = ∑
x∈Xt−1

Q∗{xt−1at = xa} = Q∗{at = a}. (6=+

7��
� ���
 ��
$��
��! "$������
 ��! at� ���
�
�� �
"
$ ��.
3 !.&� ���� "$�-
�����
 ��! at� �� 
 ��.���'�� ! ��! xt�

:� �����
��!� "
$
�����2 1��.%�2

P∗{atxt = ax} = P∗{at = a}p(x |a ), (6�+

Q∗{atxt = ax} = Q∗{at = a}p(x |a ). (�?+

;��$��� � (6�+ � (�?+ ��$���'��

P∗{xt = x} =
∑

x∈Xt−1

P∗{atxt = ax} =
∑

x∈Xt−1

P∗{at = a}p(x |a ) =
=

∑
x∈Xt−1

Q∗{at = a}p(x |a ) = ∑
x∈Xt−1

Q∗{atxt = ax} = Q∗{xt = x}. (��+

�
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� ��������� ���	� ������ �� !")

&��� �� L���E f  @6�
9��� G���>
� 
 υ  @6�
9���E �67�6@
9 E�6�
��6���E ��
79
?���6�� ��6��6�
 E� K�;6 υf < +∞: �6 ��6D��� Γ = {x : f(x) ≥ υf} ��5
@6@���� �
�� υ: �6<�6 υ(Γ) > 0�

��
���� �'� S9� <�@����6O ����6����6O ������H
O σ 
���5 ��6��� ������H
� ϕ
���� ;6A

ω(μ, ϕ) ≥ ω(μ, σ). (��+

S6��@����� :/���� � (4?+ ����� (��+ $���� �����

ω(x, ϕ) ≥ ω(x, σ), ∀x ∈ Xm. (�4+

@��.���
�� ��$���� ��$.�� �.�  �$��
/�, σ � ������.  �$��
/�
 σ = γσ′� �
 γ )
����
��! σ �� Xm� � σ′ ) ����
��! σ � �� Xm+1

⋃
Xm+2...

⋃
Xn� :/���� � 1����-

�
�������� $���!��!� (�?+
ω(x, σ) = γxf, (�6+

�
 γx(·) = γ(· |x) ) $��"���� 
����$�� �

 �� A(x)� � f(a) = q(a) + ω′(pa, σ′)�
(a ∈ Am+1)�

:� �
��, � "��������� A(x)� ��! !.�2 f(a) ≥ γxf = ω(x, σ)� ��' ������,
��$� γx� � ���
� ' �
"�$�����,� 0.&� ψ(x) ) �������� ���.� %�'2 "���������� ��
f(ψ(x)) ≥ ω(x, σ)� 	� "�� ���� 1�����
�������/� $���!��! (�?+� f(ψ(x)) = ω(x, ψσ′)�
� ���
� ω(x, ψσ′) ≥ ω(x, σ)�

#$�"� ����� &� ����� (��+ "$������� ��! "������2 ���
�� Z ′∗� ���� � %�
 ���
��
���
�
�� ! "$� ��  �$��
/�! ϕ′� !.� $������$�� ����$�' ��$���� ��$.�� �.�  �$�-
�
/�, σ′� : 1�����
�������/� $���!��! (�?+ �� �$���
��/� "$�"�&
��! ��$���'��

ω(x, ψϕ′) = q(ψ(x))+ω′(pψ(x), ϕ′) ≥ q(ψ(x))+ω′(pψ(x), σ′) = ω(x, ψσ′) ≥ ω(x, σ). (��+
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ÏÐÀÂÈËÀ ÄËß ÀÂÒÎÐIÂ

1. Ñòàòòÿ ïîâèííà ìiñòèòè ðåçóëüòàòè íîâèõ äîñëiäæåíü àâòîðà ç ïîâíèì ¨õíiì
äîâåäåííÿì. Íå äîöiëüíî ðîáèòè âåëèêi îãëÿäè âæå îïóáëiêîâàíèõ ðåçóëüòàòiâ. Ðî-
áèòè ïîñèëàííÿ íà íåîïóáëiêîâàíi ïðàöi íå ìîæíà.

2. Òåêñò ñòàòòi íàáèðàþòü íà êîìï'þòåði óêðà¨íñüêîþ ÷è àíãëiéñüêîþ ìîâàìè.
Äî ðåäàêöiéíî¨ êîëåãi¨ ïîòðiáíî ïîäàâàòè:

äâà ïðèìiðíèêè ñòàòòi ç ïiäïèñîì àâòîðà (ñïiâàâòîðiâ) íà îñòàííié ñòîðiíöi;
íàçâó ñòàòòi, ðåçþìå (ðåçþìå ïîâèííî ïåðåäàâàòè çìiñò îñíîâíèõ ðåçóëüòàòiâ

ñòàòòi, à íå ëèøå ïîâòîðþâàòè ¨¨ íàçâó), êëþ÷îâi ñëîâà, iì'ÿ, ïðiçâèùå àâòîðà, ìiñöå
ðîáîòè, àäðåñó óêðà¨íñüêîþ, àíãëiéñüêîþ òà ðîñiéñüêîþ ìîâàìè, åëåêòðîííó àäðåñó;

åëåêòðîííèé âàðiàíò ñòàòòi òà ðåçþìå íà CD-RW äèñêó (ðåäêîëåãiÿ ïîâåðòà¹
àâòîðîâi äèñê; òåêñòè ìîæíà íàäiñëàòè çà àäðåñîþ lnu.visn.mm@gmail.com);

äîâiäêà ïðî àâòîðà (ñïiâàâòîðiâ), ó ÿêié òðåáà çàçíà÷èòè iì'ÿ, ïî áàòüêîâi òà
ïðiçâèùå àâòîðà, ìiñöå ðîáîòè, ïîñàäó, àäðåñó óêðà¨íñüêîþ, àíãëiéñüêîþ òà ðîñiéñü-
êîþ ìîâàìè, òåëåôîí òà åëåêòðîííó àäðåñó.

Îïòèìàëüíèé îáñÿã ñòàòòi äî 12 ñòîðiíîê. Ðîçìið øðèôòiâ 10pt, âèñîòà ñòîðiíêè
� 190 mm, øèðèíà � 135 mm.

3. Âèìîãè äî íàáîðó.

Òåêñò ñòàòòi ñòâîðþâàòè ó âåðñi¨ LATEX ç êîäóâàííÿì êèðèëè÷íèõ øðèôòiâ

”
Êèðèëèöÿ (Windows)“ (êîäîâà ñòîðiíêà 1251).

Íà ïåðøié ñòîðiíöi ñòàòòi ïîòðiáíî çàçíà÷èòè íîìåð ÓÄÊ.

Íîìåðè ôîðìóë ñòàâèòè ç ïðàâîãî áîêó i íóìåðóâàòè ëèøå ôîðìóëè, íà ÿêi ¹
ïîñèëàííÿ.

Ó ïîñèëàííÿõ íà òåîðåìó ç ìîíîãðàôi¨ çàçíà÷èòè ñòîðiíêó, íà ÿêié âîíà îïè-
ñàíà.

Ðèñóíêè äî ñòàòòi ïîäàâàòè ó ãðàôi÷íîìó ôîðìàòi BMP ÷è PCX. Íàçâà ðè-
ñóíêà ÷è éîãî íîìåð íå âõîäÿòü ó çîáðàæåííÿ, ¨õ òðåáà ñòâîðþâàòè çàñîáàìè
LATEX'ó. Âèáèðàþ÷è ðîçìið ãðàôi÷íîãî çîáðàæåííÿ, íàëåæèòü âðàõóâàòè, ùî
âîíî áóäå íàäðóêîâàíå íà ïðèíòåði ç ðîçäiëüíîþ çäàòíiñòþ 600 dpi.

Ëiòåðàòóðó ïîäàâàòè çàãàëüíèì ñïèñêîì ó ïîðÿäêó ïîñèëàíü íà äæåðåëà â
òåêñòi ñòàòòi.
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